NLBHNERE ZEFSEEEW SRhEEH, RWNARE HAITIAN

A Global Famous Brand Complex gripper, erX|bIe assembly SMART SOLUTIONS
An International Excellent Enterprise

®

ROBOTICS PARTS CATALOG

@ D01VLVD S1dVd SOI1090d

Distributed by

EFRMRERE , MERINEMERE , BABTEMN , HiEEH.
All stated here is subject to change without advance notice. CN(EN)2106

WRINERE |, BB
Allrights reserved




|

Mission: to provide customers with effective solutions and create together! Win win! Share!

BR: ek E M, EEREHEE ! -
CULTURE CORPORATE Vision: to create a global famous brand and build an international excellent enterprise! GlOb al n etWO rk S ales lO c atlon
ZEET BRENSRESEM EENFBERALMN !

Operation Concept : Repeating simple things , Repeating what you do attentively!

At\ 'i &( e i AEFREEMEIRRG R, Hel | HF! £= ! éﬁk%\é% IX—)Sl g§ ﬁj\ :ﬂ? =

BT IE3K

\ff%y BIFT =
/Fm\ S

MARKETING | b—& EE;E;E

ACTING %j] L\/Lf-f_h

é&\ FHBA &1
\/R—— PNERSE:

@R\ e
TECHNOLOGY | E&?QE N
O REm Agent



Administrator
Ink


Administrator
Ink


Administrator
Ink


Administrator
Ink



LA
LT

UITTIIITHHNBTITNG et unumu et
mm\mn‘mumnum11u\ ; il |

CRG HAOmMHeEA. NFRinBHFRE (EOAT) BRI R, HEKRRS |
LT EEBMEEIR12EF , IEREESILBmIRITERR., BERIE. EoE.
CRG has beeninvolving in EOAT design, development, sale and service. We

have been operating in the field of injection automation for more than twelve years.

Base on module design concept, to makes automation design simpler, more flexible

and more reliable.

LB R 55 4,
Q\) \);00“ *C\'\\na Pper,h 5r :%
<
Ny 310
=g B
Y o
“ S
/?/\ 5 7, o y 42(‘/%
\j 10 %100, '\ﬁ);%{,fl\\k
ey =

—REFTHBN W, —RETENURHRNAE], —RIEGEBREEKE

Aninnovative enterprise; a company specializing in automation technology; a trusted partner.

E-t-—‘—-

SZEEX HRENFBEEEMMREETR. EENSFBAOCHMMERERK.

Operation Concept :Repeating simple things, you are the expert. Repeating what you do

attentively,and you will be the winner.

HEES AEFRHEFHRE | iILEPTEEZIL.

Sales Idea :To provide customers with the best service, so that customers worry free.



1z Application examples

BAtfESR

Base Frame

FEmEA

T

FEERA— R

FEERARERE |, BkRAKORER Y
AR —k

FEH£9/92.0 kg

Product Description:

Two caves in one mold.

Take product out with vacuum cup;

Take sprue gate out with sprue gripper.

Gas circuit divides into two suction and one gripping.

TR

Cross Mounting Bracket For Profiles

iz
Extruded Profiles

e R

Rotative Suspensions

WER R

Vacuum Cups FGA Series

KOk

Sprue Gripper

R
Quick Changer

@Eﬁf;&—g
Mounting Bracket

[ . ]
The weightis about 2 kg. ! w B
e =®"S Bs JazE=+ LR ®"S BS 22}
(Product Name) (PN) (Model) ( Quantity ) (Product Name) (PN) (Model) ( Quantity )
gﬁfk Changer 7.Y00175 Qcs-G100 1 E{,’ifﬁfﬁﬁﬁpensions 8.Y00061 VFR1421-G18 6
ﬁﬁiripper 8.Y00050 GR12A-12-CP 1 Efﬁnﬁtlﬁz Bracket 7.Y00200-T | SMBE1-1440T 6
%ﬁgﬁfpmme 4.Y00069 P2518 10 c@o’iﬁﬁr 1¥02510 | APF-M5 2
Etci%zr‘ﬁggacket For Profiles | 7-Y00194-T SMBA-2525T 6 ;Sli:(jfhl}\ilhanifold Block 7.Y00157 SMB-06M5 2
%ﬁded Profiles 4.Y00455 PEP2518-1000 2 Il:%mi%ﬁreiiﬁose Fitting 1.voz2r22 APLE-01 8
&ﬁﬁg?ﬁﬂm Series 1.Y12288 FGA-11-81-55 6 ?ﬁgfﬁjffﬁme itng | 1Y02725 | APCs-01 6
?ﬁu&m CupFitting 7.Y01047 VM40-G18 6

BB IYACRGHR M / Thelist contains only CRG standard parts.




1z Application examples

EhlfESR

Base Frame

SEET]

Air Nipper
MAFEEZ 2R
Manipulator fixing bracket
SUSIRE ——-
Sus Tube

=Rt
P RA—EREIN

SR FBK OISR Sk 45 7o A
SEE4H1.5 kg B

o Slide Bracket
Product Description:

Two cavities in one mould; KO3k
Taking products out and clamping

the sprue by sprue gripper.

The weightis about 1.5 kg.

BOM;55 BOM List

mE 8BS Bs RE mE Bs BS A&

(Product Name) (PN) (Model) ( Quantity ) (Product Name) (PN) (Model) ( Quantity )
SUSHE 4.Y00021 PST12-1500 2 U FER SR 7.Y00002 | SMBH1-12M6 6
Sus Tube Manipulator fixing bracket
SHELT] LRMZ S E Rk
Air Nipper 1.Y00004 GT-NY25 2 L-type Threaded Hose Fitting 1.Y02809 APL6-M5 3
PIEERETIL BB )
Straight blades for plastic 1.Y00037 NY25AJ 2 Slide Bracket 7.Y00004 SCF4-1240W16 7
BITIEER ~ BBIIEE :
Fixing Block 7.Y00633 SCE2-25 2 Slide Bracket 7.Y00001 SMBS-12T16 7
RE RS KA%K
Tube Plugs 1.Y03638 P12BU 11 Sprue Gripper 8.Y00091 GR12A-12-CN 1
TFERR 7.Y00027 SMBT-2012 2 IR 7.Y00020 SMBT-1212 1
Cross Connector Cross Connector

BE{NACRGIRAE M / Thelist contains only CRG standard parts.



1z Application examples

EhlfESR

Base Frame

PR

FEERA—ERR

B (T4 ) RASHERERE | #A
SED AR, —RN—I

EE:7kg

Product Description:

Two cavities in one mould; Take out or embed
the insert (Non-woven bafric) by pneumatic
needle gripper;

The gas circuit is divided into two paths; one
cavity is one path.

Weight: 7 kg

BOM;55 BOM List

REES

Pneumatic Needle Gripper

sk

Extruded Profiles

EESZEE
Mounting Bracket

+FEEEG

Cross Mounting Bracket For Profiles

mE 8BS Bs RE mE Bs Bs RE
(Product Name) (PN) (Model) ( Quantity ) (Product Name) (PN) (Model) ( Quantity )
%defrided Profiles 4.Y00052 PEP4040-1000 2 Etz%z;l\%%g%acket ForProfiles [ 7-Y00356-T | SMBA-2540T 10
%ﬁgﬁfpmﬁb 400072 | P4040 4 fﬂf&ic Needle Gripper | 5700025 | GN2010 14
%frided Profiles 4.Y00481 PEP2525-1500 2 Enﬁnﬁi Bracket 7.Y00308-T | SMBE2-2060T 14
E%Kded Profiles 4.Y00481 PEP2525-1000 1 E‘oﬁuﬁﬁ Bracket 7.Y00309-T | SMBE2-3060T 1
%jgﬁo“z‘; profile 400070 | P2525 10

EBRXACRGIREH / Thelist contains only CRG standard parts.




1z Application examples

EhlfESR

Base Frame

W
Vacuum Cups FGA Series

PR

FERA—E—R

—ERE , —EAN

BRI : SRABRER , $RIBENE

SEEARE—K, RE—K

B : RAGR  IRIEEERY | B

SEASEH—IK, kiE—IK , REEME—IK

BEE 1 9kg

Product Description:

One cavity in one mould; Take out on one side ; embed on the
other side;One side: Taken out by vacuum cup and one finger
angular pneumatic gripper; The gas circuit is divided into two
paths including vacuum cups and one finger angular pneumatic
gripper; The other side: Profile modeling; Take out orembed
by one finger angular pneumatic gripper; The gas circuit is
divided into three paths including path of cylinder, path of one
finger angular pneumatic gripper and path of mould positioner;
Weight: 9Kg

|~

BOMi&EE BOM List

HEEMES
Mould Positioner

SEhkiE

Pneumatic Finger Gripper

Bitg
Extruded Profiles

mE ®"s BS A& e ®"S BS A&
(Product Name) (PN) (Model) (Quantity ) (Product Name) (PN) (Model) ( Quantity )
gft*rzlfjded Profiles 4:Y00481 PEP2525-1500 ! ﬁ\?\f&rﬁaﬁtic Finger Gripper 8.Y00084 GFR14-95G 7
%'Tﬁgﬁﬁm?o“*‘ipmme 4.Y00070 P2525 8 %E;Eﬁion Tube 7.Y00733 SMBY14-50 6
ﬁiﬁ%ﬁfmoner 8.Y00088 GMP20A 3 ﬁ:ﬁﬁﬁg Bracket 7.Y00200-T | SMBE1-1440T 3
%iﬁ%ﬁﬁ FGA Series 1.Y12301 FGA-20-HTI-60 2 gﬁ%zﬁf{;ckﬂ For Profiles| 7-Y00194-T SMBA-2525T 4
gﬁfﬁfﬁﬁpensions 8.Y00061 VFR1421-G18 2 Ezfu% Cup Fiting 7.Y01047 VM40-G18 2

EBRXACRGIREH / Thelist contains only CRG standard parts.




iz Application examples

BhitfESR

Base Frame

BERR  (ERENEAR

HEMAL - 2700T

JREEE : 25KG

BELHE 114

AERmEREERE | HEATRIE +SIHIE , BRE
ER0.3mmLAR |, SKERBRRRE , ERHEMEBARAR
R, HERAEREAS AT BRI,

Product Description:

Name of fixture: Fixture of take out for instrument panel
Machine tonnage: 2700T

Weight of fixture: 25kg

Sprue quantity: 11

Due to the short molding cycle, the product needs to be taken
out and cutin the mold, and the shear accuracy is required to
be within 0.3mm. The fixture adopts non-marking suction cups,
the clamp interface adopts soft rubber pad, and the angle can

be adjust by multifunctional to make elbow arm complete the

clamping.
ShB T8
Clamp Leg Elbow Arm

Bt
Extruded Profiles
A7
KOk Parallel Gripper
Sprue Gripper

R

Vacuum Cup

SCHE
Side Manifold Block

TR

Cross Mounting Bracket For Profiles



1z Application examples

EhttELS

Base Frame

PR

BEER RENDBENHER

HAMAL : 2700T

BEEE : 80KG

BSLEE 149

RENDMED AEEN , FRABRKEN , MEELE
KR , AFRRATRERERN , XEEEIERINEE .,
LS ERIRFIEN .

Product Description:

Tool Name: Fixture of take out for car threshold strip

Machine tonnage: 2700T

Weight of fixture: 80kg

Sprue quantity: 14

The car threshold strip is divided into left and right parts. There has long
under-cut in the product which can not be taken out horizontally after
being ejected. The product is absorbed by non-marking suction cup,
and the fixture has the function of rotation, so the product can be taken

out smoothly.

S e Sl
Vacuum Cup Side Manifold Block Air Cylinder

/AR RS BRIIFAT ek R TFEERMG
Robot mounting plate Non-rotative Suspensions With Integral Elbow Arms Cross Mounting Bracket For Profiles

Bf =5& UNSES B Bl 28 SHRMSE

Extruded Profiles Signal Boxes Sprue Gripper Angle Bracket For Profiles Mounting Bracket The Adsorption Of Pneumatic Fittings



iz Application examples

BhitfESR

Base Frame

=t

BEER | RIITERHER

HLEMAL : 1800T

JREEE : 20KG

BL#E 8

FRAEIRFRGE  SRESEMEE | P REMERA
FTIRRE | RHEMEARBRRE , HERRERREZI
BEEE AR,

Product Description:

Fixture Name: Fixture of take out for bumper

Machine tonnage: 1800T

Weight of fixture: 20kg

Sprue quantity: 8

It needs to be equipped with cylinder to pulling from side
because the product can't be demoulding smoothly. The
contact surface of the product adopts non-marking suction
cup, the clamp interface adopts soft rubber pad, and the
angle can be adjust by multifunctional to make elbow arm

complete the clamping.

FERHT EX]

Extension Tube Elbow Arm

AT A B IE R IR
Fixing Plate With Adjustable Angle

R

Vacuum Cup

KOk
Sprue Gripper

Sapikis
Pneumatic Finger Gripper

BlESZZR

Mounting Bracket

Big
Extruded Profiles

M8\ AN %R TR

M8 8 Ports Junction Box Cross Mounting Bracket For Profiles



iz Application examples

BhitfESR

Base Frame

iR

BEER  SERBEANRHEE;
PER—E—IY

AR — B —E

SBA - AXAR

BB EAN55kg

Product Description:

Name of fixture: Fixture of embed and take out for automobile
slat bars;

One cavity in one mould;

One side of the fixture is taken out and the other side is
embedded.

Gas circuit: five suction and two gripping.

The weight is about 55kg.

QC200 i
QC200 quick changer

e EAEE

Positioning device

TS e S
Positioning cylinder E E ,—,..;:g‘t .G‘

—~

HEHSET

Push out the cylinder

EEREFL
Embedded insert 1

7 ENERA2
PJE?EEQ Embedded insert 2



1= FsLfl Application examples

EAfitELE
Base Frame

R

ARSI FFRERREER
FER—IEIY

FHsk A7k OS2 52EY

B TX

BEEN6kg

Product Description:

Name of fixture: Fixture of take out for Switch panel ;
Four cavities in one mould;

Take sprue gate out with sprue gripper.

Gas circuit: two gripping.

The weight is about 6kg

HEE [} i

Junction box !

. PEEEE

£ I. . Flat Straight Connector

REES
Parallel Gripper

TR ER

Cross Mounting Bracket For Profiles

xOsk
Sprue Gripper

PEP251881%4
PEP2518Profile




iz Application examples

BhitfESR

Base Frame

PRI

BEER  EIESEANHAE
R—EIIN
HRFSRASELHES | 1B

S ZIRTE

0 AEERE : 10kg

% 3

Product Description:

Name of fixture: Fixture of embed and take out for copper nut;
Two cavities in one mould;

The insertis pushed out by cylinder and embedded;

Gas circuit: two suction and two gripping.

Weight of fixture: 10kg

A ek B

— Rotative Suspensions
FEEES P
Flat Straight Connector

Ritk
Quick Changer

CmHE
Side Manifold Block

HEEEUER
Mould Positioner



iz Application examples

BhitfESR

Base Frame

PR
AERMR  HLERISLERHE R,

[ AVI

FELR 7K OSREN
SR 2K

BEEZ3.2kg

Product Description:

Name of fixture: Fixture of take out for sprue gate and cable tie;
16 cavities in one mould;

Take sprue gate out with sprue gripper.

Gas circuit: two gripping.

The weight is about 3.2kg

KOk
Sprue Gripper

JEEHR
BASE SEa

Junction box

DO
CICICICI
I

CHE
Side Manifold Block



1= FsLfl Application examples

EAfitELE
Base Frame

=R

BEER IRERAREE

PER—ERIT

FERRAFTRMBESIIRE |, BELRAKOREH
SEA=F—R

BB E%3.5kg

Product Description:

Name of fixture:Fixture of take out for auto parts;
Two cavities in one mould;

The product is taken out by parallel clamp and holding
cylinder, and take sprue gate out with sprue gripper.
Gas circuit: one suction and three gripping.

The weight is about 3.5kg.

YNEPS
Sprue Gripper

Holding Cylinder
—
\d .J-t.l—lq ‘r
|

L ,—ll |

-
1 Y {

BESH —
I
i

TR N
ParaIIteC;ripper TFRMERM

Cross Mounting Bracket For Profiles

——BEEXR

= = Mounting Bracket
) f‘ .
i
?; Vi b i
-~y

iy

2525Extruded Profiles

2
'Ebznu&wgai‘

The Adsorption Of Pneumatic Fittings e
‘ |

A FEIER

Manipulator fixed plate



1= FsLfl Application examples

BEAtifEZR

Base Frame

PR

ARSI | HESET SR BTA
FER—ETRIN

BELEE

SR Uk

JAEEY6kg

Product Description:

Name of fixture: Fixture of cut and take out for Digital camera shell;
16 cavities in one mould;

The sprue gate needs to be sheared

Gas circuit: four gripping.

The weight is about 6kg.

QC90tR %
QC90 quick changer

¥ ]

N20PF&57]
N20PF Air Nipper

NY10RAJEZT]
NY10RAJ Air Nipper

FEWBRIE

Stainless steel chute



1= FsLfl Application examples

HAtifESR

Base Frame

P

RERR  RERMEEHISE;

FR—EIN

BEMEZRRA20NE |, FRRAREINREHEL;
SR —k—%

BB EN15kg;

Product Description:

Name of fixture: Fixture of take out for Car grille;
One cavity in one mould;

The fixture frame is made of the steel pipe 20, and the
productis taken out by vacuum cups and pneumatic
finger gripper;

Gas circuit: one suction and two gripping.

The weight is about 15kg.

QC160 frig
QC160 Quick Changer

Extension Tube

TR
Cross Connector

SUSINE
SUSTube



iz Application examples

BhitfESR

Base Frame

PR

RERTR | HESENSRELA

FER—E—IN

LR AR OSNIEIRKR A BN

SR —XK—R

BEEZ:3kg

Product Description:

Name of fixture: Fixture of take out for Digital camera shell ;
One cavity in one mould;

Take sprue gate out with sprue gripper and non-standard clip

Gas circuit: one suction and one gripping.

The weight is about 3kg.

FHEEER

Flat Straight Connector

pom TEI{pH
pom Positioning profiling

FEtRR

Non-standard clip

XAk
Sprue Gripper

FA7 3
Parallel Gripper



1= FsLfl Application examples

BEAtifEZR

Base Frame

= mRiEIA:

BRI 28, REDHENER

FER—E—IR

SEBANEKZRGR

BREL : 55kg

Product Description:

Name of fixture: Fixture of embed and take out for nut, sheet
metal

Two cavities in one mould;

Gas circuit: Fixture of two suction and six gripping

The weightis about 55kg.

REEMR

Mould positioner

Ri%
Quick Changer

(R

Sensor

S§

Vacuum Cup

e MSEL
EEZZ%E Gripper Cylinder

Mounting Bracket



iz Application examples

BhitfESR

Base Frame

PR

ARSI  RERGEBNHER

FR—EIN

FrmRBRIE + IR A

FELSR AR OSREH ;

SE  —R=3%

AEEE : 23kg

Product Description:

Name of fixture:Fixture of slide and take out for auto parts;
Two cavities in one mould;

Take product out with finger gripper and vacuum cup;

Take sprue gate out with sprue gripper;

Gas circuit: one suction and three gripping.
Weight of fixture: 23kg.

KOk - RobikiE
Sprue Gripper One Finger Angular pneumatic Grippers
TEFIEER
jﬂ Cross Mounting Bracket For Profiles
50258444

5025 Extruded Profiles

Junction box




iz Application examples

BhitfESR

Base Frame

PR
REER  RERBRENHARE

FR—EIN

FRRAREZEY ;
& ZIR"E

JAEER : 18kg

Product Description:

Name of fixture: Fixture of take out for Automobile wheel
hub cover;

Two cavities in one mould;

Take product out with vacuum cup;

Gas circuit: two suction and two gripping.

Weight of fixture: 18kg.

CtHE

=8 . j
ElbowﬁArm Side Manifold Block
TR
= Cross Mounting Bracket For Profiles
=
TRI% .
Quick Changer [0
: o) | —
|l = 6 RS

Vacuum Cups



EtREHI=& Application examples

£ tHO

All-steel jaws

ERmMRABENARIE

All food grade stainless steel body

IR E il 2k O 3k

Non-standard custom nozzle clamp

BmRIRR

Food grade quick changer

IEARRE il 2k O 3k

Non-standard custom nozzle clamp

JRHRTE Bl K F1%

Non-standard custom vigorous clip

3 R T IEAT E

[VIReceive all kinds of non-standard customizations



E i |j\:| ?\ﬁ:l'Contents

i—ﬂ*jx %Wﬁéf Profile‘ SUS Tube

2R Stents Module 06-52
tR¥E Quick Changer 53-96
,:;’f SEELAH Grip Module 97-180
SBBST] Air Nipper 181-207
BZ B Vacuum Module 208-244

Bﬂ'ﬁ: Accessory Components 245-262



?%I General Index

B, WNE

c
@

Xy

P-BIfF. NE
Profile, SUS Tube

PST-iNE
Sus Tube
TR#Y/Page 1

PEP-E4
Extruded Profiles
af8/Page 2

PT-TEUZR
T-Nuts
T/ Page 3

S-ZLRIEA
Stents Module

SFP-B4A[E ER
Fixing Plate
TR/ Page 6~8

SMB-1RAREEM
Module Fixed Part
WY/ Page 9~38

SV-IR &7 58
Vacuum Cups Bracket
WY/ Page 39~43

SC-JhRiEsz
Clamp Leg Connector
TAfB/Page 44~49

SEA-SEEEH
Elbow Arm Connector
aH8/Page 50~51

SBN-ERFIES
Bush Nut
TAf3/Page 52

EHAMH

Q-tRi%
Quick Changer

QCA-EHzhikik
Automatic Quick Changer
TR#Y/Page 53~78

QC-EFFahiRi
Round Quick Changer
f8/Page 79~90

SIP-fRIGIZESZR

Quick Changer Connector
Ta#L/Page 82~90

QCS-ISHF iRk
Square Quick Changer
s/ Page 91

QCL-LFZFapihin
Manual Quick Changer
WY/ Page 92~94

QCA-L.BmR
Automatic Quick Changer
TAf3/Page 96

G-kREAM
Grip Module

GMH-S#I3¥k
Cylinder Gripper
TR#3/Page 97~100

GMHZL2-jiF17k
Lengthen Parallel Gripper

TA#3/Page 98

GMXQ-Smig&a
Air Slide Table
TR#8/Page 105~113

GR-7kO%k
Sprue Gripper

TS/ Page 114~155




?\?;I General index

B A

B~

GS-E 28
Buffer Support
W8/ Page 162~163

GMP-1REE(IZE
Mould Positioner
WH8/Page 164

GN-S ¢tk
Pneumatic Needle Gripper
R#%/Page 166-167

GBD-5 /K88
Bulging Device
TAfB/Page 168~169

GF-Szpikis
Pneumatic Finger Gripper
TAf3/Page 170~177

GO-Szhikig

One Finger Angular Pneumatic Grippers

RHL/Page 178

N-S #1858
Air Nipper
N-BI TSR

Air Nipper Body
Y/ Page 186~187

N-837]703k
Air Nipper Blade
W8/ Page 188~205

NT-57]5|#% 4
Air Nipper Bracket
Taf8/Page 207

V-EZEEG
Vacuum Module

FGA-IRE
Vacuum Cup
TAfB/Page 208~211

yE=

NV s

VSH-IR#
Vacuum Cups
TAf8/Page 212~214

SAF-IR £
Vacuum Cups
Taf8/Page 215~216

VM-p e Bk
Vacuum Cup Connector
At/ Page 217~225

VF-£ B& 1T
Stem Suction Buffer Body
W8/ Page 226~229

VUVG-EBH#F
Solenoid Valve
A8/ Page 235

Compact-ETEAH
Vacuum Module
TAf8/Page 236~244

A-BiHH

Accessory Components

B3 14

ASC-E5&
Signal Boxes
a8/ Page 245

AJB-p&E
Junction Box
TRf9/Page 246~249

ARJ-BYRLE R
Miniature Regulator
TAf3/Page 250

KQ2-S sk
Hose Fitting
W8/ Page 252~261

AH-5%
Hoses
af8/Page 262




MRS |, X

aqnL SNS - 3|4o.d

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

AIENE

Sus Tube

A A

‘.8

ME RS
-<°—Dl_ Tube plugs
£8S(PN) A= (Model) D(mm) L(mm) T(mm) EE(Weight) imE(Plugs)
4.Y00040 PST8-1500 28 1500 0.6 215g 1.Y03375(4It®)
1.Y03636(/kt®)
4.¥00021 PST12-1500 12 1500 0.6 339¢g 1.Y03638(i5t2)
1.YO3640(2t)
1.Y03637(}kt2)
4.¥00022 PST20-1500 @20 1500 0.8 5609 1.Y03639(i5t2)
1.Y03641(%Ef)
f2& Aluminium Tube
1 ¢
£S5 (PN) EIE(Model) YD) L(mm) T(mm) FEE(Weight)
4.Y00468 PAT20-1000 @20 1000 2.0 3089
410972 PAT20-2000 @20 2000 2.0 6164
4.Y00469 PAT30-1000 230 1000 2.5 5589
4Y10973 PAT30-2000 @30 2000 2.5 11169
4.¥10950 PAT25-1000 @25 1000 2.5 4679
410974 PAT25-2000 @25 2000 2.5 934g
4.¥00538 PAT40-1000 240 1000 2.5 799g
4.¥10975 PAT40-2000 240 2000 2.5 15589
BREFHEE Carbon fiber Tube
oo |
£RE(PN) #5(Model) D(mm) L(mm) T(mm) EE£(Weight)
4.Y10960 PCT8-1000 28 1000 0.8 31g
4.¥10961 PCT8-2000 @8 2000 0.8 629
4.¥Y10962 PCT12-1000 @12 1000 1.0 59g
4.Y10963 PCT12-2000 @12 2000 1.0 118g
4.Y10964 PCT20-1000 @20 1000 1.2 103g
4.Y10965 PCT20-2000 @20 2000 1.2 2069
4.Y10966 PCT25-1000 @25 1000 1.5 1699
4.Y10967 PCT25-2000 @25 2000 1.5 3399
4.¥Y10968 PCT30-1000 230 1000 1.5 2369
4.¥Y10969 PCT30-2000 230 2000 1.5 4729
4.¥Y10970 PCT40-1000 240 1000 2.5 431g
4.¥10971 PCT40-2000 @40 2000 2.5 861g




Bt Extruded Profiles

25
17.50
1
6.20 o5 T -
AQ
6.20 & @ &
9 2 T p® E j . %,
2 ° gq g © E Qe AN ’
(
18 { I ]
2 - Emg oY 9O
18 18
6.20
PEP1818 PEP2510 PEP2518 PEP2525
40
30 o [ s )
50 23 @ A Plugs for profile
6.20 20 { ) &
1 ) Nard ek
& )/ ‘
= 7 >
: :D | | - D‘@@
oV L
I fany
@ X EANY | BL e
25 w %ﬁ\ L_l6.20
S
J
PEP5025 PEP3030 PEP4040
S (PN) BYE (Model) KB (Length) B & (Weight) IHEE S S (PlugsPN)  UfiEa B2 5 (Plugs Model)
4.Y00075 PEP1818-1000 1.0m 425¢g 4.Y00517 P1818
4.Y00076 PEP2510-1000 1.0m 3109 4.Y00518 P2510
4.Y00455 PEP2518-1000 1.0m 4009 4.Y00069 P2518
4.Y00050 PEP2525-1000 1.0m 6109
4.Y00070 P2525
* 4.Y00051 PEP2525-2000 2.0m 12209
4.Y00056 PEP5025-1000 1.0m 10409
4.Y00071 P5025
* 4.Y00057 PEP5025-2000 2.0m 2080g
4.Y00052 PEP4040-1000 1.0m 13009
4.Y00072 P4040
* 4.Y00053 PEP4040-2000 2.0m 26009
4.Y00540 PEP3030-1000 1.0m 6509 3030
* 4.Y00541 PEP3030-2000 2.0m 13009
* %4 Optional
Bt A
Plugs for profile
\ J
PEP-3636
EBEPN) 2 (Model) B (Length) EE(Weight) I SIS (PlugsPN) Uiz B2 S (Plugs Model)
4.Y00054 PEP3636-1000 1.0m 1168g
4.Y00484 PEP3636-1500 1.5m 1752g 4.Y00073 P3636
* 4.Y00055 PEP3636-2000 2.0m 23369

* %44 Optional

B3y | FhE

agnL SNS . 2]1404d

HEE A M

S|NPOA SIUdIS

S SR

J9bueyd oD

S
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wnNndep

~
F=

syusuodwo?) A10ss8d0y




MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-_T3
=
e

sjuauodw o) A10ssa20Y

TEUER T-Nuts

Lo / //’ S
£ g
5.4mm
5S(PN) 25 (Model) A(mm) B(mm) () EE(Weight)
7.Y00651 PTN-M4 M4 L5 7.5 59
7.Y00425 PTN-M5 M5 15 7.5 5g
7.Y00652 PTN-M6 M6 15 7.5 59
| |
SN c i |
: O—r
=)
5.4mm B
£55(PN) #5(Model) A(mm) B(mm) C(mm) E=(Weight)
7.Y00653 PTN-M4P8 8 M4 16 59
7.Y00654 PTN-M5P10 10 M5 20 79
7.Y00655 PTN-M5P15 15 M5 25 99
7.Y00656 PTN-M5P17 17 M5 25 99
7.Y00657 PTN-M5P22 22 M5 32 11g
7.Y00658 PTN-M5P25 25 M5 35 139
7.Y00659 PTN-M5P28 28 M5 38 149
7.Y00660 PTN-M5P30 30 M5 40 159
7.Y00661 PTN-M5P35 35 M5 45 169
7.Y00662 PTN-M5P40 40 M5 50 189
7.Y00663 PTN-M5P50 50 M5 60 229
7.Y00664 PTN-M5P60 60 M5 70 269
7.Y00665 PTN-M5P90 90 M5 100 38¢g
Last-Minute Nut

LEERIFRA B R RN — LR AR T LR,

To be used when you need to add something to an already assembled EOAT.

£S5 (PN)
7.Y00805

3.80

#Z(Model)

PTN-M5R

EE(Weight)

M5

all

L/

8.20

5.30

10.60

29




AiENIE22  Sus Screws

7D
ZE
A C i@é
=2
] N g
m eo
=%
s
H2
£RS(PN) A5 (Model) A(mm) B(mm) C(mm) D(mm) E(mm) EE2£(Weight) 2
1.Y03908 PTC-MA4L10 10 1.6g
1.Y03848 PTC-M4L12 12 1.8g
1.Y02752 PTC-M4L14 14 1.99
O
1.Y04073 PTC-M4L16 16 via 4 63 35 2.0g EE'
1.Y05846 PTC-M4L18 18 2.1g 2
1.Y04000 PTC-M4L20 20 2.29 H
1.Y06307 PTC-M4L22 22 2.5g 3
1.Y05319 PTC-M4L25 25 2.79
1.Y04294 PTC-M5L10 10 2.99
1.Y03850 PTC-M5L12 12 3.1g ég
1.Y04528 PTC-M5L14 14 3.3g A
1.Y03849 PTC-M5L16 16 3.69 e
1.Y05925 PTC-M5L18 18 3.8g ®
1.Y03909 PTC-M5L20 20 4.0g
1.Y06257 PTC-M5L22 22 b4k . 8.3 4.1 43g
1.Y03851 PTC-M5L25 25 4.7g
1.Y04469 PTC-M5L30 30 5.3g 52
1.Y04580 PTC-M5L35 35 5.9g Mz
1.Y04898 PTC-M5L40 40 6.5g %§
1.Y04968 PTC-M5L50 50 7.69 )
1.Y05391 PTC-M5L60 60 10.0g
1.Y04288 PTC-M6L10 10 4.0g
1.Y03910 PTC-M6L12 12 4.69
1.Y04153 PTC-M6L14 14 5.29 Hs
1.Y02753 PTC-M6L16 16 5.59 =2
1.Y07729 PTC-M6L18 18 Mé 6 10 5.3 5.79 {5
1.Y04076 PTC-M6L20 20 6.1g (RS
1.Y06227 PTC-M6L25 25 6.99 £
1.Y04001 PTC-M6L30 30 7.79
1.Y03911 PTC-M6L35 35 8.69
y
las

syusuodwo?) A10ss8d0y



MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-_3
=
e

sjuauodw o) A10ssa20Y

WigFEH  Single Hole Shim

7 — |

Y

HE(PN) #E2(Model) A(mm) C(mm) & &(Weight)
1.Y03853 PTS-M4 45 0.07g
1.Y03852 PTS-M5 5.5 0.17¢g
1.Y03854 PTS-M6 6.5 0.20g
WFLFE#H Double Holes Shim
[=]
T :i-e A o £ ety o
I
a1 G\ #5(Model) A(mm) B(mm) C(mm) D(mm) E%(Weight)
4.Y00522 PTD-M4P8 8 4.5 16 12 1.8g9
4.Y00523 PTD-M5P10 10 5.5 20 12 2.29
4.Y00524 PTD-M5P15 15 5.5 25 12 2.5¢g
4.Y00525 PTD-M5P17 17 5.5 25 12 3.0g
4.Y00526 PTD-M5P22 22 5.5 32 12 3.3g
4.Y00527 PTD-M5P25 25 5.5 35 12 3.5¢g




BRIAItEZENR  Straight Fixing Plate wesyepism) (Kit With Screws Option)
S RBSTEM S STIRENT 1 BESFP-S2550T #457.Y00641-T

Fijhs
ZE
T i e
& % @ B A\ aLl_a N\ g
s & & 7 &
D C E ﬁ%
EEGIY) 7.Y00641 7.Y00642 7.Y00643 %’EE
B2 (Model) SFP-S2550 SFP-525100 SFP-S40160 gﬁg
A(mm) 25 25 40 <
B(mm) 50 100 160
C(mm) 25 25 40
D(mm) = 25 40
_IIE_(mm) - 25 40 o
(mm) 3 3 3 }ﬁi
PEP2510 v v - o
PEP2518 v N - E
PEP2525 v v - o
PEP5025 v N =
PEP4040 - - v o
183 £T 15 B {4 Accessorier selection E%
PR (screws) PTC-M5L12%2 PTC-M5L12*4 PTC-M5L12*%4 g5
T B single hole shim) PTS-M5*2 PTS-M5*4 PTS-M5*4 fre
TRUER(T-Nuts) PTN-M5*2 PTN-M5P25*2  PTN-M5P40*2
AR E(Weight) 45¢g 959 195¢g
LBURYFAIEIENR L-shaped Fixing Plate @msre@ismm) (Kit With Screws Option) .
NSRS EM R EFIREINT W BSSFP-L2550T ££E7.Y00647-T 5’2.%
A 73
7 Y0649 . r
? © :
of w < Hs
) ° g ® @@ - E
. ) fhz
C D T - g-
B o
#E(PN) 7.Y00647 7.Y00648 7.Y00649
#E(Model) SFP-L2550 SFP-L2575 SFP-L40120
A(mm) 25 25 40 S
B(mm) 50 75 120 #g
C(mm) 25 25 40 2
D(mm) = 25 40 g
E(mm) 25 25 40 3
F(mm) 12.5 12.5 20 ]
G(mm) 50 50 80 @
T(mm) 3 3 3
PEP2510 v v -
PEP2518 V] v =
PEP2525 v v -
PEP5025 N v =
PEP4040 - - v
183 £T 34 B {4 Accessorier selection
B4 (screws) PTC-M5L12*3 PTC-M5L12*4 PTC-M5L12%4
WS single hole shim) PTS-M5*3 PTS-M5*4 PTS-M5*4
, PTN-M5*%1
TEUBHT-Nuts) PTN-M5P25*2  PTN-M5P40*2

PTN-M5P25*1

BEEWeight) 709 95¢g 200g




TEIEENR T-shaped Fixing Plate wgsrzeiem) (Kit With Screws Option)

- T BRI EM S SMEE T 0 BUESFP-T2550T £557.Y00644-T A L.
S o
i @ ®
@
41 B A& ) .D
@ @ ¢ ) @ @
s 2 = : N
15 2 8
@5
£ 52 (PN) 7.Y00644 7.Y00645 7.Y00646
A2 (Model) SFP-T2550 SFP-T25100 SFP-T40120
A(mm) 25 25 40
B(mm) 50 100 120
g C(mm) 25 25 90
}ﬁi D(mm) - 25 -
o} E(mm) - 25 -
E F(mm) 25 25 40
e G(mm) 12.5 12.5 15
H(mm) 75 75 110
%o T(mm) 3 3 3
g% PEP2510 v N -
HE PEP2518 Vv vV -
1¢§ PEP2525 v v -
PEP5025 v Vv .
PEP4040 - - v
88 £T 34k & /4 Accessorier selection
BRZ%(Screws) PTC-M5L12*4 PTC-M5L12*6  PTC-M5L12*4
g? I F#Ysingle hole shim) PTS-M5*4 PTS-M5*6 PTS-M5*4
zZ
BT TEUREHT-Nuts) PTN-M5P25%*2 PTN-M5P25*3 PTN-M5pP4071
7% PTN-M5P90*1
HE B (Weight) 959 145¢g 2509
AS5°EEMR  45° Fixing Plate «@s7&#%8) (Kit With Screws Option)
B £ NEREGRSMAESIT a0 BSSFP-50T £E57.Y00636-T
78 3
fis
@
% R
%2 g
o g
: - g
: :
g 7.Y0063 ~ “—
g 12.50 25 2 3
2 50 -

BS(PN) 7.Y00636
#lS(Model) SFP-50
QC-G... QC-G50
EE(T) 3mm

12 £7 1% BC 14 Accessorier selection
BRZ%(Screws) PTC-M5L12*4
Xyﬁqzﬂ(smgle hole shim) PTS-M5*4
TEUMREHT-Nuts) PTN-M5P25%2
RAEEEWeight) 100g




AEATRERMIEREIR Fixing Plate With Adjustable Angle @gs&#%m) (Kit With Screws Option)
i NEIRSTE M RSB SINT f0: BESFP-A60T $£57.Y00637-T H
Y

=

ReE

= }
2
S

B3y | FhE

agnL SNS . 3]1401d

cme ( @) O D fﬁ
a - L EZ
o 5 T ?ﬂg
HE(PN) 7.Y00637 7.Y00638 7.Y00639
A E(Model) SFP-A60 SFP-A90 SFP-A70
A(mm) 60 90 70
B(mm) 85 95 100 e
C(mm) 40 60 50 Tﬁ%
D(mm) 10 15 10 y
E(mm) 40 50 40 3
F(mm) 12.5 12.5 20 i
G(mm) 76 86 90
H(mm) 12.5 12.5 20 £
L(mm) 25 25 40 ;%%
M(mm) 30° 30° 27° pe
T(mm) 3 3 3 ®
PEP2510 v v N
PEP2518 v v _
PEP2525 v v N
PEP5025 v v - s>
PEP4040 - - v IE:
18 £7 1% B 14 Accessorier selection Eé§
$B 2% (screws) PTC-M5L12*4 PTC-M5L12*5 PTC-M5L12*4 7%
LG HYsingle hole shim) PTS-M5*4 PTS-M5*5 PTS-M5*4
i R PTN-M5P50*1  PTN-M5P40*1
TEHRRHT-Nuts) PTN-M5P4072 PTN-M5P60*1  PTN-M5P50*1
PTN-M5*1 s
SEEWeight) 1309 215g 175g v =0
] 55
i ‘ . LS
A5 g_
& 2
O | m
8 = - “ 8
8 O O ) 3
e S
12.50 25 3 g
50
#E(PN) 7.Y00640
A= (Model) SFP-A50
QC-G... QC-G50
EE(T) 3mm
128 £T 346 B {4 Accessorier selection
BB 22 (Screws) PTC-M5L12*4
WG HYsingle hole shim) PTS-M5*4
TEUSREF(T-Nuts) PTN-M5P25*2
BEEWeight) 115¢g




+FEIIEEMHE Cross Mounting Bracket For Profiles @gsr&#8) (Kit With Screws Option)
E ERETEHSRSMNESIT W 88SSMBA-1818T £57.Y00290-T

B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

SR

J9bueyd }oINd

Frm

a|npo\ diig

SMBA-2525

PEP2525

SMBA-4040

PEP4040

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

==

£RE(PN) EE(Model) C D E PEP1818 PEP2510 PEP2518 PEP2525 PEP5025 PEP4040 PEP3030
7.Y00290 SMBA-1818 18 18 2 38 38 v

7.Y00291 SMBA-1825 18 25 4 38 45 v v v v

7.Y00245 SMBA-2020 20 20 4 50 50

7.Y00194 SMBA-2525 25 25 4 50 50 v v v v

7.Y00193 SMBA-3030 30 30 4 50 50 v
7.Y00011 SMBA-5050 50 50 4 70 70 v

7.Y00292 SMBA-2550 25 50 4 70 70 v v v v

7.Y00246 SMBA-4040 40 40 4 60 60 v
7.Y00355 SMBA-8080 80 80 4 100 100

7.Y00293 SMBA-4080 40 80 4 60 100 v
7.Y00294 SMBA-2580 25 80 4 45 100 Vv v v

7.Y00356 SMBA-2540 25 40 4 45 60 v v v v v
7.Y00690 SMBA-3025 30 25 4 50 50 v

12 £T 1% B 14 Accessorier selection

sjuauodw o) A10ssa20Y

BE 1222 PSR TEURE REE

(Model) (Screws) (Single hole shim) (T-Nuts) (Weight)
SMBA-1818 PTC-M5L12*4 PTS-M5*4 PTN-M5P28*2 469
SMBA-1825 PTC-M5L14*4 PTS-M5*4 PTN-M5P28*1,PTN-M5P35*1 60g
SMBA-2020 PTC-M5L14*4 PTS-M5*4 PTN-M5P40*2 759
SMBA-2525 PTC-M5L14*4 PTS-M5*4 PTN-M5P40%*2 759
SMBA-3030 PTC-M5L14*4 PTS-M5*4 PTN-M5P40*2 749
SMBA-5050 PTC-M5L14*8 PTS-M5*8 PTN-M5P60*4 1709
SMBA-2550 PTC-M5L14*6 PTS-M5*6 PTN-M5P60*3 155¢g
SMBA-4040 PTC-M5L16*4 PTS-M5*4 PTN-M5P50*2 85g
SMBA-8080 PTC-M5L16*8 PTS-M5*8 PTN-M5P90*4 255¢g
SMBA-4080 PTC-M5L16*6 PTS-M5*6 PTN-M5P50*2,PTN-M5P90*1 1759
SMBA-2580 PTC-M5L14*2 16*4 PTS-M5*6 PTN-M5P35*2 PTN-M5P90*1 1409
SMBA-2540 PTC-M5L14*2 16*2 PTS-M5*4 PTN-M5P35*1,PTN-M5P50*1 489
SMBA-3025 PTC-M5L14*4 PTS-M5*4 PTN-M5P40*2 479




B R R B E R

Cross (Squafe) Joint Connector gsr&mi%E) (Kit With Screws Option)

T MFIBETEHESHMESINT : 22SSMBB-1818T £57.Y00295-T

B
D ZE
= B E M
% e
- : : g
@ L ; .
“\-J AN G ®
> o v
ﬁ | ¢ R O]
‘ . 7?\ r{ zZa
. N2 A e 2
’ = B ﬁ‘\ Bl
‘.""f : BIRFHME Outside gﬂg_
e BB inside =
IR )
Pary
T Qf
o
_ - s
= - SMBB-2525 %
Lrgb
SMBB-2525
%9
——  PEP3636 Bs
PEP2525 hg
Ea=G\)) 7.Y00295 7.YO0817 7.Y00012 VATEEL 7.Y00340 7.Y00163 >
#IE(Model) SMBB-1818 SMBB-1825 SMBB-2525 SMBB-5025 SMBB-2550 SMBB-3030 g-‘z*
A(mm) 18 18 25 50 25 30 IS
B(mm) 18 25 25 25 50 30 AR
C(mm) 25 25 32 57 33 38
D(mm) 38 45 45 45 70 50
E(mm) 12 12 12 12 12 12
. PEP1818 PEP1818 - - = -
1]
AN E Inside N - PEP2525 PEP5025 PEP5025 PEP3030 %?
PEP2510 PEP2510 PEP2510 PEP2510 PEP2510 EEE
PEP2518 PEP2518 PEP2518 - - ﬁ:é
BIF4hE Outside PEP2525 PEP2525 PEP2525 PEP2525 PEP2525 §.
PEP5025 PEP5025 PEP5025 PEP5025 PEP5025 o
PEP4040 PEP4040 PEP4040 PEP4040 PEP4040
PEP3030 PEP3030 PEP3030 PEP3030 PEP3030 PEP3030
18 £7 1% BC 14 Accessorier selection 5 >
BB 4% (Screws) PTC-M5L25*2 PTC-M5L25*2 PTC-M5L35*2 PTC-M5L60*2 PTC-M5L35*2 PTC-M5L40%2 {q:é
WG Hy(single hole shim)  PTS-M5*2 PTS-M5%*2 PTS-M5*2 PTS-M5%*2 PTS-M5*2 PTS-M5%*2 §
TRUREF(T-Nuts) PTN-M5P28*1 PTN-M5P35*1 PTN-M5P35*1 PTN-M5P35*1 PTN-M5P60*1 PTN-M5P40*1 S
REEWeigh 369 42g 459 659 509 51g _%
o



DX B ERMA  Cross (Square) Joint Connector  gsptim)

(Kit With Screws Option)

T NFRETEHESESIT W 888SMBC-1025T £57.Y00296-T

MRS |, X

P oA it
3|NPO S1UBIS
e L
(3
\‘e

aqn1 SNS . 3|yold

DA

- 1 ——FE=3

E

1

BHNE
Outside

.|~;&,(E)
e
. FGA-25-HT1-60
@ FGA-43-HT1-60
% : VM40-G18
%2
B
7 = . VM24-G18
e = SEAV-G1820L78
SVE-G181440
PEP2525
52z SMBC-1432
Hz =0 SMBC-2038 L7
BY
e PEP2525
#£2(PN) 7.Y00296 7.Y00297 7.Y00013 7.Y00226 7.Y00225
B A= (Model) SMBC-1025 SMBC-1432 SMBC-2038 SMBC-3050 SMBC-5070
=2 A(mm) 210 214 @20 @30 @50
4F3 B(mm) 25 32 38 50 70
1¢§ C(mm) 18 22 25 34.5 56
< D(mm) 6.5 9.25 12.5 17.5 28
E(mm) 10 12 15 20 25
PEP1818 PEP1818 PEP1818 PEP1818 PEP1818
PEP2510 PEP2510 PEP2510 PEP2510 PEP2510
B & . PEP2518 PEP2518 - - -
2 J Outside
g EH5HE Ou PEP2525 PEP2525 PEP2525 PEP2525 PEP2525
3 PEP5025 PEP5025 PEP5025 PEP5025 PEP5025
§ PEP4040 PEP4040 PEP4040 PEP4040 PEP4040
3 PEP3030 PEP3030 PEP3030 PEP3030 PEP3030
5 18 £7 1% B {4 Accessorier selection
@ R4 (Screws) PTC-M5L20*2 PTC-M5L22*2 PTC-M5L25*2 PTC-M5L35*2 PTC-M5L50*2
SUEFHy(single hole shim)  PTS-M5*2 PTS-M5*2 PTS-M5*2 PTS-M5*2 PTS-M5*2
TEUEFHT-Nuts) PTN-M5P17+%1 PTN-M5P22*1 PTN-M5P28*1 PTN-M5P40*1 PTN-M5P60*1
REE (Weight) 15¢g 32g 45g 759 1509



EERMIEREE  Vertical Fastening Of The Profiles  ugsrzptiem) (Kit With Screws Option)
TR EHRSIESIT a0 B#25SMBD-2550T £57.Y00227-T

B fii
ZE
2
3 g3
k) U| g
! A
14 o2y
o
- — Bz
O O .
| )
He S |e WP
|
© O
e
c s
A al
B S
e
%2
E_-B
53
e
PEP5025
= >
SMBD-5070 g;
SMBD-5070 Ein
72
PEP2525 PEP5025
s
#HE(PN) 7.¥00227 7.¥00228 e
A=(Model) SMBD-2550 SMBD-5070 =
A(mm) 25 50 e
B(mm) 50 70 °
C(mm) 17.5 425
PEP2525 v v
PEP5025 vV v B &
18 £ 1% B {4 Accessorier selection Vi
R4 (Screws) PTC-M5L12*6 PTC-M5L12*6 3
KA HY(single hole shim) PTS-M5*2 PTS-M5%*2 S
TEIEE(T-Nuts) PTN-M5P40*1 PTN-M5P60*1 3
SEBWeight) 65g 85g s



MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

BUAHEREM  Profiles Connector (R&#s1E#) (Notincluding Kit With Screws)

\ PEP2525 \\—PEPZSZS
e . %

- N .
; < Sg#
\?} SMBDZ 7625 ' ———SMBD2-12025
£RE(PN) 7.Y00426 7.Y00427 7.YO0428 7.Y00429 7.Y00430 7.Y00431
B5(Model) SMBD2-7625 SMBD2-12025 SMBD2-13025 SMBD2-7650 SMBD2-12050 SMBD2-13050
A(mm) 76 120 130 76 120 130
B(mm) 25 25 25 50 50 50
C(mm) 25 25 25 25 25 25
D(mm) 28 28 28 53 53 53
E(mm) 104 148 158 104 148 158
T(mm) 2 2 2 2 2 2
PEP2525 v v v - - -
PEP5025 = = = v v v
BB EWeight) 50g 60g 659 759 100g 1109

BUMEOEZZE  Angle Bracket For Profiles  (57%¢#5®) (Kit With Screws Option)
TR SSABENT M BSSMBD3-2525T £57.Y00812-T

K

ol

= I ol
85 (PN) 7.Y00812 7.Y00813 7.Y00814 7.Y00815 . 2
5 (Model) SMBD3-2525 SMBD3-2550 SMBD3-4040 SMBD3-4080 %akj“‘
A(mm) 28 28 50 50 o0
B(mm) 18 40 22 70 <
C(mm) - 25 - 40 % -
D(mm) @5.2 @5.2 26.2 06.2 —1 4
E(mm) 9 7.5 11 15 ==
T(mm) 3.2 3.2 6.2 6.2 A
PEP1818 .
, PEP2510 PEP4040
Bt PEP2518 PEP2550 PEP4080 PEP4080 J o o
PEP2525 ' o
12 £T % B 14 Accessorier selection
1244 (Screws) PTC-M5L12*2 PTC-M5L12*4 PTC-M6L14*2 PTC-M6L14*4
PTS-M5%*2 PTS-M5*4 PTS-M6*2 PTS-M6*4
TEUEEHT-Nuts) PTN-M5%*2 PTN-M5*4 PTN-M6*2 PTN-M6*4
BER(Weight) 269 53¢ 52¢g 1049



SFEiEESE Flat Straight Connector (g47&#%%) (Kit With Screws Option)
BRI EM SR SMESHIT a0 8 5SMBE-1010T £557.Y00300-T

L D ggg
| =
| > EE‘
Q g
o %8
m %’EE
= = =
A [
% \]
e N i
G M
F ’9&‘8
®y
g
SMBE-2022 ~ + o
" SMBE-2022 éé
53
He
PEP4040 PEP4040 ”
5z
&z
L]
72
7.Y00300 7.Y00301 7.Y00775 7.Y00864 7.Y00302 7.Y00014 7.Y00304
BE(Model) SMBE-1010 SMBE-1014  SMBE-1210 SMBE-1214  SMBE-1414  SMBE-2014  SMBE-2022
A(mm) @10 210 212 212 014 220 @20
B(mm) 10 14 10 14 14 14 22 B
C(mm) 43 49 43 50 51.50 57 73.50 fgg
D(mm) 20 20 20.5 20.5 25 30 30 fhz
E(mm) 38 44 38 45 46 51.5 68 a
F(mm) 16 16 16 16 20 25 25 g
G(mm) 45 45 45 45 6 6 6
H(mm) 18 25 18 25 25 25 40
L(mm) 8 8 8 8 12 12 12 W2
M(mm) 8 8 8 8 10 15 15 7
N(mm) 4.2 4.2 4.2 4.2 5.2 ?5.2 5.2 8
PEP1818 N = N - - - - §
PEP2510 - v - v v v - 3
PEP2518 2 N 2 2 v v - S
PEP2525 - v - - v v - 2
PEP5025 = N = = v v -
PEP4040 - - - - - - v

12 £7 3% BC 14 Accessorier selection
PTC-M4L14*2 PTC-M4L14*2 PTC-M4L14*3 PTC-M4L14*3 PTC-M5L16*2 PTC-M5L16*2 PTC-M5L16*2
PTC-M4L12*1 PTC-M4L12*1 - - PTC-M5L14*1 PTC-M5L14*1 PTC-M5L14*1
XU L singeholeshin) PTS-M4*3 PTS-M4*3 PTS-M4*3 PTS-M4*3 PTS-M5*3 PTS-M5*3 PTS-M5*3
TREZEZT-Nuts)  PTN-M4P8*1 PTN-M4P8*1 PTN-M4P8*1 PTN-M4P8*1 PTN-M5P10*1 PTN-M5P15*1 PTN-M5P15*1
FLFE cowendessimPTD-M4P8*1  PTD-M4P8*1 PTD-M4P8*1 PTD-M4P8*1 PTD-M5P10*1 PTD-M5P15*1 PTD-M5P15*1
BEEWeight) 209 21g 229 10g 349 459 489

#8244 (Screws)




B3y | A

aqnL SNS . 3|1404d

HEE S A 0t

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

EESZZE Mounting Bracket (BfTE#%E) (Kit With Screws Option)
RIS EHESMESMT W B85SMBEL-0840T £57.Y00694-T

L/

FGA-25-HT1-60

VM40-G18

‘—GFRzo-gsE

SEA-1414L80

i" ' SMBE1-1440

RS(PN) 7.Y00694 7.Y00201 7.Y00695 7.Y00200 7.Y00199 7.Y00015 7.Y00724
B5(Model) SMBE1-0840 SMBE1-1040 SMBE1-1240 SMBE1-1440 SMBE1-1450 SMBE1-2060 SMBE1-3060
A(mm) @8 210 @12 214 214 @20 @30
B(mm) 40 40 40 40 50 60 60
C(mm) 75 75 75 80.50 90.50 110.50 120.50
D(mm) 20 20 20 25 25 30 40
E(mm) 70 70 70 75 85 105 115
F(mm) 16 16 16 20 20 25 35
G(mm) 4.5 4.5 4.5 6 6 6 8
L(mm) 8 8 8 12 12 12 12
M(mm) 8 8 8 10 10 15 22
N(mm) 4.2 4.2 4.2 @5.2 @5.2 @5.2 @5.2
PEP1818 v v v v Vv v v
PEP2510 v Vv v v Vv v v
PEP2518 v v v v Vv v v
PEP2525 v Vv v v v v v
PEP5025 v v v v Vv v v
PEP4040 - - - v v v v
PEP3030 v v v v vV v v

12 £7 1% B 14 Accessorier selection

PTC-M4L14*2 PTC-M4L14*2 PTC-MA4L14*2 PTC-M5L16*2 PTC-M5L16*2 PTC-M5L16*2 PTC-M5L18*2
PTC-M4L12*1 PTC-M4L12*1 PTC-M4L12*1 PTC-M5L12*1 PTC-M5L12*1 PTC-M5L14*1 PTC-M5L20*1
WG singenolesti) PTS-M4*3 PTS-M4*3 PTS-M4*3 PTS-M5*3 PTS-M5*3 PTS-M5*3 PTS-M5*3

B2 4% (Screws)

@8N PTN-M4P8*1 PTN-M4P8*1 PTN-M4P8*1 PTN-M5P10*1 PTN-M5P10*1 PTN-M5P15%1 PTN-M5P22%1
I oosserossin PTD-M4P8*1  PTD-M4P8*1 PTD-M4P8*1 PTD-M5P10*1 PTD-M5P10*1 PTD-M5P15*1 PTD-M5P22*1

S EE Weight) 139 23¢9 129 38g 409 559 95¢g



ERIETESZZE  Heavy Duty Mounting Bracket (25JE#i#) (Kit With Screws Option)
i EISSTEM S SESINT W0 BVESMBE2-1040T £557.Y00725-T
c $
7=
‘ B ‘ ~®
\_| e
N B3
o C (©) =
= '8
©)
J
l&“? § Snzw
23
1= 2
|
E
:r;&(:_)
23
9
FGA-25-HT1-60 3
VM40-G18
i GFA30-35 =7
1, s
- pe
SEAV-G1820L78 SMBE2-3060
= -
- . SMBE2-2060 52
* Mz
) CH
o e
HE(PN) 7.Y00725 7.Y00777 7.Y00307 7.Y00308 ATIERE)
A2 (Model) SMBE2-1040 SMBE2-1240 SMBE2-1450 SMBE2-2060 SMBE2-3060 -
A(mm) 210 212 014 @20 230 %5
B(mm) 40 40 50 60 60 ZEE
C(mm) 75 75 91 111 122 (RS
D(mm) 20 20.5 25 30 42 3
E(mm) 70 70 85 105 115
F(mm) 16 16 20 25 35
L(mm) 8.3 8.3 12 15 20
M(mm) 8 8 10 15 22 Bz
N(mm) ?4.2 @4.2 @5.2 @5.2 @5.2 e
18 £T 1% Bt 14 Accessorier selection 8
8824 screws) PTC-M4L18*2 PTC-M4L18*2 PTC-M5L22*2 PTC-M5L25*%2 PTC-M5L30%2 o
T PTC-M4L12*1 PTC-M4L12%1 PTC-M5L14*%1 PTC-M5L16*1 PTC-M6L20%1 3
- * - * _ * _ * _ * =1
e PTS-M4*3 PTS-M4*3 PTS-M5*3 PTS-M5*3 E;gmgi :
TRUERT-Nuts) PTN-M4P8*1 PTN-M4P8*1 PTN-M5P10*1 PTN-M5P15*1  PTN-M5P22*1
SFLFE B Double holes shim)  PTD-M4P8*1 PTD-M4P8*1 PTD-M5P10*1 PTD-M5P15*1  PTD-M5P22*1
BEEWeight) 30g 409 60g 859 175¢




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

fAENAER Slotted Angular Bracket

(I25TE{4%ES) (Kit With Screws Option)

i RRETEM R SMESIIT 0 B2SSMBE3-1020T £557.Y00341-T

FGA-43-HT1-60

VM24-

G18

9,

Coos e
—

I zZ <
(S iS) i)
- @ L ]
4l g p & :
4 1
L C D‘
E

VFET2026-G18 - GFR20-95
y o PEP2525
SMBE3-2040 —-"‘- ﬁ"_ SMBE3-2040
PEP2525
55 (PN) 7.Y00341 7.Y00795 7.Y00342 7.Y00343 7.Y00344
Al S (Model) SMBE3-1020 SMBE3-1220 SMBE3-1430 SMBE3-2040 SMBE3-3050
A(mm) @210 212 214 @20 @30
B(mm) 20 20 30 40 50
C(mm) 23 23 31 39 50
D(mm) 14 14 17 22 28
E(mm) 64.5 65.50 85 107 135.50
F(mm) 16 16 25 25 36
G(mm) 8 8 15 15 22
H(mm) 4.2 4.2 5.2 5.2 5.2
I(mm) - - 15 15 22
L(mm) 15 15 21 26 31
M(mm) 16 16 20 25 36
N(mm) - - @5.2 @5.2 @5.2
P(mm) 9 9 11 13 16
12 £7 3% B 14 Accessorier selection

8244 screws) PTC-M4L18%*2 PTC-M4L18*2 PTC-M5L20*4 PTC-M5L22*2 PTC-M5L25*2

T PTC-M4L16*2 PTC-M4L16*2 - PTC-M5L25*2 PTC-M5L35*2
WA FEH(single hole shim) PTS-M4*4 PTS-M4*4 PTS-M5*4 PTS-M5*4 PTS-M5*4
TEUEF(T-Nuts) PTN-M4P8*1 PTN-M4P8*1 PTN-M5P15*1 PTN-M5P15*1 PTN-M5P22*1
WL H (Double holes shim)  PTD-M4P8*1 PTD-M4P8*1 PTD-M5P15*1 PTD-M5P15*1 PTD-M5P22*1
B E(Weight) 30g 35¢g 509 90g 185¢g



BEESZE Mounting Bracket  @msrz#is) (Kit With Screws Option)
TR EMRSFIESIT a0 B25SMBE4-1412T £557.Y00224-T
c B3
M;:
[T 7o

(S
%
|
kl
HEE e o

3|NPOA SIUdIS

D
E F .
J:j ‘ e
| g
' 2
(D %
FGA-25-HT1-60
VM40-G18
GFA30-35
gé’-
VFN2026-G18 7
SMBE4-3012 -
; SMBE4-2012 — !
PEP2525 s 3 >] PEP2525——— ¢
¢ BH5
A3
(G2
$S(PN) 7.Y00224 7.Y00223 7.Y00181 7.Y00222 7.Y00221 2
B1E(Model) SMBE4-1412 SMBE4-2012 SMBE4-2020 SMBE4-3012 SMBE4-3020 g
A(mm) @14 @20 @20 @30 @30
B(mm) 25 32 35 40 45
C(mm) 40 45 54.5 55 65.5 .
D(mm) 22 24.5 33 29.5 39 e
E(mm) 12.5 12.5 20 12.5 20 g
F(mm) 19.5 24.5 26.5 34.5 37.5 =
G(mm) 25 30 35 30 40 E
H(mm) 15 22 25 30 35 3
PEP1818 v v - v - g
PEP2510 v v - v - ’
PEP2518 v v - v -
PEP2525 v v - v -
PEP5025 v v - v -
PEP4040 - - v - v
12 £7 % B {4 Accessorier selection
B4 screms PTC-M5L14*2 PTC-M5L16*2 PTC-M5L16*2 PTC-M5L16*2 PTC-M5L16*2
T PTC-M5L25%1 PTC-M5L30*1 PTC-M5L30*1 PTC-M5L35*1 PTC-M5L40*1
ST HYsingle hole shim)  PTS-M5*3 PTS-M5*3 PTS-M5*3 PTS-M5*3 PTS-M5*3
T PTN-M5P15*1  PTN-M5P22*1  PTN-M5P25*1  PTN-M5P30*1 PTN-M5P35*1
PTN-M5*1 PTN-M5*1 PTN-M5*1 PTN-M5*1 PTN-M5*1
B E(Weight) 50g 709 959 90g 1509




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

ElES2 28

Mounting Bracket

(45T E(4i%HES) (Kit With Screws Option)

T ANFIRETEM S STELSIIT W 22SSMBE5-G1840T

[ e |

.— GBD18HD

SMBE5-M1240

PEP2525

416
®s

7.Y00310-T

<)

©Q -

4

&,

3

‘7 GFR14-95

J

SMBE5-M1240

7L PEP2525

£55(PN) S (Model) B(mm) C(mm) D(mm) E(mm) F(mm) M(mm) N(mm) ZEZ(Weight)
7.Y00310 SMBE5-G1840 G1/8 40 75 20 19 6 10 5.2 259
7.Y00311 SMBE5-G1860 G1/8 60 105 25 26.5 6 15 5.2 429
7.Y00312 SMBE5-M1040 M10x1 40 75 20 19 6 10 5.2 30g
7.Y00313 SMBE5-M1060 M10x1 60 105 25 26.5 6 15 5.2 409
7.Y00314 SMBE5-M1240 M12x1 40 75 20 19 6 10 5.2 309
7.Y00315 SMBE5-M1260 M12x1 60 105 25 26.5 6 15 @5.2 479
7.Y00316 SMBE5-M1440 M14x1 40 75 20 19 6 10 5.2 20g
7.Y00317 SMBE5-M1460 M14x1 60 105 25 26.5 6 15 @5.2 409
7.Y00320 SMBE5-M1640 M16x1 40 75 20 19 6 10 5.2 209
7.Y00321 SMBE5-M1660 M16x1 60 105 25 26.5 6 15 5.2 409
7.Y00322 SMBE5-M2040 M20x1 40 75 25 16.5 6 15 5.2 309
7.Y00323 SMBE5-M2060 M20x1 60 105 25 26.5 6 15 5.2 35g

%l — Accessorier selection 1

2 £T 1% B {4 Accessorier selection

T\?ﬁ(Screws)
mﬁzFﬂ(Single hole shim)
ngm%(T-Nuts)
W}L:Fiﬂ(Double holes shim)

PTC-M5L16*2
PTS-M5*2
PTN-M5P10*1
PTD-M5P10*1

SMBE5-G1840, SMBE5-M1040,
SMBE5-M1240, SMBE5-M1440,
SMBE5-M1640

1% HE — Accessorier selection 2

Eﬁ(Screws)
XyﬁzFﬂ(Single hole shim)
TEUREF(T-Nuts)
W}L:Fiﬂ(Double holes shim)

PTC-M5L16*2
PTS-M5*2
PTN-M5P15*1
PTD-M5P15*1

SMBE5-G1860 , SMBE5-M1060 , SMBE5-M1260,
SMBE5-M1460 , SMBE5-M1660 , SMBE5-M2040 ,
SMBE5-M2060




EESZE Mounting Bracket (IBETEH%E) (Kit With Screws Option)
i NEIRSTEM S SMBLEMT 40 BUESMBE6-1040T #¢57.Y00357-T

B2 T 1% BC {4 Accessorier selection
%2 — Accessorier selection 1

5
“Lu . *7_!-(—;_.\
_ 9p " 2
a‘% - . g
: w usu
on - o> m ©w
i %g
0 gy
- . u B *EZ
Ha
9. ML 0 -
© ¢ D
V) = =
M A E M e RO
D = 25.2 s
9
2
- SMBE6-1040 2
VFMT-20M12
%2
E-E
53
; e
X VFRS-20M10-M °
SMBE6-1228 B 5-20M10-M>
PEP2525 PEP2525 '
5z
#z
83
e
E(PN) ZBIE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) M(mm) N(mm) E&(Weight)
7.YO0357 SMBE6-1040 @10.5 40 100 30 425 3 20 38 15 @5.2 60g
7.YO0358 SMBE6-1240 @125 40 100 30 425 3 20 38 15 @5.2 60g
7.Y00359 SMBE6-1440 @145 40 100 30 405 3 24 38 15 05.2 60g Bs
7.Y00360 SMBE6-1640 @16.5 40 100 30 375 3 30 - 15 05.2 659 z=2
7.Y00361 SMBE6-2040 @20.5 40 100 30 375 3 30 - 15 05.2 609 Ez
7.Y00362 SMBE6-2240 @225 40 100 30 35 5 35 : 15 05.2 105g g
7.Y00363 SMBE6-2540 @255 40 100 30 35 5 35 - 15 ?5.2 100g <
7.Y00364 SMBE6-1028 ©10.5 28 65 30 155 3 - - 15 05.2 45¢
7.YO0365 SMBE6-1228 @125 28 65 30 155 3 - - 15 05.2 45g
7.Y00366 SMBE6-1428 @145 28 65 30 155 3 - - 15 05.2 45¢
7.Y00367 SMBE6-1628 ©16.5 28 65 30 15.5 3 - - 15 @5.2 45g S
7.¥00368 SMBE6-2028 ©20.5 28 65 30 155 3 - - 15 @52 40g s
7.Y00369 SMBE6-2228 @225 28 70 30 18 5 35 - 15 05.2 75¢ 2
7.Y00370 SMBE6-2528 @255 28 70 30 18 5 35 - 15 25.2 70g g
el
o

BB 2% (Screws) PTC-M5L12*2 SMBE6-1040, SMBE6-1240, SMBE6-1440
S FEY(Single hole shim) PTS-M5%*2 SMBE6-1640, SMBE6-2040, SMBE6-1028
TEUEEHT-Nuts) PTN-M5P15*1 SMBE6-1228, SMBE6-1428, SMBE6-1628
WFLFHDouble holes shim) PTD-M5P15*1 SMBE6-2028

1% B — Accessorier selection 2

R4 (screws) PTC-M5L14*2
WG Single hole shim) PTS-M5*2 SMBE6-2240, SMBE6-2540
TEUZEH(T-Nuts) PTN-M5P15*1 SMBE6-2228, SMBE6-2528
W?quﬁ(Double holes shim) PTD-M5P15*1




MRS |, X

aqnL SNS - 3|4o.d

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

saddiN 1y

FrisHHm

3|NPOIN wnndep

-_3
e

sjuauodw o) A10ssa20Y

SHEIZZE Cylinder Bracket

I
%

| (9]
£8S(PN) #E(Model) C D E F E&(Weight)
7.Y00062 SMBE7-0856 08 56 10 25 90 6.5 409
7.Y00021 SMBE7-1256 @12 56 10 25 95 6.5 43¢
7.Y00006 SMBE7-2056 @20 56 10 25 105 6.5 479
sCim#E Side Manifold Block
o] 60,\\% 15iCiD E Fi15
-
- [B% ] s e e e |-
wa_ | > T N < Q
‘e e ®
= IEE 15 | A @6\
s e
= | a2 %5, C_,_D_,_E F_. 15
= -
2 BB [
B
RS (PN) #E(Model) A B C D E F EE(Weight)
7.Y00153 SMB-10M5-02G18 45 90 15 15 15 15 51g
7.Y00154 SMB-08M5-02G18 30 75 15 15 15 - 429
B
5
f
© [ Y N )
e =S 44 | 1 | :
B B
10 A | 2
1, C, D, E  F, G 1
-O-0-0-0-
£S(PN) #E(Model) A B C D E F (€] E&(Weight)
7.Y00157 SMB-06M5 26 34 12 - - - - 10g
7.Y00156 SMB-08M5 38 46 12 12 - - - l4g
7.Y00155 SMB-10M5 50 58 12 12 12 - - 18¢g
7.Y00167 SMB-14M5 74 82 12 12 12 12 12 269
izFAsLf5l / Application example
& B & &
APL4-M5 - Sais & f—— APF-M5
APB-M5-06
ﬁ 5 E l r APB-M5-06
APL6-01 - & 5= e
l R l’ i £ —— APF-G18



SCmHE Side Manifold Block  @24é7&#435%8) (Kit With Screws Option)
BB EM SR SMBEIT W BBESMB-5G18T £57.Y00229-T

— e I

B3y | FhE

)\
E>\
2qnL SNS . 3|!4oid

r - 4

% 4 ®
8 < [%2]
R e I \ 22
Bme
' - M5
] 7 | C c
! 0]

I
|

G1/8(x5)

e
©

J9bueyd oD

*xQ
H3
HE
#T-g
SMB-5G18
=z
PEP2525 #lz
B3
e
S (PN) 7.¥Y00229 7.Y01020 -wee-= 7.Y01022 =
#IE(Model) SMB-5G18 SMB1-5G18 SMB2-5G18 =
A(mm) 25 25 25 =g
B(mm) 15 15 15 ﬁé
C(mm) 15 15 15 2
D(mm) 35 35 35 5
E(mm) 5 5 5
F(mm) 7.50 7.50 7.50
G(mm) 12.50 15 20 >
H(mm) 20 20 20 e
I(mm)) 35 40 45 a
PEP1818 v i
PEP2510 v S
PEP2518 v §
PEP2525 v g
PEP5025 v ¢
PEP3030 v
PEP4040 N
12 £T % B 14 Accessorier selection
BR2%(Screws) PTC-M5L14*1 PTC-M5L14*1 PTC-M5L14*1
WG Yy Single hole shim) PTS-M5*1 PTS-M5*1 PTS-M5*1
TEURF(T-Nuts) PTN-M5*1 PTN-M5*1 PTN-M5*1
REE (Weight) 30g 33g 34g



B3y, A

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUBIS

SR

J9bueyd oD

e pilly
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wWnndep

-
=
=

sjuauodw o) A10ssad0Y

sCimHE Side Manifold Block

(124TEH%HES) (Kit With Screws Option)

T BRI E M-S SMBEEMT W BAESMB-5G18T £557.Y00229-T

G1/8(x9)

J 9xG1/8

55(PN) 7.Y00231 7.Y01021] e+~ 7.Y01023 #e+~
#lE(Model) SMB-9G18 SMB1-9G18 SMB2-9G18
A(mm) 25 25 25
B(mm) 15 15 15
C(mm) 30 30 30
D(mm) 35 35 35
E(mm) 5.50 5.50 5.50
F(mm) 15 15 15
G(mm) 12.50 15 20
H(mm) 20 20 20
I(mm) 50 55 60
J(mm) 15 15 15
PEP1818 v
PEP2510 v
PEP2518 v
PEP2525 v
PEP5025 v
PEP3030 v
PEP4040 J

12 £7 1% B 14 Accessorier selection
BR 2% (Screws) PTC-M5L14*1 PTC-M5L14*1 PTC-M5L14*1
I T HY(Single hole shim) PTS-M5*1 PTS-M5*1 PTS-M5*1
TEUREH(T-Nuts) PTN-M5*1 PTN-M5*1 PTN-M5*1
B E(Weight) 50g 52g 549




WiEESCxmHAE  Side Manifold Block — @2§7&#4%#) (Kit With Screws Option)
BRI E A EMEEMT W BESMB-D5G18T £E7.Y00230-T

Fijhs
ZE
e
J L‘|=lW B
OO 1 g
Dm T T @
| | <«
O =
= e
*Eg
F 10 x G1/8 ?ﬂg
I |
G1/8(5+5) | . . E‘s’.
1 DO ©
&
F G
%2
E_-B
g
e
SMB-D5G18
PEP2525 5z
&z
1S
e
5S(PN) 7.Y00230 7.Y01024 -nee—~ 7.Y01025 -uex—-
A2 (Model) SMB-D5G18 SMB1-D5G18 SMB2-D5G18 Hs
A(mm) 25 25 25 gzg
B(mm) 15 15 15 ﬁ;
C(mm) 30 30 30 2
D(mm) 35 35 35 5
E(mm) 5 5 5
F(mm) 15 15 15
G(mm) 12.50 15 20 >
H(mm) 20 20 20 e
I(mm) 50 55 60 g
PEP1818 Vv <
PEP2510 J g
PEP2518 vV 3
PEP2525 v g
PEP5025 vV @
PEP3030 J
PEP4040 v
183 £T 1% BD {4 Accessorier selection
BB 4 (screws) PTC-M5L14*1 PTC-M5L14*1 PTC-M5L14*1
mﬁzFﬂ(Singleholeshim) PTS-M5*1 PTS-M5*1 PTS-M5*1
TEUBFFT-Nuts) PTN-M5*1 PTN-M5*1 PTN-M5*1
BEEWeight) 489 51g 529



ZHEALCARAE Manifold Block

(BETEM%ED) (Kit With Screws Option)

i NRIETEM R STIESINT W B2 SSMB-ASG18T £57.Y00240-T

1 ©
o »
Z -
= ©
S |
o
o fal ¢ § _@_
|
y L) ©
= e 7
=
63
T*[(E)
e
o
- SMB-A5G18
£O — PEP2525
B3
gz
He
® 85 (PN) 7.Y00240 7.Y00241
S (Model) SMB-A5G18 SMB-A5G14
A(mm) 30 40
B(mm) (x5)G1/8 (x5)G1/4
52z C(mm) 18 20
Bz D(mm) 24 23
e 12 £7 1% B {4 Accessorier selection
1842 (Screws) PTC-M5L25*2 PTC-M5L25*2
Xﬂf&:qzﬂ(smgle hole shim) PTS-M5*2 PTS-M5*2
TRURE(T-Nuts) PTN-M5P28*1 PTN-M5P35*1
REEWeight) 50g 80g
=
32 .
A JEAT Extension Tube
= -
% <10
ey
B
By &
e
3
< [
0
o
3
HE(PN) BIE(Model) A B C D E EE=(Weight)
7.Y00736 SMBY12-50 212 50 12 M10*1 5 99
7.Y00735 SMBY12-100 @12 100 12 M10*1 5 179
7.Y00733 SMBY14-50 D14 50 12 M12*1 5 10g
7.Y00734 SMBY14-100 @14 100 12 M12*1 5 209
7.Y00732 SMBY20-50 @20 50 15 M17*1 8 169
7.Y00731 SMBY20-100 @20 100 15 M17*1 8 31g
7.Y00462 SMBY20-150 @20 150 15 M17*1 8 479
w>=7Y01027 SMBY25-100 @25 100 15 M22*1 8 439
7.Y00729 SMBY30-50 @30 50 18 M27*1 9 299
7.Y00730 SMBY30-100 @30 100 18 M27*1 9 58¢g
7.Y00463 SMBY30-150 @30 150 18 M27*1 9 879




+=&E#EE R Swing Block

B3y | FhE

3qnL SNS . 3|l404d

, )
é 9 wm
J
Q)

D
\
\
5 e o
S|NPOA SIUdIS

BE(PN) 5 (Model) A B (@ D E E%(Weight)
7.Y00048 SMBT4-G1820 @20 G1/8 19 14 28 1l1lg s
5
1ZEEEHR. SSW Connector SSW o
J o)
ul E-B
53
He
5z
BT
VAR

RS(PN) S (Model) A B C D E F G H EE(Weight)

7.Y00028 SMBT1-M1412 M14 @12 16 16 45 8 25 20 169

S 47iEREELR Parallel Connector e
= 78 3
s
a 5

4
&
=

C
syusuodwo?) A10ss8d0y

L e |
S (PN) #E(Model) A B C D E F E&(Weight)
7.Y00042 SMBP-0808 28 28 12 12 35 10 11g
7.¥00043 SMBP-0812 28 212 16 16 43 12 23g
7.Y00044 SMBP-1212 @12 @12 16 16 44 14 21g
7.Y00045 SMBP-2012 220 212 25 25 60 18 759
7.Y00046 SMBP-2020 @20 @20 25 25 66 24 71g




MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

e

\
4

i

a|npo\ diig

SHimE

saddiN 1y

FrisHHm

3|NPOIN wnndep

-_T3
e

sjuauodw o) A10ssa20Y

+=Fi&E$ER Cross Connector

£8S(PN) AElS(Model) A B C D E HE(Weight)
7.Y00025 SMBT-0808 @8 @8 12 12 35 10g
7.Y00026 SMBT-1208 @12 @8 12 16 43 169
7.Y00020 SMBT-1212 @12 @12 16 16 47 229
7.Y00794 SMBT-1214 @12 @14 18 18 48 29g
7.Y00027 SMBT-2012 @20 @12 25 25 59 729
7.Y00005 SMBT-2020 @20 @20 25 25 64 689

E

s E

4 (D=
|,

®B
HS(PN) A5 (Model) A B C D E EE(Weight)
7.Y01002 SMBT-1414 @14 @14 18 18 46 25g
7.Y00998 SMBT-2520 @25 @20 24 29 69 799
7.Y00999 SMBT-2525 @25 @25 30 30 78 114g

Em . E

@B
£8S(PN) ElE5(Model) A B C D E F HE(Weight)
7.Y01059 SMBT-4020 @40 @20 25 45 88 27 101g
7.Y01004 SMBT-4025 @40 @25 30 45 92 27 107g

E

[a]

£5(PN) AEES(Model) A B C D E F EE(Weight)
7.Y01003 SMBT-4040 @40 @40 45 45 112 112 259¢g



+=i&E#ER  Cross Connection Block

Fily
= CE
=) -2
S © 5 ‘ i@&
a’
TL - d
/
"a y 23
Ed
| iﬂ§
£S5 (PN) BEI=(Model) A B @ ) E HE(Weight)
7.Y00192 SMBT2-1212 @12 @12 33 28 28 11g
7.Y00185 SMBT2-2020 @20 @20 48 42 42 30g
®me
G H s
2
N
w @ O] =
-
\J
' R6 95-_63
E'c
= : A B
g2 7 e
r .
- © @E
N
D I ﬁ:g
£25(PN) E5(Model) A C D E F G H I B &(Weight) #z
7.Y00329 SCD-2010 54 14 @10 19 28 19.5 @20 14.50 41g %;;
7.Y00330 SCD-2014 56 18 @14 22 28 19.5 @20 16.50 51g -
= 7.Y01049 SCD-3020 75 18 @14 25 35 26 @30 20 789
B
BS
- H3
#Fg
G H o
A
B 2
i #3
s
D c _g
£22(PN) AI5(Model) A B C D) E F G H BE&(Weight) s
7.Y00233 SCD-2020 61 61 19.5 @20 28 28 19.5 @20 859 2
w=>=7.Y01050 SCD-3030 84 84 26 @30 35 35 26 @30 989

1=zFAsLf5 / Application example

VS2-SA22

VM18-M5

va * PAT20

4 }— SCD-2020

SCD-2010 —— ="

VFR1011-M5

CRG



MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-_T3
e

sjuauodw o) A10ssa20Y

+=iEEEHR#2 Cross Connector#2

Q\ ' 7
RE(PN) 5 (Model) A B C D E EE(Weight)
7.Y00047 SMBT3-2020 @20 @20 25 78 45 1709
T==R%EEH T Connector
@Q’
HE(PN) = (Model) A B G ) E F E & i (Weight)
7.¥00029 SMBF-0808 28 08 12 20 30 M4 14 l4g
7.¥00030 SMBF-0812 238 012 16 20 30 M4 12 23g
7.Y00031 SMBF-1208 @12 08 16 26 30 M4 16 199
7.¥00032 SMBF-1212 212 012 16 26 30 M4 16 189
7.¥00033 SMBF-1220 212 @20 25 30 45 M4 20 60g
7¥00034 SMBF-2012 220 012 25 40 45 M4 25 63g
7.¥00035 SMBF-2020 220 @20 25 40 45 M4 25 564
-
® 7
Sn 7
S @ : I\Z:/
HE(PN) FE(Model) A B C ) E F G & & (Weight)

7.Y00036 SMBF1-0808 08 038 12 28 26 M4 22 15g
7.¥00037 SMBF1-0812 o8 012 16 28 30 M4 22 31g
7.Y00038 SMBF1-1208 212 o8 16 35 30 M4 25 29g
7.¥00003 SMBF1-1212 212 012 16 EE 30 M4 75 269
7.Y00039 SMBF1-1220 212 @20 25 44 45 M4 34 88g
7.¥00040 SMBF1-2012 220 012 25 52 45 M4 39 1119
7.¥00041 SMBF1-2020 320 @20 25 51.5 45 M4 39 784




{ER%EE37 28 Sensor Bracket

25.40
15

Y5

B3y | FhE

0‘49@
aqnL SNS . 3|1y04d

17

P 42

12

40

HEE A

S|NPOA SIUdIS

46

5S(PN) ES(Model) HE&E(Weight)
7.Y00070 SMBJ1-5 9g

SRS

J9bueyd ydINd

32
25.40
15 »

LI

24.70

25.40 Qg

e upill)y
a|npo\ diug

40.70

S

062

10

12

ham 2 20301

JaddiN 11y

tES(PN)  ES(Model) EE(Weight)

7.Y00071 SMBJ2-6 129

2B 28 Chuck Bracket

T i H it
3|NPON wnNndep

=

syusuodwo?) A10ss8d0y

£RS(PN) BlS(Model) A B C D) E F G BE&(Weight)
7.Y00072 SMBT5-8 28 M4 25 12 27 22 12 10g
7.Y00073 SMBT5-12 212 M4 30 18 30 26 14 19¢g



MRS |, X

aqnL SNS - 3|4o.d

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

e

\
4

i

a|npo\ diig

SHimE

saddiN 1y

FrisHHm

3|NPOIN wnndep

-_3
e

sjuauodw o) A10ssa20Y

%28 Bracket

2 (PN) FE(Model) y B C D E F E&(Weight)
7.Y00074 SMBT6-12 12 6.5 16 16 40 30 359
k3728 Suction Bracket
£ES(PN) S (Model) B C D E E=E(Weight)
7.YO0057 SMBG1-8M5 8 M5 12 12 33 99
7.Y00058 SMBG1-8M6 28 M6 10 12 33 9g
7.Y00059 SMBG1-12M5 @12 M5 10 16 47 169
7.Y00060 SMBG1-12M6 212 M6 10 16 47 169
7.Y00061 SMBG1-12G18 @12 G1/8 16 16 47 25g
B2 28 Slide Bracket
¥/ (@)
)
Y 1 (& ¢ ?)
: ¥ |
- 5 ]
i
Il
9 wi
H
52 (PN) BE2(Model) A B C ) 3 F G H =8 (Weight)
7.YO0115 SCF1-40M3 M3 40 4.5 12 5 56 10 8 79
7.Y00118 SCF1-40G18 G1/8 40 45 12 6 68 16 14 129
7.Y00129 SCF1-70M3 M3 70 4.5 12 5 86 10 8 10g
7.Y00132 SCF1-70G18 G1/8 70 45 12 6 98 16 14 15¢g
[
I o N
‘f 1
‘\' \ B
&) [—$— = ﬂ a
7 &
BE(PN)  AE(Model) A B C D E F @ H I &=&(Weight)
7.YO0173 SCF2-40M5 M5 40 M5 12 4.5 4 68 14 14 99
7.YO0117 SCF2-40M6 M6 40 M6 12 4.5 4 68 14 14 10g
7.Y00130  SCF2-70M5 M5 70 M5 12 45 4 98 14 14 12g
7.¥00131  SCF2-70M6 M6 70 M6 12 45 4 98 14 14 13g



SMEETZE Gripper Installation Bracket

iy
ZE
~ = | |——GMHZ2-165 o
c
ﬁé‘—?m
- T s I %
" fi SMBEL-14407— <y /
% SMBY14-50— g
 PEP2525 %?
e
- Hy
HE(PN)  EE(Model) A B C D E F G H I J E&(Weight) g
7.Y00740 SMBM-10 3.2 @5 @2 23 16.4 12 18 14 4 M10*1 5g °
7.Y0O0741 SMBM-16 4.2 26.5 @3 30.6 23.6 15 22 15 5 M12*1 10g
7.YO0728 SMBM-20 ©5.5 26.5 @4 42 27.6 18 32 15 5 M12*1 149
7.YO0739 SMBM-25 @6.5 a7 @5 52 33.6 22 40 18 6 M17*1 279 o
7.YO0738 SMBM-32 6.5 210 @5 60 40 26 46 18 6 M17*1 369 %%
7.YOO0737 SMBM-40 @8.5 16 @5 72 48 32 56 20 8 M27*1 679 a
2812 BracketL12
HE
e
- o |- B °
-
- 20
- 38
BT
< ?L , (D\'L 7]2
34 -
BS
=E
&E(PN)  HS(Model) EE(Weight) a3
7.Y00081 SMBT9-12 23g §_
3728 BracketT
m B
2 He
] {3——9— ~O 2 3
S
3
20 3
38 2
38 5 @
23 20 14 2-M4
Ras o ¢
@12/ = 2250
48 17
17 15.50 4.50
55 (PN) BE(Model) E&(Weight) = 2
7.Y00082  SMBU-12 21g \:jE_: o )
| o
: ]




. K

MESS
aqnL sns . alyoid

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

ks

a|npo\ diig

FFih

SHimE

saddiN 1y

FrisHHm

3|NPOIN wnndep

-_3
=
e

sjuauodw o) A10ssa20Y

28 BracketT

32

36
30
2.

<0

36

5S(PN) ES(Model) HE&E(Weight)
7.Y00255 SMBU2-20 49¢g

28 Bracket TH

45

=om

36

22

[0}

w2
T 1 | |
N 12
27
20
4 ~ ,L,N\'b
o O- B¢
r
S\ S
55(PN) ES(Model) HE&E(Weight)
7.YO00085 SMBU3-8 10g
- ©
- s
2,
~ 1 i [ |
\ as | 1
E ‘—6——6— —6——6—‘

38

£R5(PN)  #5(Model) H&E(Weight)
7.Y00086  SMBU4-12 229




28 Bracket TH

Fil)
- Mg_"
’ e
L ) gg
- o
o 11 I S
38 N
1) ?92‘- D —€5£ w
32 e *Eg
48 gﬂg-
BS(PN) BlE(Model) E=Z(Weight) £
7.YO0087  SMBU5-20 449
728 Bracket TV Hho
e
o
- 3
-
%2
B
— H
2 e
g N &
M
20
£E2(PN)  EB(Model) EE(Weight) “ s>
7.Y00088  SMBU6-8 10g #z
18 %§
eL i o
o1 ' I I s
; 18 ggg
A3
fiz
20 [o%
i S SR &
HE(PN) #S(Model) =&(Weight) w
7.Y00089  SMBU7-12 269 By 2
%3
8
<
22 BracketT 3
el
o

35

40

48 25
0%
‘ 32 |
|
JTo &
Q \\‘ | 3-ma
BE(PN) HES(Model) ZEE(Weight) T s

7.Y00090 SMBU8-20 39¢g




MRS |, X

aqnL SNS - 3|4o.d

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

e

\
4

i

a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-_3
e

sjuauodw o) A10ssa20Y

EESZE Fixed Bracket

_fsmsug-lvllo

30

25

60
50

M10X1

5E(PN) EZS(Model) E&(Weight)
7.Y01051 SMBU9-M10 21g
I Z8 Bracket
= °
E =@ AA [4]5)
E
8RS (PN) IS (Model) A B @ D E F EE2(Weight)
7.Y00091 SMBK1-8T10 28 10 16 @5.5 30 20 209
7.Y00092 SMBK1-12T10 212 10 16 @5.5 30 20 149
7.Y00093 SMBK1-20T10 @220 10 27 26.5 40 30 369
7.Y00094 SMBK1-8T16 28 16 16 @6.5 30 20 329
7.YO0095 SMBK1-12T16 212 16 16 @4.5 30 20 209
7.Y00096 SMBK1-20T16 @20 16 27 @6.5 40 30 489
B2 28 Slide Bracket
EF)
O
=1(d\)) FIE(Model) A B @ D E F E=(Weight)
7.YO0064 SMBS-8T10 28 10 16 30 M4 20 169
7.YO00065 SMBS-12T10 212 10 16 30 M4 20 15g
7.YO0066 SMBS-20T10 220 10 25 40 M6 30 339
7.YO0067 SMBS-8T16 28 16 16 30 M6 20 29g
7.YO0001 SMBS-12T16 212 16 16 30 M6 20 299
7.YO0068 SMBS-20T16 220 16 25 40 M6 30 449



B 28 Slide Bracket

L E.

RE(PN) 5 (Model) A B C D E F E=(Weight)
7.Y00119 SCF3-40M10 M10*1 40 16 6.5 5 70 10g
7.Y00120 SCF3-40M12 M12*1 40 16 6.5 5 72 10g
7.Y00121 SCF3-40M17 M17*1 40 25 6.5 5 80 20g
7.Y00133 SCF3-70M10 M10*1 70 16 6.5 5 100 1l4g
7.Y00134 SCF3-70M12 M12*1 70 16 6.5 5 102 149
7.YO0135 SCF3-70M17 M17*1 70 25 6.5 5 110 28g
G
1
- ‘ 4
1
D E
‘,
— —A T O
&7 o
BE(PN) #S(Model) A B @ D E F (€] H I E=Z(Weight)
7.Y00122 SCF4-0840W12 4.5 @8 12 40 14 16 70 6 20 149
7.Y00123 SCF4-0840W16 6.5 28 16 40 14 16 70 6 20 209
7.Y00004 SCF4-1240W16 6.5 @12 16 40 16 16 75 6 25 21g
7.Y00124 SCF4-2040W25 6.5 @20 25 40 20 16 86 6 34 399
7.Y00136 SCF4-0870W12 4.5 a8 12 70 14 16 100 6 20 189
7.Y00137 SCF4-0870W16 6.5 28 16 70 14 16 100 6 20 259
7.Y00138 SCF4-1270W16 6.5 @12 16 70 16 16 105 6 25 259
7.Y00139 SCF4-2070W25 6.5 220 25 70 20 16 116 6 34 499
G
111
o] i
o @ , L_L% B
| |
[ o |
H
HE(PN) #E(Model) C D E F (€] H I E=Z(Weight)
7.Y00125 SCF5-0840W16 6.5 28 16 40 20 16 14 70 6 209
7.Y00126 SCF5-0840W12 4.5 28 12 40 20 16 14 70 6 15¢g
7.Y00127 SCF5-1240W16 6.5 @12 16 40 25 16 16 75 6 20g
7.Y00128 SCF5-2040W25 6.5 220 25 40 34 25 20 86 6 53¢
7.Y00140 SCF5-0870W16 6.5 28 16 70 20 16 14 100 6 259
7.Y00141 SCF5-0870W12 4.5 28 12 70 20 16 14 100 6 199
7.Y00142 SCF5-1270W16 6.5 @12 16 70 25 16 16 105 6 259
7.Y00143 SCF5-2070W25 6.5 @20 25 70 34 25 20 116 6 48¢g

B3y | FhE

3qnL SNS . 3|l404d

HEE A

S|NPOA SIUdIS

S SR

J9bueyd oD

e upill)y
a|npo\ diug

ham 2 20301

JaddiN 11y

FrisHHm

3|NPON wnNndep

=

syusuodwo?) A10ss8d0y




MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|Npo 51Ua1S

SR

J9bueyd }oINd

e

\
4

i

a|npo\ diig

SHimE

saddiN 1y

FrisHHm

3|NPOIN wnndep

-_3
e

sjuauodw o) A10ssa20Y

BEdESZ 28 Rotation Bracket

&
‘\\
GDI-OQ Ay

5 (PN) BS(Model) A B C D E F G H BEE(Weight)
7.Y00099 SMBR2-M10 M4 M10 14 14 26.5 11.5 28 19 69
7.Y00100 SMBR2-M12 M4 M12 16 16 335 13.5 @12 23.5 129

N
o
>
£BS(PN) S (Model) .\ B C D E F G H E&E(Weight)
7.Y00103 SMBR4-0808M4 M4 @8 a8 12 32.5 11.5 12 17.5 79
7.Y00110 SMBR4-1208M4 M4 @12 @8 16 37.5 11.5 16 21.5 13g
7.Y00019 SMBR4-1212M4 M4 @12 @12 16 39.5 13.5 16 23.5 15¢g
7.Y00268 SMBR4-1212M4L M4 @12 @12 16 55 29 16 39 20g
7.Y00461 SMBR4-1420M6 M6 @14 @20 25 60 20 25 37 709
7.YO0007 SMBR4-2020M6 M6 @20 @20 25 60 20 25 37 599
7.Y00206 SMBR4-2020M6L M6 @20 @20 25 85 45 25 62 81lg
© .
Ty
I OL -
-y 4 i .
]
BE(PN) #IE(Model) A B C D) E F (€] E=(Weight)
7.YO0111 SMBR5-1208 212 28 29 14 38 22.5 13.5 249
7.Y00104 SMBR5-0808 28 @28 29 11.5 36 20 13 16g
7.Y00112 SMBR5-1212 212 212 29 14 38 22.5 135 189




JEFEST 2R Rotation Bracket

B3y | FhE

3qnL SNS . 3|l404d

HEE A

S|NPOA SIUdIS

5S(PN) BE(Model) EE(Weight)
7.Y00113 SMBR7-0808 @8 28 16 15 15 25 10 15 21 32.5 139
7.Y00114 SMBR7-1212 212 @12 20 18 18 29 11 18 23 38 18g

SRS

1abueyd }IND

31

13.50 21

28.50

¥
e upill)y
a|npo\ diug

56
)
D

Igl

|
&

JaddiN 11y

5E(PN) EBlE(Model) ZE&(Weight)
7.Y00063 SMBR-46 31g

T i H it
3|NPON wnNndep

22
=

22
syuauodwo) A10ssa20y

| °

50001, Dasey

t5E(PN) EBlE(Model) ZE&(Weight)
7.Y00098 SMBR1-12 9¢g




REBEESZE Direct Connector For Vacuum Cup (g4T&#4#%E) (Kit With Screws Option)

E BB EMERSMESIT W BSSVA-G18T £57.Y00235-T

D
ZE
e .
g9 |
g
‘ | =1
| w
xg
2 -
15 2 | |
Hs
L
s}
E o
2 )
%2
E_G
HE
e
FGA-43-HT1-60
VM24-G18
52z PFG-25-SI-55
=z
B3
ik — 1 yM35-M5
SVA-G18 '
——— SVA-G18
s PEP2525 PEP2525
Hs l
#H3
fz
§ E(PN) 7.Y00235 7.Y00237
AE(Model) SVA-G18 SVA-G14
A(mm) G1/8 Gl/4
B(mm) G1/8 G1/8
B % C(mm) 15 15
ﬁ:§ D(mm) 24 24
3 E(mm) 12 10
o PEP2518 v v
§ PEP2525 N v
3 PEP5025 v v
Z PEP4040 v v
PEP3030 v v
18 £T 1% BQ {4 Accessorier selection
R4 (Screws) PTC-M5L16%*2 PTC-M5L16*2
WG EY single hole shim) PTS-M5*2 PTS-M5*2
TEUE R (T-Nuts) PTN-M5P30*1 PTN-M5P30*1
BEEWeight 429 409



kZETESZZE Direct Connector For Vacuum Cup

(RETE4i%ES) (Kit With Screws Option)

E BB EMERSMESIT 0 BSSVB-M5T £57.Y00242-T

FGA-43-HT1-60

VM24-G18

SVB-G18

PEP2525

FGA-25-HT1-60

VM40-G18

/ \SVB-GIS

PEP2525

25 (PN) 7.Y00242 7.Y00244 7.Y00243
#lE(Model) SVB-M5 SVB-G18 SVB-G14
A(mm) M5 G1/8 G1l/4
B(mm) 16 25 25
C(mm) 13.5 21.5 21.5
D(mm) M5 G1/8 G1/8
E(mm) 8 15 15
F(mm) 4 7.5 7.5
G(mm) 29 445 46.5
H(mm) 18 25 25
I (mm) 4.3 8 10
PEP2518 - v v
PEP2525 - v v
PEP5025 - v v

18 £7 1% BC 14 Accessorier selection
HRZ% (Screws) PTC-M4L12*2 PTC-M5L16*2 PTC-M5L16*2
Xﬂﬁqzﬁ(single hole shim) PTS-M4*2 PTS-M5*2 PTS-M5%*2
TEUEEH(T-Nuts) PTN-M4P8*1 PTN-M5P15%1 PTN-M5P15*1
REEWeight) 159 45¢g 45¢g

B3y | FhE

2qnL SNS . 2|140id

HEE A M

S|NPOA SIUdIS

S SR

J9bueyd oD

ey
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wnNndep

~
F=

syusuodwo?) A10ss8d0y




REBINKEESZZE Mounting Bracket For Vacuum Cup @5T&#%8) (Kit With Screws Option)
TR EMRSIESIT i B5SVC-M5T £]57.Y00328-T

%g ¢ E
%‘@Z | | Q |
| ® o
g ' ~ |
Qn 0
™
2% © © NiN=8
5
2H§ ]
'H&KE) A Y I
Tﬁ% v -
o B
®
%2
EU
PHE FGA-43-HT1-60
e
° VM04-G14
5z
#lz SVC-G14
w3
BE
 ——————PEP2525
BHS
ﬁi £E(PN) 7.Y00328 7.Y00238 7.Y00239
g AZ(Model) SVC-M5 SVC-G18 SVC-G14
< A(mm) M5 G1/8 Gl/4
B(mm) 16 25 25
C(mm) 14 21 21
D(mm) M5 G1/8 G1/8
By & E(mm) 8 15 15
#% F(mm) 4 7.5 7.5
< G(mm) 65 88 88
g H(mm) 40 50 50
3 L(mm) 6 10 10
M(mm) 8 15 15
@ N(mm) @4.2 @5.2 @5.2
PEP2518 v v v
PEP2525 v v v
PEP5025 v v v
PEP4040 = v v
PEP3030 v v v
18 £7 1% BC 4 Accessorier selection
8144 (Screws) PTC-M4L12*2 PTC-M5L16%*2 PTC-M5L16*2
UEE By Single hole shim) PTS-M4*2 PTS-M5*%2 PTS-M5*2
TEUBEH(T-Nuts) PTN-M4P8*1 PTN-M5P15*%1 PTN-M5P15*1
SFLFEHY Double holes shim) PTD-M4P8*1 PTD-M5P15*1 PTD-M5P15*%1
BEEWeight) 20g 609 60g




O HEtE R EEESZE Mounting Bracket For Vacuum Cup @gs1%&#i%8) (Kit With Screws Option)
i NEBETEHSRSFESIT W #8SVD-M5T £887.Y00416-T

m

Q<

9
B3y | FhE

3qnL SNS . 3|l404d

P
O
5 e o
S|NPOA SIUdIS

RO
iy
al
VM33-M5
FGA-16-HT1-60 o
PFG-20-SI-55 Z%%
- #E
VM39-M5 SVD'MS\ﬁ’.
SVD-M5
5z
&z
PEP2518 %3
PEP2525 R
#£2(PN) 7.Y00416 7.Y00417 7.Y00418
B8 (Model) SVD-M5 SVD-G18 SVD-G14 B3
A(mm) M5 G1/8 Gl/4 AS
B(mm) 16 25 25 Fz
C(mm) 13 21 21 g
D(mm) M5 G1/8 G1/8 o
E(mm) 10 15 15
F(mm) 5 7.5 7.5
G(mm) 28 43 43 Wz
H(mm) 10 17 17 i
PEP2518 v v v 8
PEP2525 v v v o
PEP5025 v v v §
PEP4040 - v v g
PEP3030 v v N 2
18 £T 1% B {4 Accessorier selection
BB 24 (screws) PTC-M4L12*2 PTC-M5L16*2 PTC-M5L16%*2
U FEy(single hole shim) PTS-M4*2 PTS-M5*2 PTS-M5*2
TEUBEH(T-Nuts) PTN-M4P8*1 PTN-M5P15*1 PTN-M5P15*1
RAEEE(Weight) 15¢g 45¢g 429



MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

kL& fF Leg For Vacuum Cup

i=zFAsLf5 / Application example

=206
ﬁ%"‘}dﬂ

FGA—16—HT1—60—'
VM40-G18 —— ==
SVE-G181440

SMBE1-1440

PEP2518

FGA-43-HT1-60

VM24-G18

SVE-G181440

SMBC-1432

PEP2525

£5S(PN) S (Model) Al(mm) A2(mm) B(mm) C(mm) D(mm) E(mm) F(mm) ZEZ(Weight)
7.Y00410 SVE-M51030 M5 M5 210 30 11 6 16 10g
7.Y00411 SVE-M51060 M5 M5 @210 60 11 6 16 139
7.Y00412 SVE-M51090 M5 M5 210 90 11 6 16 179
7.Y00772 SVE-M51230 M5 M5 212 30 13 7 17 129
7.YO0773 SVE-M51260 M5 M5 212 60 13 7 17 159
7.Y00774 SVE-M51290 M5 M5 212 90 13 7 17 199
7.Y00413 SVE-G181440 G1/8 G1/8 @14 40 15 8 22 179
7.Y00414 SVE-G181480 G1/8 G1/8 @14 80 15 8 22 25g
7.Y00415 SVE-G1814120 G1/8 G1/8 214 120 15 8 22 32g
7.Y00008 SVE-G142050 G1/8 Gl/4 @20 50 20 8 23 409
7.Y00009 SVE-G1420100 G1/8 G1/4 020 100 20 8 23 60g
7.Y00010 SVE-G1420150 G1/8 G1l/4 @20 150 20 8 23 759



FzhE Clamp Leg

1=FAsLf / Application example

iR

ZE

M2

g9

s

[ 1]

=
i
(o]
; etish?

KR ER KRR Re

Clamp Leg Heavy Clamp Leg }ﬁ%

(SCA1) (SCA2) z

3

- 7B A

o3

B3

-60-SI- =

PFG-60-SI-55 . kﬁ‘:é

VM-G14M-M10M GFR20-95
VFM-2020-G14 SMBK1-20T10

\ = >

I 52

SCA1-2020L100 SCA1-2020L100—— nE

" i y 712

SMBK1-20T10
PEP2525 ' :
PEP2525

BS

283

55(PN) #E(Model) A(mm) B(mm) C(mm) D(mm) F(mm) G(mm) EE&(Weight) (RS

7.Y00398 SCA1-1010L30 210 210 30 14 19 19 109 §
7.Y00399 SCA1-1010L60 @210 210 60 14 19 19 159
7.Y00400 SCA1-1010L90 210 210 90 14 19 19 209
7.YO0769 SCA1-1212L30 212 D12 30 19 21 21 139

7.YO0770 SCA1-1212L60 @12 D12 60 19 21 21 18¢g Bt &

7.YO00771 SCA1-1212L90 212 212 90 19 21 21 23g {L'Fg

7.Y00401 SCA1-1414140 214 214 40 18 26 24 20g 3

7.Y00402 SCA1-14141L80 @14 214 80 18 26 24 309 o

7.Y00403 SCA1-14141120 214 214 120 18 26 24 409 -g

7.Y00404 SCA1-2020L50 @20 @220 50 25 32 31 459 2

7.Y00405 SCA1-2020L100 @220 @220 100 25 32 31 709 74
7.Y00406 SCA1-2020L150 @20 @220 150 25 32 31 1059
7.Y00407 SCA1-3030L80 230 230 80 40 44 46 1709
7.Y00408 SCA1-3030L140 @30 @30 140 40 44 46 2309
7.Y00409 SCA1-3030L200 @30 230 200 40 44 46 300g
7.Y00996 SCA2-2020L50 @20 220 50 25 32 31 659
7.Y01000 SCA2-2020L100 @20 220 100 25 32 31 86g
7.Y00997 SCA2-2020L150 @20 @220 150 25 32 31 101g
7.Y01006 SCA2-3030L80 @30 230 80 35 43 42 209¢g
7.Y01005 SCA2-3030L140 @30 @230 140 35 43 42 288¢g
7.Y01001 SCA2-3030L200 230 230 200 35 43 42 3449




MRS |, X

aqnL SNS - 3|4o.d

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

IEsEz#% Swivelling Support

=MLl / Application example

19.50

55 (PN) 7.Y00236 7.Y00234
Ft&(Spec) SCC-20G18 SCC-20M16
A(mm) 54 60.5
B(mm) 19 24
C(mm) 5 6

D(mm) G1/8 M16x1
E(mm) 25 29
G(mm) R9.5 R12
EE(Weight) 30g 40g

PFG-40-SI-55

VM35-M5

PAT20
= SCC-20M16




NREZJJEESZZE NR Nipper Mounting Bracket

NR20-P
i
_ —SCE-NR20

- PEP2525
£ 2(PN) 7.Y00331 7.Y00261 7.Y00742 —
FIE(Model) SCE-NR20 SCE-NR30 SCE-NR50
A(mm) 220 @20 @30
B(mm) @45 @56 @75
C(mm) 35 40 48
D(mm) 28 33 41
E(mm) 94.5 111 138
F(mm) 53 65 83
G(mm) 20 25 40
EE(Weight) 659 110g 308g

GT-NS20

d SMBE1-2060T

55 (PN) 7.Y00692 7.Y00693 -
BE2(Model) SCE1-NS20 SCE1-NS30 o
A(mm) @45 056
B(mm) @20 @20
C(mm) 65 76
D(mm) 27 33
E(mm) 40 40 E
F(mm) 25 25
G(mm) 94 106
E=Z(Weight) 111g 123g
NYO5 BIJJEzER  NYOS5 Fixing Block
33 21
GT-NY05 - ‘T—W ;
- ] § ®7.20
-
\ -
- a D12

PEP2518

55(PN) BS(Model) E&E(Weight)
7.YO0796 SCE2-05 179

25

23

15

B3y | FhE

3qnL SNS . 3|l404d

HEE A

S|NPOIA S3uUdlS

S SR

J9bueyd oD

e upill)y
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wnNndep

~
=

syusuodwo?) A10ss8d0y




MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

NY10.NY15 BZ7JEER  NY10.NY15 Fixing Block

45

GT-NY10
- A
' D720 | o
N
P —y
™ @20
SCE2-1015 45
u 35
30
D 4.50
S
£S5 (PN) B8 (Model) E&(Weight)
1.Y00094 SCE2-1015 389
NY25 BJEER  NY25 Fixing Block
= 5.20 %—
GT-NY25 © | |
| 10 ™
- o &l
- @20
54
40
SCE2-25

SMBT-2020 g
XE2(PN) EE2(Model) EE(Weight)
7.Y00633 SCE2-25 619
HITIEESZE Nipper Bracket
b g
NR20-P F
(@]
(@]

SCE3-N20

5RE(PN) BS(Model) A B @ F BEE(Weight)
7.Y00075 SCE3-N10 D36 M6 40 30 2469
7.Y00076 SCE3-N20 @45 M6 40 30 228g
7.Y00077 SCE3-N30 D56 M6 40 30 2679

27



7.Y00868
SCE4-NR(L.R)

S(PN)

A5 (Model)
L. RESIHHE
¥GT-NRA
XEE: 6559
%L.R mate sales
%GT-NRuse
¥Weight: 65.5g

SCE4-NR20

7.50
4

7.50

10
1
CE

2.5(

3 !
) ¥ 44 |

60

30

SCE4-NR(L.R)

24
24

12.50,
12.50

——
——

SHREESNZE Gas cut fixation
F
BA ¢
(6]
L
o M5 [ A
Y [a]
BE(PN) #E(Model) A B (@ D E F E2(Weight)
7.Y00146 SCE4-NR30 56 35 85 10 40 15 111g
7.Y00147 SCE4-NR20 45 30 75 10 40 15 93g
7.Y00148 SCE4-NR10 36 25 65 10 30 15 729

BIJ)/KOFalheiELsEy 28 Adjustable Nipper Mounting Clamps

GR12B-12

SCE4-NR30

15

e

20

N30AAl14 SCE-NR30-D12

SCE4-NR(L.R)

£R5(PN) BE(Model) A B C D E BEE(Weight)
7.Y00946 SCE-NR20-D10 @245 @10 56.5 93 65 57.5
7.Y00947 SCE-NR20-D12 @245 @12 56.5 93 65 55.5
7.Y00948 SCE-NR30-D10 @56 @10 62.5 104.5 77 67.5
7.Y00949 SCE-NR30-D12 @56 @12 62.5 104.5 77 65.5

B3y | FhE

agnL SNS . 3]1401d

HEE A

S|NPOA SIUdIS

S SR

J9bueyd oD

e upill)y
a|npo\ diug

ham 2 20301

JaddiN 11y

FrisHHm

3|NPON wnNndep

=

syusuodwo?) A10ss8d0y




MRS |, X

aqnL SNS - 3|4o.d

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

WM FERBEETSZZE Access Robot Bracket

o
|
|- _ i QQ/
S (PN) IS (Model) A B @ D E EE(Weight)
7.YO0051 SMBH1-8M5 28 14 35 12 @5.5 159
7.YO00052 SMBH1-8M6 @8 14 35 12 26.5 129
7.YO0053 SMBH1-12M5 @12 20 39 16 @5.5 30g
7.Y00002 SMBH1-12M6 ?12 20 39 16 26.5 25g
7.Y00054 SMBH1-12M8 212 20 45 25 @9 429
7.YO0055 SMBH1-20M6 @20 20 50 25 26.5 489
7.Y00056 SMBH1-20M8 @20 20 50 25 29 51g
A T
W G
-
0G g
U m
©
= T
© []
S (PN) #I5(Model) A B @ D) E F G H T E=Z(Weight)
7.Y00869 SMBE7-18M5 16 82 6 15 15 27 @5.5 18 7 20.5¢g
7.YO00870 SMBE7-18M6 16 82 6 15 15 27 6.5 18 7 209
7.Y00871 SMBE7-25M5 16 90 7 15 15 30.5 @5.5 25 7 22.5¢g
7.Y00872 SMBE7-25M6 16 90 7 15 15 30.5 6.5 25 7 22g

=L / Application example




ZEF Elbow Arm

= =

=ASEHI / Application example

B
ZE
5
&Y
\, G E %
A3
: E I ,
; %§
E c N7 2
% i ) D e
8- & F

GRX20-CN

‘
.
b
»
S
J9bueyd oD

GBD22HU ———_

SEA-2020L50 B3
- SEA-1414180 g<
= s
SMBE3-2040 r SMBE2-1450 e
! 2 ;
52
£E(PN)  &S(Model) B(mm) G(mm)  Efi(Weight) R
7.Y00388  SEA-1010L60 10 10 60 10 13 93 125 209 E
7.Y00776  SEA-1212L60 12 012 60 12 15 98 145 229
7.Y00389  SEA-1414L40 014 014 40 14 16 82 16.5 329
7.Y00390  SEA-1414L80 014 o014 80 14 16 122 165 42g
7.Y00391  SEA-1414L120 Q14 014 120 14 16 162 16.5 50g
7.Y00392  SEA-2020L50 220 020 50 20 19 104 225 70g BHs
7.Y00393  SEA-2020L100 @20 920 100 20 19 154 22.5 90g =t
7.Y00394  SEA-2020L150 020 920 150 20 19 204 225 120g a3
7.Y00395  SEA-3030L80 @30 @30 80 30 27 160 34.8 2359 g
7.Y00396  SEA-3030L140 030 230 140 30 27 220 34.8 3009 5
7.Y00397  SEA-3030L200 @30 @30 200 30 27 280 34.8 360g
i)
(s

syusuodwo?) A10ss8d0y



MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

ERTE

Heavy Duty Elbow Arm

iz FEsLf / Application example

VFE2026-G18

SMBE1-2060 —w

£S(PN)

7.Y00350 7.Y00351

7.Y00166

N

iin

GFR20-95

SEAH-2020L50
@~ SMBE1-2060

7.Y00352 7.Y00353 7.Y00354

BS(Model) SEAH-2020L50 SEAH-2020L100 SEAH-2020L150 SEAH-3030L80 SEAH-3030L140 SEAH-3030L200
A(mm) @220 @20 @20 230 230 @30
B(mm) 020 020 020 @30 @30 230
C(mm) 50 100 150 80 140 200
D(mm) 25 25 25 35 35 35

E(mm) 19.5 19.5 19.5 27.3 27.3 27.3
F(mm) 113.5 163.5 2135 168.5 228.5 288.5
G(mm) 28.7 28.7 28.7 40.7 40.7 40.7
E&E(Weight) 959 1159 1309 3309 380g 435¢g
BEFRRFEZESE Elbow Arm For Vacuum Cup

—

i=zFAsEf5 / Application example

FGA-43-HT1-60

VMO04-G14

SEAV-G1420L75

SMBE4-2012

PEP2525

i

FGA-43-HT1-60

® o
5

VMO04-G14

I—SEAV-61420L75
9 \k'f SMBE2-2060
) -

(LPEPZSB

8RS (PN) IS (Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) L(mm) EZE(Weight)
7.Y00432 SEAV-M510L45 M5 10 45 16.5 5.5 19 10 14 11 189
7.YO0433 SEAV-M510L90 M5 210 90 16.5 5.5 19 10 14 11 279
7.Y00258 SEAV-G1814L60 G1/8 214 60 22 8.5 29 14 22 13.5 33g
7.Y00434 SEAV-G1814L120 G1/8 14 120 22 8.5 29 14 22 13.5 509
7.YO0435 SEAV-G1820L78 G1/8 @20 78 22 8.5 29 14 22 13.5 60g
7.Y00247 SEAV-G1820L153 G1/8 @20 153 22 8.5 29 14 22 13.5 100g
7.Y00436 SEAV-G1420L75 Gl/4 220 75 27 12 38 20 28 15 759
7.Y00437 SEAV-G1420L150 G1/4 @20 150 27 12 38 20 28 15 115¢g



EEEH Bush Nut

o
ZE
w NS
e
g2
g
DA
b2
2
1= 2
i
H2(PN) FE(Model) A B C D 3 F&(Weight)
7.¥00271 SBNA-8M5 238 M5x0.8 212 8 10 1g .
7.¥00272 SBNA-8M6 238 M6x1.0 212 8 10 1g RE
7.¥00273 SBNA-12M5 212 M5x0.8 216 16 18 59 5
7.¥00274 SBNA-12M10 212 M10x1.0 @16 16 18 39 g
7.Y00276 SBNA-20M12 220 M12x1.0 @24 16 18 11g 3
7.¥00277 SBNA-20M17 220 M17x1.0  ©24 16 18 59
%9
g%
ze S
e
sz
#z
o3
Gk
BS
£E(PN) #E(Model) A B C & (Weight) =8
7.Y00275 SBNB-12PT18 PT1/8 012 16 29 1[5
7.¥00278 SBNB-20PT18 PT1/8 220 25 179 trg
E& Bush
@B
B
(o

syusuodwo?) A10ss8d0y

55 (PN) BE(Model) A B C BEE(Weight)
7.Y00280 SBND-1208 28 @12 16 69
7.Y00281 SBND-2012 212 @20 16 99
7.Y00282 SBND-2008 28 @20 16 11g




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

SHimE

JaddiN 11y

RS
3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

B

B aitRiEFEEER Quick Changer

| mes A kmmme

Fﬂﬂf‘,ﬁ'/Product advantages
SiEE

EEFTNRAMNSKEMEREMUER, RETRS
EEEMEE. BARBHRNAKRALEEERILS TH#HEFE
=oRE
RERIGIT SR EEAGFRBANBES,
CRGHEFARIFIREEE BB RBRANT I,
UENAZENSEOBMNTERR, BRT AR, RIETEEEMUFE,
=it o Bt E AR

Quick Changer Installation example

ZHERRITHENG, ERTKEGEHANG, XBTSmREIEEMIRT,
RIET ESRIRE R E o

high-precision

The piston adjusting robot side and fixture side play the role of positioning, which provides high repeat
positioning accuracy. One million cycle tests show that the actual accuracy is much higher than the
recommended value.

high strength

The locking piston with large cylinder diameter has strong locking force, CRG robot end fast device has
strong anti torque ability. When locking, there will be no shaking due to high-speed movement, thus
avoiding locking failure and ensuring repeated positioning accuracy.

High performance

The locking mechanism with multi conical surface design, long life sealing components and high quality
elastic contact probe are adopted to ensure the close contact of signal module.



B s RIFEEIRELR Quick Changer

Detection switch 3 clamping & releasing

———Alarm can be given when the piston is deviated during

fidin
M=
N o
X 1%)]
A5 (Model) QCAO05 QCA15 QCA35 QCA50 QCA100 QCA200 %
R - ~ ~ ~ ~ ~
BRI E soayioad 3~5kg 10~15kg 25~35kg 35~50kg 70~100kg 150~300kg
Z 2
D IN _ _ ) ) ) ) a3
L QCA-05R QCA-15R QCA-35R QCA-50R QCA-100R QCA-200R 7@%
e
REM QCA-05G QCA-15G QCA-35G QCA-50G QCA-100G QCA-200G 5
Gripper side
S
Gas path 6-M5 6-M5 8-G1/8 9-G1/8 7-G3/8 12-G 3/8
HUEI@8OPsi (5.58ar) 620N 1150N 2900N 4600N 12000N 16000N Eg
Locking Force@80Psi ( 5.5Bar) :
3
FmER a
rect weh 0.37 kg 0.27 kg 1.35 kg 1.68 kg 5.13 kg 9.00kg 8
%2
E_-B
HE
MazAM FEM me
Robot side Gripperside o
52
- ij] -_Z‘.
- _ E:,U-U
% g
QORI ( B3k ) SO ( AL )
90° tor (femal o
connector (female) 90° connector (male) Hs
HERAMESER FEMESER E’Eg
signal module of robot side signal module of gripper side ﬁz
2
=
o
ZeMeE (EBZ) /Safety capability (option)
EANREMEFX, ZEHP Wz
Three safety capability switch, multiple protection it §
ShER4#& M External detection 8
---RE AL EF A ek BN 2 & AL & % RO0K a
———Checkwhetherthe Pistoninthgrobotside movesin g
xan place during clamping & releasing -§
Gripper side r L Tttt 3
PP WUFXQ PRI EBH M Internal detection : z
Do R RS AR E R A R B !
YN BUFRO | e FeEEERETURE, BeTERAMRE |
Robot side N ! ———Checkwhetherthe piston in the robot side moves in place during I
: I X O : |
! l
! I
! I

clamping & to releasing to prevent the fixture from falling off



B ahtRiEFEEER Quick Changer

#E e

5 A i

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FHEHbm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

N/ S &

6000

5000

4000

3000

2000

1000

FENNHear- B fR R (L B £

0.01

0.02

0.03
[EBE/mm

0.04

0.05

0.06

X-YEp S & NS

samT | e | p= |

QCA-2008 1Rk

)O(

0.000

|samz | &= | =z | | == | =& |
EEEETEIR
Lt maaqa| alzm|BE
- B
10‘
7
&
2
5
=
o
05 1.5 25 35 4.5 45 6.5 75
B




B ahtRiEFEEER Quick Changer

AT
2
A IR P
g9
HENNE T - (8] PR (L FR 2%

28
18000 Al
Hao
16000 e

14000

5 12000

M0 10000 ,
@ 8000 5
Z 6000 m
4000 )
2000 %o
E_U
0 B\
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 fre
BB/ mm

QCA-2008 mh1R#R

P 12 S0
Jaddin J1y

ZAFHSEHIEIAE

u5
=2
3
(RS
Q.
=
= AR 71(MPa 39102.402 o
| gmmz | we | =z | | mmz | me | @z | =t
EE
b+ & @a 80 a e ie b
it -Be e S
e e
3
a0 <
0
o
E 3
o
o
20 f':SD
>

20

g kg

E: 100 150 200 250 200 250 400 4
Bils)



B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

SHimE

JaddiN 11y

T H it
3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

1EHRSEE Module Type

FAMBERLFEF I

Module Mounting mode on gripper side

QCSM-**G

-

QCSM-**R ——

-
MEg AMRRZ RS

Module Mounting mode on robotside

'

o

f#HiADescription 15 pins 15 pins
g IEIN XEM e A *EM
E?*Ei;% Robot side Gripper side Robot side Gripper side
Signal module QCSM-15R1 QCSM-15G1 QCSM-15R2 QCSM-15G2
e N e 1 EE (83k) B (2sk) e (8k) BEg (k)
=] %}'ﬁ%ﬁk%iﬁ connector (female) connector (rL\naIe) connector (female) connector (Ir;ale)
Signal connectororcable | o) o) 1000 DB15G1-1000" D-Sub15R2-1000° | D-Sub15G2-1000”
QCA-05R N
QCA-05
QCA-05G N
QCA-15R NG
QCA-15
QCA-15G i
QCA-35R J
QCA-35
QCA-35G N
QCA-50R J
QCA-50
QCA-50G J
QCA-100R N
QCA-100
QCA-100G N
QCA-200R J
QCA-200
QCA-200G N
BIE
EE:%%'HE Voltage >0V 50V
Electrical characteristics iR 25A 25A
Current ! :

@ EFELEM ALK The wire's length is 1 meters

@ {EkL , AE%#1 Jointonly, no wire



EHRZEE Module Type

=

P —QCA—**G

19 pins 26 pins
HEEAM FEM) H=EAM AN =AM FEM
Robot side Gripper side Robot side Gripper side Robot side Gripper side
QCSM-08R QCSM-08G QCSM-19R QCSM-19G QCSM-26R QCSM-26G
Y (8k) g (2k) =Y (8%) B (k) R (8k) Bl (2%)

connector (female)

connector (male) connector (female)

connector (male)

connector (female)

connector (male)

3108A22-235°

MS3116F14-1952

MS3116F14-19P?

MS3116F16-2652

MS3116F16-26P?

@
3108A22-23P I\ ipogE. 14-195072)5R-B2

CMBO8E-14-19P(072)SR-B?

CMBO8E-16-265(072)SR-B°

CMBOSE-16-26P(072)SR-B2

380V

220V

220V

30A

3A

3A

B3y | FhE

99qnL SNS - 31404d

S o

3|NPOA SIUdIS

S SR

J9bueyd oD

ey
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wnNndep

~
F=

syusuodwo?) A10ss8d0y




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

SR

Jebueyd }dINd

il
a|npo\ diig

SHimE

JaddiN 11y

FHEHbm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

BHahRIEERER Quick Changer

QCA-05

HEsAM
Robot side
cE= (G 8.Y00355
=NV QCA-05R
RN
*Material: steel
®49
20

D | [

20+ 0.02

HlEg AM
Robot side

AZFSHEEOBE The air connection locked
B.ZSJE#AFF Air connection released
1A AMIZESE Robot side connection

2 BRLEFZ B FL Threaded through-holes
3. EC % 2EME Optional mounting surface

=S(PN)

8.Y00356
sE=NVGEN QCA-05G

FEM
Gripper side

539
17.50 21.50
12.50 12
6 &)~

®49
47

@@33H7
<

o[ @pansl

£H526.5

4 EFZFAERIH Positioning pin

5. E@ES7FL straight through air hole
6.7 BRI Central positioning

7 B3P JEEE Protective base

8. EHiBEISF, Straight through air hole

47




BEIRIELEIRIELR Quick Changer

Flﬁ:%?&/Parameter
1EWNEERHA: 3~5kg

2.8{% 7 @80Psi (5.5Bar) 620N
3ERSAHIIE (X&Y):23.4Nm
4BSEHANE (2): 31.5Nm
S5.MBBEERE (X,Y&Z): £0.015mm
6.E8-HRE: 0.37 kg
THRBAMEE: 0.29 kg

8. & AMER: 0.08 kg
IRAAFARE L1

10. BB SFARYT (#8) :(6) M5

©49
1 20
o
Ye)
N A
O 1d
¥ O (0]
§ 9] Q }
3 — =\
)
FEM
Gripper side

1.32EMiE$#EF Gripper side connection
2 I280EE AL Threaded holes
3G ER L ZEH Optional mounting surface

*ﬁﬂl?éﬂ/Module Type

FERER

1.Recommended rated load : 3~5kg

2.Locking force@80Psi ( 5.5Bar) 620 N

3.Static Load torque ( X&Y) : 23.4 Nm

4.Static Load torque (Z) : 31.5 Nm

5.Repeatability accuracy ( X,Y&Z):+0.015 mm

6.Weight after locked : 0.37 kg

7.Robot side’ sweight: 0.29kg

8.Gripperside’ sweight:0.08 kg

9.Maximum allowable angle deviation: +1°

10.Size of straight air hole (quantity) : (6) M5

20+0.02

4xM5 E%%?L/

4 EZENMSHE Positioning pin

5.5RITEL Central positioning

TAERBIE

=t

BREMES

Product name Working Voltage Working Cu Connector Connector PN
== @D

*ﬂ%ﬁﬁfﬂﬁiﬁﬁ?& QCSM-15R1 7.Y00965 50V 25A DB15R1-1000 1.Y10163

REMESER | Qcsm1561 7.Y00966 50V 25A DB15G1-1000° |  1.Y10437

@ EFELE ALK The wire's length is 1 meters

B3y | FhE

agnL SNS . 3]1401d

HEE A

S|NPOA SIUdIS

S SR

J9bueyd oD

il

a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wnNndep

~
F=

syusuodwo?) A10ss8d0y




BHahRIEERER Quick Changer

B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

S SE

Jebueyd }dINd

QCA-15

55 (PN)
A= (Model)

@55

s AM
Robot side

8.Y00353
QCA-15R

il
a|npo\ diig

24

=t

Vi

1

P

2XM3V5

SHimE

JaddiN 11y

T H it
3|NPOIN wnndep

26.50
20+ 0.02

™
N

sjuauodw o) A10ssa20Y

Mg A M
Robot side

AFTSEOHE The air connection locked

B.Z=5#E #AFF Air connection released

1 ML A MIZEE Robot side connection

2 $28UEHEFBFL hreaded through-holes

3. IEHEC 4L ZEE Optional mounting surface

4XD

20

M4 i
0K IVA:

H8

5S(PN)
#IS(Model)

FEM
Gripper side
8.Y00354
QCA-15G
# 537
16. 50 20.50
10. 50 10

@ @51H7

(I

@6XM5

4 EBEAENRSE Positioning pin

5.EI@EISFL Straight through air hole

6.7 /B Central positioning

7.HiBEIS 7L straight through air hole

o



BoiRiEERER Quick Changer

AT
EmE/Parameter 23
)
LENEERM: 10~15kg 1.Recommended rated load : 10~15kg e
s n
2.81% D@80Psi (5.5Bar) 1150N 2.Locking force@80Psi ( 5.5Bar) 1150 N = g‘_
o
3FESAHSIIE (X&Y): 26.5Nm 3.Static Load torque ( X&Y) : 26.5 Nm
4. B4 EH I (Z): 35.3Nm 4.Static Load torque (Z) : 35.3 Nm
S5.MUBEEEME (X,Y&Z): £0.015mm 5.Repeatability accuracy ( X,Y&Z):20.015 mm ¥ g
58S
6.FE-HEE: 0.27 kg 6.Weight after locked : 0.27 kg ;ég
4
TNBAMER: 0.17 kg 7.Robot side’s weight : 0.17 kg e
8.ZEAMESE: 0.1kg 8.Gripper side’s weight: 0.1 kg °
IERAATARE L1 9.Maximum allowable angle deviation: +1°
10.HBRSIALRT (B&E) :(6) M5 10.Size of straight air hole (quantity) : (6) M5 0
c
23
[a)
3
a
o
%9
E_'B
HE
e
o
$55
1 24
=»
#z
BITO
5o
0 o o0 m
9 j| *
2XM3T6 i
=
B 2t
. . H3
Gripper side iz
1.2 EMiE#EA Gripper side connection §
2 WBEGEREFRFL Threaded holes 4 EFZRENRE Positioning pin
3.1 EL 4L ZEE Optional mounting surface 5.0 Central positioning
b
e
s
<
[a)
o
E
*ﬁi*?éﬂ/Module Type 3

F=RBR = T{EsBE B BEMRE
Product name Working Voltage Working Cu Connector Connector PN
== @D
MEBAMUSSER | QcsM-15R1 7.Y00965 50V 25A DB15R1-1000 1.Y10163
FEMESHER | QCSM-1561 7.Y00966 50V 2.5A DB15G1-1000" |  1.Y10437

@ EELLEAK ALK The wire's length is 1 meters



B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

S SE

Jebueyd }dINd

il
a|npo\ diig

SHimE

JaddiN 11y

T H it
3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

BHahRIEERER Quick Changer

QCA-35

HMaEAM

Robot side

5S(PN) 8.Y00351
STV QCA-35R

105

55 (PN)
S (Model)

50 +0.02

8.50

8

|
o 6o

(©
=
18

o (] O)

4.5

19.28 +0.02

| 06713(1)

kEMm

Gripperside
8.Y00352 S(PN)
QCA-35G

MIBBAMHEFFX
Robot side strap switch

8.Y00351-SP|8.Y00351-SN

it ={(VIele[E) QCA-35R-SP | QCA-35R-SN

EeilES PNP

TaRENA
HARKEIE NG

NPN

A&52

26 26

(5) 8xG1/8

15| [T,

L

@70H7

o OO0

H7 @

BRI

bbb et

2298 +0.02  AG1/8Lock Port

©
m | —
™
<
TERERY
TSR ALY
6x®5.30
M5 &% iR 1%
HlEg AN
Robot side

AZSIEZEOBE The air connection locked
B.ZS 53 #ATT Air connection released
1A AMIZERE Robot side connection

2 WREYERE B FL Threaded through-holes
3G EEE Optional mounting surface

B G1/8Unlock Port

4 ERFERIEE Positioning pin
5.HIBAISF| straight through air hole
6.Bi@ A5 7L Straight through air hole

7 HILTERIFS Central positioning

sxc1/8 (6)




BHahRIEERER Quick Changer
s #/parameter

i
1LENEERM: 25~35kg 1.Recommended rated load : 25~35kg *Z;—"
2.8 % 71@80Psi (5.5Bar) 2900N 2.Locking force@80Psi ( 5.5Bar) 2900 N R
pars
3B A J15E (X&Y): 88.5Nm 3.Static Load torque ( X&Y) : 88.5 Nm =) C‘i’.
4 B EE I (Z): 105 Nm 4.Static Load torque (Z) : 105 Nm £
S5.MUBESHE (X,Y&Z): £0.015mm 5.Repeatability accuracy ( X,Y&Z) +0.015 mm
6.FEE2-BEE: 1.35kg 6.Weight after locked : 1.35 kg
THZEBAMESE: 0.85kg 7.Robot side’ sweight : 0.85 kg %E
=]
8.FEMEE: 0.5kg 8.Gripperside’ sweight: 0.5 kg 7@2
I.RAAFARE L 9.Maximum allowable angle deviation: +1° Ha
c
10.EBESILRT (&) :(8) G1/8 10.Size of straight air hole (quantity) : (8) G1/8 g
. 105 - O
o401 S &
1 50 £0.02 p ~
el o
=3
2 g
) [0) ) =
CXD‘ %) q d ﬁ@q (o))
- 4\ —
) ol® I, -
E-E
o ; 3 G6T 11 ks
0 P H7 yrs 2
< o £
\ 6XM8 TEA(2)
FEM
Gripper side | 23.750.02 .
1.2 EMIiE#EA Gripper side connection )| ;
BIT
2 B2BUEREFAFL Threaded holes 4 SEZ RN Positioning pin %'g
3 1% HC 4% ZEE Optional mounting surface 5.4 ERLF Central positioning
*ﬁi*?sﬂ/Module Type
FEERER T{EEBBE TEBEIR EEM EEHES B
Product name Working Voltage Working Current Connector Connector PN Z= g
=P 4
*fl;%bgl/\‘jmﬂgél‘:—ﬁ%ﬂ& QCSM-15R2 7.Y00468 50V 2.5A D-Sub15R2-1000° 1.Y10080 }EZ
= o
f%mﬂ‘%’?’f%% QCSM-15G2 7.Y00469 50V 2.5A D-Sub15G2-1000% 1.Y10081 g
o
e ESER QCSM-08R 7.Y00477 380V 30A 3108A22-2352 1.Y10710
SelliEs QCSM-08G 7.Y00478 380V 30A 3108A22-23P2 1.Y10711
PIEIN = caey ) MS3116F14-195® 1.Y11420 Bt =
Roborsidesiral el QCSM-19R 7.Y00954 220V 3A CMBOBE-14-195(072)5R-B2 | 1.Y11863 %8
EEMIES 5 ) MS3116F14-19P@ 1.Y11419 8
Gir s s QeSM196 7¥00955 220V 3A CVBOSE-14-19P(0725RB2 | 1V11864 <
HEEAMYS SR ) MS3116F16-265? 1.Y11867 ]
Robt i sina ol QCSM-26R Il il 2 CMBOSE-16-265(072SR-82 | _ 1.Y11865 3
@ >
SEEM=EER " MS3116F16-26P 1.Y11369 3
oo s Qs SR AN S CMBOSE-16-26P(072SR B2 | _ 1.Y11866 &
@ EEEEME LK The wire’s length is 1 meters @ L, REH Jointonly, no wire
""'i . .
SBIBE */Pneumatlc Extension Module
FERER BE E= S HRLTF, FERER e = S BRLF,
Product name Model PN Gas path  Threaded hole Product name Model PN Gas path  Threaded hole
EAMSEY RER | QCAM-06G18R | 7.01015| 6 Gy MEMUTETEER) QCAM-10MSR | 7.¥01053| 10 MS
KBS RER | QCAM-06G18G | 7.Y01016 | 6 G1/8 FBMET BRR | QCAM-10M56 | 7.¥01054 | 10 M5
a8 MU IR | QCAM-06G18R-E| 7.Y01018 | 6 G1/8
KB RER | QCAM-06G18G-E| 7.Y01019 | 6 G1/8



B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

S SE

Jebueyd }dINd

T K
a|npo\ diig

SHimE

JaddiN 11y

T H it
3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

B ahtRiEFEEER Quick Changer

QCA-50

HLEsAM
Robot side

5S(PN) 8.Y00349
GE=TVRE QCA-50R

IR
WX KRR IMNG

FEM MEBANHFF X
Gripper side Robot side strap switch
55 (PN) 8.Y00350 =((=\)F ] 8.Y00349-SP | 8.Y00349-SN

sE=NVGEN QCA-50G

et =TTl QCA-50R-SP| QCA-50R-SN

ESHRINZER PNP NPN

13.50

B G1/8 Unlock Port/
A G1/8 Lock Port

98

Mg AW
Robot side

A ZSIEOHE The air connection locked
B.ZS3E#AFF Air connection released
1A MIIZERE Robot side connection

2 BRIYIESE B FL Threaded through-holes

F&54
27 27
15 15
TERERA D)= o@

_HRRKBRMA |
\ = Ol |-©

@® 80H7
©

CINTE Uy @ « o @
BRI

3. EBC 4R ZEME Optional mounting surface
4 ERZFRERI Positioning pin
5.E@AISFL Straight through air hole

6.4 ESIF Central positioning



BHahRIEERER Quick Changer
EamE#/Parameter

m
1.ENEE & 35~50 kg 1.Recommended rated load : 35~50kg 7f7.r:—b_"
2.8 % 1@80Psi (5.5Bar) 4600N 2.Locking force@80Psi ( 5.5Bar) 4600 N %mé
3EESAH IFE (X&Y): 165Nm 3.Static Load torque (X&Y) : 165 Nm ﬁ;
458 AHANE (Z): 226 Nm 4.Static Load torque (Z) : 226 Nm S
SMEEERE (X,Y&Z): £0.015mm 5.Repeatability accuracy (X,Y&Z)+0.015 mm
6.EE-PEE: 1.68kg 6.Weight after locked : 1.68 kg
THBAMES: 1.08 kg 7.Robot side’ sweight: 1.08 kg %E

=]

8.KEMEE: 0.6 kg 8.Gripper side’ s weight: 0.6 kg 7@2

ImARTFARE L1 9.Maximum allowable angle deviation: £1° A3

c

10.B@ESART (#E) :(9) 1/8 10.Size of straight air hole (quantity): (9) 1/8 2
60°

O

50 +0.02 XG4T T RE
1 a
3
$ ® 3
4008 ||| ¢ ~
+—+—© o
*xQ
o B
o -
A N R
<t ~ He
o
FEM
Gripper side o L@
pp @ XA 67 15 6XM8 Z2EF =>
1ZEMiEZER Gripper side connection H7 27] ;
2 BBEUEREFFL Threaded holes AEZFERIE Positioning pin %§
3 EES 4L ZEME Optional mounting surface 5.9 ERIF Central positioning
*ﬁﬂ&%ﬂ/Module Type
FREMR T{FEBE T{FEER REEM EEG5RS B
Product name Working Voltage Working Current Connector Connector PN z= g
= g 4
mkéssgkjmugzl—:—%ﬂ& QCSM-15R2 7.Y00468 50V 2.5A D-Sub15R2-1000° 1.Y10080 }EZ
=] o
%ffmgriﬁ%t‘;a QCSM-15G2 7.Y00469 50V 2.5A D-Sub15G2-1000® 1.Y10081 g
o
L AESER QCSM-08R 7.Y00477 380V 30A 3108A22-2352 1.Y10710
S QCSM-08G 7.Y00478 380V 30A 3108A22-23P2 1.Y10711
MBEAMIE SR ] MS3116F14-195% | 1.Y11420 B2
Robo s gl mocl QCSM-19R 7.Y00954 220v 3A CMBOSE 14-195072SRB2 | 1.Y11863 E3
[P V1 MS3116F14-19P? 1.Y11419 8
Crer s sp e QCSM-196 /:Y00955 220V 3A CMBOBE-14-19P072)5R B2 | _ 1.Y11864 <
EIN =t e ) MS3116F16-265%? 1.Y11867 S
R sidesigna ool QCSM-26R /.Y00464 i i CMBOSE-16-265(072SR-82 | _ 1.Y11865 3
EMESER S MS3116F16-26P2 1.Y11369 3
G EREEEImeD Q Zalie B0 2 CMBOBE-16-26P(072)SR- B2 1.Y11866 3’
@ JEEEEME LK The wire's length is 1 meters @ L, RE&H Jointonly, no wire
=Bk . .
SBY BRE R/Pneumatlc Extension Module
FEERER BE C4= S 1RLTF, FRER e = S HRLF,

Product name Model PN Gaspath  Threaded hole Product name Model PN Gaspath  Threaded hole
EAMSEY RER | QCAM-06G18R | 7.01015| 6 Gyg  MEMUTETEER) QCAM-10MSR | 7.01053| 10 MS
SRR Y RIER | QCAM-06G18G | 7.¥01016 | 6 G1/8 KBTI RIUR | QCAM-10MS5G | 7.¥01054 | 10 M5
88 MU FEIRIR | QCAM-06G18R-E | 7.Y01018 6 G1/8
KB RER | QCAM-06G18G-E| 7.Y01019 | 6 G1/8




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FHEHbm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

BHahRIEERER Quick Changer

QCA-100

eg Al
Robot side

=[N 8.Y00362-SP | 8.Y00362-SN
=V QCA-100R-SP|QCA-100R-SN
SeponlES] PNP NPN

2HOATIO 50 £0.02

2
L il

55(PN) 8.Y00363
SE=1VEREDN] QCA-100G

6X®8.3
Mz
4XM4T 8

A G1/8LOCK Port ,@A

\ I; 6X13.50

)

=

B G1/8Unlock Port I b )

-§’>
18

Ul
13.50

60°

o
L
<

FEM

Gripper side

A& 75

62.50 £0.02

30

16.50

150

H
OOk

00

H
A

HEsAM
Robot side

AZBSEEOME The air connection locked
B.ZSS#EHAFF Air connection released

1 4L A MUZE$E Robot side connection

2 MBI B Monitoring position locked
3 HRLYE 2 FAEFL Threaded through-holes
4 3EER {22 %EE Optional mounting surface

D

0O

7X G3/8 |

5.5 BFAFF Monitor position released
7 ZEBEFARENI Positioning pin

8.FLESIF Central positioning

\ 7x G3/8 10

9 W88 AMIBEIAEZILFF 3K Proximity switch for robot side confirmation

10.Ej@ESFL Straight through air hole



BHaNRIEERER Quick Changer

FEanE ¥ /Parameter

B
1EWEESS © 70~100 kg 1.Recommended rated load : 70~100kg *Z:;—"
2.81%H@80Psi (5.5Bar) 12000 N 2.Locking force@80Psi ( 5.5Bar) 12000 N R
pars
3EFSAE NI (X&Y) 1538 Nm 3.Static Load torque ( X&Y) : 538 Nm = ;
AFRSAFENE(Z): 720Nm 4.Static Load torque (Z) : 720 Nm £
S5ABEEREE (X,Y&Z): £0.015mm 5.Repeatability accuracy ( X,Y&Z) : +0.015 mm
6.E2-HERF: 5.13kg 6.Weight after locked : 5.13 kg
THE/AMES: 3.57kg 7.Robotside’ sweight : 3.57 kg ,% S
=]
8.FEAMEE: 1.56kg 8.Gripper side’ sweight : 1.56 kg %2
I ERAMNTARE: *£1° 9.Maximum allowable angle deviation : +1° gﬁ%
10.HBESIART (#&) : (71)G3/8 10.Size of straight air hole (quantity) : (7) G3/8 o
60°
V4 :H&O
B3
50 +0.02 2x$ 4710 © g
=3
o
9l \ 4xM478 A E
H o)
< — — 8
0,
K JU o v 4 ﬁ — %9
° o @ @®80H7 o Be
= HE
H He
LN o
©
FEM ;

. . @ 2x¢10v15 6XM10% %3, s>
Gripper side H7 $2
1 ERFRERISH Positioning pin 3.0 E{ZF Central positioning %§
2 2 EMEHE Gripper side connection 4 J%ELHZZEE Optional mounting surface
*ﬁﬂ&%ﬂ/Module Type

FERER T{EEBE T{EEBR BEiEM EEHES B
Product name Working Voltage Working Current Connector Connector PN Z= g
=P 4
mkéssﬁmugzl—:—ﬁﬂ& QCSM-15R2 7.Y00468 50V 2.5A D-Sub15R2-1000° 1.Y10080 {E =
=] o
%ffmgﬁ#%t‘;a QCSM-15G2 7.Y00469 50V 2.5A D-Sub15G2-1000? 1.Y10081 g
o
e ESER QCSM-08R 7.Y00477 380V 30A 3108A22-2352 1.Y10710
S QCSM-08G 7.Y00478 380V 30A 3108A22-23P2 1.Y10711
HER A= S ) MS3116F14-19S? 1.Y11420 Bt =
Robot side signal module QCSM 19R 7.Y00954 220V 3A CMBOSE-14-19S(072)SR-B® 1.Y11863 {q;a
EEMESER e MS3116F14-19P@ 1.Y11419 8
Soeinihont QCSM-19G 7.Y00955 220V 3A CMBOSE-14-19P(072)SRB° | _ 1.Y11864 <
S AMISSHESR ) MS3116F16-26S? 1.Y11867 ]
Robt i signa ol QCSM-26R Il i i i CMBOSE-16-265(072SR-82 | 1.Y11865 3
SEEM=EER CSM-26G MS3116F16-26P? 1.Y11369 3
oo s e Q SRS B0 S CMBOSE-16-26P(072SR B2 | _ 1.Y11866 &
@ EEEEI KK The wire's length is 1 meters @ RiEL , FEL%H Jointonly, no wire
""'i . .
SBIBE R/Pneumatlc Extension Module
FEERER BE C4= S 1RLTF, FRER e = S HRLF,
Product name Model PN Gaspath  Threaded hole Product name Model PN Gaspath  Threaded hole
EAMSEY RER | QCAM-06G18R | 7.01015| 6 Gyg  MEMUTETEER) QCAM-10MSR | 7.01053| 10 MS
KBS RER | QCAM-06G18G | 7.Y01016 | 6 G1/8 RIS BRR | QCAM-10M56 | 7.¥01054 | 10 M5
HEAMSEE R | OCAM-06G18R-E| 7.Y01018 | 6 G1/8 MEBAVSEETRER | QCAM-14M5R | 7.¥01055 | 14 M5
KRN RIER | QCAM-06G18G-E| 7.Y01019 | 6 G1/8 REWSETBER | QCAM-14MSG | 7.Y01056 | 14 M5



MRS |, X

2qnL SNS . 3|!40id

HEE S A

9|NPOJIA SIUd1S

SR

J9bueyd }oINd

Frm

a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

BERIEEEIRELR Quick Changer

QCA-200

MEEAM

Robot side

CE={E 8.Y00272-SP | 8.Y00272-SN

sii= (VeI SN QCA-200R-SP|QCA-200R-SN

kEM

Gripperside

55(PN) 8.Y00357

pe= (VSN QCA-200G

Bl el PNP NPN
@)\ @200
85. 60 o
+0.02 -
@\ 50\_?'0‘ 8X®3.307 12
o a 1] © %
Bk 100l 9 i<
71¢ —o .l 1 I
A G1/8Lock Port/ — - X o
B G1/8Unlock Port/ /) QO © O 3 N
0| — < ™
DG
- 83.60 & 0. 02 4100
=
o 60 40
N
¢ . 34 23
0125
>~ - >
- . R
6XM3 < AN 2X0 107 15 @ ©
SR - VAN .' <
\ ©~ o
)
i 6x910. 70 - ;@—
< / M10 Z&Ei2te
[o0]
< ©-~ Vo) MO
P25V 3
VOB o-V o
62. 50+ 0. 02 12 x G3/8 12 x G3/8
nEAM @912 x Ga/g/ \12x63/8 (1)
Robot side

AZS OB The air connection locked
B.Z S O#AFF Air connection released
1A AMIZESE Robot side connection

2 $BLYEREFIEFL Threaded through-holes
3 AL 2EE Optional mounting surface

4 ST EHE Monitoring position locked

5.5 S EFAFF Monitor position released
7 ERFIEAE Positioning pin

8.7 LB Central positioning

9 88 AMUFEIABEZILFF X Proximity switch for robot side confirmation

10.Ej@BSF Straight through air hole
11 Ej@ESF Straight through air hole



BHahRIEERER Quick Changer

s /Parameter

B3
LEWEEH A 150~300kg 1.Recommended rated load : 150~300kg *Z:;—"
2.81%H@80Psi (5.5Bar) 16000N 2.Locking force@80Psi ( 5.5Bar) 16000 N R
P
IFBAHNE (X&Y) : 1360Nm 3.Static Load torque (X&Y) : 1360 Nm &2
4 FEBEHANE (Z) ¢ 1130Nm 4.Static Load torque (Z) : 1130Nm g
S5AUBESRE (X,Y&Z): £0.015mm 5.Repeatability accuracy (X,Y&Z):+0.015 mm
6.EE-HEF: 9kg 6.Weightafterlocked : 9kg
THERAMEZ: 6.2kg 7.Robotside’ sweight: 6.2kg % §
8. KAMES: 2.8kg 8.Gripperside’ sweight: 2.8kg 7@2
IRAAFRARE: L1° 9.Maximum allowable angle deviation:+1° gﬁé
10.BE@RSILRYT (B8 : (12)3/8 10.Size of straight air hole (quantity) : (12) 3/8 g
:H&KEJ
©200 g
1 3 o}
85. 60 8XMAT10 § e
«Q
[oe] N 2
3 A A %
VU ° %0
T ¥, ° o E%
~ 2 J4'3 \HE
o 50+ 0.02 oo~ He
i | i o ’
e =l 125 | \ \
Gripper side 62.50 + 0.02 6XM10 227.,(2)
= >
1.2 EMIiZ%E$E Gripper side connection é) g z
2 MBEEREAIEFL Threaded through-holes A EBERTENSH Positioning pin %§
3EEERZEE Optional mounting surface 5.5 A Central positioning
*ﬁﬂ&%ﬂ/Module Type
FERER T{EEBE T{EEBR BEiEM EREGES B
Product name Working Voltage Working Current Connector Connector PN z= g
wopmyee 7
mkéssﬁmugal—:—%ﬂ& QCSM-15R2 7.Y00468 50V 2.5A D-Sub15R2-1000° 1.Y10080 }E =
= o
;ffmﬁ’#%t‘* QCSM-15G2 7.Y00469 50V 2.5A D-Sub15G2-10002 1.Y10081 g
o
et QCSM-08R 7.Y00477 380V 30A 3108A22-2352 1.Y10710
S QCSM-08G 7.Y00478 380V 30A 3108A22-23P2 1.¥10711
MEBEAMESHELR B MS3116F14-1952 1.Y11420 [T
Roborside signal el QCSM-19R 7.Y00954 220V 3A CMBOBE-14-195(072)5R-B2 | 1.Y11863 %8
FEMISSEHR _ MS3116F14-19P? 1.Y11419 3
Crer s sp e QCSM-196 /:Y00955 220V 3A CMBOBE-14-19P072)5R B2 | _ 1.Y11864 <
EIN =t e ) MS3116F16-265%? 1.Y11867 S
Robor e signa e QCSM-26R Dot 220y A CMBOSE-16-265(072)SRB2 | L.Y11865 3
@ >
SEEMIESER i MS3116F16-26P 1.Y11369 3
Crprer s o QCSM-266 7:Y00465 2z S CMBOSE-16-26P(072)SRB% |  1.Y11866 Z
@ JEEEEME LK The wire's length is 1 meters @ L, RE&H Jointonly, no wire
SBY BRE R/Pneumatlc Extension Module
FRAER BE C4= S 1RLTF, FRER e = S BRF
Product name Model PN Gaspath  Threaded hole Product name Model PN Gaspath  Threaded hole
EAMSEY RER | QCAM-06G18R | 7.01015| 6 Gyg  MEMUTETEER) QCAM-10MSR | 7.01053| 10 MS
RN R | QCAM-06G18G | 7.Y01016 6 G1/8 KBTI RIUR | QCAM-10MS5G | 7.¥01054 | 10 M5
HEAMSEE R | OCAM-06G18R-E| 7.Y01018 | 6 G1/8 MEBAVSEETRER | QCAM-14M5R | 7.¥01055 | 14 M5
KRN RIER | QCAM-06G18G-E| 7.Y01019 | 6 G1/8 REWSETBER | QCAM-14MSG | 7.Y01056 | 14 M5



B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

JaddiN 11y

SHimE

T H it
3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

fEHRZER Module Typer

QCSM-15

Mg A s
Robot side module

5S(PN) 7.Y00965
SE=TVeEE QCSM-15R1

0__[l

v

I g
2 &
'
17.52
3081 [© Riteed @]
| =
3

¥ B JEVoltage: 50V
¥ HfCurrent: 2. 5A
¥ EE: 30.5¢g

QCSM-15

B AMARER

Robot side module

£S(PN) 7.Y00468
SV QCSM-15R2

N N

o == 0|3

36.24

[ I

24.84

Q15014013Q1201101009
3912 © ©

FEMELR
Gripper side module

= Y
v g

5S(PN) 7.Y00966
=V QCSM-15G1

0 [l

| A
o
e} o
o 0
™ [ce)
\ )
|
1627 501002010
3081 @
S|
LR ‘QV
31
% HJEVoltage: 50V
¥ HfCurrent: 2. 5A
X EE: 29.8g
FEMER

Gripper side module

£S(PN) 7.Y00469
=TV QCSM-15G2

i i
©

O wew o

I

22

28.24

24.84

(0102030405 Q507 O8))

39.12 [ Sssoooo)

9

©l
26.80

X B [EVoltage: 50V
¥ HfCurrent: 2. 5A
¥ EE: 48.5g



1EHRSEA Module Type
QCSM-08

B
ZE
M2
g9
g
Hleg AMtEsR T EMER
Robot side module Gripper side module o
783
TN 7.v00477 PO 7.v00478 ;E'%r;
=V QCSM-08R A=V QCSM-08G Hs
72.39 >
0 O «—
ol ™ =)
[o0] [e'e) H&:
e
8
SIS |l g
o © S0
S UE o a:
5 = HE
He
72.39 67 ®
% HJEVoltage: 380V ¥ B EVoltage: 380V
¥ HiCurrent: 30A ¥ HCurrent: 30A
X ES: 434.7¢g ¥ E=: 330g
5z
Hz
QCSM-19 =5
e
BS
188 A Mg SEE SR =<
Robot side module Gripper side module (RS
Q.
£5S(PN) 7.Y00954 =1(d\)) 7.YO00955 °
st =V QCSM-19R SE=VCE D] QCSM-19G
[l I 0 0
| 1P CHIFS o [P [ B 2
5 a 0 S 3
7o) < oY 2
< O, (o) Yo 3
o ﬁo_(? \ H o o
I E
S
Q<
¥ HJEVoltage: 220V ¥ HJEVoltage: 220V

¥ HfCurrent: 3A

B,
B RCurrent: 3A
X EE: 178. 3¢ S

=: 130.7¢g



B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

SHimE

JaddiN 11y

RS
3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

1EHRSEE Module Type

QCSM-26

ez AMARLR

Robot side module

5S(PN) 7.Y00464
STV QCSM-26R

N 1

42.50

66.05

52.40
45.30

¥ HJEVoltage: 220V
¥ B fCurrent: 3A
¥ EEWeight: 198.5¢

atb={(Ve N QCSM-26G

FEEMRR

Gripper side module

5S(PN) 7.Y00465

M 0

42.50

65.77

X B [EVoltage: 220V
¥ HfCurrent: 3A
% EBWeight: 178. 2¢



#sL Connector

19 E k(L)

19 core straight connector (female head)

48.41

£8S(PN) 1.Y11420
aeb=((Vele )l MS3116F14-19S

% EEWeight: 36.8¢g

2615 B L EL (L)
26 core straight connector (female head)

8.97

T .

51.99

£8S(PN) 1.Y11867
aeb=((V[ele )l MS3116F16-26S

% EEWeight: 44. 8¢

90°#%3L 90°Connector

$12.70

L9 E L ERL(AL)

19 core straight connector (male head)

£RS(PN) 1.Y11419
b= ((Vele [l MS3116F14-19P

% EEWeight: 36.8¢g

265 Bk (AK)

26 core straight connector (male head)

£RS(PN) 1.Y11369
aeb=((ele ) MS3116F16-26P

% EEWeight: 44. 8¢

99.53

8ih90° L (B:k)

8 core 90° connector (female head)

76.98
8.26

o/
50.62

5.0

£RS(PN) 1.Y10710
ai sl 3108A22-23S

% E=EWeight: 149. 3g

()
Il
o

8ii90°Z (22 3k)

8 core 90° connector (male head)

76.98

50.62

H£2(PN) 1.Y10711
at = (VIeelEl  3108A22-23P

X EEEWeight: 119. 2¢g

B3y | FhE

agnL SNS . 2]1404d

HEE A

S|NPOA SIUdIS

S SR

J9bueyd oD

S
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wnNndep

~
F=

syusuodwo?) A10ss8d0y




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

S SR
3|NPOIA SIUdIS

J9bueyd }oINd

il
a|npo\ diig

SHimE

JaddiN 11y

RS
3|NPOIN wnndep

sjuauodw o) A10ssa20Y

90°#%3L 90° Connector

19:E90° 53k (B3K)

19 core 90° connector (female head)

54.85

42.85

N
<

N
23 |

54.85

£S(PN)

e

1.Y11863 |

#IE(Model) CMBOSE—14—19S(O72)SR—B‘
¥ E=EWeight: 81.1g

26i590° 2L (832k)

26 core 90° connector (female head)

58.35
44.40

BS(PN)

sk =10\ [elo [SI D CMBOSE-16-265(072)SR-B

$32.16_,

1.Y11865

¥ E=Weight: 99. 5¢g

19:590° 83k (k)
19 core 90° connector (male head)

54.85
42.85

$28.50 |

42

18

e

HS(PN) 1.Y11864 |
#E(Model) CMBOSE—14—19P(O72)SR—B‘
X EEWeight: 79. 2¢g

261590823k (k)
26 core 90° connector (male head)

58.35
44.40

46

5S(PN) 1.Y11866

=}

sk ="\ [e)o [=1 )}l CMBOSE-16-26P(072)SR-B

¥ EEWeight: 96. 4g



=S4 Quick changer signal cable

fiTin
ZE
9 g:
- =
e ﬁ c
%?
15T RIS S L ) 15 RIBE S LA &
15 core quick changer signal cable (female head) 15 core quick changer signal cable (male head) Hg
HS(PN) 1.Y10163 S (PN) 1.Y10437 g
HE(Model) DB15R1-1000 ale=l(Vle Sl  DB15G1-1000
X E8Weight: 125.7¢ X EBWeight: 123.7¢
P ﬁ?%éﬁéfﬂ‘t’t%ﬂ* The wire’ s length is 1 meters P E?%éf&ﬂ‘t’tjﬂ’]* The wire’ s length is 1 meters T;&O
22
2
g
# - g3
lo 2, s
R fEg
1S5S HRIRESE(E:L ) 15SHRIRESE(223k)
15 core quick changer signal cable (female head) 15 core quick changer signal cable (male head) g z
Z
HE(PN) 1.Y10080 H=E(PN) 1.Y10081 3
(SN D-Sub15R2-1000 SE=EEE D-Sub15G2-1000 )
¥ EEWeight: 142¢g ¥ EEWeight: 141. 4g
X EEEREMAKCAIK The wire’ s length is 1 meters X EEEKEMAKAIK The wire’ s length is 1 meters
B
#H3
s
M2
e
s
A
o
3
el
L



B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|npo 51Ua1S

S SE

J9bueyd }oINd

Frm

a|npo\ diig

SHimE

JaddiN 11y

FHEHbm

3|NPOIN wnndep

=

sjuauodw o) A10ssa20Y

SI-EiELR Pneumatic Extension Module

B AMRLR kEMER

Robot side module Gripper side module

5S(PN) 7.Y01015
L=V QCAM-06G18R

5S(PN) 7.Y01016
S =l QCAM-06G18G

;1) ey :

i

o)

50+0.02 \2_)(%_9 3 @ o 50+0.02 \M
(®)

H8 9

80 4

e @@@@@9

> EORIOMC >
40.05°0Q
®
4% 4.2 6xG1/8
M4 1
X EEWeight: 141. 4¢g % EEWeight: 140.9¢g

ez AR FEMER
Robot side module Gripper side module

5S(PN) 7.Y01018 55S(PN) 7.Y01019
aib={VIele [0 QCAM-06G18R-E seb= (VeI QCAM-06G18G-E

©
50+0.02 2x04 39
H8

— ——

-]

© ©
50+£0.02 2x9479
H8

80
50+0.02

28
2 x4 39 4 x9 4.20
H8 M4 73

X EEWeight: 145¢g % EEWeight: 148¢g

27
18

©
©0,°% 0
60906
l 620

|




SRy EBER Pneumatic Extension Module

AT
ZE
me
g4
g
HLEs AR FEMER
Robot side module Gripper side module ,%5
s
HS(PN) 7.Y01053 S(PN) 7.Y01054 Zﬁg
sl =l Sl QCAM-10M5R sl ={Vele Ll QCAM-10M5G =
E ° o ) )
@
° = I I\\ © = RO
\2x@4% 9 (<) "
50:0.02 ¥ 2
® s °° o 50:0.02 \%o ©© o s
93.70 Pl ® N R @ R g
("« 93.70 ) @@ ~ Q
) @ i
m)
Rd°@°°°©o (] o 1% e° © ° g° o [
™0 N 7 O
mroooo@o\ ° 8:‘2‘00005\ ©, ég
25.40 @ gﬁz
4x0 420 Noxus 420 10 xM5 2540 e
rES s 5
X EEWeight: 263.9¢g X EEWeight: 267.9¢
5>
whz
s
Jle
'S
i " =2
HLEE AMAELR FEMER =
Robot side module Gripper side module {¢§
RE(PN) 7.Y01055 £2E5(PN) 7.Y01056 3
att={0Ve ] QCAM-14M5R sl ={lele Sl QCAM-14M5G
° ° o o ° ® i
-] [ Q € a
0 6\\ 0° ° (X ® #g
m) = <
50:0.02 \&M& 00 50:0.02 \M @© o
B oo | %] s ® g e E 3
120 & o e 120 - @ - =
() ©) 2
() (€] = =
N O 0 50 0 O 50 O - J oo 000 00 ) ’
g | o o@ o o o© o oo & @ © © ()
0\ Qe o o o o o o o)
) ) o o\ o
4x 2t<4A20 o \14 xM5 25.40 dx ;'20 ® 14x M5 | 25.40
X EEWeight: 207. 4¢g ¥ EEEWeight: 210. 3¢



MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

RFZFERRHER Round Manual Quick Changer

QC-R90K

QC-G90

° Y F LREOATS TEi%

° BFERTESH.

% T ES M SIEEIAEIR.
® 4, 8,101 2 S ahik .,

® WS WM FMFEEM) £FFRE.

® Easy replacement of the EOAT on the robot.

e Suitable also with vacuum ports.

e Avoids mistakes in pneumatic and electrical connections.

e 4,8,10 or 12pneumatic connections.

e The two parts (robot side and gripper side) are supplied
separately.

MR

Medium

ESEE

Pressure range
BESEE
Temperature range

AU Y PRI AR R
Robot side quick changer

PR F N RIEERERER
Robot side quick changer weight

BB MR EREEHRELR
Gripper side quick changer

B BRI REEIREIRE R
Gripper side quick changer weight

EHAIN
F

gl
Mt

EFeiHER

Mb

k=1
Recomended payload

=)

Colour

LR fERTA

Installation and use example

QC-R50K

103 g

QC-G50

659

150N

20Nm

10Nm

5kg

HiFE

Brass

% Lock
Max 2Nm

FRUE

B e Al

Example of Install with lock

freaod
Safety locking

Two times locking r'.

EZRERES
Filtered compressed air
5~6 bar
5~60°C
QC-R90K QC-R150K QC-R160K QC-R200K
318¢g 1159 ¢ 12009 26409
QC-G90 QC-G150 QC-G160 QC-G200
2279 837g 900 g 1890 g
400N 1000N 1000N 2000N
100Nm 250Nm 250Nm 600NmM
60Nm 150Nm 150Nm 300Nm
15kg 35kg 35kg 75kg
HiEE £E HiEE E&E
Brass Black Brass Black

B Lock
Max 2Nm {—\




RFZFERNRE Round Manual Quick Changer

ﬁﬂﬁ:/Accessories

BSEIEA Y Electrical connection module

«D-SUB O $Hi%3E28 |/0 R FE IS IR, * /0 quick change by D-SUB 9 pins connector.

« FER 9 3 FFIR 14  The two parts are supplied separately:
QCSM-9R2 M M= S 1R QCSM-9R2 robot side signal module.
QCSM-9G2 5 EfMi{z SR QCSM-9G2 gripper side signal module.
R9-1000 45E&REEIEL R9-1000 45 degree metal female fitting
G9-1000 45EEREAIEk G9-1000 45 degree metal male fitting

REHIRE

Safety locking(Standard)
HURF S SRR 7.Y00922
Robot side signal module QCSM-M9K
7.Y00862

QCSM-9R2

AL
Connector-Female
1.Y06423

R9-1000

ZEPEAHFTX (%) Connector-Male

Output Switch(Option) 1.Y06424 ..
G9-1000 ] N .
BEMESHER
Gripper side signal module
7.Y00863

o

QCSM-9G2

1§%ﬁﬁﬁ7ﬁglsmgal Wire Cross-sectional Sketch Map

24V

} g .
BERIPE

Insulation Protective Layer D-M9B
prde STl Eat S

Output Switch

Fig=

Shielding Layer

B3y | FhE

99qnL SNS - 31404d

S o

3|NPOA SIUdIS

S SR

J9bueyd oD

il

a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wnNndep

~
F=

syusuodwo?) A10ss8d0y




RFZFERRHER Round Manual Quick Changer

it
)
=
o QC-50 s #/Parameter
g4
s BE Model QC50
o
& Medium BEEREAES
E/EE Pressure range 5~6 bar
nﬁg BETEE Temperature range 5~60°C
Iﬁ § FLA S M A9 R IR 3% R AR R Robot side quick changer QC-R50K
Ha
& M EM R RRILHEIEIREE Robotside quick changer weight 103 g
A BBV IR R L AR IR Gripper side quick changer QC-G50
SAEMPRERIEIRIEIRES Gripper side quick changer weight 659
'H&'(E) E=ga)) Vertical Pulling Force F 150N
]
g Jirzsibic Rotating Torque Mt 20Nm
g ENiRiE Reversal Torque Mb 10Nm
BNt Recomended payload 5kg
;.55 BE Precision +0.05
|\
%& 8 g Colour TiReE
&
R~Ti5BA/Dimension description
52
iz
BIO
535
Jle
% = 12.63
s 63,

® 50 | AP - 23

3xM5
pe—y
3x® 8.20

i HHm
3|NPOIA WNNdeA
D
()

’o/@
U
%

]
\J
< o
N 3%
E [ ° \ ﬁ(é \
g -’ 8 N~ Pa Y Va g
= o} o S
- ¢ { y ‘
B &
%3 ’ N = 1 o \2x¢ 3H8T6
2 240 | 2x® 3HET6 ;
Sy x 15 4XM3T8
3 e ~—
3 4/ ) - 40+0. 02
3 LA QCSM-MIK ‘
Z |
' 10.50 o
AR BT R GERD 18
27 (AE)
__Assembleing 27
AL 35 0 B 1R 53R 4 e 4 1R ca= (N 8.Y00402
Robot side quick changer 2SS (Model)| Ioles:3:10]¢




RFZFERRHER Round Manual Quick Changer

. 5
S s =
. . %Zf% : 5 3 40 +0.02 < ~®
D ¢ S & me
e =2
S S : / (0] © N g
o
e © (I :
o I Lot
h ir\% ™
E @ D | SN S ” Hw
\é) ©) I T \emsvs ) 0] mag
070 ! =5 - B
® e .
. " s | 3 &
4 34.6 &
27 (A&
Assembleing 27
S BB PR B S R ZETEIM 5.v00055 Be
Gripperside quick changer =2 (Model) QC-G50 5
&
EIRFER /Module Type -
F=RE FEREMR 5 e}z; oSic éé’
Product Product name 1/0 connection type Working Current Wire-Male gﬁ <
g2
iﬂﬁf‘wfﬁ*ﬁ% QCSM-9R1 7.Y00823 9§+D-SUB MAX 3A R9-1000
(1.Y06423)
>
#z
AY == Eﬂﬁ-c
JERIESER | Qesm-961 7.Y00824 9%tD-SUB MAX 3A G9-1000 Ik
(1.Y06424)
*R9-1000, G9-10004ER , TERELLK ALK
*R9-1000, G9-10000ption,The wire's length is 1 meters
BS
283
. - fz
RIBIEIZEIRInterface  (BETEM%E) (Kit With Screws Option) 2
it EREIEERSMAESIT a0 B8SIP-50BT £57.Y00650-T ®
P~ —
VO R
S
@ —— 6 7.50 -g
o= — o
H—\Q g £

R85 (PN) 7.Y00650
#IS(Model) SIP-50B
QC-G... QC-G50
EE(T) 4mm

12 £7 1% B 14 Accessorier selection
BR%%(Screws) PTC-M5L12*4
Xﬂﬁ$ﬁ(5ing|e hole shim) PTS-M5*4
TEUMREHT-Nuts) PTN-M5*4
BEEWeight) 90g




RFZFERRHER Round Manual Quick Changer

QC-90 = o8/ Parameter

B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

S
3|npo 51Ua1S

J9bueyd }oINd

il
a|npo\ diig

SHimE

JaddiN 11y

RS
3|NPOIN wnndep

sjuauodw o) A10ssa20Y

R~Ti5BA/Dimension description

11.85
o
0, 1
55 'il 3ls
] 1
B (e
-1 i
NZ2* @ £ ' o
___s 53 i d
(VG © | %
R s HEEp L
_,’ /A‘w ?o IQ
@\, Q S
@ LI
Q) BLPH T (R ) 9 | B
Output Switch (Option; | g
ZRYIFEQCSM-MIK S |
Safety locking standard Bl —
18.60 8-G1/8 #5000 2
: 8-G1/8Inlet port 47.50 B
\ ; 4A£133.60 53.6 =
Assembleing 33.60! f{l
‘ ©|, 16, 4-M375
PN o d
B Ule o @ 01|
LA T 1 B 1R 2R 3% HR AR 1R ES(PN) 8.Y00359
Robot side quick changer =TV QC-R90K

s Model Qc90
R Medium ERRESEES
[EH3EE Pressure range 5~6 bar
RETE Temperature range 5~60°C
LA 3 ) B 1R 3R 5% R AR R Robot side quick changer QC-R90K
PR FEM B R % &R E 2 Robotside quick changer weight 318¢g

JA B MY R IR AR IR Gripper side quick changer QC-G90
AEMBPURFRIEIREE  Gripperside quick changer weight 2279
EHAS Vertical Pulling Force F 400N
TeH 5B Rotating Torque Mt 100Nm
Ekagaibi) Reversal Torque Mb 60Nm
B Recomended payload 15kg

BE Precision +0.05

Bt Colour TR




RfFZFERNRER Round Manual Quick Changer

o
550, | b 2
———12 ZE
gl @ N - ®
N 13 S me
0 : 5
< o
o
\d—) o
S ol
& 25
$° 0 o
g 2
=l
e 8-G1/8 #50 2 |3
8-G1/8Inlet port 35 2 5
33.60( A& 50 =
6 16 4-M3V5 Assembleing 33.60 0
=N o
HICiEHDIN
O O O e
23
o
s N S (PN 8.Y00033 5
B BMAYBE T SR — e g
Gripperside quick changer Y
sec
*ﬁﬂ&%ﬂ/Module Type Za;
Hs
Q.
P RE P REHR % 1/OstEREA TIEeiR R e
Product Product name 1/0 connection type Working Current Wire-Male
i&ﬁi@fﬁ%ﬁi QCSM-9R2 7.Y00862 9%+D-SUB MAX 3A R9-1000 52
(1.Y06423) Mz
L
J]2
JRAEMESER | ocsm-962 7.Y00863 9%D-SUB MAX 3A 69-1000
et (1.Y06424)
<
*R9-1000, G9-1000%AR , EERELLK ALK %5
*R9-1000, G9-10000ption,The wire’s length is 1 meters 7 5
frz
A Q.
T*?ﬁﬁ?%*ﬁ/lnterface (1BETEMI%ED) (Kit With Screws Option) =
TR EMRSMMESIT a0 B8SIP-50BT £57.Y00650-T
g
=~ T B %
= G
- - 3 - §
| &
’ 3
- -~ °
S
A S b 2
&/ - L . a
= 3
RS(PN) 7.Y00634
S (Model) SIP-90B -
QC-G... QC-G90 ‘4
EE(T) 3mm
12 £T 1% BE 14 Accessorier selection .
ﬂ;ﬁ(Screws) PTC-M5L12*4 4
mﬁ:‘zﬁ(smgle hole shim) PTS-M5*4
TEUMREF(T-Nuts) PTN-M5*4
B EWeight) 190g




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

SHimE

JaddiN 11y

RS
3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

RFZFERRHER Round Manual Quick Changer

QC-150

R~Ti%BB/Dimension description

ﬁgﬂﬁEBQCSM—MQK

Safety locking standard

717
116

8-M335 116, _ o0

O] [N He:fo]

LR T U B 1R 2R 5% R AR IR

Robot side quick changer

s #/Parameter

s Model QC150
e Medium B REAES
EHER Pressurerange 5~6 bar
BESEE Temperature range 5~60°C
AU S M A BRI B 4R A IR Robot side quick changer QC-R150K
M F MBI IRIRFLIRIEIRE S Robotside quick changer weight 1159 g
78 BIAY R R A R AR IR Gripper side quick changer QC-G150
AEMMHORZIRIEIRESE  Gripperside quick changer weight 8379
E=g)) Vertical Pulling Force F 1000N
it igaikial Rotating Torque Mt 250Nm
B HE Reversal Torque Mb 150Nm
BiNE Recomended payload 35kg
HE Precision +0.05
et Colour -

@5H8

5-¢15

10-G1/43#50

10-G1/4Inlet port

Assembleing 47

N
=
o
+
o
~

£5(PN)
#E(Model)

8.Y00376
QC-R150K




B2 FERNRER Round Manual Quick Changer

21.30

& il
’= S/ = ? §~
114 f‘é s/ | S 2 é 2 & *Zf%'
T 1 e
T o g9
HULH = 5
= \ | e o
ol © 4 \ | o \
L02R0 — s :
' d
1 O O ‘ 2 : ?Zoj 1 | & } Il Eb e
< \ b
g \& O / s g \ N\ 7 X 22
\ ’ | 3 o NS o - zﬁ z
NG :I:D]Ws 10-G1/430 S - He
N r— 10-G1/4Inlet port © >
705 ERE4T | =
© 16 8-M3V 5 Assembleing 47 e}
2l 1 Tl O
[TOrR 3¢ ,@| I'OH Eg.
O 8 gg >
. . N = =
58 B BB B R ABIR LR 8.Y00377 ;
Gripper side quick changer el QC-G150
*xQ
1EIRZEB /Module Type B
ZHo
He
~mE FERER £ I/OERE2ERY i R ®
Product Product name 1/0 connection type Working Current Wire-Male
I WESER | Qesm-9R3 7.Y00819 9%+D-SUB MAX 3A R9-1000 s2
(1.Y06423) g z
e
BEMESERR QCSM-9G3 7.Y00820 9§+D-SUB MAX 3A G9-1000
Gripper side signal module (1Y06424)
BS
*R9-1000, G9-1000%E , ERELLR ALK =2
*R9-1000, G9-10000ption, The wire's length is 1 meters | 5
H=
2
T*?ﬁﬁ}%*&/lnterface (RETEHi%ED) (Kit With Screws Option) &
BRI EM RSB SHIT a0 82SSIP-50BT £557.Y00650-T
S
8 = - #%
\ \(<_;
- ¥ e o
“ - E
S
w A ¥ ’
= 4

5S(PN) VATIES

#E(Model) SIP-160B
QC-G... QC-G150/QC-G160
[EE(T) 4mm

2 £7 3% B 14 Accessorier selection
ﬂgﬁ(Screws) PTC-M5L12*4
mﬁqzﬁ(smgle hole shim) PTS-M5*4
TEUEEH(T-Nuts) PTN-M5*4
REEWeight) 5409




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

SHimE

JaddiN 11y

RS
3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

RFZFERRHER Round Manual Quick Changer

QC-160

REPMHEIFR (L)

Output Switch (Option)

R 2 HiREE QCSM-MIK
Safety locking standard

49.4

10.10

WU T B 1R IR 5 R AR IR

Robot side quick changer

= amE#/Parameter
Bs Model QC160
R Medium B EEREES
EHER Pressure range 56 bar
RESEE Temperature range 5~60°C
MU T Y IR R A R Robotside quick changer QC-R160K
M FEM A RIEFEHIEIREE Robotside quick changer weight 1200g
A B MIB HORFEIRIE IR Gripperside quick changer QC-G160
SAEMMPIRIZIRIZIRES  Gripperside quick changer weight 900 g

N\ EEHHS Vertical Pulling Force F 1000N

| e Rotating Torque Mt P
R Reversal Torque Mb 150Nm
BiNfE Recomended payload 35kg
BE Precision +0.05
ge Colour HRE

@G5H8|_.
o *
lw
N

M10

5-915

I
| 5

12-G1/8#5 0

. N

12-G1/8Inlet port i =

l S

8 I B

o

g E
9 |

3 | o

0

o

N~

5.7Q
HERT49
- Asse?bleing 79

~

£S(PN)
A5 (Model)

8.Y00360
QC-R160K




RFZFERNRER Round Manual Quick Changer

v Y 22 5 A
114 \% Y -] 2 M%
- © o, 1
& _—O-- e
90 // e \\\ %‘:
/ - &
% \\ \ o
g P o @
3 = T L] gl
$l \ 8 -
o \\ \ / ﬁ §
' 0 NN | ;J'g S
I P I N R 2
| THO e o. .o Az
0 c
= n B >
AART 49| 3
“2\ § 16 AM3T5 Assembleing 49
21

0@ {0, 04| o
00 O 8o 2
2
BN BET RIS 5 TGO 8.v00053 E

Gripperside quick changer EUE=I(VISISN QC-G160
*Q
RSB /Module Type AL
frg
FRE FEmRBTR &= I/OfEREEE in U254 3

Product Product name 1/0 connection type Working Current Wire-Male
NS WESER | Qcsm-9R2 7.Y00862 9%tD-SUB MAX 3A R9-1000 5z
(1.YO6423) ng z
E
G’ff‘md'ﬁ%ffﬁ QCSM-9G2 7.Y00863 9%tD-SUB MAX 3A G9-1000
(1.Y06424)

BS
*R9-1000, GO-1000%ER , EERELK 1K Z=2
*R9-1000, G9-10000ption,The wire’s length is 1 meters gﬁg
(RS
Q.
RIEIZEIZEIR/Interface (BSTEM%E) (Kit With Screws Option) <

E MFRETEMSESHESIT a0 BSSIP-50BT £857.Y00650-T

A
(S
o
N
—_
=

.
-
(]
\o®
&
\ov
O
ﬁl
20
52
110
syusuodwo?) A10ss8d0y

55(PN) 7.Y00635

IS (Model) SIP-160B
QC-G... QC-G150/QC-G160
[EE(T) 4mm

B2 &7 1% BC {4 Accessorier selection
BB4% (screws) PTC-M5L12*4
mﬁqzﬂ(ﬁngle hole shim) PTS-M5*%4
TEUREF(T-Nuts) PTN-M5*4
LB B (Weight) 5409




RFZFERRHER Round Manual Quick Changer

it
ZE
e QC-200 @B/ Parameter
=5
g s Model QC200
o
R Medium BEEEEEES
E/EE Pressure range 5~6 bar
F 2
77:"'%% BEELEE Temperature range 5~60°C
Iﬁ § FLA S M A9 R IR 4% R AR R Robotside quick changer QC-R200K
“—a
% M FM Y RIEEE HRIEIRE E Robotside quick changer weight 26409
sa B MIpY RE L A 1R Gripperside quick changer QC-G200
SEEMBYRIERIEHIEERES  Gripperside quick changer weight 1890 g
'l%g : FEHHAH Vertical Pulling Force F 2000N
s b
S 2l Rotating Torque Mt 600Nm
=]
g Esikazaibial Reversal Torque Mb 300Nm
BNt Recomended payload 75kg
é_g BE Precision +0.05
|\
%g 8 g Colour 2@
5
hd - - - -
Rﬂ'lﬂﬂﬂ/Dlmensmn description
52
Nz
BIO
e
ik »
REPRHTFR (LR )
Output Switch (Option) S
?'o
«©
T ©|
[T
%;‘ L2 HYHRE QCSM-MIK : H
T c Safety locking standard \ I
= LN A— <
g 21 g3 2l @
© ?; | +é E
i) - || S
|
|
bt = |
L 6-MBIIkEEL |__d B,
o o 6-M8 countersunk fixing hole Nl Al
2 = 30.70
A =
g HAR55.7
= Assembleing 55.7 | 175
o g M=
e ;—m
] [ 7 |o 3 -
| 10
€ 1 S
HUH T B9 IR R AL AR IR CA= (VAN 8.Y00209
Robotside quick changer L=V ED QC-R200K




RfZFERNRER Round Manual Quick Changer

R 6-M10EIE 7, Fi
o =
o 6-M10 fixing hole Qh
i
© g
K 3 R me
- %V | #é‘—: %)
% =
o
(I ’
AT AN
ol oo oo o

© FF L 2 L
5 2 g ¢ 7
- s 8 - b2 >
0 't
@ ] =z
M10 I e
| M10 @;;é 6-MBEEA, s
6-M8 fixing hol )

% 1Xing hole
6-METLEEL
! . ! 6-M8 fixing hole 25
175 HANS55.7 120
Assembleing 55.7!
12-G1/43 =0 ®
12-G1/4 Inlet port }ﬁ

J9bueyd oD

ol Tol iol ol |

< 16 8-M3X6 S
& B B9 R R B AR IR S(PN) 8.Y00208 o
Gripper side quick changer =NV  QC-G200 %1‘;
fHo
- He
IR ISR [Module Type 2
= EmE FERETR £ I/OikiRR T{EEBTR U357
Product Product name I/0 connection type Working Current Wire-Male
52>
#z
ﬂ:ﬁfﬂfjjﬁi QCSM-9R4 7.Y00821 9%tD-SUB MAX 3A R9-1000 %é
(1.Y06423)
JARMESER | Qcsm-oc4 7.Y00822 9%tD-SUB MAX 3A G9-1000 Hs
¢ (1.Y06424) =e
TE
“H3
*R9-1000. GO-1000%M , ERELEK ALK trg
*R9-1000, G9-10000ption,The wire’s length is 1 meters c
> 220
ﬂ?ﬁﬁ%*ﬁ/lnterface | s
B &
ss o s %% &°L i
s s & =
=Y, e ) 2 <
8¢ Y J‘“\‘ 5
' g | 1© )] 2
& @ & e “ s
] ® ] ° o g
] 2 — a o ”
- e ! e <
h[cmg ? al”
6xP 1S RS
HE(PN) 7.Y00865 oz
BZ(Model) SIP-200B
QC-G... QC-G200
EE(T) 8mm
B E(Weight) 5789
12 £T 356 B {4 Accessorier selection
m?ﬁ(Screws) PTC-M5L16*16
mﬁqzﬂ(single hole shim) PTS-M5*16
TEURB(T-Nuts) PTN-M5*16




MRS |, X

aqnL SNS - 3|4o.d

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

FFERRER Square Manual Quick Changer

72

@ O
@

60

_~ - ®

&

BURIRL
Lock screw

QCS-G60
SEERAE)
Threaded Hose Module(Option)
55 (PN) 8.Y00081 8.Y00082 1.Y03525 1.Y03524
FIE(Model) QCS-R60 QCS-G60 KCHO04-M5 KCHO06-M5
a#(Load) 70N - - QCS-R60
E2/Weight 148¢g 799 79 99
147
QCS-G100— =<t g sl
= q ¢ |l 1
SR T =~ <
Unidirectional joint(5 Pieces)
KCHO06-M5*5
KCH04-M5*5 116
o8
< ] ) ]
QCS-R100 4\7
&, T y -
TR, ]
& MS-10PF % a =1
N [/
55 (PN) 7.Y00332 7.Y00175 7.Y00860 7.Y00861 YA LVERY 1.Y04667
#E(Model) QCS-R100 QCS-G100 KCHO04-M5*5 KCHO06-M5*5 MS-10SF*5 MS-10PF
fa#(Load) 300N - - - _
EE/Weight 4639 2409 869 969 1969 11g
QCS-G160— = 3 = =il E 53] N
EBEESL(ST) 5 =
Eg:;’]oirsej;i:.nsal joint(5 Pieces) g
KCHO04-M5*5 . 180 o
1]5280 100 130
% QCS-R160 L!) §
e ’% o S
: ] kS
7w g | e . 2 g |I :
. 4 o 8 < o 2
i - @ BREEEL(5) 9\5‘_909,6 © N \I(?
‘)’ﬁi”"’? ,‘QAulckct;\ipllng(SPle(es) @ ILi
J§ . :)l ’: S-10SF*5 ._
m‘;&" MS-10PF ol 8| § I
1 v ).-.uf. =
Threaden Hom Module(Option) QEs-G160 QEsRIE0
£8S(PN) 7.Y00160 7.Y00161 7.Y00860 7.Y00861 7.Y00334 1.Y04667
IS (Model) QCS-R160 QCS-G160 KCHO04-M5*5 KCHO06-M5*5 MS-10SF*5 MS-10PF
fazk(Load) 800N - - - -
E&2/Weight 1198¢g 6349 869 969 1969 11g



LF.FEoNR#% L-Type Manual Quick Changer

Tk
80 e
= 15 50 15 4-058 @
2.80_1{,_ 21.20 S
- 4 : B
13.85 0} G/ B
o
— o o
: $9 OO O C5*
O c )
o)
= [ %z
53
[T L] i o
PV, N 15 z
=N 1.Y01275 Sz Hg
— c
EE=(0Ve ) QCL15R-Y >
25
BRI
MER: 1859
HREME: NWFN
HAMER: ~15kg
¥Superhard aluminum
%Weight: 1859 RO
*¥Installation location: Robot side }ﬁ a
¥Load weight: to 15kg :
>
Y
Q
]
28
4-M5 17 1
o
] ¥ Fo
I::I E Ej “ HT
c/ R g
. o g
< . ~ o
= SEE 3
-
’ 0] © T~
S
15 50 15 J__I_ ®10.50
80 511 o6 ﬁ z
&z
BUT
-]
712
CEEA  1.Y01276
ale =0V E QCL15G-Y
EEE)
MER: 294g
MREME: RAM
HAMEE: ~15kg BHS
¥Steel g"g 2
¥Weight: 2949 7 c
#Installation location: Grip side 2H3
#Load weight: to 15kg 15 §
a
c
o
A= e . .
izFAsLf5 / Application example
B 2
e
3
<
I
ERIESPSES B e}
RiEARE Robot arm .g
Quick changer o
_____ 3
>

B -
Center of gravity L—J}---..-2 - mELHIEE
Distance to the
center of gravit

Grip



5 A i

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

SHimE

JaddiN 11y

RS
3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

LFZFEBNRIE L-Type Manual Quick Changer

(4

55(PN) 8.Y00236
U=V QCL15R-S

BB R H

ME®E: 1909

MREME: NMAFM

WA ER: ~15kg

¥Superhard aluminum

¥Weight: 190g

*Installation location: Robot side
%Load weight: to 15kg

55(PN) 8.Y00235
SV QCL15G-S

MABREH

MER: 1979

MREME: AN

AT ER: ~15kg
¥Superhard aluminum
¥Weight: 1979

¥Installation location: Grip side
¥Load weight: to 15kg

i=zFAsLf5 / Application example

4

| |

P o~
— ' ' ~
o ' '
I3
. - 6.50
B D L @____L
50
80
100
50
~ ol
@ ©

<

13

R o -©

©
=
) ©
FahBbiE BB
RIEAXE Robot arm
Quick changer
Center of gravity L J------.N\:-" ""'EUEIDE"Jﬂﬁﬁ

Grip

Distance to the
center of gravit




LF.FE N L-Type Manual Quick Changer

150 AU g
130 =
90 ; 7
Y L
g 25
835_1 | 3 z
© &
< &
) ] »
@ & ] / g
® /o &) : 1| 1@, o
@© I ! - -3 5
P2l
3 ® @ A £z
ﬁ} i <
EES(PN) 8.Y00101 Hg
=TV QCL35R-S o 70 - 5
©
HABHIEH) 9
MER: 5059 <
MREME: HHFN 40
HAMER: ~35kg
¥Superhard aluminum —
3Weight: 5059 ’9&?
*¥Installation location: Robot side }ﬁ a
%Load weight: to 35kg g @ ~ :
3} >
+r— — o
I 1 [ | a
]
e
%9
B
) s
o
— 3
) O O
o G
HE ]
o/ a—H
0 Q\ I
J | 8 55
- St ©20 = = _Eﬁg
< i
50 N 5%
130

5S(PN) 8.Y00102
SE=TVIeEE)] QCL35G-S

B REA S
MER: 5659 &
MBREME: AR [<e]
HAMEE: ~35kg g =
¥Superhard aluminum f'_E 2
¥Weight: 5659 QH c
Installation location: Grip side ZH 3
#Load weight: to 35kg 15 §
o
75 75 =
©
150
N— = . .
i=FAsLf5 / Application example
B 2
L
FanRriE BB o
THRFAXE Robot arm :
o
""""" 3
°
o
=
®
=]
a

F)

Center of gravity L—---.._2 - EEORES
Distance to the
center of gravit
Grip




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

Frm

a|npo\ diig

SHimE

JaddiN 11y

FHEHbm

3|NPOIN wnndep

==

sjuauodw o) A10ssa20Y

FaIRIEEHRIER Manual Quick Changer Module

78
14

4-M5

$90
78
14

On0

AT A

4-95.50

5S(PN) 4.Y00480
FE(Model) BP90

¥kl &

% B 2349

M REME: kAN

3% Iron products

3% Weight: 234g

3% Installation location: Grip side

121
115

25 40
14
N.|.d

Q0OG \\

/ \

me [©
] G

@135

1) Oy D¢
..
QOO

14

40
T

115

121

FanY

5S(PN) 4.Y00497
FIE(Model) BP135

¥ &

¥ ®Eiit: 6609

M REME: XAM

3% Iron products

¥ Weight: 660g

3% Installation location: Grip side



FHEEmRE Square Automatic Quick Changer

WIF O4 BHEO4 23
Loosen m M%
10 o
~ eég
o &
LO_ o
I
4-06.6011 NFLIR8. 5 WIHF REEFL)
4-96.69 11 Counterbore depth 8.5(Hole for robot mounting) % §
92 23
<
21 0 21 APB-M5-06 a3
o
3 5
Tp) N 42
0 (32] o0 .r;&(:_)
2 S :
HE(PN) 8.Y00037 o 3 B
SRR QCA-S10R N 2 E
KR IVAEN APB-M5-94| 8.50 75 8.50 [APB-M5-®4
XE & 4669 Fo
XAJRESR: ~ 10k =
¥Installation Iocatgion: Robot side 2_M4 %;
¥Weight: 466 B
>Z<Loa3wteight?to 10kg @ 5 O a @ {L-F é
of o/ _
34 24 34
5z
#z
1S
72
8 L fEe
1|0 vooo0) @ 15 (ceees
s|® o=@ 0 ) Oy ss
H3
4-M6( REZRAIBLA ) (RS
4-M6(Thread hole for gripper mounting) e
92 g
21 50 21 APB-M5-06
[=) a
3 o :
0 <
o Ll @
£55(PN) 8.Y00038 © C; Bm.__—g §
rxi=) . Ye) — ¢‘3|>
TSN QCA-S10G S | #
KLEEE: AN =
XE B 230
HATRER: ~lgkg APB-M5-®4 | 8.50 75 8.50 [APB-M5-4
*Installation location: Grip side o
¥Weight: 230g e}
#Load weight: to 10kg 34 | 24 | 34 <
| |
M

2-M4



473z Parallel Gripper

%‘% 3 £E(PN) N
.
l;, S GMHZ2-10S GMHZ2-16S GMHZ2-20S GMHZ2-25S GMHZ2-32S GMHZ2-40S
M BE(Model)
s®sn
B D GMHZ2-10D GMHZ2-16D GMHZ2-20D GMHZ2-25D GMHZ2-32D GMHZ2-40D
c
o
@ fIf2 Bore 10 16 20 25 32 40
SEFARA Fluid 5 Air
BIER
{FEES SEE(MPa)  Singleaction 0.35~0.7 0.25~0.7
xg Operati
perating pressure range  suem N N
g‘é % Doubleaction 0.2=0.7 1=
A N
z% z TR FRE N
Hg Environment and fluid temperature 0
c
o EEHEEmMm)
Repeatability accuracy =l =02
REEMME(C.p.m) 180 60
Maximum frequency of use
o #EA Action mode BA{EFS-T/ERS Single action - Double action
c
o | 1 . .
% ~ MEF*.(EI&.IE) . Tof s FF % Contactless magnetic switch
a) Magnetic switch (optional)
o P .
a EE0O4R Pipe Size M3x0.5 M5x0.8
©
B 53g 123g 2279 3099 4159 5439
E&(Weight)
D 52.5g 1209 225¢g 3149 4109 537g
3z O M —,
e [RBE] GMHZ2—
éﬁ =z Standard type
e & EFFH?I‘?ﬂi"-—‘,A :
ﬁ: c S o Parallel opening and closing type
® B E 10mm Elo%e -
16{16mm :{Jﬂ?ﬁﬂ: d
2- KIZSUR K1 — ction mode
2.Kth 20/20mm JE—
- read depth K1 = D|SwfEm=t
(ﬁiﬁ?ﬂiﬁ> q) _25]25mm Double action
ounting threa —t
32j32mm S [EfemsteE)
% > 4- KIROUR K2 (Z2FIR3L)D v _40[40mm __[Singleaction(Open)
_Vv= 4-K thread depth K2 ( ing thread) L.
ﬂ z ?’EE'”L’}?,?H(%%%?{E) 7})h Y1 R3F 77 / Gripping forc;ﬁh : :
BU O - repared hole dia.gL throug N/ Gripping force N FRTi2
23 (Mounting hole) ot . B4 PRI AT 1
= ] @_ ):) _h:ﬁ e Gripping force perfinger Effective value mm
H Model IXEN(D EEN(S) | OpeninglClos
U QI DK\C Double ac)tion Singlea(ctzon sug::‘('l‘a%h(;isr;g)
v - \,Q :(: L 9hMZE/External| #Z/Internal |9MZ/External (om)
4}: _3} Cl GMHZ2-100 11 17 7.1 4
=
Q el GMHZ2-160 34 45 27 6
GMHZ2-200 42 66 33 10
NN
BS oz l.c_.] B BB | |, GMHZ2-250 65 104 45 14
zs2 gﬁ A D . GMHZ2-320 158 193 131 22
< ) 2- K IRS% K3 _
EE] |= E 2K thread depth K3 GMHZ2-400 254 318 217 30
= Rl GMHZ2-100HIRHFFEREBR T GMHZ2- oD Myt FF X AR ¥
o (Mountin th‘read) GMHZ2-100Magnetic Switch Mounting GMHZ2- 00 Magnetic Switch Mounting
g- #HEOSEH)* 9 Groove Dimensions Groove Dimensions
= Inlet Port S (Close) #HSOSE *
® 4-P §®B3|,4-P through Inlet Port S (Open) 4 82 A 4 6.2 e A
3 BT RN
(ZEIPERIRSL) 5 | o BMFFR LIRS
(Thread for mounting ) f«—i| / Magnetic switch — Magnetic switch
} mounting groove mounting groove
NP 5| /
By & 2 T e T [o. &)
%3 R p 8
n 6
<
0 v oD _|
g o J - J
° * BERNGE, —MBEOEAMFRTL. F) FEREMA R, STARA LB &% ) FEMBEMEFF X D-Y59 . D-Y69 K D-Y7
g * For single action, the port on one side is a breathing hole. Note) When using Magnetic switches, B, SMA A LUBFLRE
o . . throughhole mounting is not possible. Note) When using Magnetic switchesD-Y59, D-Y69.
3 RTJ;E(mm) Dimensions table D-Y7, throughhole mounting is not possible.
a
tI#Z(Bore) A B C D E F G H | J K K1 K2 K3 oL M N
10 6 23 12 37.8 57 29 16.2%  11.25; 43, 16 M3x0.5 6 5.5 6 2.6 27 211H9T 2
16 7.5 24.5 15 42.5 67.3 38 20.9% 14.93% 58 24 M4x0.7 4.5 8 8 3.4 30 @17HIT 2
20 9.5 29 20 52.8 84.8 50 26.3% 16.33% 884 30 M5x0.8 8 10 10 4.3 35 @21H9T 3
25 11 30 25 63.6 102.7 63 33.33 19.3% 1035, 36 M6x1 10 12 12 5.1 36.5 @26H9T73.5
32 12 40(49) 29 67(76) 113(122) 97 487%° 26 35 125, 46 M6x1 10 13 13 5.1 48(57) @34H9T 4
40 15 49(62) 36 83(96) 139(152) 119 60 %" 30 385 145, 56 M8x1.25 13 16 17 6.6 58(71) @42H9T 4
fI#Z(Bore) O P Q R S T u \Y w X Y z Y1 Y2 AA BB CC DD EE
10 11.4 M2.5x0.45 3 5.7 M3x0.5 23 9 19 5 5 11 @2H9T 3 16.4+005 522002 7.6+002 18 12 - - -
16 16 M3x0.5 4 7 M5x0.8 30.6 7.5 19 8 Jos 13 ?3H9T 3 23.6+005 6.52002 112002 22 15 1.6 21 5.8
20 18.6 M4x0.7 5 9 M5x0.8 42 10 23 10 8s 15 @4HIT 4 27.6+00s 7.52002 16.8%002 32 18 14 2.1 9
25 22 M5x0.8 6 12 M5x0.8 52 10.7 23.5 1235 20 @4H9T 4 33.6+00s 10 2002 21.8%002 40 22 19 3.5 1.5
32 26 M6x1 7 14 M5x0.8 60 1 31(37) 1585 24 @5H9T 5 4001 1220 23+0z 46 26 24 3.3 1.5
40 32 M8x1.25 9 17 M5x0.8 72 12 38(45) 18 80s 28 @5H9T 5 4801 14 *o 2Q0*o 56 32 29.4 3.7 13

. FXREFIBESEPITIR

) ) RBIRT ABEIRIRY



IEFEITE Lengthen Parallel Gripper

1.Y09405 1.Y08175 1.Y09882 1.Y09883 D
E={(\)) e
“ 1.Y07974 1.Y08146 1.Y07975 1.Y08802 B
S GMHZL2-10S GMHZL2-16S GMHZL2-20S GMHZL2-25S %m 2
B E(Model) =G
D GMHZL2-10D GMHZL2-16D GMHZL2-20D GMHZL2-25D =
o
£I42 Bore 10 16 20 25 ®
R Fluid =5 Air
e
{FEES SEE(MPa)  Singleaction 0.35~0.7 0.25~0.7 S‘Zm
’ EA
Operating pressure range . TUEF 0.2-0.7 e zg )
oubleaction *_H_ >
RERRHRE omenc i H
Environment and fluid temperature s
EERBE(Mm) ®
Repeatability accuracy =l
= ERME(c.p.m) 120
Maximum frequency of use
EFS = Action mode EA{ER-SUER Single action - Double action RO
: g
M&F*.(E‘rﬁ.ﬁ) . T B EFF % Contactless magnetic switch a
Magnetic switch (optional) z
S 4Z Pipe Size M3x0.5 M5x0.8 3
63g 1399 218 3029
EE(Weight)
D 59g 130g 211g 293g %o
— o
M (458 ] GMHZL2—[20] 52
N Standard type ng_
2 prilail <
- ° Long Stroke type
@ Bor
= ore ;ERR
Rt [ — Action mode
(Z2Y) v 10/10mm -
M ting thread I a—
(Mounting thread) 16/ 16mm D %I{FE?EQ ,
vi Sol20mm”~ | Double action s>
~ . N e S [BfER=(EF) )
LSRG EREL, 25[25mm __[sigeztoniOper e
LR (SR R3F 7 / Gripping force ﬁ'g
_ hs JE [ BT | o 2
1 = o @ % i B S0 TR AWERE ity
i 9[ _W\c$_ L= Gripping force per finger Effective value mm
f=- r INEH(D, (S Opening/Closi
- T N §§ / | g Model Double (ac)tion Sin%l?a(ct%on S\Vgsgl(?vm:i&dgg)
T ® o T Pt q §MZE/External | }1Z/Internal |hM&/External ()
"_ = GMHZL2-100 11 17 7.1 8
B | GMHZL2-160 34 45 27 12 BS
oz 5 GMHZL2-200 42 66 33 18 Z=2
2l 8 \\ BB GMHZL2-250 65 104 50 22 78 3
o| U C A
K| & z § § =
E 2 -KIZEER K GMHZL2-100R MR ZHEER T GMHZL2- 00 Bt ZssER < 9
2-K thread depth K: GMHZL2-100Magnetic Switch Mounting GMHZL2- OO Magnetic Switch Mounting c
w (i;%@i?) " Groove Dimensions Groove Dimensions )
ounting threa
#S0S() 4 62, N ~ ™
wp Inlet Port S (Close HEOSE) s -
=R Inlet Port S (Open) = - w
(Mounting thread) t@} «
1__ ] ° d § >
= = x & 9| ar ?E a
i < : o M 2
+ <
QR \_m == Q_ | o
of || " S
\4 w
5 3 DD 13 o
© ~ 6.2 ) S
. o 22 J S
* BERRNAE | — EEOZRRIFIRFL £
* For single action, the port on one side is a breathing hole. ) ERAMMFXE , SMATLUEFLRE 3E) ERABMFFX D-Y59 . D-Y69 K D-Y7 ©w
Note) When using Magnetic switches, E;fv}ﬁmZ:EfLﬁE?Lfﬁ hesDY50. D16
. . throughhole mounting is not possible. Note) When using Magnetic switchesD-Y59, D-Y69.
Rvﬁ( mm ) Dimensions table D-Y7, throughhole mounting is not possible.
EI{2(Bore) A B C D E F G H | J K K1 K2 K3 oL M N
10 6 25(35) 12  37.8(47.8)  57(67) 35 19.2% 1128 45 16 M3x0.5 6 5.5 6 2.6 29(39)  @11HIT 2
16 7.5  31(36) 15 452(50.2)  70(75) 47 26.9% 14.9% 58 24 M4x0.7 45 8 8 3.4 36(41)  @17HIT 2
20 9.5 36(42) 20 58(64) 90(96) 62 34.3%  16.33. B 30 M5x0.5 8 10 10 4.3 43(49) @21H9T 3
25 11 40(50) 25 66.9(76.9) 106(116) 75 41.3% 19.38. 1035, 36 M6x1 10 12 12 5.1 48(58) P26H973.5
fI{&(Bore) O [ Q R S T U \ W X Y z Y1 Y2 AA BB CcC DD EE
10 11.4 M2.5x0.45 3 5.7 M3x0.5 23 8 21(31) 5 8 11 B2H9T 3 16.4%00s 5. 2%0m 7 6o 18 12 - - -
16 16 M3x0.5 4 7 M5x0.8 30.6 8 25(30) 8 s 13 @2H9T 3 23.6%00s 6.5x002 1120 22 15 11.6 21 5.8
20 18.6 M4x0.7 5 9 M5x0.8 42 10 30(36) 10386 15 B4H9T 4 27.6%00s 7 5002 16.8%02 32 18 14 2.1 9
25 22 M5x0.8 6 12 M5x0.8 52 10 33(43) 1256 20 B4HIT 4 33.6%00s 10 x0:2 21.8=002 40 22 19 3.5 11.5
FXREFESEPLTOR A)( ) IR R SRR



Y B Y Type Gripper

B3y | A

1.Y02014 1.Y02730
55 (PN)

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

Frm

a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

2qnL SNS . 3|!40id

“ 1.Y05738 1.Y04328
s

#E(Model)

112 Bore
{ERAA Fluid

BIER
ﬁﬁan} :,‘EE](MPa) Single action

Operating pressurerange /e
Double action

RERRINEE
Environment and fluid temperature
BEEAMZEC.p.m)

Maximum frequency of use

ESEE(mm)
Repeatability accuracy
S
E&=(Weight)
D

GMHC2-16S GMHC2-20S
GMHC2-16D GMHC2-20D
16 20
=5 Air
0.1~0.6
0.25~0.6
-10~60°C
180c.p.m
+0.01
99¢g 1679
108g 1779

[t ] GMHC2—

Standard type
SRR

Bearing point opening and closing type

BSOS

#HSOTH),
Inlet Port T (Open)

E 4-KiBFLL

4-K Through hole for fastening L
. £ B
=

FAKES
Bore EHR
Action mode
D |XWERA=t
16/16mm Double action
S |BRIER(EF)
20(20mm Single action(Open)

= ¢ N
Of o P ——
a8 2 -— - o a —
__ g 9 >
- L= >,
= {) &
A B BB
c AA
D
2-N
IEX 0
< o
H
M

BEOR
P Pipe Size

Q

T

Uu v W X Z AA BB CC DD

16 39 162 446 625 226

20 45 217 552 787

FREFIBESEPITIR

28

16

7 24 M4X0.778 34

8 30 M5X0.8710 4.3

10.7 M4X0.778 16 M3X0.5 M5X0.8

157 M5X0.878 8.6 M4X0.7 M5X0.8

7 183

7.5 222

8

10

18 17 236 15 306 22

15 21 276 18 42 32



=JI\3Z Three Jaws Gripper

BS(PN) 1.Y04529 1.Y04764 1.Y05750

fir
5 (Model) GMHS3-16D GMHS3-20D GMHS3-25D M%
N
#1412 Bore 16 20 = o
{ERA Fluid =5 Air i
o
{55 FAEJ35B Bl Operating pressure range 0.2~0.6MPa o
BRI RRE o
Environment and fluid temperature -10~60%C
EEHE(mm) %g
Repeatability accuracy =AU %’EE
— - =
e - BREERME(C.p.m) 120c.p.m h
Maximum frequency of use c
o
ZERA action mode Y{EFA Double action
IMEFSF
;%)7_7;0}%73 N External di;meter clamping 14 25 42
£730.5MPa AERSRE
Note) gripping force N internal diameter clamping 16 28 47 'H&O
Pressure 0.5MPa mﬁ%ﬁ%ﬁ%ﬁﬁfm 9 21 36 I £
~
HR PR TR s 4 6 2
Standard finger stroke with hood 2
Q
KITEFIETIE 2
Long stroke finger stroke = 1y 12
#EEO4RRc Pipe Size M3x0.5 M5x0.8 £9
BAMEFF Magnetic switch WEHFRE Built in magnetic ring type Z%g
=& Weight 59¢ 96.79 138g ﬁ:g
o
) FIFIMRRI RIS |, ©16-025/93% i M IEEL =20mmATRIEUE
Note)Clamping force when holding the outside diameter,
The value of the holding point of @16-@25 is L=20mm
oly =T —
22 NA [#REE ] GMHS3 = >
E’_ 3 N Standard type g Z
3l IS ’ BS
o K] 3T
b B Bore Ik
EE HUEHREH
KE 16/16mm 4o mode
D |W{EAR
ﬁgii;oove 20{20mm ;({);bk;éction
S AE
N . 25[25mm Singleacti)n(Open)
3-SAMEHL 3-SA Through hole for fastening
SB3sk 7, T SC 3-SACounterbore J E <
0 Z= 2
|l O iy Iﬂ ml o < 2 < ?ﬁfg
— “ L] |r_ o] ] i ZL'FZ
© iy :
=
o © o
Ol [sa]
smpen 4] @ 93
Inlet Port P (Open)
HSOP(F)
Inlet Port P (Close) o " l}ﬁﬁ
Iy s
N 3
&
3
3
=3
2

#1432 (Bore) AA AB | J K NA NB
16 35 32 30 11 5 7 12,5 11 3 25 4 10 4 8 5h9
20 38 35 36 13 8 14.5 13 3 27 5 12 5 10 6h9
25 40 37 42 15 7 10 17 145 5 28 5 14 6 12 6h9
FI4R(Bore) 0 P Q SA SB SC B UA UB VA VB WA XA XB
16 2 M3x0.5 6 34 65 8 5 M3x0.5 45  2H9 2 17H9  2H9
20 25  M5x0.8 7 34 65 95 6 M3x0.5 6 2H9 2 21H9  2H9
25 3 M5x0.8 8 45 8 10 6 M4x0.7 6 3H9 3 26H9  3H9

FXREFIBESE PITIR 100



FPTRIEFEsN=LINFE FPT Two-finger Translational Gripper

B3
n3 FrER%E M Features
5 o TSRS AT
5ol e o BAEFF SO
= o BERAFXRED
Fw ™) o TEIERZO
e L, e o —THRGBHEPIRIE
zﬁ § o : # ® T-tooth guide rail. Compact structure and reliable
s 1 = = o
> ® Magnetic switch interface
® Proximity switch interface
gﬂﬁ, VTN . . Bl . ® Pipeless connection interface
Basic version Dustproof version High temperature version
o ® Ten million maintenance-free operations
e
2
¢  FARSE Technical Parameter
xQ we e BIE1TE FRED BHE ITHEE | BKFEKE | RARNFEEE | E5EURE 1P
I=hs = Single finger stroke Gripping force SelfWeight | Workpieceweight| Longestfingerlength | Maximumsingle finger weight |Repeat positioningaccuracy
FE (PN) (Model) (ke) (ke) (mm) (mm) P
He 1.13289 FPT-40A-1 25 123 0.08 0.68 50 0.1 0.01 40
® 1.Y13290 FPT-40A-1-SD 2.5 123/132 0.11 0.68 50 0.1 0.01 64
1.Y13291 FPT-40A-1-TEM 25 123/132 0.08 0.68 50 0.1 0.01 40
1.Y13292 FPT-50A-1 4 140/145 0.15 0.77 64 0.18 0.01 40
1.Y13293 FPT-50A-2 2 290/310 0.15 1.60 58 0.18 0.01 40
5z 1.Y13294 FPT-50A-1-SD 4 140/145 0.18 0.77 64 0.18 0.01 64
éj]._ z 1.Y13295 FPT-50A-2-SD 2 290/310 0.18 1.60 58 0.18 0.01 64
’Eé% 1.Y13296 FPT-50A-1-TEM 4 140/145 0.15 0.77 64 0.18 0.01 40
Zh 1.Y13297 FPT-50A-2-TEM 2 290/310 0.15 1.60 58 0.18 0.01 40
1.Y13298 FPT-64A-1 6 250/270 0.28 1.38 80 0.35 0.01 40
1.Y13299 FPT-64A-2 3 520/565 0.28 2.86 72 0.35 0.01 40
1.Y13300 FPT-64A-1-SD 6 250/270 0.35 1.38 80 0.35 0.01 64
1.Y13301 FPT-64A-2-SD 3 520/565 0.35 2.86 72 0.35 0.01 64
% § 1.Y13302 FPT-64A-1-TEM 6 250/270 0.28 1.38 80 0.35 0.01 40
EE § 1.Y13303 FPT-64A-2-TEM 3 520/565 028 2.86 72 0.35 0.01 40
15 z 1.Y13304 FPT-80A-1 8 415-465 0.5 231 100 0.6 0.01 40
= 1.Y13305 FPT-80A-2 4 860/960 0.5 4.73 90 0.6 0.01 40
o 1.Y13306 FPT-80A-1-SD 8 415/465 0.6 231 100 0.6 0.01 64
1.Y13307 FPT-80A-2-SD 4 860/960 0.6 4,73 90 0.6 0.01 64
1.Y13308 FPT-80A-1-TEM 8 415/465 0.5 231 100 0.6 0.01 40
W 1.Y13309 FPT-80A-2-TEM 4 860-960 0.5 4,73 90 0.6 0.01 40
1 é 1.Y13310 FPT-100A-1 10 660/725 0.81 3.63 125 1.1 0.01 40
g 1.Y13311 FPT-100A-2 5 1370/1500 0.81 7.54 115 1.1 0.01 40
i 1.Y13312 FPT-100A-1-SD 10 660/725 0.99 3.63 125 1.1 0.01 64
g 1.Y13313 FPT-100A-2-SD 5 1370/1500 0.99 7.54 115 1.1 0.01 64
§ 1.Y13314 FPT-100A-1-TEM 10 660-725 0.81 3.63 125 1.1 0.01 40
g 1.Y13315 FPT-100A-2-TEM 5 1370-1500 0.81 7.54 115 1.1 0.01 40
s 1.Y13316 FPT-110A-1 20 1050-1150 2 5.25 150 2 0.01 40
1.Y13317 FPT-125A-1 13 1080/1170 1.35 5.94 160 2.1 0.01 40
1.Y13318 FPT-125A-2 6 2240/2420 1.35 12.32 145 2.1 0.01 40
1.Y13319 FPT-125A-1-SD 13 1080/1170 1.55 5.94 160 2.1 0.01 64
1.Y13320 FPT-125A-2-SD 6 2240/2420 1.55 12.32 145 21 0.01 64
1.Y13321 FPT-125A-1-TEM 13 1080/1170 1.35 5.94 160 2.1 0.01 40
1.Y13322 FPT-125A-2-TEM 6 2240/2420 1.35 12.32 145 2.1 0.01 40
1.Y13323 FPT-160A-1 16 1640/1770 2.6 9.02 200 3.5 0.01 40
1.Y13324 FPT-160A-2 8 3200/3460 2.6 17.60 190 3.5 0.01 40
1.Y13325 FPT-160A-1-SD 16 1640/1770 3 9.02 200 3.5 0.01 64

1.Y13326 FPT-160A-2-SD 8 3200/3460 3 17.60 190 35 0.01 64




FPTRRISERNZLINFE FPT Two-finger Translational Gripper

il

o

fp— - e i y—— 7=

Big1TE K H BHE IHEE BKFiEKE BABEINFEEE ESFEURE 4 - ®

Single finger stroke Gripping force SelfWeight ~ Workpieceweight  Longest finger length Maximum single finger weight ~ Repeat positioning accuracy |P%n& %m wv

(mm) (N) (kg) (kg) (mm) (kg) (mm) S =G

1.Y13327 FPT-160A-1-TEM 16 1640/1770 2.6 9.02 200 35 0.01 40 g_

1.Y13328 FPT-160A-2-TEM 8 3200/3460 2.6 17.60 190 3.5 0.01 40 ®
1.Y13329 FPT-200A-1 25 2700/2870 52 14.85 240 6.5 0.02 40
1.Y13330 FPT-200A-1-SD 25 2700/2870 5.8 14.85 240 6.5 0.02 64

1.Y13331 FPT-200A-1-TEM 25 2700/2870 5.2 14.85 240 6.5 0.02 40 i )

o

1.Y13332 FPT-240A-1 30 4200/4440 8 21.50 280 8.5 0.04 40 77"‘"% =4

A= N

1.Y13333 FPT-240A-1-SD 30 4200/4440 11 21.50 280 8.5 0.04 64 Zﬁ <

o

1.Y13334 FPT-240A-1-TEM 30 4200/4440 8 21.50 280 8.5 0.04 40 o

1.Y13335 FPT-300A-1 35 6000/6260 135 33.00 300 BISB5 0.05 40 ®
1.Y13336 FPT-300A-1-SD 35 6000/6260 17.5 33.00 300 115 0.05 64
1.Y13337 FPT-300A-1-TEM 85) 6000/6260 135 33.00 300 11.5 0.05 40

e

23

| = hnvd s S, Q

BEHR aliEM B IE) -

. . . . Q

Model explanation Optional accessories(see below for details) 5

-SD GBS . ! %9

-SD Dustproof version = ot - B<

— - HE

TEM A frg

) ) BEFFX M8 HIHEFFR M8 90°E s
-TEM ngh temperature version Proximity switch M8 Magnetic switch M8 AhER S E Rk
90° bend angle

Rotatable Hose Fitting

g2

&z

BU T

EChe]

712

53

=

5

(RS

a

=

®

M2

e

S

<

)

o

3

o

=3

o

B4



MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-_T3
e

sjuauodw o) A10ssa20Y

FCT=18an=LINFE FPT Three-finger Translational Gripper

BRI Br 4k

Basic version

Dustproof version

= imhR

TF R4S & Features
o TSN EHMEE TR

o HEMEFFRIEO
o A XENA
o TEEREEN

o —TRIRGHEIFIERIE

® T-tooth guide rail. Compact structure and reliable

® Magnetic switch interface

® Proximity switch interface

® Pipeless connection interface

High temperature version

¥ARESE Technical Parameter

® Ten million maintenance-free operations

me A RiETRE FKF5 7] HE ITHEE | RKFEKE | RARTFEER E’EZ‘EEL*%E Ipassp
Single finger stroke Grippingforce SelfWeight | Workpieceweight | Longestfingerlength | Maximumsinglefingerweight |Repeat positioningaccuracy
(PN) (Model) (N) (kg) (kg) (mm) (kg) (mm)

1.Y13338 FCT-40A-1 2.5 255/270 0.12 1.38 50 0.1 0.01
1.Y13339 FCT-40A-1-SD 2.5 255/270 0.15 1.38 50 0.1 0.01 64
1.Y13340 FCT-40A-1-TEM 285) 255/270 0.12 1.38 50 0.1 0.01 40
1.Y13341 FCT-50A-1 4 325/355 0.25 1.76 64 0.18 0.01 40
1.Y13342 FCT-50A-1-SD 4 325/355 0.31 1.76 64 0.18 0.01 64
1.Y13343 FCT-50A-1-TEM 4 325/355 0.25 1.76 64 0.18 0.01 40
1.Y13344 FCT-64A-1 6 580/640 0.43 3.19 80 0.35 0.01 40
1.Y13345 FCT-64A-1-SD 6 580/640 0.6 3.19 80 0.35 0.01 64
1.Y13346 FCT-64A-1-TEM 6 580/640 0.43 3.19 80 0.35 0.01 40
1.Y13347 FCT-80A-1 8 1000/1080 0.79 5.50 100 0.6 0.01 40
1.Y13348 FCT-80A-1-SD 8 1000/1080 1 5.50 100 0.6 0.01 64
1.Y13349 FCT-80A-1-TEM 8 1000/1080 0.79 5.50 100 0.6 0.01 40
1.Y13350 FCT-100A-1 10 1800/1902 141 9.90 125 11 0.01 40
1.Y13351 FCT-100A-1-SD 10 1800/1920 1.9 9.90 125 1.1 0.01 64
1.Y13352 FCT-100A-1-TEM 10 1800/1920 141 9.90 125 1.1 0.01 40
1.Y13353 FCT-125A-1 13 3100/3330 2.8 17.05 160 2.1 0.01 40
1.Y13354 FCT-125A-1-SD 13 3100/3330 3.23 17.05 160 2.1 0.01 64
1.Y13355 FCT-125A-1-TEM 13 3100/3330 2.8 17.05 160 2.1 0.01 40
1.Y13356 FCT-160A-1 16 3100/3330 5.6 33.00 200 BE5) 0.02 40
1.Y13357 FCT-160A-1-SD 16 6000/6390 6.5 33.00 200 3.5 0.02 64
1.Y13358 FCT-160A-1-TEM 16 6000/6390 5.6 33.00 200 45 0.02 40
1.Y13359 FCT-200A-1 25 7100/1540 11 39.05 240 6.5 0.05 40
1.Y13360 FCT-200A-1-SD 25 7100/7540 12 39.05 240 6.5 0.05 64
1.Y13361 FCT-200A-1-TEM 25 7100/7540 11 39.05 240 6.5 0.05 40
1.Y13362 FCT-240A-1 30 9500/10400 20 55.00 280 8.5 0.05 40
1.Y13363 FCT-240A-1-SD 30 9500/10400 21.5 55.00 280 8.5 0.05 64
1.Y13364 FCT-240A-1-TEM 30 9500/10400 20 55.00 280 8.5 0.05 40
1.Y13365 FCT-300A-1 35 14500/15200 33 79.75 250 11.5 0.05 40
1.Y13366 FCT-300A-1-SD 35 14500/15200 35.5 79.75 250 115 0.05 64
1.Y13367 FCT-300A-1-TEM B5 14500/15200 23 79.75 250 11.5 0.05 40

B SRR Al EHFGFIBIE)

Model explanation Optional accessories(see below for details)

SD BAMR “ | o

-SD Dustproof version \::’;ﬁ_‘ — . L | I |

-TEM iR - y

. . EIEFF X M8 BEMEFFX M8 90°5f SEMEEDRMNAG
-TEM ngh temperature version Proximity switch M8 Magnetic switch M8 AhEE S E Rk Elastic unloading
90° bend angle mechanism

Rotatable Hose Fitting



FCT=#8EaI=INFE FPT Three-finger Translational Gripper

D
o
Bf#14 Accessory Components L
R = FRES Me
Product image (PN) Product Model Description = Z:
c
.- %Kom, RIEREL ey
B 1.Y01631 E2E-XIRSE12M Wire lengthis 2m, theendisbare ®
BHRFX M8 1.Y06553 E2E-XIR5F12M | GRS B3
Proximity switch M8 Wire lengthis 2m, theendisbare
= — TN Slz %
= EnfE] Bs FmES R BAS
Productimage (PN) Product Model Description *E %
ZHo
£K3m, RFEREL =
HMEFFX M8 It DR Wire length is 3m, the end is bare ®
Magnetic switch M8
FrmE K]S FEmES iR
Product image (PN) Product Model Description 'H&@
e
‘: MBI A E A E % 2
22 S-S 3 pins M8 Field wirable connector 2
M8F] Bk feas @
M8 wireable connector [}
FmE ®"s FRES R FEmE ®"s FRES + O
Productimage (PN) Product Model Description Productimage (PN) Product Model ég
|\
1.v13381 SL-040 B\
90EEZL, "
G1/88RguiEsk, 5
1Y13156  KQ2V06.01As ~ SMMAEEEXIm L2 Sl
: 90 degree elbow,
G1/8 threaded connector,
6mm Hose Fitting output 1.Y13383 SL-064
s>
| 3 = 1.Y13384 SL-080 Ef] %
g S0Rmk L | 33
| | | 2 i 7e
_— Gl/gygﬁg*; | 1.Y13385 SL-100 =
— 1.Y13158 KQ2V08-01AS 8mm A EREL R -
90degree elbow,
900° 8 gl/s t};read;(;l:onne?or; BRI 1.Y13386 SL-120
AhE S E Rk mm RoseFitting outpu Elastic unloading mechanism
90° bend angl
Rotatabls?rlliogé1 iteting 1.Y13387 SL-160
23
o
90REEK, 1.Y13388 SL-200 EE £
GL/4BE Ik, i 2
H 6mmS ERELEH
1.Y13157 KQ2V06-02AS 90degrEeleelb033, 1.Y13389 SL-240 §_
G1/4 threaded connector, o
6mm Hose Fitting output
1.Y13390 SL-300
+ >
n
@
S
<
0
o
3
o
=
®
3
@



B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

S SR
3|NPOIA SIUdIS

J9bueyd }oINd

il
a|npo\ diig

JaddiN 11y

SHimE

RS
3|NPOIN wnndep

sjuauodw o) A10ssa20Y

HENBE GMXSZZFI Air Slide Table GMXS Series

\

- =
- - -
A
= - t"“. \ _:".;-t :.l
-® _F, i -
» i el {
*B] S E T A T2 E (0~5mm),

-

=

; |
‘;;;?’1

RSELET , 2f&EH , AFRE,

*SERTERHEES |, ERAERTRE.
*RE+TFRIESNIRT , BB, SE
S5IFazZBRE=REE  BEEREE.

TN =ERE.
*RNEMRE , AT

REHMTTR.

1% %3/ Selection table

H42(mm)

Bore size (mm)
BLENEEOR
Piping port size

fEAAR Fluid

wEA T Action
ERERED

Maximum operating pressure

REEAED

Minimum operating pressure

REFIRINRE

Ambientand fluid temperatures

& 2 J# & Piston speed
221 Action

B8 Lubrication

X

QD 6x2 Q@ 8x2

D 12x2

D 16x2

@ 20x2 D 25x2

(H4FO8) (BLTFO11) (HB4F017 ) (HY4FO22) (1B4TF028) (HLTFO35)

M3 x 0.5

M5 x 0.8
5 Air
SUAEFE Double acting
0.7MPa
0.15MPa

Rc1/8

-10~+60°C({E R F4E) (No freezing)

50~500mm/s

KREXE M ( #54E ) Rubber buffer (standard)

*QOptional with adjustable stroke device (0-5mm)
*Double cylinder with 2 times output force, thin volume
*The combination of cylinder and worktable reduces the

overall size
*Roller slider design, small friction, no gap between

cylinder and worktable, suitable for precise assembly
*Caninstall from 3 sides
*Built-in ring, can install magnetic switch

AZEE Non-lube

NFEEE  BABEFISHISOVG32,

*Please use turbine No.1 oil ISOVG32 if need.

— N =
| 1T#Estroke (mm) || THAREA]EIRF unctional options | | %ﬁﬁ%s%a
A T ;
Bore size 10 20 30 40 50 75 100 125 150 ﬁiﬁﬂ%ﬁ% SHESAE M | THim e | |HEEE BHiERE
(mm) (0~5mm) With buffer | | Withend lock| [ Axial piping Install directly
2% 3%
2-wire 3-wire
GMXS D-M9N
vl D-M9NL
D-M9B D-MINV
D-M9BL D-MONVL
D-M9BV D-M9P
D-M9BVL | D-M9PL
D-M9PV
D-M9PVL
BSRRHE GMXS 12 _[VisN] PR T REORAE R A
Model representation methods BEEFF A S M RRT.
Number of Magnetic switches Eﬁiﬁﬁ*ﬁ!%)ﬁﬁ,
i {772 S | oA WSLKERTICS:
s Bore Stroke — N FigE-0.5m, L-3m,
Adjusting device THECETEETR S 1/|\ Z-5m.
= BERJIE e
?E'[tﬁ? V?:I\iithoutadjuster Functional options: n n™ 5l : A96 , A96L
e N e
AS /?dj’ﬁsteronextensionend Fics Nil V?:Vithoutadjuster HHFXEE Note)The specification and
Sz R Magnetic switch characteristics of magnetic
AT [Adjusteronretractionend F With buffer FTicS | TR switch can refer to the series
A |REEE *R i Nil | WithoutMagnetic switch of magnetic switch . At the
_— ﬁ(yﬂf’ter on bothends With end lock HEFXBEESST X end of the model of magnetic
*BS :ggrfggo%ﬁignsionend P ﬁ@%ﬁingtype = For the applicable Magnetic switch switch,the length mark of
iR EE A U i L T models, refer to the table above. conductor is attached:
*BT | Absorberonretractionend *FR With bufferand endlock Nomark-0.5m,L-3m,Z-5m
. EREENE Fp | PEEENREEEE Example:A96,A96L
Absorberonboth ends With buffer, Axial piping type
*GMXS6T R IEL 2 *GMX ST HIE

*GMXS6 without hydraulic buffer

SERITESES

Combination of cylinder and worktable
PN

*GMXS6 without locking

=RE. BEMNA

High precision, sturdy application

8 BEERER GERS IR I EIRELT]

worktable Picking and placement Heavy load Drive automatic

+ with high precision screwdrivle/l;\

. SEBHEGMXS e

SREE Air Slide Table GMXS

Guide Il:

+

S
Cylinder




B4 GMXSZEF Air Slide Table GMXS Series

Ell EhaEfRE: Wke) E2 AHMEE: Ln(mm), FREROERBIZIEE: An(mm) Jo
Fig. (1) Load Mass: W (kg) Fig. (2) Overhang: Ln (mm), Correction Value of Moment Center Position Distance: An (mm) %Q
‘W SIS HRIIAEPitch moment {%&77%8Yaw moment [E4134ERoll moment %D 2
X
c
e
20,0 | g
i
=
—— b
pisl
5 oA
& B3
A= N
£ Ii Z
@ 7H S
c
o
]
Ey
A
’?

e po
B3 THZRRE K g ]a
Fig. (3) Workpiece Mounting Coefficient: K ‘é’ N 1 la)

@ I >
P & = ‘ 3
Table mounting Lg
i) B2 0%E: HENFENE Note) Static moment: Moment generated by gravity =
4R hEPRAEERT , BT AR R Dynamic moment: Moment generated by impact when colliding with stopper
S 3 S 2T K
=1 BARIEFREL Emax()) B4 iFEFRHRER B .
Table (1) Maximum Allowable Kinetic Energy: Emax (J) Table (4) Allowable Load Mass Coefficient: ;é =]
K=1 HEModel SiFENBEAllowable kinetic energy 10 ;E;%
A i HigZihRubber bumper | i&ESE$188Shock absorber AN H g
EERRL GMXS6 0.018 - 207 AN e
nd plate mounting @nEY )
GMXS8 0.027 0.045 2
GMXS12 0.055 0.11 Beos
GMXS16 0.11 0.22 e,
GMXS20 0.16 0.32 ;‘“—Eé g
K=0.6 GMXS25 0.24 0.48 03
£33 —
e ks
o . $£50.2 &z
; . *3 EPOMUEIEBEIEE: An(mm) B I
= =, = . T
§E2 Eikfﬁﬁ%‘?ﬁﬁﬁi Wmax(kg) Table (3) Correction Value of Moment Center Position Distance : An (mm) \ﬂé 5 g
Table (2) Maximum Allowable Load Mass: 50 100 200 300 500 700 7] ol
Wmax (kg) TRERIOMUBIEREIEE S E?2) FHGERE Vi
= = 5 23 EE‘: Correction value of moment center position distance (Referto Figure 2.)| Iy L._x a mm/s
M%zl Miz(nﬁ%ltl%ovtfllﬁo}?d%ass M(Eel A1 A2 A3 A4 As As Average operating speed Va (mm/s)

GMXS6 0.6 GMXS6 11 6 13 16 16 6 5 N *r -

GMXS8 1 GMXS8 | 11 | 75[ 13 | 20 [ 20 | 75 Table &kﬁﬂ?ﬁﬁ%&%mm; N

GMXS12 2 GMXS12 24 8.5 26 25 25 8.5 10

GMXS16 4 GMXS16 | 27 10 30 31 31 10 ' AN =

GMXS20 6 GMXS20 34 14.5 36 38 38 14.5 07 AN f-E 2

GMXS25 9 GMXS25 | 42 | 19 44 | 46 | 46 |19 I ZE

H Z
S05 H=z
s >&
=4 BAAFSIHE Mmax(Nem) %3, g
Table (4) Maximum Allowable Moment: Mmax (N-m) NLD.IKL; ' %
HE 17%2 (mm) Stroke (mm) & 203
o
Mode 10 20 30 40 50 75 100 125 150 oy E

GMXS6 | 0.7 1.0 1.2 1.2 1.2 - - - - K302

GMXS8 2.0 2.0 2.8 3.6 4.2 4.2 = = = _g

GMXS12 | 4.2 42 42 5.8 7.0 10.0 10.0 - - < =

GMXS16| 113 | 113 | 113 | 113 | 159 | 250 | 341 | 341 : 0 100 200 300 500 700 2

GMXS20 | 19.4 19.4 19.4 19.4 27.2 35.0 50.5 50.5 50.5 EYEE Vamm/s  HEERE V mmis 3

GMXS25 | 30.6 30.6 30.6 30.6 42.8 55.1 67.3 67.3 67.3 Average operating speed Va (mm/s) Collision speed V (mm/s) <

e
iF) SEFFERE LT EAR O, (R R E A g
IS Note) Use the average operating speed when calculating static moment.
1E%§E Sy m b (o] | Use the collision speed when calculating dynamic moment. -§
iZESymbol £ M Definition BA7Unit JBESymbol £ Definition BA{37Unit o
JHERROMU B IEREIEE TYEE @
An(n=1-6) Correction value of moment center position distance mm Va Average operating speed mm/s
E HHE J W REERR g
inetic energy oad mass
FAVFENEE e
Ea AIIowabEIZ kinetic energy J Wa %ﬁ%ﬁﬁ%ﬁis kg
RASEFEIEE PESERE
Emax Max.allowablz kinetic energy J We :\/Iass eﬁ\:;fmtoimpac( kg
1o SHBR . | BARETRBERE ”
verhang Max. allowable load mass
M(Mp,My,Mr) ?ﬁﬁ%ﬂfnﬁﬁﬁﬁ) Roll) Nem o E?ad%ctor -
FEVFRRIAE (. (R, [EIF%) . FIFSEPRBRERE
Ma(Map,May,Mar) Allowabis stafic momant (Pitch, Yaw, Roll) N-m B Allowable Io)a::l ma;ieﬁicient B
F1JIE S, fREE) . FEFFIFERE
Me(Mep,Mey) Dynamic moment (Pitch, Yaw) Nem Y Allowable moment coefficient 3
FEFRIIIRE (S, fRES) . BIRIHRE
Mea(Meap,Meay) Allowable dynamic mmoment(Pi(ch,Yaw) Nem 5 Damp’er coefficient B
RASIF/IE(ESH. (R [5%) . THRERY
Mmax(Mpmax,Mymax,Mrmax) Max. allowable moment (Pitch, Yaw, Roll) Nem K Workpiece mounting coefficient 3
v TREIERAE mm/s
Collision speed




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

S SR
3|NPOIA SIUdIS

J9bueyd }oINd

il
a|npo\ diig

SHimE

JaddiN 11y

RS
3|NPOIN wnndep

sjuauodw o) A10ssa20Y

S@BEa GMXSZEZ Air Slide Table GMXS Series

GMXS O EitE GMXS O Basic type

2-M2.5x0.458250R3
2-M2.5x0.45 thread depth 3

i GMXS 8 &t GMXS 8 sasic type

2-M3x0.54250R4
2-M3x0.5 thread depth 4

Yo -
% 1% 2-M3x0.5 = /1o EE.E_HI. 2-M5x0.8 2495 (Eis/ie
6 i}fn?all__ilng port Z-M§x0.5 %g%sﬁg)ﬁumﬂi *57 ?;,MZ sx0s 2 7 Operating port 2-M5x0.8 %%ﬁg) =
i Y R &3 Max. 9.5 (With stroke
2l ) T e W s 35 1L J L
ol — JH o] ¥ — g _ — \f\ Zqi 3 t
e @ I o S © i
1B [E 0 A 7| T Fl-o
8 B o FE e of ¥ S SIS
3.8 7 2-M3x0.54255R84
3 6.5 2-M2.5x0.45025053 H M0 mrz‘%f%é’,fm 4
2-M2.5x0.45 thread depth 3 H K 14.6 *({TFET5. 100mmAg4 gL )
K 12.5 -
I, 4-M3 x 0.582454
18 | (BUR{TIEEREE) © 6 M 4-M3x 0.5 thread depth 4
(With stroke adjuster at o
extension end) 6.5 3.5
2 5 M R
@ N T
B DS BN
M X
e 8 N S € g
% € =
4 | A
z : 7z ® @
yv4 X
: BliR{TTERREER
d Stroke adjuster at extension end
2-M3x0.5424GR5 N-M3X0.58256R5 S
2-M3x O,S?Eeaézgelh 5 N-M3XO0.5 threa aepth 5 E{Tﬂﬁﬁ%ﬁ%ﬁd
! r——--i
AERES 4 | T |
A TRARER _ o } g
Stroke adwsératexlension end JEImTIEREEE = ¢ ’L(/ ﬁftb“ﬁ
— Stroke adjuster at retraction end B S5 a G F= E- — —~ =
N-M3x0.54R56R4 e = ! | &
N-M3 x 0.5 thread depth 4 Eeoc \ Al 5 s
S v-Y [ ollZ £% @il
{_}JF 41?} ° :r CHS = N " %SE i i % ;
— - Ty i g
& - @3H9*002533 » o|§
%%26 d? ? & | z ®3H9*§-°25:pm3 F w & é E
wes O-—vet ol o o ¢ i 303 o deptnd, N 3 g
I\tﬁg i ~ Q#_f.\\‘J [~ 2 : 12 (7-1>XF s g £
Es2 | Vo [ o g & 2 goge =
HIe B e oo o
=ex = Ix
> 1\@'@%% NE ﬁ 5 B m ™
F ol 8 i ! (BT E) (NN-1)xH G
+0.025 3% Kl g JE S 22 (Withstroke adjuster at extension end)
BB, B2 (N 1) F 2 lg W 2-M4x0. THEE56
@3H9'3 % deptn 2.5 11 2 ) §o§ uﬁ% 2-M4x0.7 thread de’;'t(hB H
So 2
TR HE A B
11 55 zle & : - T
| d ey [N :
Q @ ﬁw 88 o
(O fa P g Do-© 60 o6 o -
(NN-1)xH G i Eis
! | gl —
H A B
NN-M4x0. 7425058 A B :
NN - M4 x 0.7 thread depth 8 }k : "7 |‘7
HEAA i : 13 65 13 6.5
Section AA E E |
o o o Lo o) e —
11 5.5 A& - T T : o« o~
SIS e ;
1 L‘ N H : o Q
. o le &) or
J ; NN-M4x0.7460R8  ELEIAA #EBB
E NN-M4x0.7 thread depth 8 Section AA Section BB
EiEBB 5 R
Section BB : R~#%& Dimensions (mm)
. . H Eip=!
RTI%E Dimensions (mm) ; =.=15(Model) = \} G H NN
GMXS6-10 20 4 6 25 2 : -
GMXS6-20 30 2 5 35 2 GMXS8-30 40 4 13 20 3
: GMXS8-40 50 4 15 28 3
GMXS6-30 20 6 11 20 3 H
: GMXS8-50 38 6 20 23 4
GMXS6-40 28 6 13 30 3 : GMXSB8-75 50 5 27 8 5
GMXS6-50 38 6 17 24 4 :
i BIE (Model) | J K M Z zz
BS (Model) | J K M Z ZZ . GMXS8-10 13 19.5 23.5 49 485 56
GMXS6-10 10 17 22.5 42 415 48 : GMXS8-20 8.5 29 33.5 54 535 61
GMXS6-20 10 27 2.5 52 51.5 58 GMXS8-30 9.5 39 43.5 65 64.5 72
GMXS6-30 7 40 42.5 62 61.5 68 : GMXS8-40 10.5 56 53.5 83 82.5 90
GMXS6-40 19 50 52.5 84 83.5 90 H GMXS8-50 24.5 60 63.5 101 100.5 108
GMXS6-50 25 60 62.5 100 99.5 106 GMXS8-75 38.5 96 88.5 151 150.5 158




@B Ea GMXSZEZ Air Slide Table GMXS Series

omxs12 rm MxS 12 sasic type

2-M4x0.7428GR

5

i 6Mxs16 satm GMXS 16 sasiciype

2-M5x0.8IELLR5.5

2MAx0.7 thread depth 5 s o V150 8 Bk1L (SR 3 2-M5x0.8 thread depth 5.5 SRR 2-M540.8 %ﬂg}iégm{ﬁi
2 95 Operating port 2-M5x0.8 EEE) Oporating port 2-M5x0.8 Muax135(Wilhstroke
4.75 J | 8 Zﬁﬁi&‘:ﬁlﬁﬂ?ﬂﬁi end) © 5.5 | J | 10 ‘ adjuster at retraction end)
l
[te} H-@ \’ 1 gt
N D- !
- — I3 4 % - i tg ~ j{r‘\\ -® © 1 g
T s i g NN N o-
g — j i © € —
Sh o5 & ERIRiA ;i
S S e SR N 10
*_ N
K 5 1|85‘ 8.5 %MM%&JE%Q& \ 5.5 g.MMsoxso_r?ﬂ;%;;%_s
S K o \phSmie
31.5  (Flm{TTEEAEES) (AU TIEARERE)
(With stroke adjuster at 375 (With stroke adjuster at extension end)
777777 _ extension end) 2-M6 1}@22‘"]_0
= -| . R -MEX1BRSGR
i %%ﬂ*%m 2-M6x1lhreadd;§h10
TS w| 8 M M
o
3 2 o o
2 8 iy g
. <
Z z
7z 27
— _ e 5 B REEE ; R PR
E:ﬂﬂgfﬁ?;%f%mend uhhgééqhzeﬁg%%ﬁig E%{Tﬁzﬂ?‘ggﬁ S(rokeadjlﬁeralextension end ,\’}‘, MMX%&QR?E’&%% Eﬂgﬁf%ﬁﬁem
y A ; . 6
1 " m 5 [— T reToa
e R S 5 <l ]
] It i3 < - ‘ ‘ = —
gir | | ko g —F Ll e o P = 1 _
2 ||, I | o o me 25 ! :
i) D - R 3| g @5 ! ol &
=i ‘ b bl - #3 se & = — gl Hs
SE- - S £6 [_1 ™| © w8
| zg © < € me o|E 2% /X s
o 3 2 = =
53 25 © ® ® k| ¥
G4H9 00053 5 F 4H9 "090R35 S \ ?E g
P (N 4H9 G somas 0 @5H9 "3R4 F ETET N
16 2 N @5H9*3%% goptn 4 N 5H9 +gozod ha i E
P ot (N st |2
21 2 =H
9 5 (NN-1)xH G E
s H 12 6 (NN-1)xH G
—---b -1+ 4-MAx0.7HREGR o
iwrj 1 4—M4x())(,7m%;§agfekme EA—> B P M50 SiRLAT i
|2 = 4-M5x0.8 thread depth 7
; T S
ONOH— )‘ 1
’ aI i -
L ; mi
0' 7 DA - _ @ H {t
[ a N2 A4 '
B i | | 05 560 80 ©
gr y ! ; H:»
= : 7} |
A B : I
: f i‘A “E
18.5 8.5 ; 24 10.5 24 10.5
i ol 2 ©
o a| S 2
S SIES S
: e S
. ) i NN-M6x18260R12  BLEIAA #mBB
NN-M5x0.848245510 HEAA #mEBB : NN-M6x1 thread depth 12 Section AA Section BB
NN - M5 0.8 thread depth 10 Section AA Section BB : . .
i RY% Dimensions (mm)
R~% Dimensions (mm) | EEEENEVEEED F N G H NN
FE (Model ) E N G H NIN GMXS16-10 35 4 16 40 2
GMXS12-10 35 . 5 20 2 i __GMX516-20 35 4 16 40 2
GMXS12-20 35 4 15 40 2 i _GMXS16-30 35 4 16 40 2
GMXS12-30 35 4 15 40 2 | _GMXS16-40 40 & 16 50 2
GMXS12-40 50 4 17 25 3 i GMXS16-50 30 6 21 30 3
GMXS12-50 35 6 15 36 3 O ie-re 55 6 26 B &
GMIXS12-75 55 6 25 36 4 gmzlglgg 65 6 ?2 22 g
GMXS12-100 65 6 35 38 5 ; 2 i 3
: S (Model) I J K M z zz
E15 (Model) I J K M z e | GMXS16-10 10 40 29 76 75 87
GMXS12-10 10 40 26.5 71 70 80 i GMXS16-20 10 40 39 76 75 87
GMXS12-20 10 40 36.5 71 70 80 { _GMXS16-30 10 40 49 76 75 87
GMXS12-30 10 40 46.5 71 70 80 i GMXS16-40 10 50 59 86 85 97
GMXS12-40 10 52 56.5 83 82 92 ! GMXS16-50 15 60 69 101 100 112
GMXS12-50 22 60 66.5 103 102 112 | __GMXS16-75 40 85 94 151 150 162
GMXS12-75 43 85 91.5 149 148 158 | _ GMXS16-100 55 118 119 199 198 210
GMXS12-100 52 130 116.5 203 202 212 | _ GMXS16-125 68 155 144 249 248 260

B3y | FhE

99qnL SNS - 31404d

S o

3|NPOA SIUdIS

S SR

J9bueyd oD

ey
a|npo\ diug

P v £
Jaddin J1y

RS HL

3|NPON wnNndep

~
F=

syusuodwo?) A10ss8d0y




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

SHimE

JaddiN 11y

RS
3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

[E)iEH GMXS

ZZ4| Air Slide Table GMXS Series

amxs 20 =rem amxs 20 sasic type

2-M6X1#REUR6.5 e 142: 2-Ro(PT)1/8 ?ﬁkl‘A.S(Eﬁ?ﬁ%
3,13, 2-Mext thread depth 6.5 ?pf'ran%pon O bS e R
Max. 14.5 (With stroke
6.5 J | 12 adjuster atretraction end)
el
—g } ‘ ©
H " I
r = o
e G
51 IR
65, 1112 |\ *2-Mex1i25556.5
K 25 *2-M6x1 thread depth 6.5
*({7F2100, 125, 150mm#g4MEF, )
(R TR E)
(With stroke adjuster at
46.5 _ extensionend)
J 2-M6x1 $240R13
2-M6 x 1 thread depth 13
’Qﬁ “’Zl 13 M
o
0
) 3
z
yv4
B TIRERE S
Stroke adjuster at extension end
N-M5x0.88245%10
1 N-M5x0.8 thread depth 10
~ a h r-——-1
el 6 ! !
- P I I L
(S =
z e H
g5 | LS 5 o = -
% % § m@ @ @ @ _ : ©| © i'ﬂg
h E 5 / FE — Y| O~ B =
N =F o o o =
Ee
igs
003035 +0.030 3% 5E
:
f0oH2 o depth s, N 5H9 +g.030 depth 5 Y
N F —
27 (2
18 6 (NN-1)xH G
R o s i
| - | x0.8 threa eptl
JEE A — [ -
Moy 3
iz |
Aﬁ@i T T

|

GMXS 25 =5t GMXS 25 Basic type

2-M8x1.250840G%8.5

2-M8x1.25 thread depth 8.5 %ﬁlfi S(Eﬁﬁﬁ
4 16 &1 2-Re(PT)1/8 3
}.%Ea(ir{\:g[porl 3o Rc)(PT)1/8 BEEEE)
Max.16.5 (With stroke
= 8 J ) | 15 adjuster at retraction end)
[ [ |
— 7 =]
© 1T]e 0 |
HT @ !
e R V. (R
e 1
S PR o
8,112 *2-M8x1.254245058.5
K 31 *2-M8x1.25 thread depth 8.5
*(fTF2100. 125. 150mm4Ng7L )
(R TR E)
54.5  (With stroke adjuster at extension end)
2-M8x1.254240515
******** 2- M8x 1.25thread depth15
] 15 M
o
L8 a
Z
zZ
BT R N-M6x 1IR3
Stroke adjliteral extension end N-Méx1 thread E’z/‘_" S
B TR E
) I— 7 ol - Stroke adjuster at retraction end
‘T—L - L N I I
1._1% j I | 7
[ I \” . =5 ? .
w s i T s
52 N L L s
- P L | e
GRS 1 e
E S - ! Bl
B i Cancan S LN |
S ]
o © © ® 8
e
+0.030 3= =3
B6H9*0 %056 F 6H9 o R6 2 £
26H9"3* sepins (N 1)"': 6HO "™ gepins :
N <
30 2
22 7 (NN-1)xH G
et b -4 6-M6x14850710 H
I { 6-M6x1 thread depth 10 A B
il | 7‘ p—— f—

i ~
} ﬁ A B
29 115 : 34 16 = k=
‘ H 34 16
W : O o
- ©l = H ©O| «| =
= H N
E @E g5 : 888 - IE
B e e ®
®
NN-M6xLi8567R12 BHEAA #mBB | NN-M8x1 25885516 BEAA #EBB
NN - M6x 1thread depth 12 Section AA SectionBB ! NN-M8x1.25 thread depth 16 Section AA Section BB
R<t% Dimensions (mm) | R% Dimensions (mm)
#E (Model) F FF N G H NN [ HE (Model) F FF N © H NN
M X 0-10 50 40 4 45 _ M X -10 50 40 4 45
GMXS20-20 50 40 4 15 45 2 GMXS25-20 50 40 4 22 45 2
GMXS20-30 50 40 4 15 45 2 i GMXS25-30 50 40 4 22 45 2
GMXS20-40 60 50 4 15 55 2 GMXS25-40 60 50 4 22 55 2
GMXS20-50 35 35 6 15 35 3 H GMXS25-50 35 35 6 20 35 3
GMXS20-75 60 60 6 19 35 4 GMXS25-75 60 60 6 26 35 4
GMXS20-100 70 70 6 37 35 5 H GMXS25-100 70 70 6 32 35 5
GMXS20-125 70 70 8 41 38 6 GMXS25-125 75 75 8 40 38 6
GMXS20-150 80 80 8 19 44 7 H GMXS25-150 80 80 8 30 40 7
HE (Model) I N K M z zz W S (Model) I J K M z zz
GMXS20-10 10 44 31 83 81.5 o7 i GMXS25-10 12 47 35 92 90.5 108
GMXS20-20 10 44 41 83 81.5 97 i GMXS25-20 12 47 45 92 90.5 108
GMXS20-30 10 44 51 83 81.5 97 i GMXS25-30 12 47 55 92 90.5 108
GMXS20-40 10 54 61 93 915 107 ¢ GMXS25-40 12 57 65 102 100.5 118
GMXS20-50 10 69 71 108 106.5 122 i GMXS25-50 12 70 75 115 113.5 131
GMXS20-75 10 108 96 147 145.5 161 & GMXS25-75 33 90 100 156 154 5 172
GMXS20-100 58 113 121 200 198.5 214 ! GMXS25-100 50 114 125 197 195.5 213
GMXS20-125 70 155 146 254 252.5 268 | GMXS25-125 67 155 150 255 253.5 271
GMXS20-150 87 190 171 306 304.5 320 i GMXS25-150 82 180 175 295 293.5 311



S&1BE GMXSZ% Air Slide Table GMXS Series
INBE A LI / Functional option

-+ Y gg 3
F- st M
E-With buffer HMEFER(FT S ERTIE) 2-F -

Magnetic switch z\g;ln:sallalzf%?l:n operation.) i@é
FiAa Magnet = g
& 5 4 ®
—H B @—e _ _@_ N
EHH' < 4? 5@
T o & RS 4 s
= — 1 22
I — c =2
e
WA Magnet G <
w
BEMEFFR (WY, hERTIE) .
Magnetic switch Normally OFF .
(ONis bufferin operation.) a i
R- H8H - o
R-With end lock o
[a)
s % J L, 2K &
TH[E| A _ N e A
& fo—— o=
] 2 T | = o
N2=E s &s
VEES
= e
1] o o o o 1?
R HO— @ O—@
ng & & &
g sz
2 L = 2z
| I b VAR
w i
BHERT R AT M
Locked Unlocked
P- HiEEE ilxa 5
P-Axial piping type 14 @ @ ae
* * r 2H 3
2-P . | =
o g
] o @ | — Y >
[oe] | LS & &
; . & | o
- - Lahe I
) ) o i Q a
o
o —+6 6 | -
® ® 2 ] ]
L_[E S s

R% Dimensions

75 100 125 150

GMXS6 24 10 28 19 0.5 M3x0.5 22 - - - - - - - - - - - - - - - 56 M3x0.5 5.5
GMXS8 30 12 28.522.5 0.5 M4x0.7 225 6.5 9 39 44 556 73 91 141 - - - M3x0.5 10 155 3 6.5 M5x0.8 6.5
GMXsS12 38 16 37 30 0.5 M5x0.8 29 9.5 105 59.5 59.5 59.5 71.5 91.5 137.5 191.56 - - M5x0.8 145 20 3 6.5 M5x0.8 9.5
GMXS16 48 20 41 37.5 0.5 M6x1 30 12 13 62 62 62 72 87 137 185 235 - M5x0.8 18 25 3 6.5 M5x0.8 12

GMXS20 58 25 445455 0.5 M6éx1 305 15 155 68.5 68.5 685 78.5 93.5 132.5 185.5 239.5 239.5 Rc1/8 20 30 11.5 Rc1/8 15
GMXS25 70 31 50 55 0.5 M8x1.25 35 18 18 76 76 76 86 99 140 181 239 239 Rc1/8 255 35 1.5 Rc1/8 18




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

JaddiN 11y

SHimE

FrisHHm

3|NPOIN wnndep

-_T3
e

sjuauodw o) A10ssa20Y

INBISINEE ( BEZ&SH, ) GMXHZEZ% Miniature Air Slide Table Linear Guide GMXH Series

-- .\:

a o
i
._ - |
‘E
- =

-
- - -

RS RME IESEENAREREE.
TRERNBHER  JRETIERN M.
o] N =EEES R,

0] R T e S R T K

“FER IR .,

SRR HGMXUR G751,

*Install linear guide bearing to improve the accuracy of
non-rotative of piston rod

#T{ZBore size (mm)
SR & EGuide bearing width
{SEFAIRIK Fluid

FEFA Action
RIEERESD

Minimum operating pressure

REERAEND

Maximum operating pressure

TEFIRANRE

Ambient and fluid temperatures

& 28 )& [E Piston speed
FVF T EE J

Allowable kinetic energy (J)
*}878 Lubrication

i

Cushion
TRKERZE(mm)
Stroke length tolerance
WM T Rk R

Magnetic switch(Option)

EEEEOR
Piping port size

o | o | i | 20 |
5 7 9 12
=5 Air
SAEFB Double acting

0.15MPa 0.06MPa 0.05MPa

0.7MPa
FHEHMEFFX : -10~+70°C .
BUHFX : -10~+60c  (EREE)

Without magnetic switch: =10 to 70°
With magnetic switch: =10 to 60°C

50~500mm/s

(03
(No freezing)

0.0125 0.025

AZEZ Non-lube

it B %2 Rubber bumper on both ends
+1.0
0

HERLD-AI] ESFEFE: D-MI[]
Reed Magnetic switch D-A9[] Solid state Magnetic switch D-M9[]

0.05 0.1

M5 x 0.8

"N iEE EREFISHSOVG32,
*Please use turbine No.1 oil ISOVG32 if need.

*Standard built-in magnetic ring,can install magnetic switch

of stroke testing
*Can connect to air from three sides
*Can install magnetic switch from two sides
*Standard rubber buffer at both ends
*Allowable torque is 6 times of GMXU series
BSERAE

Model representation methods

AR EHIAE: GMXH

Builtin magnetic ring type GMXH | 10 | ) | 30 | ) | A93 | | |
AEES P .
Bore 178 HMEFFEA
Stroke Numberofmagnetic switches
WM RES == 1] o~
Magnetic switch FCS Nil| 24~
g | FEHEFFX I
ZES Nil WL\"thourmagneticswhch —
= 2 NAR
= - * See the right table

RIFB/Application
FEiTH S

Parallel distributor

N SRR NE
SELEMEHAIREE
Miniature linear guide bearing

improve the accuracy of linear
motion of cylinder

Workpiece transport

THE=

17 12/ T FF K i 3%

Stroke/magnetic switch selection

Kz FRE(TRE (mm) BHERERBHMEFX
(mm) Standard stroke (mm) |  Direct mount type of magnetic switch
6 2 £ 2-wire 34 3-wire
10 5,10,15,20,25, | D-M9B | D.MoN  D-M9P
- | D-M9BL D-MONL D-M9PL
16 30,40,50,60 D-M9BV | D-M9NV D-M9PV
20 D-M9BVL | D-MONVL D-M9PVL

i) BT RIS RIS SR MEFF RNRS ,
FRESHERE, MEEKEISS : TigS -0.5m,
L-3m,Z-5m, I :A93L ,

Note) The specification and characteristics of magnetic switch
can refer to the series of magnetic switch . At the end of
the model of magnetic switch,the length mark of
conductor is attached:Nomark-0.5m,L-3m,Z-5m

Example: A93L
TNZEEERSIR

# /In Canconnectto air from 3 sides

R EE D

Extend nozzle

&+ /0ut

o
it bt
(Emm )
Atbothsides

Retract nozzle

sHELEMER

Pinhole positioner

AR

Suitable vacuum cup

BEeETRE




INEIEEEe (BEZ%S4H ) GMXHZEZ Miniature Air Slide Table Linear Guide GMXH Series

GMXH6 i GMXH10
LT LT
B e e N = & ° ® ©0
- - - YUY I~ o — - - - -
—o ) Q — - = —
L o o goeel
8 LA LB \J\ M3 x 0.5
R6.5 1 LA LB J-M4 x 0.7
Depth 6.5 =8
Depth 8
i SEEE 7
| Guide bearing width 7
SEHEER 5 2-M5x 0.8
—‘!_'_‘MS x0.5 Guide bearing width 5 © —‘};Mll x 0.7 —
55 2 6
Depth 5.5 ~ Depth 6
| 2-M5 x 0.8
4-M3x 0.5 S| %
~ ®4.8 ]
% ! - Depth 4.8
'¢ | o =y
*@* 2 R S
I ? 1
f 4-M4x0.7 ©
20 w75 13 0
9 Depth 7.5 ©
16 10.5
3-M5x 0.8 ftsniEE
s Cylinder port
3-M4 x0.7 7o 4.3 ylinder p
EM; 33 gﬁifﬁﬁ Pilot hole dia 4.3 LW"\:‘SF;';%‘:‘;E"")
i di ! 6- @ 7.5 nfLiF 4.4 - -
P(I;IOt@hoéeﬁ‘l;;iz 3 (With plug for port) 6-07.5 coun’teﬂ? (l)JrlgzeptMA
6.06 countaiboredepth33 4-M5X0.8xaL
w0 ©
2 N — ] \ . @/
2 - - - - [ee]
o $ ) s
0 i
i I\ ©
0 :
w H ©
5.5 10 H 5 ©
4 NS i 7.5 NS 12.5
8.5 31 + 4742 Stroke i 1.5 35 +{372 Stroke
39.5 + {772 Stroke H 46.5 + {TFE Stroke
i 12 5 +4752 Stroke 4-M4 x 0.7
: &6
: Depth 6
10 5 +1712 Stroke 4-M3 x 0.5 : e >
%4.8 : n O d
Depth 4.8 ! ) i -—& - - -
T e & | | o o
- @ ©
R~ % Dimensions (mm) i RYFE Dimensions (mm)
BIE (Model) {7#EStroke J LA LB LT NS [ BIE (Model) {T#EStroke  J LA LB LT NS
GMXH6-5Z 5 4 10 - 42 14 GMXH10-5Z 5 4 10 - 49 14
GMXH6-10Z 10 4 10 - 42 14 GMXH10-10Z 10 4 10 - 49 14
GMXH6-15Z 15 4 20 - 52 24 GMXH10-15Z 15 4 20 - 59 24
GMXH6-20Z 20 4 20 - 52 24 GMXH10-20Z 20 4 20 - 59 24
GMXH6-25Z 25 4 30 - 62 30 GMXH10-25Z 25 4 30 - 69 30
GMXH6-30Z 30 4 30 - 62 30 GMXH10-30Z 30 4 30 - 69 30
GMXH6-40Z 40 6 20 20 72 45 GMXH10-40Z 40 6 20 20 79 45
GMXH6-50Z 50 6 25 25 82 55 GMXH10-50Z 50 6 25 25 89 55
GMXH6-60Z 60 6 30 30 92 60 GMXH10-60Z 60 6 30 30 99 60

B3y | FhE

99qnL SNS - 31404d

S o

3|NPOA SIUdIS

S SR

J9bueyd oD

ey
a|npo\ diug

P v £
Jaddin J1y

RS HL

3|NPON wnNndep

~
F=

syusuodwo?) A10ss8d0y




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

S
3|npo 51Ua1S

J9bueyd }oINd

il
a|npo\ diig

SHimE

JaddiN 11y

RS
3|NPOIN wnndep

sjuauodw o) A10ssa20Y

NBIERBE (BEZ%SH ) GMXHZEZ Miniature Air Slide Table Linear Guide GMXH Series

GMXH16 i GMXH20
LT LT
— © o Qo OO
\v4
& e © 00 [ A —
<| © - - [s2] N
N  — o
@ o }{ DO [ o © QO o |
J-M4 x 0.7 J-M5x0.8
14 LA LB S0 | 1A 18 e
Depth 9 5.
H Depth 9.5
i 4-M5x08 SHEERE 12
o= Guide bearing width 12
4-M4x07 - - w11
= SEHEEE 9
/ S;y;toh 10 Guide bearing width 9 Depth11 2-M5x0.8
|
4-M4x0.7 2.M5x 0.8 © 4-M5x0.8
© &6 . J =8
! bt Depth6 ¢ Depth 8
0| © _‘7Z
vl 1 o < \b -0
N ? Q| 3 Ly A\ v@
© N l < /\
A%
“ & \ i 3 //‘\ &
g e : L\t ¢l
| | o1 o AN
o ' [te) 20 @ =
16 © 17 ©|
5 32 20
3-M6 x 1.0 gty
3-M5x 0.8 e nigsE B0 51 fv{,'i'&del'up"f;‘r o)
B0 43 Cylinder port Pilot hole dia 5.1 4-M5x0.8x4L
Pilot hole dia 54.3 (With plug for port) 6.0,93 M7l 8 MXEex
6- @ 7.5 LR 4.4 4-M5x0.8x4L 6-09.3 counterbore depth 8
6-@7.5 counterboredepth4.4
H -0.1 |
o} | P
e @/
o © : ©
-~
RE — N
& Hi & < '_ﬂ - - [
o) ) 5—( @
e % ] i
0 0 © N\~ @ ~
S © i
5 : 6
10 NS 125 : 11 NS 15
14 42 + {778 Stroke : 15.5 52.5 + 4742 Stroke
56 + {THE Stroke 68 + {7FE Stroke
12 10 + 1742 Stroke 4-M4 x 0.7 15 10 +4572 stroke 4H- g/IS x 0.8
= : pS
g':peth6 H Depth 8
i 7
H Fax}
© & ; S ©
= } —— - - —t i S —&— - - -
o : - A
hd © H N4 ©
R~f% Dimensions (mm) i RYFE Dimensions (mm)
BIE (Model) {7#&stroke ) LA LB LT NS [ BIE (Model) {7FEStroke  J LA LB LT NS
GMXH16-5Z 5 4 10 - 58 20 : GMXH20-5Z 5 4 10 - 64 20
GMXH16-10Z 10 4 10 - 58 20 GMXH20-10Z 10 4 10 - 64 20
GMXH16-15Z 15 4 20 - 68 30 : GMXH20-15Z 15 4 20 - 74 25
GMXH16-20Z 20 4 20 - 68 30 : GMXH20-20Z 20 4 20 - 74 25
GMXH16-25Z 25 4 30 - 78 40 GMXH20-25Z 25 4 30 - 84 40
GMXH16-30Z 30 4 30 - 78 40 GMXH20-30Z 30 4 30 - 84 40
GMXH16-40Z 40 6 20 20 88 50 GMXH20-40Z 40 6 20 20 94 50
GMXH16-50Z 50 6 25 25 98 60 GMXH20-50Z 50 6 25 25 104 70
GMXH16-60Z 60 6 30 30 108 60 GMXH20-60Z 60 6 30 30 114 70



JKOFE Sprue Gripper
AUKFERBEEME , EERNIME , FHiE

AL A IR LR FICRGE R 4E. %{3’
Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle. %MZ
Using threaded components or CRG's components when to assemble. €§§
5
KOKEGR(S/M/L/X)EF ( TAERER ) ’
Series GR-Sprue Gripper (Without Sensor)
=z
EE
* 12
| M5
- J g
- ’l !
- -
e & - e
- v e o
¥ 2
@ GRS08 & GRM12A GRL12A ;.; GRX20
*xe
1=k
ar w3
KOFKEGR(S/M/L/X)ERF ( HEmEE ) he
Series GR -Sprue Gripper (With Sensor) I - g
& -
e
' <
6-& GRS08-CN(CP) GRM12A-CN(CP) GRL12A-CN(CP) GRX20-CN(CP) %E
‘53
1¢§
£85(PN) EE(Model) =S FFA(Switch type) BN A (F) &=E(Weight) 5
8.Y00214 GRS08 - 5N 189
8.Y00099 GRS08-C - 5N 249
8.Y00011 GRS08-CN NPN 5N 40g .
8.Y00012 GRS08-CP PNP 5N 40g 5‘1};%
8.Y00103 GRM12A - 28N 469 g
8.Y00092 GRM12A-C - 28N 45g <
8.Y00009 GRM12A-CN NPN 28N 60g S
8.Y00010 GRM12A-CP PNP 28N 60g 3
8.Y00107 GRM12B - 28N 469 ]
8.Y00106 GRM12B-C - 28N 45g @
8.Y00104 GRM12B-CN NPN 28N 609
8.Y00105 GRM12B-CP PNP 28N 60g
8.Y00108 GRL12A - 45N 94g
8.Y00100 GRL12A-C - 45N 84g
8.Y00001 GRL12A-CN NPN 45N 100g
8.Y00002 GRL12A-CP PNP 45N 100g
8.Y00213 GRX20 - 80N 180g
8.Y00215 GRX20-C - 80N 1779
8.Y00013 GRX20-CN NPN 80N 1929
8.Y00014 GRX20-CP PNP 80N 192g




MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

XO3FE Sprue Gripper

izFAsLf / Application example

GR M| 12] [B] - [C][N]

R3

Size

REBER

Dimension SesL KA
Jaw Types

LA, /Installation method

==
Application example 1

12eHe {4 / Accessorier selection

FX
1.PNP
2.NPN

o
\ iﬁ@
Bl s

FFREEEIRBA/Switch wiring ins

NPNmEﬂ / NPN output type

FFREE
Switch type
NPNFFx
PNPFx

C-aIF xR

Being able to mount a switch
To- A TR

No - Not being able to mount
a switch

=
Application example 2

FRES(PN) EIE(Model)
7.Y00800 PNP
7.Y00801 NPN

tructions
PNPEgiH B/ pn

T &KALK
Note: The lengthis 1 meters

P output type

BN WHaEE SEAE BN, WS SLAE
Input and output circruit diagrams Input and output circruit diagrams
] 3 3R ] W@ Y
g ¢ - e
Vv,
= R =2 ~7D
D2 et r e +| 24vDC T 1 ‘ 100mA MAX. +| 2avpe
Bl T 0 ‘mm +10, iz O - “mm +10,
= 100mA MAX -1 -15% - D2 (BE)HH(E]) _T Zi5%
2 ,‘L m . 2 (Black) Output (Marked 1)[ 7 2
‘% A Zp $Téﬁ§)ov % D1 (ﬁ@,)OV (Load)
2 | : " TM) i
REBEREE ——0— SMEBERETRAI RIEBEREE —O— SMEBIERE A

Internal circruit

Do not connect directly to power or capacitive loads

External connection example

(1) R RI R, BAERERRRAE R,

(Marked 1)Output is not equipped with short-circuit protection circuit.

Internal circruit

(EL): BRI r B, 7R EE RS R,

(Marked 1)Outputis not equipped with short-circuit protection circuit.

External connection example

Do not connect directly to power or capacitive loads



KOFEGRS08Z%! Sprue Gripper GRS08 Series

D
ZE
. 2
eég
i g
Vi ;
- -
- )
]]- / 18
9 Zﬁg
GRSO08 GRS08-CN(CP)
FoIERREE(Without Sensor) THERES(With Sensor)
’H&Q
e
2
a
FE iR Product Description 5
GRS08%7%
RAERBEEER  EERRIME , FHK k2
R AT R S ICRGER R LR, Az
Series GRS08 e
Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle. °
Using threaded components or CRG's components when to assemble.
2 (PN) A2 (Model) {ERk=&(Sensor) HMEXAI(F) EE(Weight)
8.Y00214 GRS08 - 5N 189 52
8.Y00099 GRS08-C - 5N 2449 Mz
8.Y00011 GRS08-CN NPN 5N 40g %3
8.Y00012 GRS08-CP PNP 5N 40g 25
21 21 6.60
8.40 4 4
— é Bs
“H3
[ iz
A N s
( { N i °
o | o
b |
T 3-M3 ) U T 3-M3 ) ,I{}E:Tg
FanY Pan} 3
N ol hd o <
e
o
~ ~ 3
A A °
L
Eg M3-Pa :E M3- @4
C 2 | 2 C 12 ] 4
18
FTIERES(Without Sensor) HERES(With Sensor)



KOFEGRM12Z% Sprue Gripper GRM12 Series

B
ZE
me
%: -
¥
-
-
-
S (PNP)
%g & (NPN)
e -
gﬂg ;)
e
GRM12A v GRM12A-CN(CP)
FTAEREEE(Without Sensor) HIEREE(With Sensor)
.|~;&,(E)
e
2
5 FER#ER Product Description
GRM12&5%|
ke AURERBEEYE , EERNIME , FhK
%‘; BRI AR LENCRGIBRRLE.
= [e] .
He Series GRM12
® Main body being made of high-strength Aluminium , light weight, strong rigidity and long life cycle.
Using threaded components or CRG's components when to assemble.
H5E(PN) BIS(Model) k2&(Sensor) MENAI(F) E&(Weight)
=x 8.Y00103 GRM12A = 28N 469
éj]‘_% 8.Y00107 GRM12B - 28N 469
53§ 8.Y00092 GRM12A-C = 28N 45g
7% 8¥00009 GRM12A-CN NPN 28N 60g
8.Y00010 GRM12A-CP PNP 28N 60g
8.Y00106 GRM12B-C - 28N 459
8.Y00104 GRM12B-CN NPN 28N 60g
a5 8.Y00105 GRM12B-CP PNP 28N 60g
%&Z 31 31.50
2 16 & 16 -
a - : s
[o} o
B % 4 K ]
'#Fg o o I 22 /_\
8 I — o ol
g - 4o
) g o 1 N o " 1 N
3 o ol q @ ol
-8 ° N 3-M4 o Y 3M4
N\’ .
& -o- - e =~
®'12' Ms- P4 Lg @I | M5- P4 Lé:
16 =
26 26
FTIEREE(Without Sensor) H1ERLEE(With Sensor)



KOFEGRL12ZK% Sprue Gripper GRL12 Series

Fijhs
ZE
me
- B
= = g
a » (PNP)
P (NPN)
2 2
; J o
/ iﬂ§
GRLI12A GRL12A-CN(CP)
FTiEREE(Without Sensor) HIERES(With Sensor)
'H&g
e
2
FRaiEiA Product Description E
GRL12Z&7%! °
KEEFRBEEER  ERRNIME , FHK
AR AR IR L KA ICRGE M & . FQ
Series GRL12 Bz
Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle. He
Using threaded components or CRG's components when to assemble. ®
£ES(PN) 2 S(Model) {&RE&&(Sensor) BN AI(F) EE(Weight)
8.Y00108 GRL12A - 45N 94g
8.Y00100 GRL12A-C - 45N 849 52
8.Y00001 GRL12A-CN NPN 45N 100g =z
8.Y00002 GRL12A-CP PNP 45N 100g %%
41 41
17.50 i ;
B B3
Tt
“H3
u fiz
p— Q.
A N AN s
4| [° o2
oy o ( 9y o (
g 3-M5 ;_: }”qt{ﬁ
g Y g \—/ 2
o @ @ 8
A
© ©f o
3
j g 3
! Ms-Pa M5- P4 £
D12 o D12 o o
25 25
39 39
FT(EREE(Without Sensor) H{EREE(With Sensor)



B3y | A

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

KOFZEGRX20&%! Sprue Gripper GRX20 Series

GRX20
FERLEE(Without Sensor)

FEEafEIA Product Description
GRX20%7

RMAERBREEME , EERNIMNE , FhiK.

PARRT AT RIR I R EFNCRGE T

Series GRX20

(PNP)
(NPN)

GRX20-CN(CP)
HIEREE(With Sensor)

Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle.
Using threaded components or CRG's components when to assemble.

S(PN) S (Model) fERk&&(Sensor) HMEXA3(F) BHE(Weight)
8.Y00213 GRX20 - 80N 180g
8.Y00215 GRX20-C - 80N 1779
8.Y00013 GRX20-CN NPN 80N 192g
8.Y00014 GRX20-CP PNP 80N 1929
535
10
30 10
M =1=
| M6 A B '—ix 3-M6 A B
O ||
5| 3 1 '
E 2 \ 5 8 ()
S I )
o} = . —
@' 0|
T T 9
M5-94
©20 @20 il M5-Pa E’
32 @20
42 32
42

FoAERLEE(Without Sensor)

HEREE(With Sensor)



KOFEGR12ZE%] Sprue Gripper GR12 Series

1) =2 R
BSRTAE GR |12| [A]-02 -[CI[N] ...
Model representation methods Switjcth type
NPNFFx
REERE PNPFFx
Dimen5|on
C-AT%EFF X
JzsL KR Being able to mount a switch
Jaw Types R To-RETEFFR
BoJr:e No - Not being able to mount
a switch

KMAERBEEME , EEENMRE , F6h

PR A IR R MCRGEB MR .

Main body being made of high-strength Aluminium , light weight, strong rigidity and long life cycle.
Using threaded components or CRG's components when to assemble.

/ /

< & 4

i e G

I J(.

-
GR10A-12 GR12B-12 GR12L-12
GR12A-12 FotERkeg TG RER
GR12M-12¢ER%I5H ) (Without Sensor) (Without Sensor)

FoiERkEE(Without Sensor) ) )
1EBEC(H / Accessorier selection

EAES
1.PNP
) 2.NPN
FFEEZE(PN) EIE(Model)
GR10A-12-CP GR12B-12-CN(CP) 1.Y07261 GX-F8A-P (PNP)
GR12A-12-CN(CP) e kR 1.Y07405 GX-F8A (NPN)
GR12M-12-CN(CP)(R#IsHO) (With Sensor) 1w
H{ERES(With Sensor) ﬁo.te%ﬁzjlin*gth is 1 meters
2 (PN) #F2(Model) {ERkEE(Sensor) HMENSI(F) EE(Weight)
8.Y00348 GRO5A-10 - 12N 9.69
8.Y00268 GR10A-12 - 28N 449
8.Y00267 GR10A-12-CP PNP 28N 70g
8.Y00305 GR10A-12-CN NPN 28N 70g
8.Y00370 GR10D-12 : 28N 429
8.Y00369 GR10D-12-CP PNP 28N 61g
8.Y00048 GR12A-12 - 28N 449
8.Y00098 GR12A-12-C - 28N 449
8.Y00050 GR12A-12-CP PNP 28N 70g
8.Y00091 GR12A-12-CN NPN 28N 70g
8.Y00245 GR12B-12 - 28N 449
8.Y00260 GR12B-12-C - 28N 449
8.Y00261 GR12B-12-CP PNP 28N 70g
8.Y00262 GR12B-12-CN NPN 28N 70g
8.Y00307 GR10L-12 - 28N 509
8.Y00308 GR12L-12 - 28N 50g
WP 8 Y00419 @Hsiin) GR12M-12 - 28N 66.29
W 8 y00421 @) GR12M-12-CP PNP 28N 82.59
W 8 y00420 ¢asian)  GR12M-12-CN NPN 28N 82.59

B3y | FhE

99qnL SNS - 31404d

S o

3|NPOA SIUdIS

S SR

J9bueyd oD

ey
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wnNndep

~
F=

syusuodwo?) A10ss8d0y




MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

KOKZEGRO5Z%%!] Sprue Gripper GROS5 Series

GRO5A-10

FiERLES(Without Sensor)

£ES(PN)
8.Y00348

BE(Model)
GRO5A-10

{&R%E&(Sensor)

18

",

53.60

(o)
(OO
(e)

2-¢2.60

8,950, 6

6

M8*1 5
T T

HMEXSI(F)
12N

L

37.50
| S

B ! M3 #S0

7 M3 Inlet port

BHE(Weight)
9.6g




KOFZEGR10Z&%! Sprue Gripper GR10 Series

30 Filins
15
16 6 *ng_”
- 2z
5 0 g
£ . < g
(2] =
®L _ /  shAt " 3 psa2 xi
. / Diamond tooth : !Ul iﬂ§
- ©
il i
0= =} o I
=g 16 Eg
GR10A-12 l‘u‘;x 27 ®10 a
FoAEREBE(Without Sensor) g 2
«Q
%9
_E_-B
HE
pe
-
0
& 5z
#z
% Ik
. R
GX-F8A-P (PNP) "
GX-F8A (NPN) S| 3
=
o =2
: 4
!L.‘!_! i Z
=9 - * o
GR10A-12-CN(CP) & ;‘; 270
H{ERLEE(With Sensor) Jil;!"-‘g
&= =1 = g MT.T?‘?
5E(PN) FE(Model) f&RkE&(Sensor) HMEX 73 (F) EE(Weight) %3
8.Y00268 GR10A-12 - 28N 449 8
8.Y00267 GR10A-12-CP PNP 28N 70g 5
8.Y00305 GR10A-12-CN NPN 28N 70g 3
o



MRS |, X

aqnL SNS - 3|4o.d

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

KOKZEGR10Z%%] Sprue Gripper GR10 Series

S76 Jar
- 10072 Helilc?jll?ooth
Iﬁ (
-

GR10D-12
FiE S8 (Without Sensor)

GX-F8A-P (PNP)

GR10D-12-CP
HERLES(With Sensor)

55(PN) EIE(Model) {&REE(Sensor)
8.Y00370 GR10D-12 -
8.Y00369 GR10D-12-CP PNP

L 3455 _,
21
o
N
©
N
[=]
N
3 3
2042
©
o 16
w2
23 27
35
I
21
185
)
o
N
©
N
A O
&
g . ®
[sel
2-94.2
Q0
©
IL.fJ
o 16
23 27
I
HMER(F)
28N
28N

[1'1-{1
ITh

-
o

@

E8(Weight)




KOFZEGR12Z%%] Sprue Gripper GR12 Series

30 i
15
16 6 ZE
= e
[Te) | & =
. < &
(= R = '@_ J '
S I I P
sEEt R Xz
. 2-¢4.2 ( ) 15

Diamond tooth 2-04. 9 iﬁ§

©

e or
w3 g & o
=g 16 Eg.
GR12A-12 l?,; 27 12 a
FERLEE(Without Sensor) HE g
«Q
*Q
g
VEES
He
: -

/ .
. & 5z
#lz
BU O
7’32
GX-F8A-P (PNP) B

GX-F8A (NPN) ©
gl 8
-
=
o =g
) H3
= o =
gf & e
GR12A-12-CN(CP) Q& F 1 °
HHERES(With Sensor) 131;5.5 )

[+ >
H=E5(PN) BE(Model) fERk&(Sensor) A (F) & (Weight) gg‘
8.Y00048 GR12A-12 - 28N 449 §
8.Y00098 GR12A-12-C - 28N 449 i
8.Y00050 GR12A-12-CP PNP 28N 709 S
8.Y00091 GR12A-12-CN NPN 28N 709 §



B3y | A

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

KOFXEGR12Z%] Sprue Gripper GR12 Series

15
16 6
LD_
&
| i , :D
L | g 1D ol
P 2-94.2
Helical tooth —
QO
©
0l o H
=9 6
AN ©
GR12B-12 re 21 @12
Fi&kes(Without Sensor) HE
6
., ]
&
GX-F8A-P (PNP) @* D
[Te]
GX-F8A (NPN) 3 3
.- U
@
©
P - S
93 & &
= 16
l‘;; 27 ®12
GR12B-12-CN(CP) e
HE RS (With Sensor) =
55(PN) S5 (Model) {&Rk25(Sensor) HEXA3(F) EE(Weight)
8.Y00245 GR12B-12 s 28N 449
8.Y00260 GR12B-12-C - 28N 449
8.Y00261 GR12B-12-CP PNP 28N 70g
8.Y00262 GR12B-12-CN NPN 28N 70g




KOFZEGR12Z%%] Sprue Gripper GR12 Series

30 24.50
16 20

B3y | FhE

3qnL SNS . 3|l404d

80.5
39

HEE A

S|NPOA SIUdIS

2-94.2 l U '

\
A
5

GR12L-12
FIERLES(Without Sensor)

Intake air 2-M5
>
J9bueyd oD

#S 2-M5

£2S(PN) A5 (Model) f&Rzs(Sensor) MEXAI(F) EHE(Weight)
8.Y00307 GR10L-12 - 28N 50g
8.Y00308 GR12L-12 - 28N 50g

S
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wnNndep

~
F=

syusuodwo?) A10ss8d0y



MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

KOFXEGR12Z%%] Sprue Gripper GR12 Series

30

16

o ﬁ |
&
) | , ah
e te) 1 |
® ik P LK
I‘i Steel jaw 2042 ! U l
- 2
e o
0= =} ]
=9 16
GR12M-12 Ejg 27 12
ToAE kS8 (Without Sensor) e
©
&
TG GX-F8A-P (PNP) o
GX-F8A (NPN) sl 3
©
§t‘ .t [
GR12M-12-CN(CP) & 12§ -
THIEREE(With Sensor) Jagé 4
£5S(PN) E5(Model) {&Rk=&(Sensor) B3 (F) EE(Weight)
8.Y00419¢msiir)  GR12M-12 - 28N 66.29
8.Y00421@msis)  GR12M-12-CP PNP 28N 82.5g
8.Y00420¢m#is#)  GR12M-12-CN NPN 28N 82.5g




KOFEGR20Z&%! Sprue Gripper GR20 Series
1. MMRERBEEE  EE2RNIMNE , Faik.

AT

2. AR ISR BT ENCRGIRRE, #2

3. GREFIKORTEEFR AR | BESFK MR, g

& n

1. Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle. B

o

2.Using threaded components or CRG's components when to assemble. °

3. GR series of sprue gripper can choose different types of jaws to satisfy the clamping of various sprue gate.

%g

EE

(e

i . =, ) iﬁ§

i ) 5

S - g

W .

T y }ﬁr;

- 0

)

GR20A-20 GR20B-20 GR20D-20 GR20C-20 %o

FAERE FAEREE TAE s TAE s B

(Without Sensor) (Without Sensor) (Without Sensor) (Without Sensor) iﬁ §

fre

' ﬁ;

’ oz

1S

712

B

“H3

(RS

GR20A-20-CN(CP) GR20B-20-CN(CP) GR20D-20-CN(CP) GR20E-20 e

HIEREE GRS HIERER FAEREER o

(With Sensor) (With Sensor) (With Sensor) (Without Sensor)

+ >

HE(PN) W E(Model) fE/E(Senson) R A(F) EE(Weight) e

8.Y00224 GR20A-20 - 80N 112g 2

8.Y00049 GR20A-20-C - 80N 118g <

8.Y00226 GR20A-20-CP PNP 80N 137¢g 3

8.Y00051 GR20A-20-CN NPN 80N 137¢g §

8.Y00234 GR20B-20 - 80N 112¢g 3
8.Y00231 GR20B-20-C - 80N 1189
8.Y00232 GR20B-20-CP PNP 80N 1379
8.Y00233 GR20B-20-CN NPN 80N 1379
8.Y00342 GR20C-20 - 80N 1409
8.Y00343 GR20D-20 - 80N 1499
152>=-8.Y00442 GR20D-20-CP PNP 80N 173.1g
= 8.Y00479 GR20D-20-CN NPN 80N 173.1g
8.Y00344 GR20E-20 - 80N 1299




MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

KOFZEGR20Z%%] Sprue Gripper GR20 Series

1 AREREEETE , ERENIMRE  FHK.
2. RER IR R EMCRGEP R R EE.
- GREFIKARAIEERRAIKLIK | HE S MK ORIKEL.

.Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle.

3
1
2. Using threaded components or CRG's components when to assemble.
3

.GR series of sprue gripper can choose different types of jaws to satisfy the clamping of various sprue gate.

/-
-

?i

GR20G-20
FoteRkeg
(Without Sensor)

GR20G-20-CN(CP)
GRS
(With Sensor)

GR20H-20
TolERkEs
(Without Sensor)

/ 8 4
5 - -
L ]
! /!’

GR20H-20-CN(CP)
e RER
(With Sensor)

GR20I-20
TolERkEs
(Without Sensor)

GR20I-20-CN(CP)
e RER
(With Sensor)

GR20F-20
TolERkEs
(Without Sensor)

£2S5(PN) A S(Model) f&RkER(Sensor) #MERFA(F) EE(Weight)

8.Y00345 GR20F-20 - 80N 128¢g
=*-8.Y00433 GR20G-20 - 80N 131.1g
== 8.Y00472 GR20G-20-CP PNP 80N 153.7g
=== 8.Y00473 GR20G-20-CN NPN 80N 153.7¢g
2=-8Y00422 (¥HIHD)  GR20H-20 = 80N 193.19g
w8 Y00424 (®#HD0)  GR20H-20-CP PNP 80N 220.5g
=>=8Y00423 é¥#lsH)  GR20H-20-CN NPN 80N 220.5g
5= 8.Y00450 ¢y GR20I-20 - 80N 191.69
«5>=8Y00470 ¢¥#sHE)  GR20I-20-CP PNP 80N 219¢g
=8 Y00471 GR#HE)  GR20I-20-CN NPN 80N 219¢g




KOKZEGR20Z%%] Sprue Gripper GR20 Series

37

TR
25 %‘%
12 0-24 o
s B 5
4 j —
7, | f— il () %y
N ) L T
3 \ lamon (e]e) —()P gﬂ 8_
BB MR T SRS =
RS IRERE oy Py ®
The four screws on the bottom & fon
are loose for ve.ntilate conveniently omo © gl
when they leaving the factory u§:>§ N
——I- N
Irg G1/ Ho
< g
GR20A-20 ®20 2
T R%E8(Without Sensor) |M17*1| 2
35 “.i';
sec
_E_'c
HE
49 {CF %
- a 25 0-24
i : .
2 IE:
o B3
GX-F8A-P (PNP) / \ e
GX-F8A (NPN)
) .
17
REBI MR N T SRS
IR ATIRS. il Hs
The four screws on the bottom == o e a
are loose for ventilate conveniently B s o = E
when they leaving the factory o™ o - S éﬁ 3
@ 0= ~ {L.F §
o :
s %
GR20A-20-CN(CP) e |
Py ) H | [
(& BE8(With Sensor) ®20 -
% %
2 (PN) IS (Model) {ER4EE(Sensor) 4MEXJ3(F) EE(Weight) {4:%
8.Y00224 GR20A-20 - 80N 1129 i
8.Y00049 GR20A-20-C - 80N 118g g
8.Y00226 GR20A-20-CP PNP 80N 1379 3
8.Y00051 GR20A-20-CN NPN 80N 1379 ‘3



B3y | A

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

KOFZEGR20Z%] Sprue Gripper GR20 Series

37
25
i o 12 0-24
>
L o S j
>
_ / J N
.= sl =\
“Xry \/ hel )
C - / S ®
r ! _?4&! — 47 T
2 / Helical tooth ¢'/@’€i9‘
_ RIS T HEES - —
H R R IRERT. E{ /‘,-‘:.
3 The four screws on the bottom b = 7o)
‘ are loose for ventilate conveniently ey © o E
’ when they leaving the factory &
] x5
g i
HE
GR20B-20 ®20
FAEREE(Without Sensor) IM17*1I
35
49
i - 25 0-24
-
A o 4 8
S Y . o
5 GX-F8A-P (PNP) ﬁ%
GX-F8A (NPN)
) .
IR T S 2
ERER I NRLL .
BT, /ﬂﬂ*
The four screws on the bottom T =
are loose for ventilate conveniently B f__':';
when they leaving the factory o) 7o)
[s2) Lo"E’ §|
— g g
e
GR20B-20-CN(CP) gg s
wERER(With S @20 ! f
& a8 (With Sensor) M17*1
35
£E(PN) FIE2(Model) {E=%88(Sensor) MBS (F) EE(Weight)
8.Y00234 GR20B-20 - 80N 1129
8.Y00231 GR20B-20-C - 80N 118g
8.Y00232 GR20B-20-CP PNP 80N 1379
8.Y00233 GR20B-20-CN NPN 80N 1379




KO3 EGR20%%] Sprue Gripper GR20 Series

25 45.5

e
12 1-22.5 =3
#2
E %m %)
| c
8 g
£ d @
_— < 1% 2
17 éﬂ§
c
) oy
JRERIUMBLL AT S EES //O
HIT B AR, =y =3 0
The four screws on the bottom = =4 s
are loose for ventilate conveniently ch) o A N
when they leaving the factory 0=
- 3 e
& €.
Ire g
H = Gl1/ 0
20 M17*1 3
GR20C-20 2 I, g
ToiE=%E8(Without Sensor) —~35 ™ 8
40
23
1 %L
E_U
20° s
ﬁ it
~ o
I
@ W @
s —
5z
()| - 9:
1) B3
& e
( 17 %
g |op0
H
o] Hs
33 =0
rs : 83
- E— #z
G1/ g_
£25(PN) A S(Model) f&Rkz&(Sensor) AMEXA3(F) EE(Weight) g
8.Y00342 GR20C-20 - 80N 1409
By =
8
3
<
o
o)
3
3
>
2



B3y | A

aqnL SNS . 3|1404d

HEE S A 0t

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

KO3 EGR20%%] Sprue Gripper GR20 Series

JRERIY MR T RS
HITRAMREIIRES.

The four screws on the bottom

are loose for ventilate conveniently

when they leaving the factory

GR20D-20
FAEREE(Without Sensor)

GX-F8A-P (PNP)
GX-F8A (NPN)

RERIUANREL N TSRS
HTBREAMREIRES.

The four screws on the bottom

are loose for ventilate conveniently

when they leaving the factory

GR20D-20-CN(CP)

12

25
\G’)
o
o
@20

30

44

0-37

56

J

17

T

gt

o2

2-M5

144

Intake air 2-M5

#R 2-M5

G1/
M17*1

T T
35

56

¢

p

|

BEA2xM5 41

2xM5

141.5

&
0‘1 ﬂ.
=

e e ;
& R88(With Sensor) 20 Y
E(PN) FIE2(Model) {E=%88(Sensor) MBS (F) EE8(Weight)
8.Y00343 GR20D-20 = 80N 1499
8.Y00442 GR20D-20-CP PNP 80N 173.1g
8.Y00479 GR20D-20-CN NPN 80N 173.1g




KOFZEGR20Z%%] Sprue Gripper GR20 Series

25 ) 59 %@Z
' 12 2544 ] 5
’ — =9
o S &
) “3 N @
le | )
s N 3
w
EESBIUMEL R T IS o =2
a / B AAATARES. o Hg
= =3 y The four screws on the bottom 17 - =%
\ | f tilat ientl o
- when they leaving the factory oL
GR20E-20 2 02 & o
FotERES(Without Sensor) Eg o
- re 5
HE G1/ 2
®20 | M‘17"’lI g
35
&2 (PN) AE(Model) fE/ig8(Sensor) STEH(F) & #f(Weight) e
8.Y00344 GR20E-20 - 80N 129g \E
e
o
Silicone 25 37
12 0-21
, f g2
/ B3
o | ° : zh
=8 O+
ey £
. o) 2\
(=) 53
FRESIAMBL AT B o 17 = Zg
TR ARIARAS. o) B3
The four screws on the bottom /o T {L-F Z
are loose for ventilate conveniently o= = 9
when they leaving the factory & = =
wn o
GR20F-20 s
Irs
ToiEREEE(Without Sensor) - HE — g
®20 m ?Eﬁ
g
35 2
&
KE(PN) A2 (Model) &8 (Sensor) HMELA(F) =R (Weight) 3
8.Y00345 GR20F-20 = 80N 128g §



B3y | A

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

KOFEEGR20Z%! Sprue Gripper GR20 Series

GR20G-20
FoiEREEE(Without Sensor)

GR20G-20-CN(CP)

[REBIU MR N T SRS,

B AAHARIIRTS.

The four screws on the bottom

are loose for ventilate conveniently
when they leaving the factory

GX-F8A-P (PNP)
GX-F8A (NPN)

FRER MR AT S EES
IR AMREIIRTS.

The four screws on the bottom

are loose for ventilate conveniently
when they leaving the factory

33

@20

33

38

24

30

H52xM

2xM5

118

30
)
e

118

2xM5

@20
HE RS (With Sensor)
55(PN) ES(Model) {&Rk2&(Sensor) HMEX A3 (F) EE(Weight)
8.Y00433 GR20G-20 - 80N 131.1g
8.Y00472 GR20G-20-CP PNP 80N 153.7¢g
8.Y00473 GR20G-20-CN NPN 80N 153.7g




KOFZEGR20Z%%] Sprue Gripper GR20 Series

37

: : Bz
e NEW oo 25 72
- 12 ~ S
ot & ] 0-24 i@é
-4 - o ol =g
\ - A ‘
fo] =
' (-]
IS O (L)) B E 23
Steel jaw & iﬁ §
R MR R T EES pad g
H R AHAERES. o 7 5
The four ch‘rews on the bottom E{ /)TZ":
are loose for ventilate conveniently ] g
when they leaving the factory © [te} g. ~
- z5
N ©
I £ G1/ o
HE o
GR20H-20 @20 2
Fot&mEs(Without Sensor) - g
35 tg:
%2
B3
I EHE R
Steel jaw He
49
— IR 25 0-24
Steel probe
5z
° Bz
o O gijﬁg
™
o g
la) ° 7
GX-F8A-P (PNP) é.-@)\
GX-F8A (NPN) g
17 E <
A BN TS EES ©p =2
SR ATRES. e
The four screws on the bottom 'Er 5._1'."' ZL.F z
are loose for ventilate conveniently o b= '2) o
when they leaving the factory 8 2 §. g'
— - .
e
GR20H-20-CN(CP) L3 |5
TH{EREE(With Sensor) »20 |M17*1| .
35 e
o
£S(PN) A S(Model) {ER%EE(Sensor) HMENAI(F) E=E(Weight) <
8.Y00422 ¢H#IHE)  GR20H-20 - 80N 193.1g 3
8.Y00424 n#H)  GR20H-20-CP PNP 80N 220.5g §
8.Y00423 @Ml#HE)  GR20H-20-CN NPN 80N 220.59 3



MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

KOFZEGR20Z%! Sprue Gripper GR20 Series

sjuauodw o) A10ssa20Y

37
25
P 12 0-24
.". —
- i Of O
[ - IS e) @)
g =) —~
SIS (L)) e
Steel jaw | |
FEEBI MR AT S EES ¢/@ s
T RPAMEIIRES. =7 e
The four chlrews on the bottom E{ //%-‘_'::
are loose for ventilate conveniently ® g
when they leaving the factory el mg_ &
. =5
— T
Ire G1/
HE
GR201-20 ©20
T R%E&(Without Sensor) |M17*1
35
HWHIH O
Steel jaw
ENEW 8 | .
J | SRRk
Steel probe 25 0-24
- - o 8 o
N \ 3 g
b _!L..—_ N o
GX-F8A-P (PNP) fﬁ'\§
GX-F8A (NPN) W ®
‘_' , 17
v 724
R MR T RS =y ey
TR AMREIRES. ] =]
The four screws on the bottom 8 o g
are loose for ventilate convenientl w < T
when they leaving the factory ’ - E % N
GR20I-20-CN(CP) el |
H{EREE(With Sensor) ®20 |M17*1|
35
£E(PN) 2 (Model) {ER%88(Sensor) MESI(F) HE(Weight)
8.Y00450 ¢msl#HE)  GR20I-20 - 80N 191.69
8.Y00470 ¢msiti)  GR20I-20-CP PNP 80N 219.19g
8.Y00471 ¢m#isH)  GR20I-20-CN NPN 80N 219.1g




KOFEGRA20Z%I Sprue Gripper GRA20 Series

 EEEGREFFS (-NO),

1 Filnd
- S
2. AREEMRIYERRENREN. 0
3. REM S BT, ne
2
4. TTERORE S g
GRA20A
1. Double acting or spring open (-NO).
2. Very high gripping force related to the weight and dimensions.
3. Different options for fastening. 2 %?
4. Optional magnetic sensors. N 4 I%%
SMBU9-M10 - g
e
23
2
%2
B3
HE
e
GRA20A GRA20A-CN(CP) GRA20C-CN(CP) ?
FAC kR BiZe kR
(Without Sensor) (With Sensor) (With Sensor)
5z
Wz
s
712
£25(PN) S (Model) f&=%=5(Sensor) HMEXF3(F) EE(Weight)
5= 8.Y00391 GRA20A - 80N 1109
5= 8.Y00392 GRA20A-CP PNP 80N 115¢g
+#>=8.Y00393 GRA20A-CN NPN 80N 115¢g Hs
¥ 8.Y00434 GRA20C-CP PNP 80N 135¢g zs2
+#>=8.Y00435 GRA20C-CN NPN 80N 135¢g 3
s
M2
3
S
A
o
3
E



B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

SHimE

JaddiN 11y

RS
3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

KOFEGRA20&% Sprue Gripper GRA20 Series

38 25

30 12

: A@
0
[32]
® o % BRI
e} Ventilation connection
i M5 (x2
Sl ol _2xm5 o
Q -2
30 5
45
45
GRA20A
ToAEREEE(Without Sensor) =)
w
N

(5]
\_2xM5

44.50

31

27

<.

84
Q—=
o=y
=" |
(IE=R_kp

D-M9P (PNP)
D-M9N (NPN) I \%?t’iffonconnection
3 M5 | MS5(x2
[+] ol _—
o} &
30 5
45
GRA20A-CN(CP) A7.50
HHE SR (With Sensor) 5
&
8
\ 2xM5
£85(PN) #S(Model) f&R2&(Sensor) HE A3 (F) BEE(Weight)
8.Y00391 GRA20A - 80N 1109
8.Y00392 GRA20A-CP PNP 80N 115g
8.Y00393 GRA20A-CN NPN 80N 115g




KOFZEGRA20Z%] Sprue Gripper GRA20 Series

1HEEE.§L F 44

30

B3y | FhE

99qnL SNS - 31404d

D-M9P (PNP)

D-M9N (NPN) Pl

Ventilation connection

M5 (x2)

S o

3|NPOA SIUdIS

2xM5

8
44.50
[+]
()
o ®

30
45

S SR

J9bueyd oD

GRA20C-CN(CP) 48
HEREE(With Sensor) 1

25

ey
a|npo\ diug

£35S (PN) B S5(Model) fERk25(Sensor) MERAI(F) E&(Weight)
8.Y00434 GRA20C-CP PNP 80N 1359
8.Y00435 GRA20C-CN NPN 80N 1359

ham 2 20301

JaddiN 11y

RS HL

3|NPON wnNndep

~
F=

syusuodwo?) A10ss8d0y



MRS |, X

2qnL SNS . 3|!40id

HEE S A

SESE
3INPOIN S3U3S

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

sjuauodw o) A10ssa20Y

KO EGRT20%&%! Sprue Gripper GRT20 Series

L ARERBERTE  EERNME , FHiK,
BRI AR IR N R ARFICRGEB TR,

2.

- GREFIKARATERER RIS | BES MK ORIKEL.

Using threaded components or CRG's components when to assemble.

o

=

V-Y/

y
y
I‘ME,‘)

GRT20A
T Rias

(Without Sensor)

GRT20A-CN(CP)
T ERES
(With Sensor)

5S(PN) El5(Model) SSFFK(Switch type) HERAI(F) EE(Weight)
8.Y00257 GRT20A = 100N 111g
8.Y00258 GRT20A-CN NPN 100N 130g
8.Y00259 GRT20A-CP PNP 100N 1309
8.Y00279 GRT20B - 100N 162.8¢g
8.Y00281 GRT20B-CN NPN 100N 158.4g
8.Y00282 GRT20B-CP PNP 100N 158.4g
8.Y00316 GRT20C - 100N 1449
8.Y00317 GRT20D - 100N 160g
8.Y00318 GRT20E - 100N 161g
8.Y00339 GRT20E-CN NPN 100N 165g
8.Y00340 GRT20E-CP PNP 100N 165g

{
_,J
/

GRT20B
FleRias

(Without Sensor)

GRT20C

T Rkes
(Without Sensor)

| /£
o

iy

I
y

N y
f ‘l’;"
f

GRT20B-CN(CP) GRT20D
e ks

(With Sensor)

Foi&kas
(Without Sensor)

3
1. Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle.
2.
3

GRT20E
T RiaR

. GR series of sprue gripper can choose different types of jaws to satisfy the clamping of various sprue gate.

(Without Sensor)

GRT20E-CN(CP)
T ERES
(With Sensor)




KO EGRT20Z%!I Sprue Gripper GRT20 Series

> - wy
22.50 o

' ' 7=
— . @

e

=4

fy

o

o

¢}

130
HEE e o
3|NPOA SIUdIS

- "
i {
-

41

S SR

J9bueyd oD

GRT20A 18

) G1/8 M17*1.0 U 220 U
ToAEREEE(Without Sensor)

10

43 25
12

ey
a|npo\ diug

|
5=
&
Jaddin J1y

GX-F8A-P (PNP)
GX-F8A (NPN) @)

‘ &

42

130

-

41

FsHbm
3|NPON wnNndep

w
18

GRT20A-CN(CP) ° e1e_| mi71.0 " 920 |
HERBE(With Sensor)

B &
#Fg
=
&S (PN) A5 (Model) fE/Ea8(Sensor) EA(F) EE) g
8.Y00257 GRT20A - 100N 111g 3
8.Y00258 GRT20A-CN NPN 100N 130g 3
8.Y00259 GRT20A-CP PNP 100N 1309 @




B3y | A

aqnL SNS . 3|1404d

HEE S A 0t

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

KOFEGRT20Z%!I Sprue Gripper GRT20 Series

GRT20B
(&S (Without Sensor)

GX-F8A-P (PNP)
GX-F8A (NPN)

30

2150_,

42

130

41

©
ol

41

. 10,6

G1/8

130

GRT20B-CN(CP) M17*1.0 18

FERES(With Sensor) ®2Q
EES(PN) 5 (Model) & Rkag(Sensor) HMENSI(F) EE(Weight)
8.Y00279 GRT20B - 100N 162.8g
8.Y00281 GRT20B-CN NPN 100N 158.4g
8.Y00282 GRT20B-CP PNP 100N 158.4g




KOFZEGRT20Z%! Sprue Gripper GRT20 Series

D
=
12 .o
e
= &7
g
©
H2
i
\ﬁﬁ- ﬂ- Tﬁ?
S8 | \171.0 020 | }ﬁ%
GRT20C §
TotERkE8(Without Sensor) g
55(PN) ES(Model) {&RE5(Sensor) HMEXS3(F) E&Z(Weight) *Q
Bo
8.Y00316 GRT20C - 100N 1449 zﬂ\g
2
zs z
Silicone
o
‘ e 5z
' e 5@{2’
S 1 5
e @ ﬂ m 738
; BT ; A g |
™y | |0
] = \_/
y BEs
s J 3 §§
' Y 283
4 i’ =
2 g
© C18 | 17710
GRT20D
FoAEREE(Without Sensor) ?gﬁ
5S(PN) ES(Model) {ER%28(Sensor) BN A3 (F) E8(Weight) E,
8.Y00317 GRT20D - 100N 160g 2
o



B3y | A

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

KOFZEGRT20%&%! Sprue Gripper GRT20 Series

GRT20E
TiERES_(Without Sensor)

GX-F8A-P (PNP)
GX-F8A (NPN)

41

10 4

[}
.

41

G1/8

N

® 6 ol

=

(=

®M17*1.0 ®20
GRT20E-CN(CP)
HEREE(With Sensor)
BE(PN) FIE(Model) {&Rk=&(Sensor) HMER(F) HE(Weight)
8.Y00318 GRT20E - 100N 161g
8.Y00339 GRT20E-CN NPN 100N 1659
8.Y00340 GRT20E-CP PNP 100N 1659




KOFEGRP32&%] Sprue Gripper GR32 Series

HETET AR,

Standard jaws with teeth, Double action function.

B
STEHRACRGIEH{LEOAT /BN RS, Fully compatible with CRG's modular EOAT/gripper system. M
MER202K, 20mm shaft diameter. >
4 we
=K Requirements: g9
TVYESE 6 baro Working air pressure 6 bar. %
EELRTFIRES Requires filtered dry air.
<%
EF
1 2
2
1l
i R
= }ﬁ F:’r
. . 4 o
2
GRP32A GRP32B GRP32A-30 GRP32B-30 xQ
T2 T2 Tl Ri2s TAERIE B3
(Without Sensor) (Without Sensor) (Without Sensor) (Without Sensor) %CEF 9
52
z
BT
7’3}?
8l o
Vs |
- ' - E 5
- g-ég
H3
(RS
GRP32A-CN(CP) GRP32B-CN(CP) GRP32A-30CN(CP) GRP32B-30CN(CP) §
bl el el RS
(With Sensor) (With Sensor) (With Sensor) (With Sensor)
M2
RS (PN) BE(Model) {£R%88(Sensor) Zik=wal(2) EE(Weight) {L'Fg
8.Y00278 GRP32A - 200N 604g S
-8 Y00462 GRP32A-CP PNP 200N 658¢g o
= 8¥00463 GRP32A-CN NPN 200N 6589 3
8.Y00388 GRP32B - 200N 608g %
= 8.Y00466 GRP32B-CP PNP 200N 662.4g #
w8 Y00467 GRP32B-CN NPN 200N 662.49
8.Y00315 GRP32A-30 = 200N 12769
-8 Y00464 GRP32A-30CP PNP 200N 13309
28 Y00465 GRP32A-30CN NPN 200N 13309
8.Y00387 GRP32B-30 - 200N 12829
u>=8.Y00399 GRP32B-30CP PNP 200N 13369
w8 Y00411 GRP32B-30CN NPN 200N 13369




MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

KOFEEGRP32%7%

Sprue Gripper GR32 Series

HETVET, WAERTRE.

FTERBCRGAIRIRICEOAT/SRENR AR,

IHER20Z=K,
Bk

TESJE6 bar.
FELRTESS

GRP32C
FAEREER
(Without Sensor)

GRP32C-30
TotERkER
(Without Sensor)

Standard jaws with teeth, Double action function.

Fully compatible with CRG's modular EOAT/gripper system.
20mm shaft diameter.

Requirements:

Working air pressure 6 bar.
Requires filtered dry air.

GRP32A-3020
TRk
(Without Sensor)

GRP32A-3020CN(CP)
HERES
(With Sensor)

oy
L‘: f I

GRP32B-3020
FACREER
(Without Sensor)

GRP32B-3020CN(CP)

HIERER
(With Sensor)

GRP32C-3020
FoteRkeg
(Without Sensor)

£S(PN) HS(Model) & R%8&(Sensor) A&7(F) =&(Weight)
w8 Y00468 GRP32A-3020 - 200N 1600g
w5 8. Y00469 GRP32A-3020CP PNP 200N 1654g
w8 Y00477 GRP32A-3020CN NPN 200N 16549
s 8.Y00478 GRP32B-3020 - 200N 1604g
= 8.Y00416 GRP32B-3020CP PNP 200N 16589
w>=-8.Y00417 GRP32B-3020CN NPN 200N 1658¢g
= 8Y00412 GRP32C - 200N 614g
= 8Y00415 GRP32C-30 - 200N 12869
w= 8.Y00418 GRP32C-3020 - 200N 1610g




KOFZEGRP32Z% Sprue Gripper GR32 Series

D
JEEN 34 ZE
— e
\
g
A ams [ o
3 || HH < %
4 7 zZa
|| 25
=1} — L | =
Helical tooth ® O | 2XG18 3| < Zﬁg
O
» g
«—— IERERO25. 930 Eg
Bl E#RICEES0, 100, 150 2
GRP32A %
FoiERE8(Without Sensor) ®25 o
*Q
B<
=R
45 Ho
19 34 ﬁ'%
- XIX/I
mial ams o Y s>
3 || MH < 3 E
Eehe]
L 4 4 Jle
X ol 2xG1/8 } 3
O N
O Bs
z=2
g ZE
B iz
<+ A[ERER025. 930 2
A E#RIKES0, 100, 150 >
GRP32A-CN(CP) 025
HIEREE(With Sensor)
S
e
£S(PN) 25(Model) t&@kgE(Sensor) HE(F) EE(Weight) 3
8.Y00278 GRP32A - 200N 6049 ]
8.Y00462 GRP32A-CP PNP 200N 658¢g 3
8.Y00463 GRP32A-CN NPN 200N 658¢g ‘3



MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

KOFZEGRP32Z% Sprue Gripper GR32 Series
45
19, 34
T 13— (\D
HH= axms_[{ O
3 '=: < 3
HEE - I
Diamond tooth o 2xG1/8 <
8 o 13
|
O
® o
S
<«— I EfERR025. 930
A E#RIKES0, 100, 150
GRP32B @25
FoiEREE(Without Sensor)
_ 45
ﬂ]ﬁm JETN 3
] 1
GX-F8A-P (PNP) O HF avs L o}
GX-F8A (NPN) 3 | | <
_:_ < |
o e 2xG1/8 3 -
@]
) g
<«—— OEEERO25. 330
AIE#AES0, 100, 150
?25
GRP32B-CN(CP)
HIEREE(With Sensor)
£52(PN) B E(Model) fER%E8(Sensor) Zi=pal(3) EE(Weight)
8.Y00388 GRP32B - 200N 608g
8.Y00466 GRP32B-CP PNP 200N 662.49
8.Y00467 GRP32B-CN NPN 200N 62249




KOFEGRP32Z%I Sprue Gripper GR32 Series

44.50 it
44.50 45 M=
e
g4
3 g
oMol
7 3
L o 8 exms
3 ¥
BHE ) 4 %’é;
Helical tooth Er: 5G18 T . éH§
[3p) c
4xG1/8 q &
(o]
o O
S TmREREO2S. 030 g 7o
A E K ES0, 100, 150 o
GRP32A-30 @25 ®25 -
&S (Without Sensor)
%
E-E
HE
e
) 45_, i
3
o ok
('\\ _ 3z
° ) 6xMs 53
3 78
< &
3 4xG1/8 °
4xG1/8 5
=
- [ ?Eg
6 (e] ZH 3
L o =z
L] e o
«— A ERER025, J30 <
AIE#RKES0. 100, 150
GRP32A-30CN(CP) o2 o2 .
HIERREE(With Sensor) #ﬁ
3
£ES(PN) #S(Model) f&RkE&(Sensor) BN AI(F) BHE(Weight) E
8.Y00315 GRP32A-30 - 200N 12769 3
8.Y00464 GRP32A-30CP PNP 200N 13309 %
8.Y00465 GRP32A-30CN NPN 200N 1330g =



B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

KOFEGRP32%7%

Sprue Gripper GR32 Series

44.50

44.50 45,
3
(el
N A ewms
: °
1
-
I 3 3
h Diamond tooth ) 4xG1/8 % [
l / 4xG1/8 5
o]
. 8
<« O ERERO25, 930 =
AE#RKES0, 100, 150
@25
GRP32B-30 025
FEREE(Without Sensor)
45
. 3
0|
P ) 6xM5
| . T -
| 3 4xG1/8 ¢ o
| ‘ ! 4xG1/8 5
o
67
1 g
<« JE#HERDO25, 030
AIEHREES0, 100, 150
@25 25
GRP32B-30CN(CP)
HERLEE(With Sensor)
5E(PN) EIS(Model) & R%E&(Sensor) HMELAI(F) =E(Weight)
8.Y00387 GRP32B-30 - 200N 12829
8.Y00399 GRP32B-30CP PNP 200N 13369
8.Y00411 GRP32B-30CN NPN 200N 13369



KOFEGRP32Z%I Sprue Gripper GR32 Series

I
44.50 %%
| 44.50 45 -2
- 28
iy S
I AN = g
o CYaAY)
0 Lo L& exvs
O <t
o i %%
e 6xG1/8 538
FHA = 3 ;é;;
Helical tooth o o iﬁ§
< - g
3 >
3
6xG1/8 b
- 67 = RO
67 B
|<—EE}5&E@®25N @30 §
| AIE#RIES0,. 100, 150 @
P25 ®25
GRP32A-3020
ToiEREE(Without Sensor) éé’
\E
He
44.5( ®
44.50 45
i =
BY
O] ";Qﬁ—q_ 3]38
o b o & 6xM5
Of <t
&) b A
6xG1/8 0 <
| _ — © b o N
mar ¢ 6xG1/8
3 B
3 zs2
\ - 4H 3
i » ¢ =
LI n n :
! 67 67 0| °
< O E#EERR025, 030 8
I A EH#RKES0, 100, 150
| 1 B2
3
GRP32A-3020CN(CP) 925 @25 §
HERE8(With Sensor) ?;
3
el
5 (PN) 2 S(Model) fERkE(Sensor) HEH(F) EE(Weight)
8.Y00468 GRP32A-3020 - 200N 1600g =
8.Y00469 GRP32A-3020CP PNP 200N 16549
8.Y00477 GRP32A-3020CN NPN 200N 16549



B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

KOFEEGRP32Z7%

Sprue Gripper GR32 Series

44.50

44.5( 45
[:
J A =
il g | =3 &) x5
Xi
0 (l o g
= o b
6xG1/8 O] <
1 Diamond tooth . b ©
ﬁi ¥ 3 ol
<t
{I:' (o] Q
Ay oxG18 [
0
«— TEIRERO25, 930 &7 67 .
B EHKES0, 100, 150 2
@25 @25 a
GRP32B-3020
FoiEREE(Without Sensor)
44.50
EE ' - 44.5( 45
[:
I 3
e Jar- -
O] Lo ] 6xM5
N 3
= o b
6xG1/8 O] S
- ° > o
(s2]
| < - 6xG1/8
P 8
<
I Q
| > ¢
Ll i I
67 67
<— JE#ERD25. 030
AIEREKES0, 100, 150
GRP32B-3020CN(CP) ©25 @25
HEREES(With Sensor)
£E(PN) B E2(Model) {ER%88(Sensor) Zir=wal(3)] EE(Weight)
8.Y00478 GRP32B-3020 - 200N 16049
8.Y00416 GRP32B-3020CP PNP 200N 1658¢g
8.Y00417 GRP32B-3020CN NPN 200N 1658¢g



KOFEGRP32Z%| Sprue Gripper GR32 Series

#

|
—
=

HH a5 £ )
3 H H 3
|| <a
. o 2xG1/8 } = <
[sel o S
@]
. g
+«—— OERERJ25. 330
ATE#RKES0, 100, 150
GRP32C ®25
FoiEREE(Without Sensor)
44.50
44.50 45
AN -
e e
4 N
<. QA eus
&
]
< &
Y 4xG1/8 « b ©
[s2]
4xG1/8 (- N~
©
- = 67 67 o)
8
®
+—— OJEIRERD25. 330
AIERKES0, 100, 150 L
@25 ®25
GRP32C-30
FoAEREEE(With Sensor)
EES(PN) B E(Model) f&=%85(Sensor) AEH(F) EE(Weight)
8.Y00412 GRP32C - 200N 6149
8.Y00415 GRP32C-30 - 200N 12869

B3y | FhE

99qnL SNS - 31404d

S o

3|NPOA SIUdIS

S SR

J9bueyd oD

ey
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wnNndep

~
F=

syusuodwo?) A10ss8d0y




B3y | A

aqnL SNS . 3|1404d

HEE S A 0t

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

KOFEGRP32Z%| Sprue Gripper GR32 Series

Ll.:".t'

<« I EERET25, 030
AJE < ES0, 100, 150

GRP32C-3020

FoiERLEE(Without Sensor)

££S(PN)
8.Y00418

S (Model)
GRP32C-3020

{&R%E5(Sensor)

44.50

431

6xG1/8

67

@25

A& H(F)
200N

44.5Q

381

45
<
[te]
YY)
©
¢ o <y 6xM5
<
X “
<t
P @ m‘
<
©
[
6xG1/8
67 Q
o
e
®25

EE(Weight)
1610g



ZiF @ Rochu Gripper Introduction

EMFMNZATHEZRE, RHE2RFERWMYKRHNEE, WYEHTEEME.

REREBERANMERIR. M. MBRERESHER, TEREMMOMENG R, MREBFM, HEUEMEER, FSBRGBEM

MENER, HFREXRENBENESN, MAERSHERY, —MEE, EEFEAMKNYE, BRERMEERKA,

F i F TUER T VB ARG MAMSETER, RAMAE T TUHBANEATR.

Flexible soft grippers uses the principle of bionics to imitate the action of Octopus tentacle wrapping the captured object, so as to grasp
the objectin a wrapping way.

Traditional fixture often can't provide a successful grasping scheme because of the limitations of object shape, material, grasping
requirements and so on. Flexible soft grippers, made of flexible materials, will not damage the object to be caught. At the same time, due
to its centimeter level adaptive ability, it has high versatility. One claw is omnipotent, suitable for different shapes of objects, and users do

not need to replace the fixture frequently. Flexible soft grippers fills the gap of the End-Of-Arm-Tooling, and greatly expands the

application of industrial robot.

=N{ERIE/ Working principle

FEMFMRAS|BEDRA, BEEHETHR, KAREFE/REKANTASEHE, MMEIMREMESIMENE,
EEETERERREFFNORENERASHE, SUYFEMERIREME, R EEREY

Flexible soft grippers adopt pneumatic drive technology, through positive and negative pressure transform to achieve fingers opening
and closing movement. Then realize flexible gripping or outrigger action. The gripper grab strength is adjusted by air pressure. Then

achieve flexible gripping of different objects while avoiding damage objects.

SESIREN=E

Rochu Control Unit

Bz 1 BE EFE

vacuum Pressure Positive pressure

AR

Release

Beak

m& LN SKFF
Grab Release Open
f FaERSELATRENER2IEENEER, IHERTRESNTRENTIERNRE,; ERNENER
RITEE, MRIEFmERSFHSRENE, maEASE SR~ mIlsEi8E TR,
The working pressure must be kept within a safe range, overload may cause irreversible damage of the finger. It is

recommended to use our "Rochu control unit" to ensure the life time and stability of the soft finger and beak.Please

refer to the product page or packaging mark for the air pressure of the product.

B3y | FhE

99qnL SNS - 31404d

S o

3|NPOA SIUdIS

S SR

J9bueyd oD

ey
a|npo\ diug

P 12 S0
Jaddin J1y

RS HL

3|NPON wnNndep

-
=
[

syusuodwo?) A10ss8d0y




it
o
M2 #rzmRTAETHe. 3CBT. AR, EY. R BUSSHTL, EEFIARTLR. 5% RESSHIWRES b
%) N - - — — N , R NN
fé@g VRTENEEZNEHTETL. *2tts. BRAMEY. REBHEAE , R THIMRMNESREERLHSMTEERNZR,
i
§ The grasping action of flexible fingers is inspired by the tentacles of octopus, which can wrap the captured object in a soft way, without damaging the
object or leaving scratches on the surface of the object. And widely used in auto parts, 3C electronics, food, medical, clothing, daily chemical and other
industries. The flexible gripper can be used in assembly, sorting, handling and other industrial occasions, and can also be used in new retail industries
such as vending machines. It has the advantages of high safety, good versatility, simple and convenient installation, and makes up for the vacancy that
7% r;.l? the mechanical clamping claw and vacuum cup can not be applied in some occasions.
K2
12
s

c

g =
Rl 3CHRF
Food 3C-electronics

o P e ey 2 s
s BREMHZLTE  BIETFDA ERTREBR AN ENSREER

o mRENIRE , TEZEMEY &, RS FNFEREMS. B

3 CE; S a= .

g AZ  ARERTRR. AR BiR, M. BREEIANEA
V= = = yg e N TN o
fli@:ﬁ?uns MElGm. mERERSE %S . ARETE.
PaE NN

Sekn)
ég Food safe materials. FDAand EC-1935 Itis used for high-precision plug
gﬁ‘g certification.Used for pick and place of and pull of small electronic parts.
,ﬁ:g— fruits, dough, candies, pastry and Assembling,sorting, testing and
o vegetables. packaging of ceramic and plastic
parts in mobile phone, PCBs,
silicon wafers, optic glasses.
%? ﬂt B\ 12 «, z
- = 2 « — =
2= BRE=E=mE#l SESEMY
355 o o =
ik Clothing fabric Automobile
EATFEHRFIRAE R 5 EHTE BFSEET. €BREMH. 5+
2% EREEL , 53 EHMERES 4N MRS E. e, £, B
np BEEHEnsE t—2 , e AT HEATMME., SR
=0 . = =5
=t B B ERIE, EFRK,
ZH 3
ﬁ:g It's suitable for layer grabbing or Used for sorting, transporting,loading and

g multi-layer grabbing of knitted and unloading of automobile lamps, metal

® woven fabrics at the same time. When special-shaped parts and appearance
layer grabbing, only the top layer of parts, especially suitable for small batch
stacked materials can be grabbed, and multi batch flexible production.

B = and itcan also be used for stacking and
[a]
s g handling of stacked pieces.

o

<

3

: BEAMAY =97 Fn

E =)L 7 Hon

® . . o o

Z Smart picking Medical Supplies

&R /Application

FMFENMBERERETEANMMN , SERRANBERIMEE , ELMEMMEA R R 2R AR A REE TR,

ET AT ERERARRE BEMEL.
ALUBTEFESE  ERFRT
AR D ESREE.

BTERE. 18  TBRFE
FTFREMROIMEL , AT AR,
KA, SERTET RN
& HBEFELR.

Smart picking based on artificial

intelligence technology. It can be used
for sorting and logistics packaging
under disorderly stacking and complex

scenes.

Itis used for grasping medical consu-
mables such as infusion tube, test tube
and ampoule bottle, as well as bottled
and bagged reagents, including the
production and disinfection of medical
devices.



FIEER Finger Module
V5&7% FigHEHR / Series-GFM-V5

z2
7=
N (]
Lm =)
Lf g'_
o
@EHS-AVS
@1%LPN-166
QFRMFIEF-AST/LSL Hf -
@REREBTN-03 Hm e 7]3‘2 o
=]
23
1 e ws R | BUE oo | e | Fame | meke | Feke | akes | Fees | =ET(ESE (Kpal | = =z
Series PN Model HR [mm] Hm [mm]| Hm [mm]| Hf [mm]| Lmmm] | Lfimm] | Wm (mm] | Wf[mm] [g] gﬂg_
4.Y00500 GFM-A3V5 16.5 8 G %
4.Y00501 GFM-A4V5 27 10 12 17 102 55 83
4.Y00502 GFM-A5V5 43.5 19 16 24.5 116 69 90
AR 58 28 31 24 120 300
4.¥10951 GFM-A6V5 72 33 22 39 130 83 97
4.Y10952 GFM-A7V5 90 39 27 51 144 97 104 o
4.Y10953 GFM-A8V5 109 45 32 64 158 111 111 }ﬁ%
4.Y00503 GFM-B3V5 19 10 6 9 71 31 44 a5
>0
4.Y00504 GFM-B4V5 29 13 10 16 82 41.5 48 o
Q
o 4.Y00505 GFM-B5V5 40 16 14 24 51 21 92 52 25 15 52 126 | 266 ®
= 4.¥Y10954 GFM-B6V5 53 23 17 30 103  62.5 56
4.¥Y10955 GFM-B7V5 75 30 21 45 113 73 60
4.¥10956 GFM-B8V5 98 37 25 61 124 835 64 *Q
o
4.Y00506 GFM-C3V5 10.5 5 1 5.5 53 21 28 %g
4.Y00507 GFM-C4V5 20 9 3 11 60 28 28 hé_
4.Y00508 GFM-C5V5 27 12 8 15 o a4 67 35 15 i3 29 126 | 226 o
4.Y10957 GFM-C6V5 42 20 10 22 74 42 30
4.Y10958 GFM-C7V5 63 29 13 34 81 49 31
4.Y10959 GFM-C8V5 80 38 16 42 88 56 32
= . .
ZMFIE Flexible Finger s>
ivaidtb/Model comparlson Eﬂjﬁé
3 72T
J]2
A C®:
Series-A Series-C
=
H3
=
2
B c
Series-B L 5
| B &
i'—" : Hmax |~ Hmin Hf {L'F o
1] ® 100 \ZD Mﬂ 160 180 ZBB ZZI] §
= e | suE Hmax mm] | zmeme | s K BiKE 188 BE ?@I“EQEIKPHJ <
es PN Model HR[mm] Hmin [mm] | Hf [mm] Lf [mm] L [mm] Wf [mm] [g] Q
1.Y08421 16.5 _g
1.Y08422 A4 27 10 12 17 55 83 40 2
3
1.Y0842 A5 41815 19 16 24.5 69 97 47 3
08423 28 24 120 300 @
1.Y12918 A6 72 33 22 39 83 111 55
1.Y12919 A7 90 39 27 51 97 125 62
1.Y12920 A8 109 45 32 64 111 139 69
1.Y08424 B3 19 10 6 9 31 52 11
1.Y08425 B4 29 13 10 16 42 62 16
oo 1.Y08426 B5S 40 16 14 24 51 52 73 18 20 120 260
= 1.Y12921 B6 53 23 17 30 63 83 24
1.Y12922 B7 75 30 21 45 73 94 28
1.Y12923 B8 98 37 25 61 84 104 32
1.Y08427 c3 10.5 5 1 5.5 21 34 4
1.Y08428 c4 20 9 3 11 28 41 5
1.Y08429 cs 27 12 8 15 W4 35 48 12 6 120 220
1.Y12924 cé 42 20 10 22 42 55 7
1.Y12925 c7 63 29 13 34 49 62 7 158
1.Y12926 cs 80 38 16 42 56 69 8




MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

)

T S
a|npo\ diig

JaddiN 11y

SHimE

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

ZIZEH Roro Beak Suit

GBS-4B-S01 4XE{ GBS-4B-S01 4 pieces Beak Suit

@ PN-141

E%g VENT1011-M5

PN-66

RIAE
VENT1011-M5
Assembling Suit
VFENT1011-M5

— RIx
i B-4B
Roro Beak
B-4B

T

ZRIMEIMEFRE

3 Pieces Application: Gripping
jewelry by external bracing

|

L 7)

ZRIMEINENE B
3 Pieces Application: Gripping
ring by external bracing

Pk BB F 7=
4 Pieces Application: Gripping
products in Electronic industry

BS BRARE B LB RSB E
(Model) (Maximum Load) (Maximum Working Frequency) (Precision Range)
4.Y00509 GBS-2B-S01 59 200 times/min 0.1 mm
4.Y00510 GBS-3B-S01 59 200 times/min 0.1 mm
4.Y00511 GBS-4B-S01 59 200 times/min 0.1 mm
Z0x Roro Beak
FRFR , KECEE 1-5mm, ERTH4ER. R4
2 pieces Roro Beak Gripping Range: 1-5mm, Application: fibrous,
striped small objects
2 % B-2B s
Roro Beak B-2B 1
=== 18 0}1@18
25 (PN) 1.Y08430
#E(Model) B-2B X 8 =

=RFE , KEGEE 7-12mm, ERTIMEEMERREIR /N
3 pieces Roro Beak Gripping Range: 7-12mm, Application: gripping
small rings by external bracing

2 1% B-3B

Roro Beak B-3B

S (PN) 1.Y08431

7= (Model) B-3B

PR , KEGBE 1-5mm, ERTHF. TRANNMIY , BRERE
4 pieces Roro Beak Gripping Range: 1-5mm, Application: spherical,
irregular small objects, the best universality

% 15 B-4B ' N
Roro Beak B-4B 18 @}1&8
| i
S (PN) 1.Y08432 /
=5 (Model) B-4B 37




B L% Slide Mounting Platte

GSMP-Z [ Z&%/GSMP- Multidirection

PR

BRAERES AFRRRR

AT FEERIFM]S E=EEERIFCM] BRI
FHEERFMINZZAEVETERET

Features

« Different styles according to shape and slot length

« Can be used for assembly between finger module [FM] and flange connection

module [FCM]

« The installation angle and position of finger module [FM] can be adjusted freely

GSMP-2S GSMP-3S GSMP-4S

GSMP-2L GSMP-3L GSMP-4L

77 Bs BS (E S ]S R EE
Series PN Model A [mm] B [mm] E [mm] [mm]
20 10 4.2 8

7.Y01028 GSMP-2S

7.Y01029 GSMP-2L 45 10 4.2
7.Y01030 GSMP-3S 15 10 4.2
7.Y01031 GSMP-3L 50 10 4.2
7.Y01032 GSMP-4S 22 10 4.2
7.Y01033 GSMP-4L 67 10 4.2
7.Y01034 GSMP-5S 23 10 4.2
ham[
7.Y01035 GSMP-5L 78 10 4.2

8

10

10

10

10

10

10

GSMP-5S

GSMP-5L

EEHSREE Dn[mm]
Dnmin~Dnmax

40~69

40~119

58~82

58~152

72~104

72~194

91'~112

91~222

V2,VAFIERR | V3 VSFEER

10~37

10~87

28~50

28~120

41~72

41~162

53~80

53~109

BE
[9]
18.9

25.4

42.4

B3y | FhE

agnL SNS . 3]1401d

HEE A

S|NPOA SIUdIS

S SR

J9bueyd oD

e upill)y
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wnNndep

~
=

syusuodwo?) A10ss8d0y




iPCU 2 =5IK#N28/ Integrated Passive Control Unit

* ZEBIZTMRMEMEFR. KRN, B8R, TRIE.

BT o HENAATHEHSEEE , £EIFARIEEIE B FIEIKE.
M2 o FaliEmtiEE.
i = o —(MUEIREMRME SRIFRE.
=) - - - = . s A
g * WMEFH (W) MEM/OBFES ) MipEHEN , BESHIME , PLCEIR.
T« RERERRIUSHFE  SHRESR.
o IPSARBSREIFER , Bikind: , BRSMES IR  HEERIIREDE <2, BE  THAVREF  FREIEECEREIAL.
b2 @ e Compact special controller for flexible soft grippers . Small size, light weight, easy installation.
?EE e With three adjustable output pressure range, it fully supports the drive from soft beak to enhanced finger.
g§§ e Manual knob pressure regulation.
s e Theintegrated panel integrates digital display and operation button.
e With manual (button) and automatic (I/ O level signal) two control modes, equipped with a variety of mechanical arm, PLC terminal.
e Equipped with mounting block and industrial rail slot, a variety of installation methods.
e [P54 electrical protection grade, waterproof and dustproof, suitable for all kinds of bad working conditions, with intelligent alarm
Eg function, safe and stable, no need to worry about misoperation, the product has passed the EU CE safety certification.
a
3
a
o]
%2
B
/=
a8 THER
% Working positive Pressure
THEEERT
THTESE 141 Working positive pressure regulation
Real Time Working Pressure
g z SiEO ®10mm
z ey i
BT BE%RO r Air Supply ®10mm
ﬁ'g Port
. TI{E0 ®10mm
Working ikl
Power 24VDC 10W
= c E
z=2
ZE
1¢§
=
o
I{’E%%&/Work Parameter
‘3 R B R e
5‘1‘:5 Parameter Range Parameter Range
g 72 H E/Rated Voltage 24 VDC + 10% HNESHATE/ Fuselage Shell ABS
0
g EMETNER/Rated power 12W R~f/Size 207x132x141 mm
o
% BIANSIR/InputAirSource  0.45~1.00 Mpa, i#&E>200 L/min %8 /Net Weight 2.0 kg
e -90~60kPa ({4 ) Ep/life span 5000 7R
BmHSE an -
: -90~120kPa (1 a. FahigsH
Output Air Pressure ( ) =4 75=/Control mode
-90~300kPa (51 ) b. I/OB¥ES
BERZELR/ Protection Grade Ip54 T {E#EE/Work Mode FE(ESIRE
- P e P E P P ppe
Model PN Manual voltage | Electronicvoltage | Wireless remote | Wireless Attitude | Speed adjustment | Safety air pressure " "
regulation regulator feedback [L/m | n] [L/m | n]
tERS  iPCU2-SMN  1.Y12927 ° EhE] 200 40



423728 Buffer Support

R~ (mm) / Dimensions (mm)

T
ZE
c o
e
[[ o s g
E
ob 24
(il 2
Hg
™ 5
H
T

£RE(PN) H#S(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) H(mm) S(mm) E&E(Weight) ko
8.Y00241 GSR1421-08 8 14 15 12.5 40 36.75 97.75 21 369 }ﬁi
8.Y00373 GSR1436-10 10 14 20 15 60 455 139 36.5 549 al
8.Y00329 GSR2026-10 10 20 20 15 50 45.5 121.5 26 749 é
8.Y00243 GSR2026-12 12 20 20 15 50 45.5 121.5 26 739 =

8.Y00330 GSR2051-10 10 20 20 15 84 45.5 180.5 51 1119
8.Y00331 GSR2051-12 12 20 20 15 84 45.5 180.5 51 1109 o
B
By
He
C o

[ o

=x
3
BY
% ik
— . | Hs
f'fé
£RE(PN) #IE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) H(mm) I(mm) J(mm) S(mm) E&E(Weight) ﬁé
8.Y00242 GSRT1421-08 8 M14 15 12.5 40 36.75 97.75 29 2.7 21 439 §
8.Y00332 GSRT2026-10 10 M20 20 15 50 45.5 121.5 39 3.9 26 92¢g 0

8.Y00244 GSRT2026-12 12 M20 20 15 50 45.5 121.5 39 3.9 26 91g

8.Y00333 GSRT2051-10 10 M20 20 15 84 45.5 180.5 39 3.9 51 1299
8.Y00334 GSRT2051-12 12 M20 20 15 84 45.5 180.5 39 3.9 51 128¢g "
(az

i=FAsLf5 / Application example

syusuodwo?) A10ss8d0y

GR12-12-CN

GRSOSC4H

ol

T
g

GSR2026-12 GSRT1421-08




#2758 Buffer Support

R~ (mm) / Dimensions (mm)

MRS |, X

2qnL SNS . 3|!40id

HEE S A

S
3|NPOIA SIUdIS

Jebueyd }dINd

T S
a|npo\ diig

SHimE

JaddiN 1y

FrisHHm

3|NPOIN wnndep

sjuauodw o) A10ssa20Y

| e —

%)
O
i
[
‘= ALl / Application example %D Al -
J
(e) Q
|
o @)
B
GFR14-95G
- T
g;- = Il <
Lf:';i H
5 M————GSP-2014 % I
IJ - 4
| oF
e

£5S(PN) ES(Model) A 17718S EE(Weight)
8.Y00238 GSP20-14 14 31 20 20 30 10 13 25 77.5 28 15 579
8.Y00239 GSP20-20 20 33 23 20 30 10 13 25 77.5 28 15 659




EEEIE8 Mould Positioner

R~ (mm) / Dimensions (mm)

%%’
E ; \(_?\'
e
¥ A %E
.'._g N ln-‘___\____‘_‘_.‘ O 1 g
O
=
A B n
= Xg
§ xz
*Eg
e
BS(PN) B E(Model) A B D) E F € H I J K RABEND  EE(Weight) g
w=8Y00408 GMP14A 38 14 M12*1 - 12 5 4 @14 @11 M5 90N 629
8.Y00088 GMP20A 46 25 M17*1 19 18 10 9 @20 @155 G1/8 190N 789
8.Y00089 GMP30A 75 38 M27*1 28 27 11 10 @30 @255 G1/8 280N 303g
Hhe
— s
| o
'“ | P I 1 é
i | c *
aMPp308 GMP14B X2
H5(PN) EE(Model) A B C D  f&Ei(Precision)  E&(Weight) %5
w>=7Y00968 GMP14B 15 M43k - 15.5h7 +0.015 469 e
7.Y00726  GMP20B 33 M6 (M 532k 10 26h7 +0.015 87¢ °
7.Y00789 GMP30B  43.5 M8 (M6 11 40h7 +0.015 2649
_ - L
o o a2
A\ T J < G 7 % gjgg
| 72T
i3 — 2k
v ]
- oz ] 1
£35S (PN) Z{E(Model) L EE&(Weight)
7.Y00894 GLU20A 35 26 5 ©19.92 @20 550 850 21 M8 @12 @820 @il 61g =
D-U.UZ éﬁg
-0.05 AA {L.Fg
o = :
o 7. 3
3 )
i a — !
= : B %
e
E(PN) EE(Model) A B C D E F G H Z=8(Weight) S
7.Y00895 GLU20B 26 5 ©1992 @20 M8 @11 1550  10.50 429 §
el
o
=L / Application example g

GMHS3-25D

GMP20B

GMP20A
SMBY20-100



. K

MESS
aqnL sns . alyoid

HEE S A

3|Npo 51Ua1S

SR

J9bueyd }oINd

ks

a|npo\ diig

i

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-_3
=
e

sjuauodw o) A10ssa20Y

R185E1H Finger Gripper Options

18 [0 ;
i 22(PN) 7.Y00786 7.Y00787 _ 7.Y00788
#IS(Model) GS-14 GS-20 GS-30
— A(mm) @14 @20 @30
B(mm) 18 24 34
C(mm) 30 37 47
D(mm) 8 8 8
E(mm) 2 2 2
BEE(Weight) 149 179 25g
A 1%EAYHL{ERREE Optional Magnetic Sensors
e ™
D-M9P - M9PV
r- _|_ i’ et 1o e
I % Dark brown
|
EEE |
% |
I

-

£S5 (PN) A= (Model)
1.Y00296 D-M9PV
1.Y02964 D-M9PVL

circuit

sensor

ouT
#Black

|

1

1

1

1

| A
| Main
1

1

1

1

|

+O DC(-)
% Blue

L(mm)
E450.5m/0.5m cable
BE473.0m/3m cable




S&15T*E (GNZEKZ%) Pneumatic Needle Gripper(Series GN)

30 136.50

25 12 |-
= 718S
-

- BT
'ﬁ =6 :
r ‘/: -\"'-. - i ¢ ‘ . *4’
:‘ -

50
45

- 22 s
g o
]
9
| N &
RS
L | ,i@ (002400
GN2010 - | Ly
45t
30
45 34 140.5 ,
1 8I
r 1718S
stroke s

50

160

110

GN2010-8
85t |
20
o Zo ]
33.50

ZRTERETUNEHHEN , BITBTMG. SRSWARNEBHEIEN,
WEHREHKERRT , BULURES P EREH RN KE.

Being used for embedding and taking out nonwoven fabric, net cloth and sponge.The length of the steel
needle can be not only adjustable, butalso customized according to the requirements of the customer.

£E(PN) 8.Y00025 8.Y00347

AS5(Model) GN2010 GN2010-8
R Bk R/ REEERES

Medium Filtered, lubricated / non lubricated compressed air
EnEH 3 ~ 8bar

Pressure range

=Y

BEEE -10° ~ 70 °C.

Temperature range

6 barEH FHTFEEE S 90N

Opening total gripping force at 6 bar

SHR(TTES 0~ 10 mm

Needle stroke s

P

ﬁ%ﬁﬁ,ﬁﬁi _ 35cm3

Cycle air consumption

HE

Weight 2749 317¢g

B3y | FhE

99qnL SNS - 31404d

S o

3|NPOA SIUdIS

S SR

J9bueyd oD

ey
a|npo\ diug

P v £
Jaddin J1y

RS HL

3|NPON wnNndep

~
F=

syusuodwo?) A10ss8d0y




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

SHimE

JaddiN 11y

RS
3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

S&15T¥E (GNEZ%) Pneumatic Needle Gripper(Series GN)

GN2010-S21
4%t

@20

ZRTAETUNEHHEN , BATBTMG. SRSWARNEBEEIEA,
WHPEHKERRT , BULURESFEREH RN KE.

Being used for embedding and taking out nonwoven fabric, net cloth and sponge.The length of the steel
needle can be not only adjustable, butalso customized according to the requirements of the customer.

55(PN) 8.Y00341 8.Y00440

ES5(Model) GN2010-S51 GN2010-S21
NE SR, HEE / KRR ERES

Medium Filtered, lubricated / non lubricated compressed air
ENDEE 3 ~ 8 bar

Pressure range

B Ry

RESEE -10° ~ 70 °C.

Temperature range

6 barEN T™TFF BN 90N

Opening total gripping force at 6 bar

SHR(TIES 0~ 10 mm

Needle stroke s

A= SEER _ 35cm3

Cycle air consumption

=R

Weight 240g 220g

30
12, 1365
i718S
stroke s
3 \
= o .
2 _ )
( .I. -
L L - 1 A
P
e FLREL QH1Tx)) f0F
!
51
' 2
o N
| 2,
GN2010-S51
<A ]
4%t
. % 136.5
— ‘«\/Q{Tﬁ&
B N
¢ - o 0
: Gf - /-\"": © 2\ L o
- 1 g
3 ATRE (ML7xD) B9
]
3
g gl




5% K28 Bulging Device

1] = — S 1 ©
BSERHE Gl
. =
Model representation methods GBD D °
7
HEFTE 5
Actuation direction
D-@AT
bEZK.RT_'I' D - Downward -
asic size N, R z
= — TR I, u-mE 2t
- Middle through hole U -Upward se
Body Diameter iﬁ§
= - —a
- ! AFEREL, "
y ] 15 B2 B &R 5 BT B RE AR R 6l B
FERIEIM18 E| 31 mmARE,
SRR
'H&‘EJ
Downward movement, or Upward movement. }ﬁ%
The elastic part can be in Silicone or Rubber. z
Grip diameters from 18 to 31 mm. n§
Several mounting accessories. -
%2
B3
HE
e
KN
HESHBE— I hRITF. AIREERETS BTSN HE
wEHENSRHES,
5>
Through hole for fastening @5
BY
The ...H models have a central through hole. It can be used to blow 3]38
compressed air, or to provide vacuum, with the purpose to cool a
part, or to check the leakage.
BE#RBX Silicone rubber .
N N N “H3
BRI BIER D R IS B PR IR IR BB BB IR AR (RS
ERRUTRERSEETE  MRRKNERED. s
ERRGEElERGRETIFIEYE  BRETER, ®
TEREH B BIR ER B TR R 2 B 10075 K.
The elastic part can be in blue Silicone, or transparent silicone. T
Silicone can be used over a wider temperature range and assures a longer life time. ﬂFﬁ
= AN B IS The elastic partin Silicone is available as a spare part and can be replaced,when worn out. a
Spare elastic part The expected medium life time of the elastic partin Silicone is about 1 million cycles. i
o
S1 2
IEEFERA HRE(Spec.) 018 222 @
Bluesilicone #E(Model) 18-51 22-51
N ~ £E(PN) 4.Y00470 4.Y00471
o h FIE(Model) 18-S2 22-S2
1=
EORRERE 52=(PN) 2;32262 4.Y00473
Transparent & fk28(Bulging device GBD22HU
silicone (Bulging ) GBD18HD
\ — - BRI R B (R R (S ~ 60°C)
Silicon o e omers T - Operating temperature of the elastic part (5~60°C for the gripper body)



MRS |, X

2qnL SNS . 3|!40id

HEE S A

9|NPOJIA SIUd1S

SR

Jebueyd }dINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

5% fk88 Bulging Device

®D

G N M5
1 1
= = s
= =t [T ¢
X @C S
A by = <
8 T v E @C S
=1 UE J |
[ N = i
;ﬂ || ] |
. (o]
i ' _IEZ \ 1
- |~ a2 1S v ° 28 |
oA oA
GBD...HU GBD...U
S (PN) #S(Model) A OB @C @D F G H I J K L Y/ \} (0] S T E=E
8.Y00212 GBD18U 18 24 18 14 55 M12x1 90.5 22 8.5 31.5 185 21.5 13 10 16 7 39.7g
8.Y00058 GBD22HU 24 315 213 14 5.5 M12x1 92 14 13 34.8 22 26.7 137 9 19 8 53.8g
G _;tr:ﬂ
= Y — w
= S : HIIIH N
l@l_"_
5 N p
N,
| 5 4l 4
z
?A
GBD...HD
85 (PN) FE(Model) QA OB @C @D OE F (€] H I L M NO P R STV zZ EE
8.Y00057 GBD18HD 19.5 25 18 14 2.5 5.5 M12x1 70.5 14 16.5 19.5 12 9 M5 M3 16 6 5.3 M5 27.49g

iZFsEH / Application example
- :
GBD22HU - "

\7SCF3-40M12 y 5
*— SMBE2-1450

PEP2525

GBD22HU

SEA-1414L80




BRI (GFK%]) One Finger Angular Pneumatic Grippers (Series GF)

- . . gg?
- B—Eh{E, - Single acting. 2
- REWIR, + Built-in magnetic ring .o

7
3
GFA...-35
£S(PN) 8.Y00117 8.Y00118 8.Y00119 o
HE(Model) GFA14-35 GFA20-35 GFA30-35 Bag
P& BitiE  ERR/ RERRERES s
Medium Filtered,lubricated / non lubricated compressed air =a
IS fAH g
Gripper body Aluminium
EIEE 2.5 ~ 8 bar
Pressure range
mESBE 10 ~ 70 ° O
Temperature range A Eg
772 350 a
Stroke 5
iﬁ%ﬂ @10 mm @16 mm @25 mm L‘.i';
Piston bore
6 barkE) ALK 26 Nem 100 Ncm 430 Nem
Closing torque at 6 bar o
ERESHER : : ) B3
Cycle air consumption 0.4cm 1.24cm 4.56 cm £§§
58 e
Weight 25¢g 65¢g 2069 5
A EHIR
Built-in magnetic ring B Gl Gl
5° Sz
e &z
BU T
72T
712

4/—.:- \
b @
\L by
e Nzz %?
2PN .Y00117 Y0011 Y0011 - 2
15( ) 8.Y0O 8.Y00118 8.Y00119 = —|-| H‘—'—D—'—ﬁ—() =t
BE(Model) GFA14-35 GFA20-35 GFA30-35 e
A 14 20 30 2
B 14 20.5 30 <
C 10.5 9 12
D 49.5 76.5 111 T
E 5.5 8 11 .
F 13.5 20.2 30.5 A
G 4.5 6 8 0 )
H 74 106 153 <
I @14 @20 @30 D1 S
J 12 17 27 3
K M5 M5 G1/8 g
M M12x1 M17x1 M27x1 L1l [ ] 7
L
M
s{_
J




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FHEHbm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

Enikis (GFRSY)

One Finger Angular Pneumatic Grippers (Series GF)

- B—a{E.
- REWIA,

»Single acting.
* Built-in magnetic ring

GFR...-95

8.Y00042
GFR14-95
14

5S(PN)
#E(Model)

IS (Model)
NR

Medium
kEK

Gripper body
ESEE
Pressure range
RESBE
Temperature range
1772

Stroke

e R

Piston bore

6 barEA FRIXEHHE
Closing torque at 6 bar

BAES[IEEE 3

Cycle air consumption =

GFR14-95

210 mm

19 Ncm

=B

Weight 259
R E#IR 5
Built-in magnetic ring

&ZiE

Remark

8.Y00311 8.Y00095
GFR20-95E GFR30-95
20 30

12
10.5

17.5 25
9 12

49.5
5.5

76.5 111
8 11

14
2

20 29
2.5 4

72
014

103 148
@20 @30

12
M5

17 27
M5 G1/8

IR —|—= IO mm O N = >

M12x1

M17x1 M27x1

S, HBE / REBEEREES
Filtered,lubricated / non lubricated compressed air

GFR20-95E

tREIA

Aluminium

2.5 ~ 8 bar
-10 ~ 70 °C.
95°
@16 mm
70 Ncm
3.52cm’
60g
=)

£1£8.Y00041

HS(PN) 8.Y00042 8.Y00311 8.Y00095

GFR30-95

@25 mm
300 Ncm

12.9cm’

193¢

o]

<

3
.




Bnfifkig (GF&RS)

One Finger Angular Pneumatic Grippers (Series GF)

o BA—ZH{E, - Single acting.
- WERIR, « Built-in magnetic ring
AE(Model) GFR14-95G GFR20-95EG GFR30-95G
GER...-95G &R Bl , HiBE / REBREERTS
Medium Filtered,lubricated / non lubricated compressed air
eLIS KRR fRHAY
Q) Gripper body Aluminium
POM ® ﬁ % -
Fioel:) 2.5~ 8 bar
© Pressure range :
9
Q R in
fgm@ -10 ~ 70 °C.
emperature range
F oL .
Stroke %
%.%?L @10 mm @16 mm @25 mm
' Piston bore
6 barfE RIS 19 Nem 70 Nem 300 Nem
Closing torque at 6 bar
‘fﬁﬁﬁﬁﬁé . lem® 3.52em’ 12.9 cm’
ycle air consumption
HE
Weight 369 879 3009
RN E#IR
Built-in magnetic ring Gl ] B
#ix .
Remark #1%8.Y00083
Silicone
AE(Model) SIL-14G SIL-20G SIL-30G
. ERTR i GFR20-95EG i
Applicable Products (il sk GFR20-95LG GFR20-95SG G
|: A
RE(PN) 8.Y00084 8.Y00312 8.Y00096 \z
A2 (Model) GFR14-95G GFR20-95EG GFR30-95G ! H 0| °
A 14 20 30 ‘l _2) G 3]
B 12 17.5 25 JUS— | | |
C 10.5 9 12 [ [® [ 0]
D 49.5 76.5 111
E 5.5 8 11 T
F 14 20 29 0
G 2 2.5 4
H 72 103 148
I d14 @20 @30
J 12 17 27 E o [== =
K M5 M5 G1/8 L -
L 2.5 2.5 3 -
M M12x1 M17x1 M27x1
N 11 15 20 R Y
O 32 46 63
P 19 25 37 o .
Q 14 20 30
R 19 27.5 40

B3y | FhE

99qnL SNS - 31404d

S o

3|NPOA SIUdIS

S SR

J9bueyd oD

ey
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wnNndep

~
F=

syusuodwo?) A10ss8d0y




BRNIkIE (GF&%I) One Finger Angular Pneumatic Grippers (Series GF)

ficiny
o
ZE  B—afE, - Single acting.
P - REWIR, * Built-in magnetic ring
& G
B |
g
GFR...-95L
] F=2(Model) GFR20-95L
B NE Biie , IBRR / ROBRERES
H o Medium Filtered,lubricated / non lubricated compressed air
oy KRR FEEIAY
Gripper body Aluminium
EhEHE 2.5 ~ 8 bar
Pressure range
, RESEE 1070
Eg ' Temperature range LS vRS
3 172 95°
5 ﬂ@g Stroke
S EETL
A hoﬁi?o Piston bore @16 mm
=N 0 6 barEH FHIXITHE
0 F - _El Closing torque at 6 bar Y INIED
B< — BRESEER 352 e
%ggz,_ Cycle air consumption < cm
= =B
® [—/ Weight 8149
ME#IR =
:I Built-in magnetic ring
g2
iz
S
7]% —D
7y 7}
£S(PN) 8.Y00309 8 8
A= (Model) GFR20-95L o
BS A 20 TR
=2 B 40
#H3 C 9
= 4
§ D 76.5
) E 8 I O
F 42.5
G 25 G
H 125.5 T
it >
e 1 20
2 J 17
< K M5 a}
e M M17x1
g
D1 | %H
v L v

.’,\
A
h 4

00 7y
(o o) v




Brikis (GFE&SY)

One Finger Angular Pneumatic Grippers (Series GF)

- BA—ZfE, - Single acting.
« REWIR, « Built-in magnetic ring
GFR...-95LG

Silicone

PTTS
Nar

b

FE(Model)
R

Medium
KB

Gripper body
ESEE
Pressure range
REEE
Temperature range
718

Stroke

AL

Piston bore

6 bar/E/ FRIXFHE
Closing torque at 6 bar

BEAESIEEE

Cycle air consumption

E=h
Weight

N B/

Built-in magnetic ring

A5 (Model)

EREm
Applicable Products

HS(PN) 8.Y00310

#5(Model)

GFR20-95LG
20

40
9

76.5
8

42.5
2.5

125.5
@20

17
M5

2.5
M17x1

15
68.5

25
20

O 90O ZIZ2 |R—|—wITOmmO|ln >

50

GFR20-95LG

aHIE

Aluminium

2.5 ~ 8 bar
-10 ~ 70 °C.
95°
@16 mm
70 Ncm
3.52cm’

104.8¢g

=)

SIL-20G

B, ERE / REEEEREES

Filtered,lubricated / non lubricated compressed air

GFR20-95EG GFR20-95LG GFR20-95SG

55(PN) 8.Y00310

HS(PN) 4.Y00485

L A
[® @ 5
] ‘\ < ® @
w 1]
T==~o
v
e | llo
— — G A
Cf 1] ) L [T 16 0
[a)]
-ﬂ- 2 w]j 4 A 4
M
4
e . A
< R >
< Q >

B3y | FhE

99qnL SNS - 31404d

S o

3|NPOA SIUdIS

S SR

J9bueyd oD

ey
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wnNndep

~
F=

syusuodwo?) A10ss8d0y




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|npo 51Ua1S

SR

J9bueyd }oINd

il
a|npo\ diig

SHimE

JaddiN 11y

FHEHbm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

Bzikis (GFRSY)

One Finger Angular Pneumatic Grippers (Series GF)

- B—fE.
« WEWIR,

»Single acting.

* Built-in magnetic ring

GFR...-95S

ES(PN)
#5(Model)

R

Medium

KEK

Gripper body
ESEE

Pressure range
RESEE
Temperature range
718

Stroke

EZETL

Piston bore

6 barE/ FHIXIFHE
Closing torque at 6 bar
BR=SHER

Cycle air consumption
HE

Weight

PE#IR

Built-in magnetic ring

5S(PN)
A5 (Model)

8.Y00335
GFR20-95S
20

17.5
9

111.5
8

20
2.3

138
@20

17
M5

S r|x —|—= IO "mOIlNn o>

41
M17x1

GFR20-95S

B, EEE / REREERETS

8.Y00335

Filtered,lubricated / non lubricated compressed air

tREIR

Aluminiu

m

2.5 ~ 8 bar

-10 ~ 70 °C.

95°
@16 mm
70 Ncm
3.52cm’

89g

=)

A

QO
©l©),

A A




Bnikis (GFRSY)

One Finger Angular Pneumatic Grippers (Series GF)

- B—fE.
« WEWIR,

- Single acting.
* Built-in magnetic ring

GFR...-955G RS(PN)

o e

F=(Model)

R

Medium

KEK

Gripper body
ESEE

Pressure range
BEBE
Temperature range
1758

Stroke

EZETL

Piston bore

6 barE/ TFHIXIFTHE
Closing torque at 6 bar

O :I BEARES[IHFER

Cycle air consumption

BB
Weight

HE#IR

Built-in magnetic ring
ES(PN)
#E(Model)

ERm
Applicable Products

5S(PN)
#ES(Model)

8.Y00336
GFR20-95SG
20

17.5
9

111.5
8

20
2.3

138
@20

17
M5

41
M17x1

15
46

25
20

=4 20O 9O ZIZE|R—|—wIGmMmMmIN = N>

27.5
2.5

8.Y00336

GFR20-95SG
B, HRE / REBEEREES

Filtered,lubricated / non lubricated compressed air

tREIR

Aluminium

2.5 ~ 8 bar
-10 ~ 70 °C.
95°
@16 mm
70 Ncm
3.52 cm’

1039

=)

4.Y00485

SIL-20G

GFR20-95EG GFR20-95LG GFR20-95SG

B3y | FhE

99qnL SNS - 31404d

S o

3|NPOA SIUdIS

S SR

J9bueyd oD

ey
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wnNndep

~
F=

syusuodwo?) A10ss8d0y




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|npo 51Ua1S

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

RIg1%EM Finger Gripper Options

£55(PN) 7.YO0778 7.Y00779
S (Model) GP1-20 GP1-30
A(mm) @20 @30

B(mm) 30 45

C(mm) 37 65

D(mm) 21 32

E(mm) 33 44

F(mm) 15 20
E&E(Weight) 20g 60g

£35S (PN) 7.Y00780 7.YO0781 7.Y00782
S (Model) GP2-14 GP2-20 GP2-30
A(mm) 214 @20 @30
B(mm) 24 35 45
C(mm) 19 25 35
D(mm) 12 25 25
E(mm) 11 16 21
F(mm) 6 13 13
G(mm) 3.5 5 5.5
EE(Weight) 59 l4g 23g

RE(PN) 7.YO0783 7.YO0700 7.Y00908 7.Y00785
#S(Model) GP3-14 GP3-20 GP3-20L GP3-30
A(mm) @14 @20 @20 @30
B(mm) 19 25 25 37
C(mm) 19 27.5 50 40
D(mm) 32 46 68.5 63
E(mm) 14 20 20 30
F(mm) 11 15 15 20
H(mm) 8.5 11.5 115 14.1
G(mm) 6 9 9 10
E&(Weight) 6g 12g 19.89 309
Silicone  Silicone Silicone POM
£55(PN) 7.YO0786 7.Y00787 7.YO0788
#lS(Model) GS-14 GS-20 GS-30
A(mm) @14 @20 @30
B(mm) 18 24 34
C(mm) 30 37 47
D(mm) 8 8 8
E(mm) 2 2 2
E&=(Weight) 14g 17g 259

(

GP3-20L

o

- [el

@l

e

I

EATFSMCRFIBMEFF X,
I3 : D-DIBV,D-M9B




EATNIAIE (GOZ%) OneFinger Angular Pneumatic Grippers (Series GO)

D
ﬂ[:i':h--. M%
M2
28 3
xZ
s
F 12
. 5
- g g ray ra 3
[ Q R
[ o
ol ™ <
N
:r;&g
! = = s
= = 9
IM'|7”1.0I M5#S0 §
@20 el
GOF20-20-VMQ GOF20-20-NBR N
Y
A=
V7 ®7.80 H3
J© & e
N o o
O O
50
52
5RE(PN) FIE(Model) EE(Weight) fit & iRHeat resistance (in °C) g}g%
8.Y00396 GOF20-20-NBR 57.49 -20to 80 %§
8.Y00395 GOF20-20-VMQ 57.49 -40to 160 ©
28
ﬂ[ﬂfﬁ-_. .
283
: ﬁ=§
g ﬁ ray ra
o
~
S B %
& =
) * 5
~ [a)
o
M17*1.0 M5S0 -g
T T
320 ]
= ”e
GOP20-20-VMQ GOP20-20-NBR N
N
32
S (PN) EIE(Model) EE&(Weight) fit = EHeat resistance (in °C)
8.Y00398 GOP20-20-NBR 509 -20to 80
8.Y00397 GOP20-20-VMQ 509 -40to 160




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

SR

J9bueyd }oINd

T S
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

AEAIRL(ERLEE Optional Magnetic Sensors

WM ERER (AR ) BEEE LN RN HERENE, B, FREERSREN T BB KB HF2RIAHIS T

BERIEMIERIAE.
AT RRE RS

The operating position is detected by magnetic proximity sensors

(optional) through a magnet placed on the piston.
The use of magnetic proximity sensors is to be avoided in the vicinity of large masses of ferromagnetic material

orintense magnetic fields as this may cause detection problems.
The sensors that can be used are:

S O DC(+)
: | N 1 %X Dark brown
| |
| |Emss !
TR out
: Main, : EBlack
| sensor 1
| |
I +O DC()
—————————————— - 15 Blue
~
D-M9P - M9PV
r——=-=-=-- I;l ______
———+0O DC(+)
: | N : %% Dark brown
|
— U |xmes ,
D-M9PV | | :
D-M9B ! |cireui ' ouT
sensor
- — - : : = Black
S | |
+O DC(-)
® I" ————————————— % W5 Blue
.
D-M9B - M9BV
r-r——T==-=-"="===-== 1
1 lo OUT(+)
1 | : 2 Dark brown
|
N ESE !
| |
o= PEOOM 100293 PR L
= e T
25 (Mode!) JIEEY || Sensor !
| |
[ +O OUT(-)
—————————————— = #&Blue
£S(PN) BEI=(Model) FrAKE L(mm)
1.Y00310 D-M9B NPN E450.5m/0.5m cable
1.Y00307 D-M9BL B453.0m/3m cable
1.Y02565 D-M9BV NPN E8450.5m/0.5m cable
1.Y03843 D-M9BVL E3453.0m/3m cable
1.Y00311 D-M9N NPN F3450.5m/0.5m cable
1.Y00295 D-MI9NL B453.0m/3m cable
1.Y00298 D-M9NV NPN E3450.5m/0.5m cable
1.Y03598 D-M9NVL E453.0m/3m cable
1.Y00309 D-M9P PNP E3450.5m/0.5m cable
1.Y02301 D-M9PL E453.0m/3m cable
1.Y00296 D-M9PV PNP E450.5m/0.5m cable
1.Y02964 D-M9PVL E453.0m/3m cable




Min Z#3ZE Min Posture Gripper

+ 90° jigk%, +90° rotation. o
« B—afifF, +Single-acting. %J@,
B EHEESMESAHRE, « Lifting by compressed air, spring reset. 15
« SN, - Several mounting accessories. %Mé
« BIIERORLIE RRRR, + Optional magnetic sensors. g
g
= L - =
|
15 2
A5
RO
23
2
2
*Q
H3
ag
25 (Model) GFN20-90 GFN30-90 g
MR iR, EEE / KB REEREES
Medium Filtered,lubricated / non lubricated compressed air
EIEE 2 ~ 8 bar 2 ~8 bar
Pressure range .
f""z’alﬂ -10 ~ 70 °C. -10 ~ 70 °C. %;’
emperature range S
LA 90° 90° 738
Tiltangle
6 barEANTHIEEEHE
Lift torque at 6 bar L0 el 300 Ncm
BHE
Weight 659 2109
=
#H3
o R H 2 2(PN) 8.Y00094 8.Y00116 fiz
| #E(Model) GFN20-90 GN30-90 g
- ol Q) A 020 @30 ®
B 20 25
A @ 20 25
o " D 35.5 46 iz
! Q 5 E 54.6 81.5 {L'Fa
z F 14 19 8
G 8 11 o
H 17 M27*1 3
o S
| ©=0 I 30.5 37 E
T oo ) 20 30 2
| ® Q] K 28.5 40
N L 4.5 5.5
D, M B M 8 10
P I N 14.74 18.5
0O 83.34 119
o J P 185 25
Q 7.6 11
R M5 M5
|
v ® s 3.25 3




RO RSEE
Air Nippers For Resin Gate ..

XEHREWNSHET] |, AT REEBERNROTEIRES
VESSELAMRHEFRIER | LB ESHEK.

-

These are high-class air nippers that can be
gate cutting equipment and standby jigs for
speedy cutting of resin pre ts. VESSEL ha
selection of items to __.-r"" ariety of needs
around-the-clocks@PEra high cutting gREGIS|

VESSEL/S
VESSEL CO, INC,




Solutio

BEIEROME~ R
Cutting direct gate
molded
components

B SR B AR M
Gate cut for multiple
impression molded
components

Y, IMEY, ST L
Cut, grab, crimp and punch.

=M
Taking products from
ajewelry tree

&

ERRES. i, SRS,
LRAE. ESAOFRO.
BRIERED.

Cuts large diameter sprues such
as garment cases, helmets, pipe
joint parts, trash cans, planters.
Superb durability in long term use.

BiNER  SHREEPTR
Gate cutting for lenses,
LGP, and transparent
products

EHRE. BE, HEREEE 2
FREAEREMNGIRE L, 8883
BRI R PL A A R R A,

Compact, lightweight body and
with a large selection of blade
items, easy mounting on chuck
board and standby jig. Achieves
efficient cuts matching cycle
time.

HEYIAE  AREETR
Pre-form cutting
for food and drug
cases

IR, mtEReRE. BRI
MR ARITISLAKRRIRS TR,

Cutting of precious metals for
rings, necklaces etc. Superb
durability and increased
efficiency with powerful nipper
blades.

SUYJIEE F T AR BR AR
Cutting electronic
components and
around boards

\J

)

>

PrIEBStiROAME , i, A, X
FIAESHEEI#EITE. TILiE
ESEEERERS  XISEE
BIIRIR.

Various heated nippers prevent
cracks and whitening, the decisive
factor is the heating temperature of
the blades and cutting speed.
Supports demands for improved
flexibility and high precision cutting.

IR RETAEN , REEFHER
FIBSIREE | IRFt - MERE.

Improved efficiency in pre-forming,
nippers attached to flat finish
pre-form molding machine. Cut
precision is linked to product
quality.

ETFHNEERENERKREI%
KIBFEFIIRS. BEREZETE
ALEE A EHEATEEY,

Optimal handy nippers for cutting
lead lines after soldering to
significantly reduce wrist strain.
Substrate is attached to the
desktop robot:--.

B3y | FhE

99qnL SNS - 31404d

S o

3|NPOA SIUdIS

S SR

J9bueyd oD

ey
a|npo\ diug

P v £
Jaddin J1y

RS HL

3|NPON wnNndep

~
F=

syusuodwo?) A10ss8d0y




5 A i

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

SHimE

JaddiN 11y

RS
3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

SIS & SR
Wire cutting with
coil winding machine

S RET EHEAGEIMT AT
£ SEHTAREHITRAIMEL.

Attach to the nipper unit of
automatic coil winding machine
for power transformers, fan
motors and ignition. Cutting thick
diameter wires that cannot be
torn off.

FAF a5 Rk A SR B9 FF 7L
Die cutter for aluminum
products and plastic
components

—<o

e

FEREMIISk |, TR AT R EESR
FERAIFF L.
By support for separate blades,

allows punching and form cutting
of aluminum sash and thin plates.

BRI AFEH TR
Hand tools for
dismantling in
recycling plants

AN AR BIRE. 8EK
M. EBIRAL. PKFEFNEARNEF R T
I HiDEIRTES , HETIRGE.
HE] AT IRBRE BRI B .
Cuts a variety of wires, copper tubing

and steel bands in recycling plants

such as PCs and OA equipment,

pachinko machines, TVs, and

refrigerators. washing machines, etc.
Nippers for the purpose of pulling out

the pachinko machine pins.

FIFIREE RSP REOFFFL , L
Punching of blow
molded products,
punching slotted holes

=

<

B RTEF T FHhTTEH T, i
LITFRE=R , ERE~m.

Punching blow molded products,
punching slotted holes, for
containers that cannot be
punched and automobile ducts,
etc.

BTFimFrgE . B2

Crimping task for
solderless terminals

BTERR , BFrm, RPRES
FFEIRER LR FED, FEF
EIFRES.

For crimping terminals with various
wiring harnesses such as for
switchboards, electrical products
and lighting equipment. Less strain
on fingers and wrists.

Increased work efficiency for stop
rings for auto parts.

Btz A
Other applications

\

IS, FLIEIZFETIEIR
4, BRETHE | SLOAEMRER
iR, BFNEFFE , BKEBRE
B, SRV SEINTILE.
Micro-edge air scissors that can cut
various hard-to-cut fibers, carbon,

aramid fibers, and soft plastic sheets.
Nippers for cutting belt loops of jeans,

peeling recycled golf balls, cutting
edges with textile machinery, etc.



Yo
S#EdskiEsEs Selection method for air nipper %%
MBI BENFROHE ;e
materials —— % i
T NEL (RERLE/HV3208U T ) . RESES
MR EL R WEE (REZKH  B2E)
L (e, e, noss) xa
E 5z A AR | SEFRRFRFIRIERNE I
(e, Wa. I, EEY, FHUNF) g
What is the "cutting target (workpiece)"? °
Metal wire —— Steel wire
——— Copper wire
Volded ol — ;’iaf?olwi:fe ((n::, he:é Pr:sces:’t;i/H\;ﬁsl :r b:;o:é)c, )precious metals etc. e
olded plastic oft plastic (PP, PE, PS. . . . =
P L Hardpplastic (PPS, PA, PBT, LCP, ABS, POM, PC, GFetc.) }ﬁg
Other applications Check materials, applications and work. Y
(Bending, caulking, punching, robotic hand, and scissors.) %
RI®&E PRI R I B S A? How big is the "size of the cut portion"? %9
Check o [ B (mmanm) (REBERARES) it
dimensions E (Omm) e
BE —————————— mE (mmxmm) [REREREER S °
HAhR AR | SERRRFRFIRIERS.
Metal An X
—— Rogrl]z(na)mmme) [select model by cross-section area]
Plastic ————————— Angle (mmX mm) [select model by cross-section area] 5
Other applications Check materials, applications and work. g’;g
E
= "TRRPRS/ARE" RERERT ?
Usage What is the "state/environment of the work"?
RFBamtEE
RFFHE =
REFRBELER &% =2
Used mounted on automated machinery and robots. A3
Used for manual work. i §
Used mounted on ajig. And so forth 5
RS BESENES,
Select model Choose a model suitable for the purpose. {ng
BREERDAMER IS SHE AR , FREIME , RY , RIREIEERTIL. g
TDAGKRTILNER  BESE  B2ERENERAIE =
BN IET S B A IS E
RIBEIIFRMR | MRORRE | FRERT8ETTERT I, s
Choose based on "usage and cut dimensions" for the main unit, and "material and dimensions/shape" for the blades. z

Refer to "product specifications” for the main unit/blade characteristics/usage, respectively. Also when
selecting the machine, refer to "capability selection chart".
The shape/material of the workpiece may not be compatible with standard products.



B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

SHimE

JaddiN 11y

RS
3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

B useeziss Capability selection chart
s Cutting material YIEI# &R i J—
Bt - A % - = e ERMNA B5E
Types cj@%r ﬂﬁgﬂztii (%;Efi\z,vﬁm ikt Soft Plastic | #E ﬁkﬁ’ﬁ Application model | Airpressure
Wire 1%&?&!1\«!3&?‘1) (H\llgz)(zr belﬁl) (Diiim?ier) (Cm;;Section ) PIastic terminals (MPa)
1.0mm 0.5mm 0.2mm 2.0mm 3.1mm NS2,N3,NS3,NR3 0.4~0.5
N 1.0 0.5 0.3 2.0 3.1 N5,NS5,NR5 0.4~0.5
A 1.6 1.0 0.5 3.0 7.0 2.0mm N7,NS7,NR7 0.4~0.5
S 1.8 1.2 0.5 4.0 12.5 2.6 N10,NST10L,NR10L 0.4~0.5
N. 2.3 1.7 0.6 4.5 15.8 4.0 N12 0.4~0.5
NR 2.6 2.0 1.0 7.0 38.4 5.0 N20,NS20,NR2 0 0.5~0.6
3.3 2.8 1.2 10.0 78.5 6.5 1.25/2.0 N30,NS30,NR3 0 0.5~0.6
5.5 4.5 2.0 12.0 113.0 6.5 N50,NR50 0.5~0.6
e 2.6 1.6 5.0 19.6 4.0 12.5/2.0 P-10L
With 3.0 2.2 8.0 50.2 6.0 2.0/5.5 P-20
pressure 4.8 4.0 13.0 132.6 7.0 ~0.8 P-30
booster | 6.5 5.5 P-50
2.0 3.1 1.3 NYO3 0.4~0.5
1.6 1.0 3.0 7.0 2.0 NFO5,NY0 5 0.4~0.5
NY 3.5 9.6 2.3 NF10,NY10 0.4~0.5
4.0 12.5 2.6 NF15,NY15 0.4~0.5
5.0 19.6 3.4 NY25 0.5~0.6
1.5 1.7 1.0 NTO3 0.4~0.5
2.5 4.9 1.5 NTO5 0.4~0.5
NT 3.5 9. 2.3 NT10 0.4~0.5
5.0 19.6 3.4 NT20 0.4~0.5
AS, HS, BJ type BBB AP, PF, AJ type ACD type




BRI SEEITINYERS #E R A GT-NY05,/10/15/25 Slide-Off Air Nippers Horizontal-Type

=t AT N BT
*AJ BT ) S
K =
z Ty ¥ v
o z iE.IE e
4

| [ °

L_ I=

| smsesEd U - g
Piston projectionJ __B* F ;J'E =]
N N 1= 2
ﬁﬁl%ﬂ]ﬁ%ﬂ_?fﬂﬂﬁ&&*”ﬁﬁe - 0D ) © .ﬁxgg;gg;gl;g H §

NBEE (BER)  ABHEREET. E[uw °§§H’:‘|’e <

. . . o

The harizontal slide enables space to be used effectively. op| | © o o L

The low profile of the main unit allows work to be removed . J 5 ‘ i%fﬁ# : uelfititg

without obstructing the operations of the chuck plate. ! clensEe

Capacity ¢ (mm) Size (mm) Air Consumption Weight  Slice Direion/ )

Soft Plastic Hard Plastic Copper Steel ModelNo. | A B ¢ D EF G H 1 JK L M N O cnsr) (g Dsace(mm) | SPec&Sizeofthetose Por ®’e
3.0 2.0 1.6 1.0 GI-NYO5 48 155 Pu}l}l 0~3| W/hose nipple i o
3.0 2.0 1.6 1.0 GT-NYO5R 48 155 Push 0~3| Hose I.D. ¢2.5mm al
30 20 16 1.0 GI-NY0s-4 |86 759 409251523476 4 M4 32216 85 625165 4 155 pyll 0~3| Wrtube fitting g
3.0 2.0 1.6 1.0 GT-NYO5R-4 48 155 Push 0~3| Hose I.D. $2.5X0.D. g4mm Qe
3.5 2.3 GT-NY10 68 210 PUL' 0~3| W/hose nipple =
3.5 2.3 GT-NY10R 68 210 Push 0~3|Hose I.D. $2.5mm
35 23 GT-NY10-4 8.8 82.1 42.1 3020 28 51.6 6 M4 524 16 75 625155 68 210  Pull 0~3| Witube fitting
3.5 2.3 GT-NY10R-4 68 210  Push 0~3| Hose I.D. $2.5X0.D. g4mm Fo
4.0 2.6 GT-NY15 136 319 PUL' 0~3| W/hose nipple 1=k
4.0 2.6 GT-NY15R 136 319 Push 0~3| Hose I.D. ¢2.5mm |
40 26 GT-NY15-4 102 93 48 352533 58 8M4527 2 75 625165 136 319  pull 0~3| Witube fitting a2
4.0 2.6 GT-NY15R-4 136 319  Push 0~3| Hose I.D. $2.5X0.D. g4mm %
5.0 3.4 GT-NY25 184 580 Pu}l}l 0~5| W/hose nipple
5.0 3.4 GT-NY25R 184 580 Push 0~5|Hose I.D. ¢4mm
S —— GTNY25-6 |'2:5108.5 545 4030 42 69 9 M52 3125 10.5 7 205\ 184 380  pull 0~3| Witube fiting
5.0 3.4 GT-NY25R-6 184 580 Push 0~5| Hose |.D. $4X0.D. g6mm

*Blade length (K) and opening max. (H) is the dimension adjusted for standard blade (AJ type). *¢Air Pressure::+0.4~0.5 MPa (NY25 type: 0.5~0.6)
% B refers to the distance from the cut position for PUSH style models, and the distance from the start position for PULL style models.

B SEhEIJINYR S #m B GT-NY03G /106 Slide-Off Air Nippers Horizontal-Type Patented

P v £
Jaddin J1y

« JIBAFOH
Bladeo ening max H
(W SEIPY
AT
..., Sliding direction E 5
q B <o e Zg
D .
| <
] 3
| =
V BIEEE) ®
V-groove slide L Y =
B | [ * o
GT-NY03G P B &
] Hose nipple {4: 2
Spring plate BID 3
B o =] o 2
Slide plate u .%Eegfﬁng g
iBENEEE 244 R~
Slide r“bease c 2l g%rew size I| ‘g
>
VAL B R AR, SENYI06 _ 2
AATFEZAR AT , THREELL, o ” =
VESSEL's patented. V-groove slide base ensures constant, N
stable positioning. The unit is not subject to inclined loads, rc 5 ‘*l" WUR |
and has achieved high precision gate cutting performance. ! Screw sizo |
Capacity ¢ (mm) Size (mm) Air Consumption Weight  Slide Direction/ '
Soft Plestic Hard Plastc ModelNo. | A B ¢ DEF G H I JK L M N O] (nst) (g Dsare(mm) Spec. & Size of theHose Port
2.0 1.3 GT-NY03G 37 160 Pullo~3 W/hose nipple Hose I.D. ¢2.5mm
2.0 1.3 GT-NYO3GR 37 160 Push0~3
20 13 GT-NY03G-4 8.6 745 29530 - 19 465 3 M4 0 21 16 75 525145 37 160 Pull0~3 o
50 13 GT-NYO3GR-4 37 160 Push 0~3 W/tube fitting Hose |.D. 42.5X0.D. g¢4mm
35 23 GINYI0OG 68" 275 PlO~3 ]y 1o ninole Hose 1.D. 62.5mm
3.5 2.3 GT-NY10GR 68 275 Push 0~3
35 23 GT-NY10G-4 88 826 29.6 3520 28 54 6 M4 5 24 16 75 625155 68 275 Pull0~3 »
35 23 _GFNYIOGR-4 68 275 Push 0~3 | Wiube fitting Hose .D. ¢25X0.D. gémm

¢ Blade length (K) and opening max. (H) is the dimension adjusted for standard blade (AJ type). *Air Pressure---0.4~0.5 MPa
Blade is optional. Note that forward and backward-facing blades are available 186




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

JaddiN 11y

SHimE

RS
3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

BN SshE JINYES B Ea10 GT-NY105/255 Double Action Sliding Air Nippers

JIKRAFFAH
Ay JHBE L *Blade opening max H
] — NET
Il
Sliding direction
""" BBt FiB
IH Forward </ > Reverse
B0 A =1/
17 EEREE)
~——tPiston projection J E

%j—@ @ - =
‘ B | - F
' FiB

. & ®
-l .

— N & o s

B ENEEE - ‘ =5 ‘ VB R T ose nipple
Slide base Screw size |
o L
WARNING Tube fitting

Injecting air into slide port A slides the nippers in reverse.
Injecting air into slide port B slides the nippers forward.

FIRT LR E B ERIREFRED.

RAVEEE SR SEEEL. /
The springless slide construction A /
of the main unit ensures smooth movement, \

and a V-groove slide base has been employed

for high precision positioning. Sids plate
Bh
Slide sheet
Capacity ¢ (mm) Size (mm) Air Consumption Weight  Slide Direction/

SoftPlastic Hard Plastic ~ ™M°98INo- | A B ¢ D E F GH I JK L M N O] cmist) (g) Dsane(mm) Spec. & Size of the Hose Port
3.5 2.3 GT-NY10S | 88 845 38 30 20 32 55 6 M4 5 24 1.6 7.5 625 155 68 300 0~3.5 | Witube fitting Hose I.D. $2.5X0.D. g4mm
5.0 34 GT-NY25S | 12.5 1065 47 40 30 47 72 9 M5 2 31 25105 7 205 184 695 0~5.0 | Witube fitting Hose I.D. $4X0.D. ¢6mm

*Blade length (K) and opening max. (H) is the dimension adjusted for standard blade (AJ type). *¢Air Pressure--*NY10S : 0.4~0.5 MPa / NY25S : 0.5~0.6 MPa

BElEXSshEIJINFE S GT-NFO5/10/15 Type-F Air Nippers

D ade thickness %Qﬁﬁﬁgﬂﬂ
*T/ AT TIE ‘ .
1] - -]
=
© o [0
iston projection E
\ B \
I 1
R L
i w
@ & E n@ﬂ%w
ARZITNGRE , ETRENBRRKELEFER. ¢ [ o] Screw size |
These compact, lightweight nippers have been designed
or easy mounting inside equipment and to enable secure mounting
under high-density mounting conditions.
Capacity ¢ (mm) Size (mm) Air Consumption  Weight

Model No. Spec. & Size of the Hose Port

A B C D E K L M N O (cm¥%tr) (g
3.0 2.0 1.6 1.0 GT-NFO5 (8.6 59.9 219 17 18 23 395 4 M3 3 22 1.6 84 625 164 43 101
3.5 2.3 1.7 1.1 GT-NF10 (8.8 651 231 20 22 28 435 6 M355 24 1.6 74 625 154 63 143

1
1
40 26 1.8 1.2 GT-NF15 102 73 25 25 26 33 485 8 M4 5 27 2 74 625 16.4| 128 219

Soft Plastic Hard Plastic Copper  Steel

‘n
o0
T
o

W/hose nipple
Hose I.D. ¢2.5mmX ¢4mm

*Blade opening max. (K) is the dimension adjusted for standard blade (AJ type). Mounting screw for NF10 (M3.5) is regarded as spare part. *Air Pressure::-0.4~0.5 MPa



B S518I] #E A £ K71k Slide-off air nipper horizontal-type blades

RIIEEEEJ] Straight blades for plastic Plastic
AN VARV AV/DTIKE | Tolfisifs , ATEEE). RAJ/AMRTITI. AJB/AJ

BOmEETISk , TR S ERIBAENEY | Rl Bk,

AJ/ This is a vertical set of blades with an unbeveled cutting edge. You can apply it

at a right angle to the gate. RAJ/ This is a reverse bevel of AJ type. AJB/ This has a

brazed carbide tip, suitable for cutting hard plastic or plastic containing glass fiber.

e
| — | I
I ~—— - e——

Model No. a b c Size (mm) R L Wt(E; ht Material Application model
NYO03AJ 21 7 45 10.5 3 48 17 Special alloy steel | GT-NY03G(-4)
NYO3RAJ 21 7 4.5 10.5 3 48 17 Special alloy steel | GT-NYO3GR(-4)
NYO5A)J 22 7 5 10.5 4 53 22 Special alloy steel | GT-NYO05(-4) / NFO5
NYO5RAJ 22 7 5 10.5 4 53 22 Special alloy steel | GT-NYO5R(-4) / NFO5
NYO5AJB 22 7 5 10.5 4 53 22 Sintered Alloy GT-NYO05(-4) / NFO5
NY10A)J 24 7.2 5 12 6 57 28 Special alloy steel | GT-NY10(-4) / NY10G(-4) / NF10/ NY10S
NY10RA)J 24 7.2 5 12 6 57 28 Special alloysteel | GT-NYT0R(<4) / NY 10GR(4) / NF10/ NY10S
NY10AJB 24 7.2 5 12 6 57 28 Sintered Alloy GT-NY10(-4) / NY 10GR(-4) / NF10/ NY10S
NY15A)J 27 8.2 5.5 13 8 65 41 Special alloy steel | GT-NY15(-4) / NF15
NY15RAJ 27 8.2 5.5 13 8 65 41 Special alloy steel | GT-NY15R(-4) / NF15
NY15AJB 27 8.2 55 13 8 65 41 Sintered Alloy GT-NY15(-4) / NF15
NY25A) 31 10 6 16 9 77 65 Special alloy steel | GT-NY25(-6) / NY 255
NY25RAJ 31 10 6 16 9 77 65 Special alloysteel | GT-NY25R(-6) / NY 255
NY25AJB 31 10 6 16 9 77 65 Sintered Alloy GT-NY25(-6) / NY 255

RIEERINECEJ] Straightlong blades for plastic|piastic

AJL/ZR—MIMREETIL. BRTFIILSROZAESRITA.

AJL/ Thisis along type set of straight blades. This is useful when

there is distance between the nippers and the gate cut portion

of the workpiece.

—
TS= e |

Model No. a b c Size (mm) d e L W?; ht Material Application model
NYO3AJL 27 7 45 10.5 4 54 21 Special alloy steel GT-NY03G(-4)
NYO5AJL 31 7 5 10.5 5.5 62 29 Special alloy steel | GT-NYO5(-4) / NFO5
NY10AJL 33 7.2 5 12 8 66 37 Special alloy steel GT-NY10(-4) / NY10G(-4) / NF10/ NY10S
NY15AJL 38 8.2 5.5 13 11 76 50 Special alloy steel GT-NY15(-4) / NF15
NY25AJL 46 10 6 16 13 92 88 Special alloy steel GT-NY25(-6) / NY 255

BIRE & I & J] Thin, straight blades for plastic Plastic

AT/ X2—HEEBYHTINETIL., ETLURT#EEEERE |

TEBETERRY.

AJT/This is a set of straight blades with a thin cutting edge. It can

cleanly trim cross sections without remnants.

L
a
d -
C Y ‘ i\
e e Wl

Model No. a b c Size (mm) e L W?; ht Material Application model
NYO3AJT 21 7 2.5 10.5 3 48 17 Special alloysteel | GT-NYO03G(-4)
NYO5AJT 22 7 3 10.5 4 53 21 Special alloy steel GT-NYO05(-4) / NFO5
NY10AJT 24 7.2 3 12 6 57 26 Special alloysteel | GT-NY10(-4) / NY10G(-4) / NF10/ NY10S
NY15AJT 27 8.2 3.5 13 8 65 38 Special alloy steel GT-NY15(-4) / NF15

B3y | FhE

99qnL SNS - 31404d

S o

3|NPOA SIUdIS

S SR

J9bueyd oD

ey
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wnNndep

~
F=

syusuodwo?) A10ss8d0y




B S518IT] #E A #£E 71k Slide-off air nipper horizontal-type blades

_ RE A E s 7] JJ3k Lift blades for plastic |piastic
CE AD/ SUEERER ML,
%_“ o AD/ This is used for batch processing of the three-dimensional
ne h as rid
=32 gate such asride gate.
=
& L
a
di 9
%g g /r\ I
A : D), O ==
& i
Hs 0
5 d2 ;
e S
Model No. a Size (an) fxg (mm)dz (“e‘m) (mm) W?g)]ht Material Application model
Hho NY10AD 26.5 7.2 6x13 | 25 4.2 6 59.5 31 Special alloysteel | GT-NY10(-4)/ NY10G(-4)/ NF10/ NY10S
# B NY15AD 30 8.2 7X14 | 3 4.7 8 68 45 Special alloy steel | GT-NY15(-4) / NF15
3 NY25AD 35 10 8X17 | 4 6 9 81 75 Special alloysteel | GT-NY25(-6) / NY 255
e
- MBER L BYJJsL Crank blades for plastic Plastic
A H AH/ T13kBiiRAL L B, BIERSIsR O SRERES.
%o AN R/ ARBORTITISL.,
=k AH/ This is a set of blades with a clamped cutting edge for plastic.
gﬁg Itis effective when there are obstructions or the gate is narrow.
e RAH/ This is a reverse bevel of AH type used when installing the b,
> main units face-to-face. ’ g
a L |
<L‘ :
| ] J@@ : '
sz I £
B3 - p—
AR b
N C
Model No. a b c Size (mm) e L W?& ht Material Application model
NYO5AH 31 19 5 10.5 5.5 62 37 Special alloy steel GT-NYO05(-4) / NFO5
< NYO5RAH 30 12 5 10.5 5 61 31 Special alloy steel GT-NYO5R(-4) / NFO5
%g NY10AH 33 20 5 12 8 66 43 Special alloysteel | GT-NY10(-4) / NY10G(-4) / NF10/ NY10S
< NY15AH 38 21.5 5.5 13 11 76 63 Special alloy steel GT-NY15(-4) / NF15
283 NY15RAH 35 13.2 55 13 9 73 52 Special alloysteel | GT-NY15R(-4) / NF15
= NY25AH 46 24 6 17 13 92 110 | Specialalloysteel | GT-NY25(-6)/ NY 255
g NY25RAH 42 16 6 16 12 88 89 Special alloy steel GT-NY25R(-6) / NY 25S
BJ/ £ RBAEJIL Straight thin blades for metal Metal
> BI/ITVKTF , Flfsifs , TEEBY. RBJ /BRI, N
53 BJ/ This is a set of vertical blades with an unbeveled cutting edge for
g metal. RBJ/ This is a reverse bevel of BJ type.
A
o
3
o
S

e] —=
Model No. a b Material Application model
NYO05B)J 22 ‘ 7 ‘ Special alloy steel GT-NYO05(-4) / NFO5
NYO5RBJ 22 7 Special alloy steel GT-NYO5R(-4) / NFO5




B SHEIINTERS MEE GT-NT03/05/10/20 Slide-Off Air Nippers Vertical-type

AL JEE i
i S %{i
MTIEALEITS, K % N
_ ] ¥ L
Ei e me
(9] = =
) ¢
. ©
LOCK
& © 5
o
AERER ZEs
T Bz
< ey B8 ] R i
DTFOANTEE , BRSER LR, © * °
TIEARDIETRT] |, ] ERS X R [HE H BFHL B BY AR, EII] Y emmimaris oHE K
Blade gape iS adjustable. ¢ ” Hose nipple  Tube fitting
and fine adjustments are easy to make after mounting the nippers, ‘ ‘ BRI itD
ensuring clean, unblemished cut surfaces. Ho
. s
Capacity ¢ (mm) Size (mm) Ar Consumption  Weight Sl Directon/ ) ~
SoftPlastic Hard Pastic ~ MOdeINo-\ a3 ¢ p E F @ H o 1 J K| (mistr) (g) Disae(mm) Spec. & Size of theHose Port o
15 1.0  GFNTO3 27178 PulO~3 |y poce ninnle Hose 1D, 62.5mm E
1.5 1.0 GT-NTO3R 9 62 7 43 14 19 681 153 M3 2 5 27 178 Push 0~3 [}
BN K T 27178 PullO~3 |\ e fitting Hose L. 425X0.D. gémm
15 1.0  GI-NTO3R-4 27 178 Push 0~3 9 L. peaR00
25 1.5 GINTOS 47 325 Pull0~3 W/hose nipple Hose I.D. $2.5mm *o
2.5 1.5 GT-NTO5R O 64 7 45 20 32 711 36 M4 2 5 47 325 Push 0~3 =
25 1.5 GFNT05-4 S 47325 PullO~3 |\ e fitting Hose D, g25X0.D. gdmm 23
2.5 1.5 GT-NTO5R-4 47 325 Push 0~3 9 e iﬂg_
35 23 GT-NT10 82 515 Pull0~3 W/hose nipple Hose I.D. $2.5mm e
3.5 2.3 GT-NT10R 11 73 8 53 24 38 881 47 M4 2 5 82 515 Push0~3 o
35 23 GINTIO6 S 82 515 Pull0~3 1\ e fitting Hose LD. #4X0.D. 46mm
3.5 2.3 GI-NT10R-6 82 515 Push 0~3 o -
5.0 3.4 GT-NT20 203 930 Pull0~8 W/hose nipple Hose 1.D. g4mm
5.0 3.4 GT-NT20R 203 930 Push 0~8
50 34 GT-NT20-6 14 103 10 80 28 44 102.1 4.5~9 M5 2 6 203 930 Pull 0~8 .
50 34 GT-NT20R-6 203 930 Push O~g | W/tube fitting Hose LD. $4XO.D. g6mm

*Blade opening adjustment limit (H) is the dimension adjusted for standard blade (AJ type). *Air Pressure:--0.4~0.5 MPa

P v £
Jaddin J1y

B S50 MmE #EE 7]k Slide-off air nipper vertical-type blades

MEE B E JJ=L Straight blades for plastic Plastic
AJ/TITIKRE , ToaRA | EERY]. AJH/AIRIINEETDS (B8R Hs
A% ) REHME, AJB/AIEIIL (BERN)  BFLYE =8
ERBSBRIBAENER , REm AL, 453
AJ/ This is a set of vertical blades with an unbeveled cutting edge. ﬁ:g
You can apply it at a right angle to the gate. AJH/ This has a brazed o
high-speed steel tip suitable for cutting hard plastic. AJB/ This has >
a brazed carbide tip used for cutting hard plastic or plastic containing
glass fiber. Improved durability.
NT 2 By =
NT type 53
a
=OR <“
e
o
3
T
E
3

Model No. a b c Size (mm) d e L We(:g ht Material Application model
NTO3AJ 24 7 4 11 3 59 20 | Specialalloy steel GT-NTO3 type
NTO5AJ 29 7 5 15 6 65 30 | Specialalloy steel

NTO5AJH 29 7 5 15 6 65 30 | High Speed Steel

NTO5AJB 29 7 5 15 6 65 30 | Sintered Alloy GT-NTO5 type
NE5AJ 24 7 35 12 6 60 35 | Specialalloy steel

NT10AJ 35 9 6 17 7 82 62 | Specialalloy steel

NT10AJH 35 9 6 17 7 82 76 | HighSpeed Steel

NT10AJB 35 9 6 17 7 82 76 | Sintered Alloy GT-NT10 type
NE10AJ 27 9 4.5 12 7 74 70 | Special alloy steel

NT20AJ 40 12 6 20 9 97 120 | Specialalloy steel

NT20AJH 40 12 6 20 9 97 120 | High Speed Steel GT-NT20 type
NT20AJB 40 12 6 20 9 97 120 | Sintered Alloy




BN S e mE BE 71k Slide-off air nipper vertical-type blades

Y WIS BN R J] Straight long blades for plastic Plastic
ZE AJL/AJTITINNKEL | T EiROBEBERITE.
M AJL/ Thisis along type set of straight blades. This is useful when
ﬂgé there is distance between the nippers and the gate cut portion
= of the workpiece.
g
‘@
12
@S ~
Model No. a b c Size (mm) d e L W?é ht Material Application model
RO NTO5AJL 36 7 5 15 7 72 39 Special alloysteel | GT-NTO5 type
s NT10AJL 47 9 6 17 9 94 62 | Specialalloysteel | GT-NT10 type
o) NT20AJL 57 12 6 20 12 114 156 | Specialalloysteel | GT-NT20 type
e
) BB B ) & J] Thin, straight blades for plastic Plastic
o AIT/ARSETNET]  BRESEY , ABERY.
ég AJT/ Thisis a set of straight blades with a thin cutting edge. It can
e cleanly finish cross sections without remnants.
e
® L
L a
d
52 T/ @ 77777 g
IE i
B3 L |
AR g "\—u> 7777777 + Ib
|
Model No. a b c Size (mm) d e L W?; ht Material Application model
NTO3AJT 24 7 2.3 11 3 59 19 Special alloy steel | GT-NTO3 type
= NTO5AJT 29 7 3 15 6 65 29 Special alloy steel | GT-NTO5 type
zs § NT10AJT 35 9 4 17 7 82 65 Special alloy steel | GT-NT10 type
i
Z
g B RE FE B B J]@imsn) Thin, straight blades for plastic | piastic
® AJY/ BEMIRAZENEEREHF BT LR A ENEEREHA
AlY EBSEEH
AJY/ This is effective when the width between the opposing gates is -—>~="—
B2 too short and the thickness of the blades will not go in.
5
8
A d
o
3
o
g %
q b [
1
Model No. a b c Size (mm) d e L W?é ht Material Application model
NTO3AJY 24 7 2.5 11 5 59 19 | Special alloy steel GT-NTO3 type
NTO5AJY 29 7 5 15 6 65 29 | Special alloy steel GT-NTO5 type
NT10AJY 35 9 4 17 7 72 82 | Special alloy steel GT-NT10 type




2 v L]

AD

B &8 77k Slide-off air nipper vertical-type blades

BRI AN mE S 7] J)3k  Lift blades for plastic | Plastic

AD/ QL EFEEEROBRL.

AD/ This is used for batch processing of the three-dimensional

gate such asride gate.

Model No. a Size me) fxg d (mm) (n?m) (rrlfm) W?é ht Material Application model
NTO5AD 31.5 7 6X18 25 45 6 67.5 37 | Specialalloysteel | GT-NTO5 type
NT10AD 39 9 8X215 | 4 5 7 86 65 | Specialalloysteel | GT-NT10 type
NT20AD 46 12 9X245 | 6 7 9 103 141 | Specialalloysteel | GT-NT20 type

AJV

BIRER V JJE&J] Vshaped straight blades for plastic | Plastic

AJV/SL IR TR 8 B Y] R W T 7% BB BT B 3
AJV/ This is suitable for gate processing when the cross section is ,‘QA
curved or the cut end must not be left. °

a
d
e ) -
% V——
TS [
Model No. a b c Size (mm) d e L W?; ht Material Application model
NTO5AJV 29 ‘ 7 ‘ 5 ‘ 15 ‘ 6 ‘ 65 29 Special alloy steel | GT-NTO5 type
NT10AJV 35 9 6 17 7 82 63 Specialalloysteel | GT-NT10 type
BIREFEEEH JJSL Nipping blades for plastic Plastic

AE/AMEEEROMBZRONER.

AE/ Used for processing plastic gates such as ride gates and discard
gates.

d
e
Model No. a b fngize (mm) d e L W?é ht Material Application model
NTO5AE 29 ‘ 7 6X18 7 ‘ 6 ‘ 65 36 Special alloy steel | GT-NTO5 type
NT10AE 35 9 8X21.5 9 7 82 75 Special alloysteel | GT-NT10 type

B3y | FhE

agnL SNS . 3]1401d

HEE A M

S|NPOA SIUdIS

S SR

J9bueyd oD

ey
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wnNndep

~
F=

syusuodwo?) A10ss8d0y




Thrust-Cut Air Nipper
#EJI S 5058 7] GT-NK10 Thrust-Cut Air Nipper

fiigny
E %28 (EE
*7{;7 20 } 40 } 22 Bracket( (OptLlon)
X [%]
;e 8 o
it
g & ® ——
| e R o s
e @ @
R
ade opening Max.
,%gl? Sy ' %
B RAETLRAMRET XS EEESEEERD. | : ‘
Hy MWEIHRTIE , B5 LIRS B EAYIRAE. ‘ ‘
B These nippers are equipped with a foot switch and are linked to high precision drivers,
enabling the cutting of film-shaped gates from the thin end,
preventing wrinkles around the cut.
Cagggtglis(ﬁn;m) Model No. Airgc;;\as/ljs::%tion Air(l;;gs:)ure W?gig);ht Applie(zNP;essure Spec. & Size of the Hose Port
Rre 5 GT-NK10 110 04~0.5 800 735 Hose 1.D. $2.5X0.D. ¢4mm
}ﬁ jak *Hose Coupling: I.D. ¢4 X O.D. ¢6 mm +Piston stroke:-Max.12 mm
0
a
o] ~ . .
DS 7JE A1k Thrust-Cut Air Nipper blades
%2
%g IS EhEY ﬂ%ﬂaﬂ;uhrust Cut Air Nipper blades| Plastic
ZH o
He N K’I 0 AJ XE—HETANGT-NK10 JJk., EEEMETSEAF LAERRO
® This is a dedicated set of blades for GT-NK10. Suitable for processmg K
of film gates attached to robot hands
-
52 92 -
wz , 2 8]
B 15 15 =
7% E N
E “‘. o) %
gl e \ ~
12 80
Il
EHS “ ] !
#Fg
c .
o Model No. Size (mm) Shape (()nll\nl;) W?é ht Material Application model
NK10AJ As above For metal cutting (Knife type) 95 96 Special alloy steel | GT-NK10
¢ > . .
M2 mx~zRelated items
3
< ERS#EHIESGT-TC-02 Timing Controller
o
S _
g BT D O
S (0.58F1.5% ) 285 £
o iusti B0
o5 Ses" i (kTR
: : : M4 SRE 6mm B port
M4 Depth 6mm - (Blade open/close)
BEESENSHET]Z ARSI EE , & 5 - o
A LAAEEARMRE s1F07] LB IRTE], )3 'N,[ ouT-2
( K£90.57bF1.58> ) ¢ - i L , |:
Connected between the compressor and the air nippers, 80 OUT1
the timing controller enables adjustments to the slide and cutting timing.  T#=&. o.eupa
. RY.. EEA6XIKESOXEE34 (mm)
(Approximately 0.5 seconds to 1.5 seconds) Ei..275 L
SEEL m§é¢4xyr§.§¢6mm (EEWD;&)
. A port
Connectable nippers (Reference) g:;k-l?gszgizequ;eLenzg’ﬁzaX thickness 34 (mm) (Ma(lJn body slide)
Weight --- 275 g With tube joint: I.D. ¢4 X O.D. ¢6 mm
No. GT- |NYO5 NY10 NYI5 NY25 NT03 NTO5 NT10 NT20 NB20 NB30 NB20IW  NB3OW -
B Three-port solenm_d valve L 4 Timing controller »| Slide air nipper |
Connectable unit| 4 3 1 1 6 4 2 1 2 1 2 1 (compressor side)
(pcs)



SENInHET]
Heat Air Nippers

SaNINAHET] | TIEIEAF RS, TLAERAIIN GRS, ELIEIEmEn

These air nippers are connected to a heater to suppress cra
and whitening of clear materials such as acrylic
The gate is slowly melted as it's cut, resulting.in a clean, un surface.

'1




B3y | A

aqnL SNS . 3|1404d

HEE S o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

SHimE

JaddiN 11y

RS
3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

SHEEES 1570 (#E7]=) GT-NKH20XL-25/NKH20XR-25 Heat Air Nippers (Air Hydro Type)

JISKERHEANIE | BHLERMUANASHTE.

e NKH20XL-25
BHINT | RS 7)Lm A, ; e s
JILBT—KM  SERESEYESZE. 45 BERE 12
Highly durable PTFE Plating blades; melted resin does not adhere to them. M5 Tap depth: 12 J <y
Improved durability of blades with High-Speed chip brazed. 1 _ﬁf
Easier blade replacement than conventional models; take out the blade unit [ ¢\ o1 - -
and exchange with the new one. \ 40
S s gans BRI %ﬁl
NKH20XL-25 T e i
4 Jp— 4 «
§ - -—’er FH ‘ §
R (T
T T Sensor
173.5 =
NKH20XR-25 )
BEBITRELSHES. NKH20XR-25
ATEHTISRERS AN, 178 _
* Requires separately sold Hydro Controller. EnE
- Custom-made blade lengths and cylinder capacities available. i i se"s"" T
Cutting Capacity ~ Blade Edge Air ) ‘ ﬂ:‘:‘
Model No. é (mm) Temp. Consumption Piston Stroke  Weight § B g | §
Acril (MAX C) (cm?¥str.) (mm) © 1 -—® +@{fslio—r 14 J —
GT-NKH20X1-25/NKH20XR-25 10x1.5 180 60 10 690 L - PH K 1= Cuting e
«Air Pressure: 0.6MPa +Working air hose inner diameter: 4mm f f 2 __.B_LB. 8
3% The above weight is only a product, excluding the weight of heater and sensor. 2-M5%0.8 &’,‘L::%% . . >3 ™
%200V AC/220V AC/240V AC heaters are also available to order. Bans| BRI a0
“Included heater: HTL-28.5-6.25-300L 80W1H (80W/100V) Cord length300mm Recommended temp. 140C Weight:13g /
*Included temperature sensor: SNO-300L-H Thermal couple type K 7
Recommended temp. 140C Cord length 300mm Weight:7g Q 7¢_¢ [ -
Blades Specifications 4 F=
. Blade Opening Cutting blade effective ~ Weight s %ﬁgf;'ilﬁ h
Material Blade Shape (mm) (mm) © e 82 0 |175| 38
Special Alloy Steel Knife type (resin) 10 20 125
+Hydro-converter (Recommended: KOGANEI AHC 32XX50)
Working fluid: Petroleum hydraulic fluid or turbine
oil with antifoaming agent additive (VG22~100)
*Temperature controller (DTC-001)
N N — — s . . .
RSB B SEhEE ] (#EJJ ) GT-NKH20A/20AR Heat Air Nippers (Air Hydro Type)
S+ HERSIRRB AN, GTNKH20A-25 (7))
ERTF R EE P RS, GT-NKH20A-25 (Forward-facing blades)
4-M5 LLIRE:12
Air-hydro cylinders produce high power from air and oil. 4-M5 Tap depth: 12
These units are ideal for high precision cuts required 86 ‘ 2,75, 3
for products such as optical resin lenses. B o |
o et =
[
2-M5X0.8
AR 40
Heater installation hole > 23
8 8|8
N7k
[ ] Cutting blade
== =7 O i 3
%ﬁﬁ_g%gl\m%iﬁﬁgﬁu%o ;y‘g;;g;em o BHDX 50 S@tiijgr%ary blade
A EH 7] ERSELK/N. L %g
. RORZERE
* Requires separately sold Hydro Controller.
+ Custom-made blade lengths and cylinder capacities available. GT-NKH20AR-25 (RR7J)
Cutting Capacity ~ Blade Edge Air ) ] GT-NKH20AR-25 (Backward-facing blades)
Model No. ¢ (mm) Temp. Consumption Piston Stroke  Weight
Acril (MAX C) (cm¥str.) @) —
16—
GI-NKH20A-25/20AR-25 10x1.5 180 60 10 720 ; L
-Included heater +Included temperature sensor - % FT = —]
+Air Pressure: 0.6MPa -Working air hose inner diameter: 4mm ‘ Enpemn)
$%200V/240V heaters are also available to order.
Blades Specifications Hester netalation hole .
Material Blade Shape Blad? rrS)rﬁ)enmg Cutting b(lridn?)effectlve W(egng)lht
Special Alloy Steel Knife type (resin) 10 19 125

Option Parts *Hydro-converter (Recommended: KOGANEI AHC 32XX50)

Working fluid: Petroleum hydraulic fluid or turbine
oil with antifoaming agent additive (VG22~100)
+Temperature controller (DTC-001)

Cylinder protective cover

SHFPE




J0#B37] GT-NKH10 Heat Air Nippers

MAELET .
Heater installation hole

Fitd
65 o
\ TI*BAFA12 7=
Blades N
N ek » N N, = =S = opening ,
BEENREMDDERE  RISEEIHR  NTFEHEEE m 2 me
8], % =g
Speed control of cut speed and heater temperature allows 8¢ 3
for variable cutting surface solutions P
for extremely high precision cutting demands. Sensor installation hole
X5 (FiE)
- Bracket (Option)
IRETET, F 2
Heater installation hole ;J'E %
=2
S o o Hg
c
o
Cutting Capacity ~ Blade Edge  Cutting Air Piston Stroke  Weight Blades Specifications
Model No. ¢ (mm) Temp. Cycle  Consumption ) Blade Opening - Cuting blade effectie Weight
Acril (MAXC)  (secleut) (cm¥str)  (MM) (9) Model No. Material ~ Blade Shape (') (mm) @ 1‘;&?
GT-NKH10 7x1.5 200 4~5 73 12 715 NKH10AJ/NKH10RAJ  Special Alloy Steel _Knife type (resin) 12 10 137 1 23
*Included heater: 80W/120V ~ Cord length: 300mm g
*Included temperature sensor: Thermal couple type K (Nickel-Chromium/Nickel-Aluminum) 2
Cord length: 1,000mm Q
*Air Pressure: 0.5~0.6MPa =
Option Parts | -Temperature controller (DTC-001)
%9
B
N 2rr Wi IEZAED] 3 Heat Air Ni Bs
Bz inAEs71/71k Heat Alr Nippers 2
o

GT-NTHO05/10 Heat Air Nippers (Vertical sliding type)

Blades opening max. |
DkamAFON

Pt Es
Heater
installation hole

P v £
Jaddin J1y

BT TNEE+AEB , RIETINS®RA

<L |
FEMRIST. T 1
One blade is fixed in position, e ! @7
facilitating easy gate alignment. -
In addition, a slide function presses h ook T thﬂ % Es
the product into position. + I i == - =2
rs o v
7777777*77*7330
o & ||
L M N
B &
#Fg
i i i i i o
Model No. Cul;n%riiﬁ?mly Bl%l('je;em?ge %J;glr;g Consﬁ:rr]ption Digt“::ce Weight Dimensions (mm) <
Acl  (MAXTC) (secicut) (em¥str) — (mm) ‘9 A B C D E F G H I J K LM N O P S
GT-NTHO5 2.5 200 4~5 47 0~3 325 | 66.1 36 64 251 15 31.5 8 56.5 3.5 1021 32 7 45 12 20 M4 %
GI-NTH10 3.5 200 4~5 82 0~3 515 | 83 47 73 29 162 375 8 63 45 130 38 8 53 12 24 M4 S
*Included heater: 80W/120V Cord length: 300mm g

*Included temperature sensor : Thermal couple type K (Nickel-Chromium/Nickel-Aluminum) Cord length: 1,000mm
«Air Pressure: 0.4~0.5MPa

Blades Specifications

Model No. Material (m?n) (mtr)n) (m(r:n) (m(rjn) (m%)

NTHO5AJ | Special Alloy Steel 36 7 3.5 15 3.5

NTH10AJ | Special Alloy Steel 47 9 4.7 17 4.5

Model No. (ml;n) W?Q'Sht C:“zr;?n%aﬁiﬁfy Se(t&rg(t%rpp. Application model

NTHO5AJ 72 40 2.5 200 GT-NT05(-4)/GT-NT05R(-4)

NTHI0AJ | 94 88 3.5 300 GT-NT10(-6)/GT-NT10R(-6) : L

ﬂn?f&isiié?\.
HTH type blade weight does not include heater and sensor.

«Temperature controller (DTC-001)



e EEEsIse Temperature Controller
DTC-001 Benchtop Temperature Controller

A ®
o
7=
L]
N % = N oz > 7 =P [ * |
&5 TR IAEBEERIEN , EhREn -
= HRRPHEAD. BEENG, FEET , T = —
o —
T HERIEHA. ——
The heating element can be connected ol e
directly to the main unit, a useful feature =
that saves labor during wiring S — N
<2 installation. Compact construction | i
503 . . . L= Bl
=z enables the unit to be easily carried, =TT
EE =z allowing for changing the work site 7
Hg at any time.
c
o
Temperature range . Ambient temperature .
Power supply Power consumption o P ion f Weight
Model No. Therm((:iéc);uple K V) (with 100 VAC input) and T%n)'lldlty rotection fuse ©
[Si¥e) y " " Approx. 3W (Approx. 5VA) 0~40 RH35~85% One 15A fuse is
}é =S DTC-001 0~200 AC100~240 (With no load) (No condensing ) incorporated. 900
~ % Please ensure the input voltage in prior to operation as it is directly connected to the heater.
S + Power supply cable : Model No. DTC-001»-L—rI
l§ [1]: Cable for connection to the terminal block : 2m power cable w/ Japanese type plug (A-type)
= is necessary to be included. [C]: 2m power cable w/ European type plug (C-type)
[J: (N/ A) Cable not necessary. [J: (N/ A) Cable not necessary.
%2
E_-S . \ . . .
a5z LIS (THti%E ) Special Controller (optionally available)
" .
= g .
= wnwass Practical example of gate-cut
° Point 2
oso o oint
ol Point 1 -
E — Travel at
52 e-5 =
fz 0.5 seconds
kel Travel at stopatthe
ﬁ ® [l 100 mm/sec ‘ specified position
$J-LJE“£“ Ao [ »- . .
RO RMNEEEENYE , BREIHAZINEL 7R EROAS L
BwahaE I IOMaE BEEZXRATEE 7 (DRFEREDANED )
HEZIENES
At "home position", the workpiece with a gate s At "fast feed", the blades run to At "cut feed", the blades are stopped at
taken from the mold machine and transferred to the front of the gate at high the gate edge once. (So that the blades
E 5 the nipper position, and receives a start signal. speed. do not go into the workpiece rapidly.)
= 0
ZE § Step SO0 [Home position] Step SO1 [Fast feed] Step S02 [Cut feed]
# §
= Step S04 [End cut] Step S03  [Cut]
EHF SERRIE © ] Point 3
mﬁ*¢g§*ﬁ®‘i‘€ Transfer
L6mAT IR\ Commcn (il 0-4 Mm/seC
B = HIKHFESTLL Point 4 2.0seconds stop
%3 RIE. at highest point
a In teaching with a dedicated Signal issued
] controller, teaching of ‘ after completion
‘; positioning and speed
setting for maximum 16 e P
g pointsgandsetting of FEE "GEEREIRE | BT fEE 40" | OS2,
K squ,etntessuzhas ot 55 B mIILRERS FIENBH , RHES
5 conditions and signal inpu " . . ) With "cut’, the gate letel
s sdouptposie e et ot s
@ and the blades return to home position. thereafter a signal is issued.

BNEHRRISLH) Practical example of input data

Teaching content Home position Fast feed Cut feed Cut End cut
=4S Point No. 0 1 2 3 4
EY A B Positioning (*) Home position Leaving 7 mm Leaving 0.5 mm Maximum value
Point d ata #EIRE Speed setting - 100 mm/sec 0.4 mm/sec 0.4 mm/sec 80 mm/sec
#1ig&E Pushing force setting - - - - -
DIEEIRTE Acceleration setting - - = o -
SBRRS Step No. S00 SO1 S02 S03 S04
S J_% ﬁUéﬂl}E srefusery  Waiting for positioning to complete - - - -
eq LEIUEEL segephansa N\ Waiting for extemal input conditions - - -
data ERTERTEE  Delay timer ° 0.5sec 2.0sec -
Bt Specified external output - - - ON -

(*) Input of positioning is actually done with a numerical value.




’Eyﬁﬂgr':fﬂ ( EIf0ERE )

NINNE

[SEDIpaby